Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Deborah M Traynor	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-22-33-0080
535 Annapolis St E	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOT 25 BLK 39	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55118-5013	ADDITION NO. 2 EOT 23 BEK 39			_	\$43.20	
*535 ANNAPOLIS ST E		*** Owner and Taxpayer ***				
*Ward: 2				_		
*Pending as of: 8/21/2019		Total Ass	essment:		\$43.20	
		This Payr			\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$43.20	
Jason D Macdonald Llc	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stree				09-28-22-33-0102
506 Lexington Pkwy N	AND IMPROVEMENT SYNDICATE	Citywide Street Lighting	0.66	120.00	\$79.20	09-28-22-33-0102
St Paul MN 55104-4644	ADDITION NO. 2 LOTS 17,18 & LOT 19			_	-	
*565 ANNAPOLIS ST E	BLK 39	*** Owner and Taxpayer ***			\$129.60	
*Ward: 2		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$129.60	
5		This Payr	nent:		\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$129.60	
	THE WIST OF DAIL BEAL FOR AT	Count Countries Decidential Countries				
Andrew Wirtz	THE WEST ST. PAUL REAL ESTATE AND IMPROVEMENT SYNDICATE	Street Sweeping - Residential Street Citywide Street Lighting	0.42 0.66	80.00	\$53.60 \$52.80	09-28-22-33-0076
Bonnie M Wirtz	ADDITION NO. 2 LOT 15. ALSO, NO	Citywide Street Lighting	0.00	80.00	-	
577 Annapolis St E St Paul MN 55118-0214	PART OF VAC ALLEY ADJ AND LOT 16 BLK 39	*** 0 17 ***			\$86.40	
	10 BER 39	*** Owner and Taxpayer ***				
*577 ANNAPOLIS ST E						
*Ward: 2		Total Ass			\$86.40	
*Pending as of: 8/21/2019		This Pays	nent: 'ear Principal:		\$0.00 \$0.00	
		Current Y	cai Pillicipai:		50.00	
			ear Interest:		\$0.00	

e improvement Assessme	iii Kon by Address (Fee to A	siiit) Froject: 20195Mis
	Ratification Date:	Resolution #:
erty Description	Itom Description	Unit Da

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Minnesota Realty And Management Llc C/O Eng Ng	THE WEST ST. PAUL REAL ESTATE AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 13 & LOT 14	Street Sweeping - Residential Str Citywide Street Lighting	0.42 0.66	113.00 113.00	\$47.46 \$74.58	09-28-22-33-0075
3446 Queen Ave N	BLK 39				\$122.04	
Minneapolis MN 55412-2348		*** Owner and Taxpayer ***				
*585 ANNAPOLIS ST E *Ward: 2		T-4-1 A	ssessment:		\$122.04	
*Ward: 2 *Pending as of: 8/21/2019		This Pa			\$0.00	
1 chaing as 01. 6/21/2019			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$122.04	
						- — — — — — —
City Of St Paul	SOUTHPORT ADDITION NO. 2 LOT 1	Street Sweeping - Commercial/A		45.00	\$45.90	09-28-22-32-0055
25 4th St W Rm 1000	BLK 1	Citywide Street Lighting	0.66	45.00	\$29.70	***EXEMPT***
St Paul MN 55102-1692		*** 0 1 T ***			\$75.60	
*0 BARGE CHANNEL RD *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$75.60	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$75.60	
Port Authority City Of St Paul	SOUTHPORT ADDITION NO. 2 LOT 1	Street Sweeping - Commercial/A	rt			09-28-22-32-0059
380 St Peter St Ste 850	BLK 2	Citywide Street Lighting	0.66	251.00	\$165.66	***EXEMPT***
St Paul MN 55102-1313				_	\$421.68	EAEM 1
*0 BARGE CHANNEL RD *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	_	\$421.68	
-		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$421.68	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
555 Barge Channel Rd Llc	REGISTERED LAND SURVEY	Street Sweeping - Commercia		286.00	\$291.72	09-28-22-32-0066
Po Box 287	NUMBER 563 TRACT C	Citywide Street Lighting	0.66	286.00	\$188.76	
Newport MN 55055-0287				_	\$480.48	
*555 BARGE CHANNEL RD *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:	-	\$480.48	
		This	Payment:		\$0.00	
		Curre	ent Year Principal:		\$0.00	
		Curre	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$480.48	
City Of St Paul 25 4th St W Rm 1000	Sts & Alleys Accruing As Vac In Ts Doc No's 480384 & 884237 & Fol. Ex Part In	Street Sweeping - Commercia Citywide Street Lighting	/Art 1.02 0.66	378.00 378.00	\$385.56 \$249.48	09-28-22-34-0021 ***EXEMPT***
St Paul MN 55102-1692	Area Leased To The Rogers Auto Parts, Lots 9 & 30 & All Of Lots 1 Thru 8 & 31			=	\$635.04	EAEWII I
*681 BARGE CHANNEL RD *Ward: 2	Thru Lot 38 Blk 45	*** Taxpayer and 3rd Party *	*		φ033.04	
*Pending as of: 8/21/2019		Total	Assessment:	-	\$635.04	
		This	Payment:		\$0.00	
			ent Year Principal:		\$0.00	
		Curre	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$635.04	
Port Authority City Of St Paul 380 St Peter St Ste 850	Sts & Alleys Accruing As Vac In Ts Doc No's 480384 & 884237 & Fol. Ex Part In	*** Owner ***				09-28-22-34-0021 ***EXEMPT***
St Paul MN 55102-1313	Area Leased To The Rogers Auto Parts, Lots 9 & 30 & All Of Lots 1 Thru 8 & 31	Total	Assessment:	_	\$635.04	
*681 BARGE CHANNEL RD	Thru Lot 38 Blk 45	This	Payment:		\$0.00	
*Ward: 2		Curre	ent Year Principal:		\$0.00	
*Pending as of: 8/21/2019		Curre	ent Year Interest:		\$0.00	
- -		Payo	ff Amount:		\$635.04	

	•	Ratification Date:	Resolution #:				ū
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Port Authority City Of St Paul	VAC STS ACCRUING & PART OF LOTS	Street Sweeping - Comme	ercial/Art	1.02	98.00	\$99.96	09-28-22-34-0024
380 St Peter St Ste 850	21, 22 & 23 BLK 56 & LOTS 10 THRU 13 BLK 51 DESC AS COMM AT THE SE	Citywide Street Lighting		0.66	98.00	\$64.68	
St Paul MN 55102-1313	COR OF SW 1/4 OF SEC 9 TN 28 RN 22					\$164.64	
*740 BARGE CHANNEL RD *Ward: 2	THENCE N ON E LINE OF SD 1/4 DIST 248.1 FT THENCE N 60 DEG 11 MIN W	*** Owner and Taxpayer	***		_		
*Pending as of: 8/21/2019		T	Γotal Assessm	ent:		\$164.64	
		Т	This Payment:			\$0.00	
		C	Current Year F	Principal:		\$0.00	
		C	Current Year I	nterest:		\$0.00	
		P	Payoff Amour	ıt:		\$164.64	
Port Authority City Of St Paul	VAC STS & ALLEYS ACCRUING AND FOL PARTS OF LOTS 6, 7, 8, 9, 11, 12, &	Street Sweeping - Comme Citywide Street Lighting	ercial/Art	1.02 0.66	612.00 612.00	\$624.24 \$403.92	09-28-22-34-0025
380 St Peter St Ste 850	LOT 13 & LOTS 20 THRU 24 ALL OF	Citywide Street Lighting		0.00	012.00		
St Paul MN 55102-1313	LOTS 14 THRU 19 BLK 51 WEST ST PAUL REAL ESTATE AND	*** Over an and Townsyon	***			\$1,028.16	
*780 BARGE CHANNEL RD *Ward: 2	IMPROVEMENT SYNDICATE NO 4	*** Owner and Taxpayer					
*Pending as of: 8/21/2019		Т	Total Assessm	ent:		\$1,028.16	
		Т	This Payment:			\$0.00	
		C	Current Year F	rincipal:		\$0.00	
		C	Current Year I	nterest:		\$0.00	
		P	Payoff Amour	ıt:		\$1,028.16	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
City Of St Paul 25 4th St W Rm 1000	SUBJ TO RD; STS & ALLEYS ACCRUING AS VAC IN TS DOC NO'S 480384 & 884237 & FOL. TRACT	Street Sweeping - Com Citywide Street Lightin		1.02	177.00 177.00	\$180.54 \$116.82	09-28-22-34-0027 ***EXEMPT***
St Paul MN 55102-1692 *800 BARGE CHANNEL RD *Ward: 2	HAVING A FRONTAGE OF 174.37 FT MOL ON BARGE CHANNEL RD & 150 FT ON CL OF VAC ANNAPOLIS ST &	*** Taxpayer and 3rd	Party ***		=	\$297.36	
*Pending as of: 8/21/2019			Total Asses	sment:	-	\$297.36	
3			This Payme	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$297.36	
Port Authority City Of St Paul 380 St Peter St Ste 850	SUBJ TO RD; STS & ALLEYS ACCRUING AS VAC IN TS DOC NO'S	*** Owner ***					09-28-22-34-0027 ***EXEMPT***
St Paul MN 55102-1313	480384 & 884237 & FOL. TRACT HAVING A FRONTAGE OF 174.37 FT		Total Asses	sment:		\$297.36	EMBINI I
*800 BARGE CHANNEL RD	MOL ON BARGE CHANNEL RD & 150		This Payme	nt:		\$0.00	
*Ward: 2	FT ON CL OF VAC ANNAPOLIS ST &		Current Yea	ır Principal:		\$0.00	
*Pending as of: 8/21/2019			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$297.36	
	SUBJ TO RD; STREETS & ALLEY	Street Sweeping - Com			380.00		09-28-22-34-0026
25 4th St W Rm 1000	ACCRUING AS VAC IN TS DOC NO 480384 & FOL; EX PART IN AREAS	Citywide Street Lightin	ng	0.66	380.00	\$250.80	***EXEMPT***
St Paul MN 55102-1692 *830 BARGE CHANNEL RD *Ward: 2	LEASED TO THE ALTER CO AND WEST SIDE AUTO PARTS INC AND ROGERS AUTO PARTS BLK 48	*** Taxpayer and 3rd	Party ***		_	\$638.40	
*Pending as of: 8/21/2019			Total Asses	sment:	_	\$638.40	
•			This Payme	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$638.40	
Port Authority City Of St Paul SUBJ TO RD; STREETS & ALLEY ACCRUING AS VAC IN TS DOC NO ACCRUING AS VAC IN TS DOC NO		*** Owner ***					09-28-22-34-0026 ***EXEMPT***
St Paul MN 55102-1313	480384 & FOL; EX PART IN AREAS LEASED TO THE ALTER CO AND		Total Asses	sment:		\$638.40	
*830 BARGE CHANNEL RD	WEST SIDE AUTO PARTS INC AND		This Payme	nt:		\$0.00	
*Ward: 2	ROGERS AUTO PARTS BLK 48		Current Yea	r Principal:		\$0.00	
*Pending as of: 8/21/2019			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$638.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	MATTOCK PARK LOT 1 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0029
Tiffany R Goldman		Alley Sweeping	0.13	83.50	\$10.86	V,
1596 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1401				_	\$54.06	
*1596 BAYARD AVE		*** Owner and Taxpayer ***			******	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$54.06	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$54.06	
	MATTOCK PARK LOT 3 BLK 9					
Ih2 Property Illinois Lp	MATTOCK FARE LOT 3 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0031
C/O Invitation Homes Tax Dept		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1717 Main St Ste 2000		Citywide Street Lighting	0.00	40.00		
Dallas TX 75201-4657					\$48.40	
*1604 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
	MATTOCK PARK LOT 20 BLK 8	Street Sweeping - Residential Stree				
Mary L Subialka		Alley Sweeping	0.13	40.00	\$5.20	07-20-23-44-0020
1605 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1402				_	\$48.40	
*1605 BAYARD AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3						
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	=	\$48.40	
1 chaing as 01. 0/21/2019		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am			\$48.40	
		Payon Am	ount:		\$40.4U	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Maureen E Dowling	MATTOCK PARK LOT 4 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0032
Paul D Rolfsmeier		Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 11 000-
1608 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1401				_	\$48.40	
*1608 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Michael W Freeman Trustee	MATTOCK PARK LOT 18 BLK 8	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0018
Laura D Freeman Trustee		Alley Sweeping	0.13	40.00	\$5.20	
1611 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1402					\$48.40	
*1611 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
	MATTOCK PARK LOT 5 BLK 9					· – – – – – – –
S E Hodulik	MATIOCK PARK EOT 3 BER 3	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-44-0033
Lynn W Hodulik		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1612 Bayard Ave		City wide Street Lighting	0.00	=		
St Paul MN 55116-1401		*** Owner and Taxpayer ***			\$48.40	
*1612 BAYARD AVE		Owner and Taxpayer				
*Ward: 3		T 1 A			040.40	
*Pending as of: 8/21/2019		Total Asser			\$48.40	
		This Paymo			\$0.00	
		Current Ye	ar Principal:		\$0.00 \$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elizabeth Rose Lull	MATTOCK PARK LOT 17 BLK 8	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0017
Angela Len Lull		Alley Sweeping	0.13	40.00	\$5.20	
1615 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1402				_	\$48.40	
*1615 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	— — — — — — — — — — — — — — — — — — —	,	— — — —			
Deanne L Dohrman	MATTOCK PARK LOT 8 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0036
Po Box 4252		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55104-0252		Citywide Street Lighting	0.00	+0.00		
*1622 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$48.40	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	_		\$0.00	
		Payoff Am	ount:		\$48.40	
Jane Sevald	MATTOCK PARK LOT 14 BLK 8	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0014
Bruce W Abbott		Alley Sweeping	0.13	40.00	\$5.20	
1629 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1402					\$48.40	
*1629 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James P Miley	MATTOCK PARK LOT 13 BLK 8	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-44-0013
Catherine A Miley		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 0000
1631 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1402				_	\$48.40	
*1631 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Dale L Posl Trustee	MATTOCK PARK LOT 27 BLK 7	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0119
Connie L Posl Trustee		Alley Sweeping	0.13	40.00	\$5.20	
17626 83rd Ave N		Citywide Street Lighting	0.66	40.00	\$26.40	
Maple Grove MN 55311-1757					\$48.40	
*1645 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Allison Riederer	MATTOCK PARK LOT 3 BLK 10	Street Sweeping - Residential Stree				09-28-23-44-0123
Jesse Davis		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-44-0123
1650 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1403		, , ,		_	\$48.40	
*1650 BAYARD AVE		*** Owner and Taxpayer ***			\$40.4U	
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:	- -	\$48.40	
1 chaing as 01. 0/21/2017		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ai			\$48.40	
		Luyon Ai			Ψ10110	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Beckett Rothke	MATTOCK PARK LOT 4 BLK 10	Street Sweeping - Residential S	<u></u>	40.00	\$16.80	09-28-23-44-0124
Jennifer A Rothke		Alley Sweeping	0.13	40.00	\$5.20	0, 10 10 11 011
1654 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1403				_	\$48.40	
*1654 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
		This Pa	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Jam Real Estate Holdings Llc	MATTOCK PARK LOT 5 BLK 10	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-44-0125
708 Cleveland Ave Sw Ste 200		Alley Sweeping	0.13	40.00	\$5.20	
New Brighton MN 55112-3510		Citywide Street Lighting	0.66	40.00	\$26.40	
*1658 BAYARD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
		Start Same Desident S				
Marsha Hartman	MATTOCK PARK SUBJ TO ESMTS LOT 23 BLK 7	Street Sweeping - Residential St Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-44-0115
1663 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1404		City wide Street Eighting	0.00	40.00 =		
*1663 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total /	Assessment:	=	\$48.40	
			ayment:		\$0.00	
			ayment. It Year Principal:		\$0.00	
			it Year Interest:		\$0.00	
			Amount:		\$48.40	
		1 ayon			ψτ.συ	

Ratification	Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Katie Olson	MATTOCK PARK LOT 7 BLK 10	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-44-0127
1666 Bayard Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1403		Citywide Street Lighting	0.66	40.00	\$26.40	
*1666 BAYARD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	essment:		\$48.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	MATTOCK PARK LOT 9 BLK 10	Street Sweeping - Residential Stree				
Kenneth H Janda Jr Ellen L Janda		Alley Sweeping	0.42	40.00	\$5.20	09-28-23-44-0129
1676 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1403		23., 2 2		_	\$48.40	
*1676 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
1 chang as of. 6/21/2017		This Payr		\$0.00		
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$48.40	
			· — — — -			
Steven F Schaaf	MATTOCK PARK LOT 19 BLK 7	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-44-0111
Krista Knutson Schaaf		Alley Sweeping	0.13	40.00	\$5.20	
1679 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1404					\$48.40	
*1679 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payment:			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Melissa A Jobe	MATTOCK PARK LOT 18 BLK 7	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0110
1683 Bayard Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116		Citywide Street Lighting	0.66	40.00	\$26.40	
*1683 BAYARD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment.	=	\$48.40	
		This Payme			\$0.00	
		Current Yea			\$0.00	
		Current Yea	-		\$0.00	
		Payoff Am			\$48.40	
	MATTOCK PARK LOT 13 BLK 10	Street Sweeping - Residential Stree		45.00		09-28-23-44-0133
Barbara J Cannon		Alley Sweeping	0.13	45.00	\$5.85	07 20 20 11 0100
1692 Bayard Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1403				_	\$54.45	
*1692 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Tatal Assault		=	\$54.45	
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$34.43 \$0.00	
					\$0.00	
		Current Year Interest:		\$0.00		
		Payoff Am			\$54.45	
James B Kennedy	MATTOCK PARK LOT 16 BLK 7	Street Sweeping - Residential Stree		45.00	\$18.90	09-28-23-44-0108
Mary R Kennedy		Alley Sweeping	0.13	45.00	\$5.85	07 20 20 11 1200
1693 Bayard Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1404				==	\$54.45	
*1693 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses			\$54.45	
		This Payme			\$0.00	
		Current Yea			\$0.00	
		Current Yea			\$0.00	
		Payoff Ame	ount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William C Grandel	MATTOCK PARK LOT 15 BLK 7	Street Sweeping - Residential Stree	0.42	88.50	\$37.17	09-28-23-44-0107
Darcy A Hayes Grandel		Alley Sweeping	0.13	50.00	\$6.50	
1697 Bayard Ave		Citywide Street Lighting	0.66	88.50	\$58.41	
St Paul MN 55116-1404					\$102.08	
*1697 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asses			\$102.08	
		This Paymo			\$0.00	
		Current Ye Current Ye	ar Principal:		\$0.00 \$0.00	
		Payoff Am			\$0.00 \$102.08	
		гауон Ат	ount:		\$102.08	
Kathryn Mueller	PLUM ORCHARD W 7 FT OF LOT 1	Street Sweeping - Residential Stree		47.00		09-28-23-43-0027
1706 Bayard Ave	AND ALL OF LOT 2 BLK 4	Alley Sweeping	0.13	47.00	\$6.11	07-20-25-45-0027
St Paul MN 55116-1464		Citywide Street Lighting	0.66	47.00	\$31.02	
*1706 BAYARD AVE				_	\$56.87	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment:			\$56.87	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$56.87	
Stephanie Schuh-Greenwald	PLUM ORCHARD W 5 FT OF LOT 27	Street Sweeping - Residential Stree		45.00		09-28-23-43-0023
Seth R Greenwald	AND ALL OF LOT 26 BLK 1	Alley Sweeping	0.13	45.00	\$5.85	07-20-23-43-0023
1711 Bayard Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1435				_	\$54.45	
*1711 BAYARD AVE		*** Owner and Taxpayer ***			******	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asset	ssment:		\$54.45	
-		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Bradley A Langley	PLUM ORCHARD LOT 24 BLK 1	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-43-0021
Michele C Tyler		Alley Sweeping	0.13	40.00	\$5.20	
1719 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1435				_	\$48.40	
*1719 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	DI LIMORCHARDI OT 5 DIV. 4		· — — — -			
Patrick W Seng	PLUM ORCHARD LOT 5 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0030
Donna E Y Seng		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1720 Bayard Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55116-1434					\$48.40	
*1720 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payn			\$0.00 \$0.00	
			Current Year Principal:			
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	PLUM ORCHARD LOT 21 BLK 1	Street Sweeping - Residential Stree		40.00		
Elizabeth J Mortek		Alley Sweeping	0.13	40.00	\$5.20	07-20-23-43-0010
1733 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1435				_	\$48.40	
*1733 BAYARD AVE		*** Owner and Taxpayer ***			\$101.0	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$48.40	
		This Payment:			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount.		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James Scott Andresen	PLUM ORCHARD LOT 20 BLK 1	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-43-0017
Rachel L Andresen		Alley Sweeping	0.13	40.00	\$5.20	
1737 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1435				_	\$48.40	
*1737 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn	ient:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	N IIM ODCHARD LOT 10 DLV.					
Patrick G Heelan	PLUM ORCHARD LOT 19 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0016
Erin Heelan		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1739 Bayard Ave		Citywide Street Lighting	0.00	40.00	•	
St Paul MN 55116-1435					\$48.40	
*1739 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payn			\$0.00	
		Current Year Principal:			\$0.00	
			ear Interest:		\$0.00	
		Payoff Amount:			\$48.40	
	PLUM ORCHARD LOT 11 BLK 4	Street Sweeping - Residential Stree		40.00		
Jasmine S Anderson		Alley Sweeping	0.13	40.00	\$5.20	07-20-23-43-0210
1742 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1434				_	\$48.40	
*1742 BAYARD AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Asso	essment:	-	\$48.40	
1 chang as of or Director		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

	•	Ratification Date: Resolution	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andrew L Larson	PLUM ORCHARD LOT 18 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0015
Catherine A Larson		Alley Sweeping	0.13	40.00	\$5.20	
1745 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1435				_	\$48.40	
*1745 BAYARD AVE		*** Owner and Taxpayer ***				
Ward: 3 Pending as of: 8/21/2019		Total Asses	ssment:	-	\$48.40	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Ling W Disease	PLUM ORCHARD LOT 17 BLK 1	Street Sweeping - Residential Stree				
John W Ploetz	TEOM ORCHARD EOT 17 BER 1	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-43-0014
Dianne Kocourek Ploetz		Citywide Street Lighting	0.66	40.00	\$26.40	
749 Bayard Ave St Paul MN 55116-1435		,		_	\$48.40	
*1749 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		o who and rangely er				
Pending as of: 8/21/2019		Total Asser	Total Assessment:			
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	Current Year Interest:			
		Payoff Am	ount:		\$48.40	
Patrick C Holt	PLUM ORCHARD LOT 14 BLK 4	Street Sweeping - Residential Stree		92.00		
		Alley Sweeping	0.42	59.00	\$7.67	09-28-23-43-0038
Tina M Wagner 1758 Bayard Ave		Citywide Street Lighting	0.66	92.00	\$60.72	
St Paul MN 55116-1434		, 6		_	\$107.03	
*1758 BAYARD AVE		*** Owner and Taxpayer ***			\$107.03	
*Ward: 3		1 7				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$107.03	
<u> </u>		This Payme	ent:		\$0.00	
		•	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	

Payoff Amount:

\$107.03

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paramount Investment Group Llc	PLUM ORCHARD EX W 5 FT LOT 28	Street Sweeping - Residential Stree	0.42	86.50	\$36.33	09-28-23-43-0132
15050 Cedar Ave S Unit 116	BLK 2	Alley Sweeping	0.13	48.00	\$6.24	
St Paul MN 55124-7047		Citywide Street Lighting	0.66	86.50	\$57.09	
*1763 BAYARD AVE				_	\$99.66	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$99.66	
		This Payme			\$0.00	
		Current Yea	-		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$99.66	
	PLUM ORCHARD LOT 2 BLK 3	Street Sweeping - Residential Stree		40.00		00 20 22 42 0124
David M Danimeier 1766 Bayard Ave		Alley Sweeping	0.42	40.00	\$5.20	09-28-23-43-0134
-		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1436		on, was short Eighting	0.00	=		
*1766 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019						
		Total Assessment:			\$48.40	
		This Payme	\$0.00			
		Current Year Principal:			\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Amount:			\$48.40	
	PLUM ORCHARD LOT 4 BLK 3	Street Sweeping - Residential Stree				00 20 22 42 0126
Christine L Boys		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-43-0136
1774 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1436		,		_		
*1774 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		3 mer and rangajer				
		Total Asses	sment:		\$48.40	
*Pending as of: 8/21/2019					\$0.00	
		· ·				
		Current Voc	r Principal.		\$0 00	
		Current Yea	=		\$0.00 \$0.00	

		Ratification Date: Resolu	uon #.			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Scott D Mcbeath	PLUM ORCHARD LOT 5 BLK 3	Street Sweeping - Residential Str	ee 0.42	40.00	\$16.80	09-28-23-43-0137
Doni Jo D Mcbeath		Alley Sweeping	0.13	40.00	\$5.20	07 20 20 10 020
1778 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1436				_	\$48.40	
*1778 BAYARD AVE		*** Owner and Taxpayer ***			\$101.10	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:	=	\$48.40	
C		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
James K Johnson	PLUM ORCHARD LOT 23 BLK 2	Street Sweeping - Residential Str	ee 0.42	40.00	\$16.80	09-28-23-43-0127
Celeste M Johnson		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 10 012,
1785 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1437				_	\$48.40	
*1785 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
1 onding as of. 0,21,201)		This Pay			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff A	Amount:		\$48.40	
Daniel Baggenstoss	PLUM ORCHARD W 25 FT OF LOT 7	Street Sweeping - Residential Str	<u>eε</u>	55.00		09-28-23-43-0139
Amanda Baggenstoss	AND E 30 FT OF LOT 8 BLK 3	Alley Sweeping	0.13	55.00	\$7.15	07 20 20 10 0207
1790 Bayard Ave		Citywide Street Lighting	0.66	55.00	\$36.30	
St Paul MN 55116-1436				_	\$66.55	
*1790 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$66.55	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$66.55	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Wayne L Thompson	PLUM ORCHARD LOT 22 BLK 2	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-43-0126
Lola M Thompson		Alley Sweeping	0.13	40.00	\$5.20	07 20 20 30 3223
1791 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1437				_	\$48.40	
*1791 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Michael P Ryan	PLUM ORCHARD LOT 21 BLK 2	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-43-0125
Sarah R Ryan		Alley Sweeping	0.13	40.00	\$5.20	
1795 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1437					\$48.40	
*1795 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Judith L Jacobson	PLUM ORCHARD W 10 FT OF LOT 8	Street Sweeping - Residential Stre		50.00		
1796 Bayard Ave	AND ALL OF LOT 9 BLK 3	Alley Sweeping	0.13	50.00	\$6.50	09-28-23-43-0140
St Paul MN 55116-1436		Citywide Street Lighting	0.66	50.00	\$33.00	
*1796 BAYARD AVE		,		_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			\$00.30	
*Pending as of: 8/21/2019		o wher and rampayer				
1 Chaing as 01. 0/21/2019		Total Ass	sessment:	-	\$60.50	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Allison Plathe	PLUM ORCHARD LOT 17 BLK 2	Street Sweeping - Residential Str	<u>eε</u> 0.42	40.00	\$16.80	09-28-23-43-0121
1807 Bayard Ave		Alley Sweeping	0.13	40.00	\$5.20	07 <u>-0 -0 10 10</u>
St Paul MN 55116-1437		Citywide Street Lighting	0.66	40.00	\$26.40	
*1807 BAYARD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	PLUM ORCHARD LOT 15 BLK 2					· – – – – – – – – – – – – – – – – – – –
Charles M Mccann	PLUM ORCHARD LOT 13 BLK 2	Street Sweeping - Commercial/A Street Sweeping - Residential Str		62.50 26.50	\$63.75 \$11.13	09-28-23-43-0119
Karen T Mccann		Alley Sweeping	0.42	53.00	\$6.89	
1815 Bayard Ave		Citywide Street Lighting	0.66	89.00	\$58.74	
St Paul MN 55116-1437		City wide Street Eighting	0.00	=		
*1815 BAYARD AVE		*** Owner and Taxpayer ***			\$140.51	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	ssessment:	\$140.51		
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$140.51	
	LANE'S CLEVELAND VILLAS PLAT 2	Street Sweeping - Residential Str		75.00		09-28-23-34-0008
Nancy Jensen Beck	W 1/2 OF LOT 75 AND ALL OF LOT $$ 74	Citywide Street Lighting	0.66	75.00	\$49.50	07-20-23-34-0000
1831 Bayard Ave				_	\$81.00	
St Paul MN 55116-1212		*** Owner and Taxpayer ***			Φ01.00	
*1831 BAYARD AVE		1 7				
*Ward: 3		Total As	ssessment:		\$81.00	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
					•	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Helga W Fertey	PAYSON H. GILBERT'S ADD. EX E 53	Street Sweeping - Residential Street	0.42	53.00	\$22.26	09-28-23-34-0038
1850 Bayard Ave	37/100 FT LOT 18 ALSO W 32 O1/100 FT OF LOT 2 AND E 21 36/100 FT OF	Citywide Street Lighting	0.66	53.00	\$34.98	
St Paul MN 55116-1211	LOT 3 BLK 1			_	\$57.24	
*1850 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$57.24	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$57.24	
	PAYSON H. GILBERT'S ADD. W 21	Street Sweeping - Residential Street				00 20 22 24 0047
C/O Elmer O Fuller	34/100 FT OF LOT 3 AND E 32 03/100	Citywide Street Lighting	0.66	53.00	\$34.98	09-28-23-34-0047
Po Box 11162	FT OF LOT 4 BLK 1	, <u>-</u>		_	\$57.24	
St Paul MN 55111-0162		*** Owner and Taxpayer ***			\$37.24	
*1858 BAYARD AVE		owner and Taxpayer				
*Ward: 3		Total Ass	essment:	_	\$57.24	
*Pending as of: 8/21/2019		This Payr	nent:		\$0.00	
•		Current Y	Current Year Principal: Current Year Interest: Payoff Amount:			
		Current Y				
		Payoff A				
Robert W Macneal	PAYSON H. GILBERT'S ADD. W 10 67/100 FT OF LOT 4 AND ALL OF LOT	Street Sweeping - Residential Street Citywide Street Lighting	0.42 0.66	87.00 87.00	\$36.54 \$57.42	09-28-23-34-0048
Cynthia L Gipple	5 BLK 1	Citywide Street Lighting	0.00	87.00		
1862 Bayard Ave		****			\$93.96	
St Paul MN 55116-1211 * 1862 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Ass	essment:		\$93.96	
*Pending as of: 8/21/2019		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$93.96	

11.10.0) 11/3/201)	r ubite improvement Assessment i	r age 2				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dirk S Dixon	MELROSE PARK W 46 74/100 FT OF	Street Sweeping - Residential Stree	0.42	47.00		09-28-23-34-0050
Deanna L Dixon	LOTS I AND LOT 2 BLK 1	Citywide Street Lighting	0.66	47.00	\$31.02	0, 20 20 01 0000
1876 Bayard Ave				_	\$50.76	
St Paul MN 55116-1257		*** Owner and Taxpayer ***				
*1876 BAYARD AVE				_		
*Ward: 3		Total Asses	ssment:		\$50.76	
*Pending as of: 8/21/2019		This Payme	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$50.76	
— — — — — — — — Patrick W Harris	LANE'S CLEVELAND VILLAS PLAT 2	Street Sweeping - Residential Stree		90.00		
1885 Bayard Ave	W 40 FT OF LOT 64 AND ALL OF LOT	Citywide Street Lighting	0.66	90.00	\$59.40	07 20 20 01 0017
St Paul MN 55116-1212	63			_	\$97.20	
*1885 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment: \$97.20				
		This Payme	\$0.00			
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$97.20	
	LANE'S CLEVELAND VILLAS PLAT 2	Street Sweeping - Residential Stree		75.00		09-28-23-34-0018
Erin Sindberg Porter	E 1/2 OF LOT 61 AND ALL OF LOT 62	Citywide Street Lighting	0.66	75.00	\$49.50	
1891 Bayard Ave				_	\$81.00	
St Paul MN 55116-1212		*** Owner and Taxpayer ***				
*1891 BAYARD AVE						
*Ward: 3		Total Asses	ssment:		\$81.00	
*Pending as of: 8/21/2019		This Payme			\$0.00	
		Current Ye	ar Principal:		\$0.00	

Current Year Interest:

Payoff Amount:

\$0.00

\$81.00

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jacqueline L Petersen Trustee	MISSABE ADDITION W 1/2 OF VAC ALLEY ADJ AND FOL LOTS 15 AND	Street Sweeping - Residentia		109.50	\$45.99	09-28-23-34-0085
Timothy Morehead Trustee	LOT 16 BLK 2	Citywide Street Lighting	0.66	109.50	\$72.27	
1932 Bayard Ave		*** Owner and Taxpayer **:	*		\$118.26	
St Paul MN 55116-1215 * 1932 BAYARD AVE		Owner and Taxpayer	•			
*Ward: 3		Tota	al Assessment:		\$118.26	
*Pending as of: 8/21/2019			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$118.26	
	LANE'S CLEVELAND VILLAS, SAINT	Street Sweeping - Residentia		50.00		09-28-23-33-0024
1943 Bayard Ave	PAUL, MINN. LOT 50	Citywide Street Lighting	0.66	50.00	\$33.00	07 20 20 00 002 1
St Paul MN 55116-1214				_	\$54.00	
*1943 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***	*			
*Pending as of: 8/21/2019		Tota	al Assessment:	_	\$54.00	
		This	s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$54.00	
Rick Robert Atterbury	EX W ½ OF W ½; LOT 48 ALL OF LOT	Street Sweeping - Residentia		87.50	\$36.75	09-28-23-33-0106
1947 Bayard Ave	49	Citywide Street Lighting	0.66	87.50	\$57.75	
St Paul MN 55116-1214			a.		\$94.50	
*1947 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***	*			
*Pending as of: 8/21/2019		Tota	al Assessment:		\$94.50	
			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$94.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kathryn Ott Kostka	LANE'S CLEVELAND VILLAS, SAINT	Street Sweeping - Residential		50.00	\$21.00	09-28-23-33-0017
Peter Kostka	PAUL, MINN. LOT 42	Citywide Street Lighting	0.66	50.00	\$33.00	
1979 Bayard Ave				_	\$54.00	
St Paul MN 55116-1214		*** Owner and Taxpayer ***				
*1979 BAYARD AVE *Ward: 3		Total	Assessment:	=	\$54.00	
*Pending as of: 8/21/2019			Payment:		\$0.00	
1 chaing as 01. 6/21/2017			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$54.00	
Steven E Dicke	LANE'S CLEVELAND VILLAS, SAINT	Street Sweeping - Residential				09-28-23-33-0012
Sheila M Dicke	PAUL, MINN. LOT 37	Citywide Street Lighting	0.66	50.00	\$33.00	09-20-23-33-0012
2005 Bayard Ave				=	\$54.00	
St Paul MN 55116-1203		*** Owner and Taxpayer ***			φε που	
*2005 BAYARD AVE						
*Ward: 3		Total	Assessment:		\$54.00	
*Pending as of: 8/21/2019			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$54.00	
	LANE'S CLEVELAND VILLAS, SAINT	Street Sweeping - Residential S		50.00		09-28-23-33-0009
Dane Hudlik	PAUL, MINN. LOT 34	Citywide Street Lighting	0.66	50.00	\$33.00	
2019 Bayard Ave				=	\$54.00	
St Paul MN 55116-1203 * 2019 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total	Assessment:		\$54.00	
*Pending as of: 8/21/2019		This l	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$54.00	

Owner or Tanquece Properts Description Item Description Unit Rate Ownatify Chartee Amis Properts ID Christopher Nei \$17.0F LODES 1.2 AND LAST 1.8 LEST Street Sweeping - Residential Stree 0.6 99.50 \$41.79 9-28-23-33-0081 2036 Bayyal Ave \$17.0F LODES 1.2 AND LAST 1.8 LEST Citywide Street Lighting 0.6 99.50 \$56.50 \$56.50 **Ward: 3 ****Comer and Taxpyer **** \$107.46	Ratification Date: Resolution #:								
Rimberly J Nei	Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID		
Street Succession Stre	Christopher Nei						09-28-23-33-0081		
Name		FT OF LOTS 1 2 AND LOT 3 BLK 2	Citywide Street Lighting	0.66	99.50	\$65.67			
**2036 BAYARD AVE *Ward: 3 *Pending as of: 8/21/2019 **Pending as of: 8/21/2019 **					_	\$107.46			
March: 3 **Pending as of: \$/21/2019 Paul G Michenfelder 2043 Bayard Ave \$14 Bayard Ave \$15 Paul MN 55116-1203 **Pending as of: \$/21/2019 Pending as of: \$/21/2019 Paul G Michenfelder 2043 Bayard Ave \$15 Paul MN 55116-1203 **Pending as of: \$/21/2019 Paul G Michenfelder 2043 Bayard Ave \$15 Paul MN 55116-1203 *Owner and Taxpayer *** Paul G Michenfelder 2043 Bayard Ave \$15 Paul MN 55116-1203 ***Owner and Taxpayer *** Pending as of: \$/21/2019 Pennikee II Mishou 2043 Bayard Ave \$15 Current Year Interest: \$15 Aug Current Year Interest: \$25 Aug Curre			*** Owner and Taxpayer ***						
*Pending as of: 8/21/2019 *Pending as of: 8/21/					_				
Current Year Principal: S0.00									
Paul G Michenfelder LANES CLEVELAND VILLAS, SAINT PAUL, MINN. LOT 29 Citywide Street Lighting 0.66 50.00 \$21.00 09-28-23-33-0004	*Pending as of: 8/21/2019			-					
Paul G Michenfelder				_					
Paul G Michenfelder									
2043 Bayard Ave PAUL, MINN, LOT 29 Citywide Street Lighting 0.66 50.00 \$33.00			1 ayon	Zimount.		\$107.40			
2043 Bayard Ave PAUL, MINN. LOT 29 Citywide Street Lighting 0.66 50.00 \$33.00	Paul G Michenfelder		Street Sweeping - Residential S		50.00		09-28-23-33-0004		
*2043 BAYARD AVE *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$54.00 *Current Year Principal: \$0.00 *Current Year Interest: \$0.00 *Current Year Interest: \$0.00 *Payoff Amount: \$54.00 *Dennilee H Mishou LANES CLEVELAND VILLAS, SAINT PAUL, MINN. LOT 27 *Street Sweeping - Residential Strex 0.42 50.00 \$21.00 99-28-23-33-0002 *2051 Bayard Ave PAUL, MINN. LOT 27 *Street Sweeping - Residential Strex 0.66 50.00 \$33.00 *2051 Bayard Ave PAUL, MINN. LOT 27 **Citywide Street Lighting 0.66 50.00 \$33.00 **2051 BAYARD AVE ****Owner and Taxpayer *** **Ward: 3 *Pending as of: 8/21/2019 **Total Assessment: \$54.00 **Current Year Principal: \$0.00 **Current Year Principal: \$0.00 **Current Year Interest: \$0.00 **Current Year Interest: \$0.00	2043 Bayard Ave	PAUL, MINN. LOT 29	Citywide Street Lighting	0.66	50.00	\$33.00			
*Ward: 3 *Pending as of: 8/21/2019 *Pending as of: 8/21/2019 *Total Assessment: \$54.00 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$54.00 *St.4.00 *Dennilee H Mishou LANES CLEVELAND VILLAS, SAINT PAUL, MINN. LOT 27 Citywide Street Lighting 0.66 \$0.00 \$33.00 *2051 Bayard Ave PAUL, MINN. LOT 27 Street Sweeping - Residential Stree 0.42 \$0.00 \$21.00 \$09-28-23-33-0002 Citywide Street Lighting 0.66 \$0.00 \$33.00 *2051 BAYARD AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 **Total Assessment: \$54.00 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	St Paul MN 55116-1203				_	\$54.00			
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$54.00 Dennilee H Mishou 2051 Bayard Ave 2051 Bayard Ave St Paul MN 55116-1203 ***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$54.00 This Payment: \$0.00 Current Year Interest: \$0.00			*** Owner and Taxpayer ***		_				
Current Year Principal: \$0.00	*Pending as of: 8/21/2019		Total A	Assessment:		\$54.00			
Current Year Interest: S0.00 Payoff Amount: S54.00			This Pa	This Payment:		\$0.00			
Dennilee H Mishou				Current Year Principal:					
Dennilee H Mishou			Curren	Current Year Interest:		\$0.00			
2051 Bayard Ave PAUL, MINN. LOT 27 Citywide Street Lighting 0.66 50.00 \$33.00 \$t Paul MN 55116-1203 \$54.00 *2051 BAYARD AVE *** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$54.00 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			Payoff	Amount:		\$54.00			
2051 Bayard Ave PAUL, MINN. LOT 27 Citywide Street Lighting 0.66 50.00 \$33.00 \$t Paul MN 55116-1203 \$54.00 *2051 BAYARD AVE *** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$54.00 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	Dennilee H Mishou	LANE'S CLEVELAND VILLAS. SAINT	Street Sweeping - Residential S				00 28 23 33 0002		
St Paul MN 55116-1203 \$54.00 *2051 BAYARD AVE *** Owner and Taxpayer *** *Ward: 3 Total Assessment: \$54.00 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: \$0.00							07-20-23-33-0002		
*2051 BAYARD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$54.00 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			,		=	\$54.00			
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$54.00 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			*** Owner and Taxpayer ***			\$34.00			
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			1 7						
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	*Pending as of: 8/21/2019		Total A	Assessment:	-	\$54.00			
Current Year Principal: \$0.00 Current Year Interest: \$0.00	5		This Pa	ayment:		\$0.00			
				-		\$0.00			
Payoff Amount: \$54.00			Curren	t Year Interest:		\$0.00			
			Payoff	Amount:		\$54.00			

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William J Luedke	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stre	0.42	80.00	\$33.60	09-28-22-33-0039
Judy A Luedke	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 1 AND LOT 2	Citywide Street Lighting	0.66	80.00	\$52.80	
484 Belvidere St E	BLK 5 PAUL MARTIN'S FIRST			=	\$86.40	
St Paul MN 55107-2404	ADDITION & IN SD WEST ST PAUL	*** Owner and Taxpayer ***				
*484 BELVIDERE ST E	REAL ESTATE AND IMPROVEMENT			_		
*Ward: 2		Total Ass	essment:		\$86.40	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$86.40	
			- — — -			
David A Berg	PAUL MARTIN'S 1ST ADDITION TO THE CITY OF ST. PAUL EX E 40 FT;	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-22-33-0011
Judy Lee Berg	LOT 5 BLK 35 WEST ST PAUL REAL	Alley Sweeping	0.13	40.00	\$5.20	
491 Belvidere St E	EST AND IMP SYNDICATE ADDITION	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55107-2461	NO 2 AND IN SD PAUL MARTINS 1ST ADDITION LOT 12 BLK 3				\$48.40	
*491 BELVIDERE ST E *Ward: 2	1.05111.01.1201.12.02.13	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	Total Assessment:			
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:	\$48.40		
Silvia Espinoza	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-22-33-0113
Monica Elias Espinoza	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOT 15 BLK 3 PAUL	Alley Sweeping	0.13	40.00	\$5.20	
503 Belvidere St E	MARTIN'S 1ST ADDN TO WEST ST	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55107-2461	PAUL AND IN SD WEST ST PAUL				\$48.40	
*503 BELVIDERE ST E *Ward: 2	REAL ESTATE AND IMPROVEMENT	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
1 chaing as of. 0/21/2017		This Pay			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nicholas S Sippel-Mercugliano	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Str	ee 0.42	40.00	\$16.80	09-28-22-33-0018
Katelyn G Sippel-Mercugliano	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOT 10 BLK 35	Citywide Street Lighting	0.66	40.00	\$26.40	
515 Belvidere St E	ADDITION NO. 2 EOT TO BER 33			=	\$43.20	
St Paul MN 55107-2461		*** Owner and Taxpayer ***				
*515 BELVIDERE ST E						
*Ward: 2		Total As	ssessment:		\$43.20	
*Pending as of: 8/21/2019		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$43.20	
Jacob J Knudson	MACALESTER VILLAS LOT 18 BLK 6	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-11-0089
Emily M Knudson		Alley Sweeping	0.13	40.00	\$5.20	
1586 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2022					\$48.40	
*1586 BERKELEY AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	Total Assessment:			
		This Pay	yment:		\$0.00	
		Current	Current Year Principal: Current Year Interest: Payoff Amount:			
		Current				
		Payoff A				
Patricia Lazarus	MACALESTER VILLAS LOT 21 BLK 6	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-11-0092
James J Mckenzie		Alley Sweeping	0.13	40.00	\$5.20	
1598 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2022					\$48.40	
*1598 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=======================================		
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Daniel G Bonin	MACALESTER VILLAS LOT 12 BLK 1	Street Sweeping - Residential S	tree 0.42	40.00	\$16.80	09-28-23-11-0012
Catherine K Rose		Alley Sweeping	0.13	40.00	\$5.20	** =* =* ***
1599 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2023				_	\$48.40	
*1599 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total .	Assessment:		\$48.40	
•		This P	ayment:		\$0.00	
		Currer	nt Year Principal:		\$0.00	
		Currer	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	
Karl D Heal	MACALESTER VILLAS LOT 22 BLK 6	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-11-0093
Christine R Heal		Alley Sweeping	0.13	40.00	\$5.20	
1602 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2022					\$48.40	
*1602 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:			\$40.00 \$0.00	
			This Payment:			
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$40.00	
	MACALESTER VILLAS LOT 10 BLK 1	Street Sweeping - Residential S				
		Alley Sweeping	0.42	40.00	\$5.20	09-28-23-11-0010
Anne L Kelley Conklin		Citywide Street Lighting	0.66	40.00	\$26.40	
1607 Berkeley Ave St Paul MN 55105-2023		,		_		
*1607 BERKELEY AVE		*** Owner and Taxpayer ***			\$48.40	
		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:	=	\$48.40	
1 chaing as 01. 0/21/2019			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
			f Amount:		\$48.40	
		- 11, 11			*	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joseph Downes	MACALESTER VILLAS LOT 24 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-11-0095
1610 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2022		Citywide Street Lighting	0.66	40.00	\$26.40	
*1610 BERKELEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Andrew N Roy	MACALESTER VILLAS LOT 9 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-11-0009
Sarah J Stocco		Alley Sweeping	0.13	40.00	\$5.20	
1611 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2023					\$48.40	
*1611 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A		=	\$48.40	
*Pending as of: 8/21/2019			Total Assessment: This Payment:			
			ent: ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$48.40	
		r ayon An	iount.		\$ 10.10	
Albert C Pruszinske	MACALESTER VILLAS LOT 25 BLK 6	Street Sweeping - Residential Stree		40.00		09-28-23-11-0096
Annie Pruszinske		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 00,0
1614 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2022				_	\$48.40	
*1614 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Vernon R Jorgensen	MACALESTER VILLAS LOT 8 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-11-0008
Betty E Jorgensen		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 21 0000
1615 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2023				=	\$48.40	
*1615 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	MACALECTED VILLAGLOT 27 DLV					
Sherri A Hildebrandt	MACALESTER VILLAS LOT 27 BLK 6	Street Sweeping - Residential Stree	0.42 0.13	40.00	\$16.80 \$10.86	09-28-23-11-0098
1622 Berkeley Ave		Alley Sweeping Citywide Street Lighting	0.13	83.50 40.00	\$26.40	
St Paul MN 55105-2022		City wide Street Lighting	0.00	-	•	
*1622 BERKELEY AVE		*** Owner and Taxpayer ***			\$54.06	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$54.06	
		This Paym	This Payment:			
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$54.06	
Dominic J Eisenzimmer	MACALESTER VILLAS LOT 5 BLK 2	Street Sweeping - Residential Stree	0.42	91.00	\$38.22	09-28-23-11-0030
1643 Berkeley Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	62.00 91.00	\$8.06 \$60.06	
St Paul MN 55105-2025		Citywide Street Lighting	0.00	91.00		
*1643 BERKELEY AVE		*** Owner and Taxpayer ***			\$106.34	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	essment:	-	\$106.34	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$106.34	
		1 mj 011 111				

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ryan M Donnelly	MACALESTER VILLAS E 1/2 OF LOT 8	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	09-28-23-11-0032
Stephanie M Donnelly	AND ALL OF LOT 7 BLK 2	Alley Sweeping	0.13	60.00	\$7.80	,,
130 Wheeler St S		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-1925				_	\$72.60	
*1659 BERKELEY AVE		*** Owner and Taxpayer ***			**	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asso	essment:	_	\$72.60	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.60	
Keith Kienholz	MACALESTER VILLAS LOT 14 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-11-0037
Karyn Kienholz		Alley Sweeping	0.13	40.00	\$5.20	
1687 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2025				_	\$48.40	
*1687 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Amount:			\$48.40	
David M Wheaton	MACALESTER VILLAS E 1/2 OF LOT 18 AND ALL OF LOT 19 BLK 5	Street Sweeping - Residential Stree	0.42 0.13	60.00 60.00	\$25.20 \$7.80	09-28-23-11-0065
Michele Moylan	10.1.1.D.1.1.D.1.17.D.1.17	Alley Sweeping Citywide Street Lighting	0.13	60.00	\$7.80 \$39.60	
1688 Berkeley Ave		Citywide Succi Lighting	0.00	=		
St Paul MN 55105-2024		*** 0 17			\$72.60	
*1688 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		 				
*Pending as of: 8/21/2019		Total Asso			\$72.60	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Peter B Kelley	MACALESTER VILLAS LOT 1 BLK 4	Street Sweeping - Residential Stree	0.42	83.50	\$35.07	09-28-23-12-0049
Teresa R Nolte		Alley Sweeping	0.13	40.00	\$5.20	02 20 20 12 00 12
1700 Berkeley Ave		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-2026				_	\$95.38	
*1700 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$95.38	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$95.38	
Margaret R Reilly	MACALESTER VILLAS LOT 28 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0046
Lawrence J Reilly		Alley Sweeping	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1707 Berkeley Ave		Citywide Street Lighting	0.00	40.00	<u> </u>	
St Paul MN 55105-2027					\$48.40	
*1707 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A		=	0.40, 40	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40 \$0.00	
		-	This Payment: Current Year Principal:			
			ear Principai: ear Interest:		\$0.00 \$0.00	
					\$48.40	
		Payoff An	iount:		340.40	
Kathryn E Splan	MACALESTER VILLAS LOT 4 BLK 4	Street Sweeping - Residential Stree		40.00	<u>\$16.80</u>	09-28-23-12-0052
Wilke Tonnis Adrianus Ter Veldhuis		Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 000-
1710 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2026				_	\$48.40	
*1710 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Erikka F Graves	MACALESTER VILLAS LOT 25 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0043
1719 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2027		Citywide Street Lighting	0.66	40.00	\$26.40	
*1719 BERKELEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
Andrew Petschauer	MACALESTER VILLAS LOT 6 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0054
1675 Englewood Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55104-1114		Citywide Street Lighting	0.00	+0.00		
*1720 BERKELEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	Total Assessment:			
			This Payment:			
			ar Principal:		\$0.00 \$0.00	
		Current Ye	-		\$0.00	
		Payoff Am	ount:		\$48.40	
Michael T Cunningham	MACALESTER VILLAS LOT 7 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0055
Grace W Cunningham		Alley Sweeping	0.13	40.00	\$5.20	
1214 6th St Sw		Citywide Street Lighting	0.66	40.00	\$26.40	
Rochester MN 55902-1951				_	\$48.40	
*1724 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Douglas L Hodgson	MACALESTER VILLAS LOT 23 BLK 3	Street Sweeping - Residential Stre	<u>eε</u> 0.42	40.00	\$16.80	09-28-23-12-0041
Patricia C Mcgrade		Alley Sweeping	0.13	40.00	\$5.20	
1727 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2027				_	\$48.40	
*1727 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Brendan R Rylander	MACALESTER VILLAS LOT 11 BLK 4	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-12-0059
Laura H Rylander		Alley Sweeping	0.13	40.00	\$5.20	
1740 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105					\$48.40	
*1740 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	MACALESTER VILLAS LOT 12 BLK 4	Street Sweeping - Residential Stre	<u> </u>			
1744 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-12-0000
St Paul MN 55105-2026		Citywide Street Lighting	0.66	40.00	\$26.40	
*1744 BERKELEY AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$40.40	
*Pending as of: 8/21/2019						
1 Chaing as 01. 6/21/2019		Total As	ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David Kroonblawd	MACALESTER VILLAS LOT 13 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0061
Carla K Belistri		Alley Sweeping	0.13	40.00	\$5.20	02 20 20 12 0001
1748 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2026				_	\$48.40	
*1748 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:		\$48.40		
		This Payment: Current Year Principal:			\$0.00	
				\$0.00		
		Current Year Interest: Payoff Amount:			\$0.00	
					\$48.40	
	MACALESTER VILLAS LOT 14 BLK 4					
Christopher Flynn	MACALESTER VILLAS LOT 14 BLK 4	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-12-0062
Reyhan Peksoz Flynn		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1752 Berkeley Ave		Citywide Street Lighting	0.00	+0.00	<u> </u>	
St Paul MN 55105-2026		*** Owner and Taxpayer ***			\$48.40	
*1752 BERKELEY AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$48.40	
Fending as 01: 8/21/2019					\$0.00	
					\$0.00	
					\$0.00	
					\$48.40	
Keith A Rutkowski	MACALESTER VILLAS LOT 16 BLK 3	Street Sweeping - Residential Stree	0.42	82.50	\$34.65	09-28-23-12-0034
Sharon Rutkowski		Alley Sweeping	0.13	39.00	\$5.07	
1757 Berkeley Ave		Citywide Street Lighting	0.66	82.50	\$54.45	
St Paul MN 55105-2027		*** Owner and Taxpayer ***		_	\$94.17	
*1757 BERKELEY AVE						
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Assessment:			\$94.17	
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00 \$94.17	
		Payoff Am	Payoff Amount:			

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Teresa L Greseth	WEINHAGEN PLACE LOT 6	Street Sweeping - Residential Stree	0.42	87.00	\$36.54	09-28-23-12-0005
Scott D Greseth		Citywide Street Lighting	0.66	87.00	\$57.42	
1761 Berkeley Ave				_	\$93.96	
St Paul MN 55105-2029		*** Owner and Taxpayer ***				
*1761 BERKELEY AVE						
*Ward: 3		Total Assessment:			\$93.96	
*Pending as of: 8/21/2019		This Paym	This Payment: Current Year Principal: Current Year Interest:		\$0.00	
		Current Ye			\$0.00	
		Current Ye			\$0.00	
		Payoff An	Payoff Amount:			
Patricia L Mumford	MACALESTER VILLAS SECOND ADDITION LOT 3 BLK 1	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	43.00 43.00	\$18.06 \$5.59	09-28-23-12-0081
Declan P Mumford		Citywide Street Lighting	0.13	43.00	\$3.39 \$28.38	
1770 Berkeley Ave		City wide Succt Lighting	0.00	 5.00		
St Paul MN 55105-2028		*** Owner and Taxpayer ***			\$52.03	
*1770 BERKELEY AVE *Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:			\$52.03	
		This Paym	This Payment:		\$0.00	
		Current Ye	Current Year Principal:			
		Current Ye	Current Year Interest:		\$0.00	
		Payoff An	Payoff Amount:			
Antonio Dorca	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0084
Eileen L Valencia	ADDITION LOT 6 BLK 1	Alley Sweeping	0.13	43.00	\$5.59	
1782 Berkeley Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2028					\$52.03	
*1782 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Total Assessment:		\$52.03	
		-	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Payoff An				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Eric Alan Taylor	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0085
1786 Berkeley Ave	ADDITION LOT 7 BLK 1	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-2028		Citywide Street Lighting	0.66	43.00	\$28.38	
*1786 BERKELEY AVE				_	\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	=	\$52.03	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am			\$52.03	
Michael J Seaberg	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0087
Daniel Watts	ADDITION LOT 9 BLK 1	Alley Sweeping	0.13	43.00	\$5.59	
1796 Berkely Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105				_	\$52.03	
*1796 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asses	ssment:		\$52.03	
1 chang as of. 6/21/2019		This Paymo			\$0.00	
			Current Year Principal:			
		Current Ye	=		\$0.00 \$0.00	
		Payoff Am	ount:		\$52.03	
Shelagh G Mullen	WEINHAGEN REARRANGEMENT	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	09-28-23-12-0008
John Thomas Mullen	LOT 4	Citywide Street Lighting	0.66	50.00	\$33.00	
1803 Berkeley Ave				_	\$54.00	
St Paul MN 55105-2029		*** Owner and Taxpayer ***				
*1803 BERKELEY AVE						
*Ward: 3		Total Asses	ssment:		\$54.00	
*Pending as of: 8/21/2019		This Paymo			\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$54.00	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 43.00 \$18.06 Michael R Krumm MACALESTER VILLAS SECOND 09-28-23-12-0090 ADDITION LOT 12 BLK 1 0.13 43.00 Alley Sweeping \$5.59 Maureen K Krumm Citywide Street Lighting 43.00 \$28.38 0.66 1810 Berkeley Ave \$52.03 St Paul MN 55105-2028 *** Owner and Taxpayer *** *1810 BERKELEY AVE *Ward: 3 Total Assessment: \$52.03 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$52.03 43.00 Street Sweeping - Residential Stree 0.42 \$18.06 Mary Mccarl MACALESTER VILLAS SECOND 09-28-23-12-0091 ADDITION LOT 13 BLK 1 Alley Sweeping 0.13 43.00 \$5.59 Heather Mccarl Citywide Street Lighting 0.66 43.00 \$28.38 1814 Berkeley Ave St Paul MN 55105-2028 \$52.03 *** Owner and Taxpayer *** *1814 BERKELEY AVE *Ward: 3 Total Assessment: \$52.03 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$52.03 BERKELEY PLACE LOT 1 BLK 2 Dustin N Clements Street Sweeping - Commercial/Art 1.02 63.50 \$64.77 09-28-23-21-0017 0.42 24.00 \$10.08 Street Sweeping - Residential Stree Julie A Clements Alley Sweeping 0.13 48.00 \$6.24 1822 Berkeley Ave Citywide Street Lighting 0.66 87.50 \$57.75 St Paul MN 55105-1658 \$138.84 *1822 BERKELEY AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$138.84 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$138.84

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
— — — — — — — — — — — — — — — — — — —	BERKELEY PLACE LOT 3 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0019
Patricia A Galligan		Alley Sweeping	0.13	40.00	\$5.20	v, _v _v _v
1830 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1658				_	\$48.40	
*1830 BERKELEY AVE		*** Owner and Taxpayer ***			Ψ.σσ	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Lee Hesselroth	BERKELEY PLACE LOT 14 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0014
Jeanne Barker Nunn		Alley Sweeping	0.13	40.00	\$5.20	
1833 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1659					\$48.40	
*1833 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=======================================		
*Pending as of: 8/21/2019		Total Asse	\$48.40			
			This Payment:			
		Current Year Principal:			\$0.00	
		Current Ye	Current Year Interest:			
		Payoff Am	ount:		\$48.40	
	BERKELEY PLACE LOT 4 BLK 2	Street Sweeping - Residential Stree				
Amy H Spong		Alley Sweeping	0.13	40.00	\$5.20	07-20-25-21-0020
1836 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1658				_	\$48.40	
*1836 BERKELEY AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$48.40	
1 chaing as 01. 0/21/2019		Total Assessment: This Payment:			\$0.00	
		-	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff Am			\$48.40	
		rayon Am	ount:		348.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert G Tipping	BERKELEY PLACE LOT 13 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0013
Mary O Tipping		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 21 0010
1837 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1659				_	\$48.40	
*1837 BERKELEY AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3		1 3				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$48.40	
1 thanks as on 0,21,201,		This Payme	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am			\$48.40	
Brian N Johnson	BERKELEY PLACE LOT 7 BLK 2	Street Sweeping - Residential Stree		40.00		09-28-23-21-0023
Janelle H Johnson		Alley Sweeping	0.13	40.00	\$5.20	
1844 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1658					\$48.40	
*1844 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	\$48.40			
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$48.40	
	BERKELEY PLACE LOT 10 BLK 1	Street Sweeping - Residential Stree				
Gloria A Rosso White		Alley Sweeping	0.13	40.00	\$5.20	07-20-23-21-0010
1845 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1659				=	\$48.40	
*1845 BERKELEY AVE		*** Owner and Taxpayer ***			ψτυ.τυ	
*Ward: 3		- F <i>y</i>				
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
1 Chang as 01. 0/21/2017		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Current re	ai illiciest.		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kellie C Connor	BERKELEY PLACE EX E 10 INCHES	Street Sweeping - Residential Stree	0.42	86.00	\$36.12	09-28-23-21-0008
David T Connor	LOT 8 BLK 1	Alley Sweeping	0.13	47.00	\$6.11	
1849 Berkeley Ave		Citywide Street Lighting	0.66	86.00	\$56.76	
St Paul MN 55105-1659				_	\$98.99	
*1849 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$98.99	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$98.99	
Jerry T Amundson	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. LOT 39 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0072
Shannon Mullen	TAGE, MINN. EGT 37 BER 1	Alley Sweeping	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1855 Berkeley Ave		Citywide Street Lighting	0.00	40.00	•	
St Paul MN 55105-1631		444.0			\$48.40	
*1855 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A		=	0.40, 40	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40 \$0.00	
			This Payment: Current Year Principal: Current Year Interest:			
					\$0.00 \$48.40	
		Payoff An	iount:		\$40.40	
Robert M Lundgren	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stree		40.00		09-28-23-21-0071
Marjory E Singher	PAUL, MINN. LOT 38 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	03 20 20 21 00/1
1861 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1631				=	\$48.40	
*1861 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
3		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Charles P Glasser	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Str	<u>e</u> ε 0.42	40.00	\$16.80	09-28-23-21-0076
1862 Berkeley Ave	PAUL, MINN. LOT 3 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1630		Citywide Street Lighting	0.66	40.00	\$26.40	
*1862 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	A LINTONG GUNDAUGON NO 50 CT	Charact Commission Devided in Section 1				· — — — — -
Joseph Vanderbosch	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. LOT 6 BLK 2	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-21-0079
Lindsey Vanderbosch	,	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1876 Berkeley Ave		Citywide Street Lighting	0.00	+0.00		
St Paul MN 55105-1630		*** 0 1T ***			\$48.40	
*1876 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:	=	\$48.40	
Pending as 61: 8/21/2019		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$48.40	
Stephen J Kuncio	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-21-0066
Suzanne D Kuncio	PAUL, MINN. LOT 33 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1885 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1631				=	\$48.40	
*1885 BERKELEY AVE *Ward: 3		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Pavoff /	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christine E Newman	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0084
Audrey L Chelberg	PAUL, MINN. LOT 11 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 20 000
1898 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1630				_	\$48.40	
*1898 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
		. — — — — — —				
Daniel J Lane	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0062
Marquerite J Steffes	PAUL, MINN. LOT 29 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1901 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1631					\$48.40	
*1901 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$48.40	
					\$0.00	
					\$0.00	
		Current Ye			\$0.00	
		Payoff An	ount:	\$48.40		
John D Douthit	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stree				
Mary E Douthit	PAUL, MINN. LOT 12 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-21-0085
1902 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1630		, , ,		_	\$48.40	
*1902 BERKELEY AVE		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		o mior and rampayor				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
1 chaing as of. 0.2.1/2017		This Paym			\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye Current Ye	ar Principal: ar Interest:		\$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Alexander Wohl	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0086
1906 Berkeley Ave	PAUL, MINN. LOT 13 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 -0 000
St Paul MN 55105-1630		Citywide Street Lighting	0.66	40.00	\$26.40	
*1906 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse			\$48.40	
		This Payme			\$0.00	
			ear Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	- – – – – – – –					
John M Peine	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. LOT 15 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0088
Annie Peine	PAUL, MINN. LOT 13 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1914 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1630					\$48.40	
*1914 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 .		-	0.40, 40	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payme			\$0.00 \$0.00	
			Current Year Principal: Current Year Interest:			
		Payoff Am			\$0.00 \$48.40	
		rayon An	iount.		340.40	
Kathy Joal Tambornino	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stree		40.00		09-28-23-21-0089
1918 Berkeley Ave	PAUL, MINN. LOT 16 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 21 000,
St Paul MN 55106-1630		Citywide Street Lighting	0.66	40.00	\$26.40	
*1918 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	ssment:		\$48.40	
		This Payme			\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-21-0090
1922 Berkeley Ave	PAUL, MINN. LOT 17 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1630		Citywide Street Lighting	0.66	40.00	\$26.40	
*1922 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Ass			\$48.40	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Stre				
Ekaterina Glozman	PAUL, MINN. LOT 24 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-21-0057
1925 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1631		,		_	\$48.40	
*1925 BERKELEY AVE		*** Owner and Taxpayer ***			\$46.40	
*Ward: 3		owner and ranpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
-		This Pay	This Payment:			
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Amount:			\$48.40	
	A VINTANIA AVIDA VICINIA SO CT	Street Sweeping - Residential Stre		— — — —		. — — — — —
John W Askew	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. LOT 20 BLK 2	Alley Sweeping	0.42	47.00	\$6.11	09-28-23-21-0093
1936 Berkeley Ave		Citywide Street Lighting	0.66	87.00	\$57.42	
St Paul MN 55105-1630		City wide Salect Eighting	0.00	=		
*1936 BERKELEY AVE *Ward: 3		*** Owner and Taxpayer ***			\$100.07	
		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$100.07	
		This Payment:			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$100.07	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Alexander D Jude	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0030
Erin Terese Jude	RAMSEY COUNTY, MINN. LOT 3 BLK	Alley Sweeping	0.13	40.00	\$5.20	** ****
1950 Berkeley Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1632				_	\$48.40	
*1950 BERKELEY AVE		*** Owner and Taxpayer ***			* 10.11	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
<u> </u>		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
						. — — — — —
Monica Collins	LANE'S VIEW LOT 26	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0025
Paul Collins		Alley Sweeping	0.13	40.00	\$5.20	
1951 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1633				_	\$48.40	
*1951 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	\$48.40			
		This Paym	\$0.00			
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$48.40	
	LANE'S VIEW LOT 25	Street Sweeping - Residential Stree				
Jeffrey L Hupf	En.Es .E. Est Es	Alley Sweeping - Residential Street	0.42	40.00	\$5.20	09-28-23-22-0024
Carmen R Hupf		Citywide Street Lighting	0.66	40.00	\$26.40	
1953 Berkeley Ave		City wide Street Lighting	0.00	-	_	
St Paul MN 55105-1633		*** Owner and Taxpayer ***			\$48.40	
*1953 BERKELEY AVE		· · · Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S		40.00		09-28-23-22-0034
Colleen L Dobie	RAMSEY COUNTY, MINN. SUBJ TO	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 22 000 .
1968 Berkeley Ave	ESMT LOT 8 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1632				_	\$48.40	
*1968 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:	_	\$48.40	
1 chaing as 01. 6/21/2019			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
			f Amount:		\$48.40	
Patricia Ann Dolan	LANE'S VIEW LOT 20	Street Sweeping - Residential S		39.00	<u>\$16.38</u>	09-28-23-22-0019
1975 Berkeley Ave		Alley Sweeping	0.13	39.00	\$5.07	07-20-25-22-0017
St Paul MN 55105-1633		Citywide Street Lighting	0.66	39.00	\$25.74	
*1975 BERKELEY AVE				_	\$47.19	
*Ward: 3		*** Owner and Taxpayer ***			Ψ17112	
*Pending as of: 8/21/2019		Total	Assessment:	\$47.19		
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Curre	Current Year Interest:			
		Payof	f Amount:	\$47.19		
Michael A Brotman	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-22-0037
Lori A Collier	RAMSEY COUNTY, MINN. LOT 11 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1980 Berkely Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1632					\$48.40	
*1980 BERKELEY AVE *Ward: 3		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:	=	\$48.40	
6		This F	Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Pavoi	f Amount:		\$48.40	

Ratification Date:

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dianne E Matthews	LANE'S VIEW LOT 18	Street Sweeping - Residential Stre	= 0.42	39.00	\$16.38	09-28-23-22-0017
981 Berkeley Ave		Alley Sweeping	0.13	39.00	\$5.07	
St Paul MN 55105-1633		Citywide Street Lighting	0.66	39.00	\$25.74	
41981 BERKELEY AVE				_	\$47.19	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019					<u> </u>	
			sessment:		\$47.19	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$47.19	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stre				
Paul M Sundquist	RAMSEY COUNTY, MINN. LOT 15 BLK	Alley Sweeping	0.42	38.00	\$4.94	09-28-23-22-0041
1998 Berkeley Ave	2	Citywide Street Lighting	0.66	82.00	\$54.12	
St Paul MN 55105-1632		City wide Street Eighting	0.00	02.00 =		
*1998 BERKELEY AVE		*** Owner and Taxpayer ***			\$93.50	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 cliding as of. 6/21/2017		Total Assessment:			\$93.50	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current	Current Year Interest:			
		Payoff Amount:			\$93.50	
						· — — — — —
Stanley E Furr	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 1 BLK	Street Sweeping - Residential Stre Alley Sweeping	0.42 0.13	82.00 38.00	\$34.44 \$4.94	09-28-23-22-0140
Mary Susan Furr	1	Citywide Street Lighting	0.66	82.00	\$4.94 \$54.12	
2002 Berkeley Ave		Citywide Street Lighting	0.00	82.00		
St Paul MN 55105-1634		*** Owner and Taxpayer ***			\$93.50	
*2002 BERKELEY AVE *Ward: 3		Owner and Taxpayer				
Pending as of: 8/21/2019		Total As	sessment:	-	\$93.50	
5		This Pay	ment:		\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$93.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
David R Methner	ROBERT L WARES ADDITION LOT 28	Street Sweeping - Residential S	tree 0.42	90.00	\$37.80	09-28-23-22-0139
Sara E Gross Methner	BLK 1	Alley Sweeping	0.13	56.00	\$7.28	**
2003 Berkeley Ave		Citywide Street Lighting	0.66	90.00	\$59.40	
St Paul MN 55105-1635				_	\$104.48	
*2003 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total .	Assessment:		\$104.48	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$104.48	
Steven M Tushaus	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 2 BLK	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-22-0141
2006 Berkeley Ave	1	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-1634		Citywide Street Lighting	0.00	40.00	-	
*2006 BERKELEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total .	Assessment:	\$48.40		
		This P	This Payment: Current Year Principal: Current Year Interest:			
		Currer				
		Payof	f Amount:	\$48.40		
Elizabeth Ann Cader	ROBERT L WARES ADDITION LOT 27	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-22-0138
2007 Berkeley Ave	BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1635		Citywide Street Lighting	0.66	40.00	\$26.40	
*2007 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
 Ethan R Torrey	ROBERT L WARES ADDITION LOT 23	Street Sweeping - Residential Str	<u>eε</u> 0.42	40.00	\$16.80	09-28-23-22-0134
Tricia H B Torrey	BLK 1	Alley Sweeping	0.13	40.00	\$5.20	V7 V
2023 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1635				_	\$48.40	
⁴ 2023 BERKELEY AVE		*** Owner and Taxpayer ***				
Ward: 3				_		
Pending as of: 8/21/2019		Total As	ssessment:	_	\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Nancy Salazar	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 8 BLK	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-22-0147
6545 Broadview Dr	1	Alley Sweeping	0.13	40.00	\$5.20	
Prior Lake MN 55372-3426		Citywide Street Lighting	0.66	40.00	\$26.40	
2028 BERKELEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	\$48.40		
		This Payment:			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Robert E Dill	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 11 BLK	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-22-0150
ulie R Dill	1	Alley Sweeping	0.13	40.00	\$5.20	
2040 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1634					\$48.40	
2040 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Naomi C Rettke	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-22-0151
David A Bachman	RAMSEY COUNTY, MINN. LOT 12 BLK	Alley Sweeping	0.13	40.00	\$5.20	
2044 Berkeley Ave	1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1634				_	\$48.40	
*2044 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays	ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$48.40	
		1 ayon A	nount.		\$ 10.10	
Michelle B Brasure	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street		40.00		09-28-23-22-0153
4357 42nd Ave S	RAMSEY COUNTY, MINN. LOT 14 BLK	Alley Sweeping	0.13	40.00	\$5.20	0> 20 20 22 0100
Minneapolis MN 55406-4041	1	Citywide Street Lighting	0.66	40.00	\$26.40	
*2052 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	\$48.40		
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:	\$48.40		
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Commercial/Art		63.00		
2056 Berkeley Ave	RAMSEY COUNTY, MINN. LOT 15 BLK	Street Sweeping - Residential Street		19.00	\$7.98	09-28-23-22-0134
St Paul MN 55105-1634	1	Alley Sweeping	0.13	38.00	\$4.94	
*2056 BERKELEY AVE		Citywide Street Lighting	0.66	82.00	\$54.12	
*Ward: 3				_	\$131.30	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Ass	essment:	-	\$131.30	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$131.30	

Owner or Taxpayer	Property Description	Item Description	<u>Unit R</u>	Rate	Quantity	Charge Amts	Property ID
Flint Hills Resources Pine Bend Llc	PORT AUTHORITY PLAT NO. 3 SUBJ	Street Sweeping - Commerci		.02	672.00	\$685.44	09-28-22-14-0001
Attn Property Tax Dept	TO ESMTS LOT 5 AND EX SLY 140 FT LOT 6 BLK 5	Citywide Street Lighting	0	0.66	672.00	\$443.52	
Po Box 2917	LOT OBLK 3					\$1,128.96	
Wichita KS 67201-2917		*** Taxpayer and 3rd Party	***				
*2209 CHILDS RD *Ward: 7		Tot	Total Assessment:		\$1,128.96		
*Pending as of: 8/21/2019		Thi	s Payment:			\$0.00	
		Cur	rent Year Principa	al:		\$0.00	
		Cur	rent Year Interest:	:		\$0.00	
		Pay	off Amount:			\$1,128.96	
Port Authority City Of St Paul 380 St Peter St Ste 850	PORT AUTHORITY PLAT NO. 3 SUBJ TO ESMTS LOT 5 AND EX SLY 140 FT	*** Owner ***					09-28-22-14-0001
St Paul MN 55102-1313	LOT 6 BLK 5	Tot	al Assessment:	_		\$1,128.96	
2209 CHILDS RD		Thi	s Payment:			\$0.00	
Ward: 7		Current Year Principal:			\$0.00		
Pending as of: 8/21/2019		Cur	rent Year Interest:	:		\$0.00	
		Pay	Payoff Amount:		\$1,128.96		
Γanya J Hietpas	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOTS 14	Street Sweeping - Commercial		.02	60.00	\$61.20	09-28-23-22-0210
aul J Hietpas	AND LOT 15 BLK 5	Street Sweeping - Residentia Alley Sweeping).42).13	39.00 78.00	\$16.38 \$10.14	
35 Cleveland Ave S		Citywide Street Lighting).13).66	99.00	\$65.34	
t Paul MN 55116-1305		City wide Street Eighting	V	7.00)).00 =		
336 CLEVELAND AVE S Ward: 3		*** Owner and Taxpayer **	*			\$153.06	
Pending as of: 8/21/2019		1 3					
		Tot	al Assessment:		_	\$153.06	
		Thi	s Payment:			\$0.00	
		Cur	rent Year Principa	al:		\$0.00	
		Cur	rent Year Interest:	:		\$0.00	
		Pay	off Amount:			\$153.06	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark T Malone	HANKEE'S RE-AR LOT 4 BLK 2	Street Sweeping - Commercial/Art	1.02	63.50	\$64.77	09-28-23-23-0155
420 Cleveland Ave S		Street Sweeping - Residential Stree	0.42	23.50	\$9.87	07
St Paul MN 55105-1346		Alley Sweeping	0.13	47.00	\$6.11	
*420 CLEVELAND AVE S		Citywide Street Lighting	0.66	87.00	\$57.42	
*Ward: 3				_	\$138.17	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	essment:		\$138.17	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$138.17	
Joseph P Callan	STATE PARK ADDITION PLAT 4 SUBJ	Street Sweeping - Commercial/Art	1.02	30.00	\$30.60	09-28-23-33-0092
5228 Clinton Ave S	TO AVE AND EX N 25 5/10 FT LOT 18	Alley Sweeping	0.13	30.00	\$3.90	07-20-23-33-0072
Minneapolis MN 55419-1426	AND EX S 25 FT LOT 17 BLK 2	Citywide Street Lighting	0.66	30.00	\$19.80	
*664 CLEVELAND AVE S		Ford/Cleveland Area ASL	0.54	30.00	\$16.20	
*Ward: 3				=	\$70.50	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			*******	
		Total Asse	essment:	_	\$70.50	
		This Paym			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$70.50	
Highlander Center Llc	STATE PARK ADDITION PLAT 4 SUBJ	Street Sweeping - Commercial/Art	1.02	297.00	\$302.94	09-28-23-33-0102
4680 Old Kent Rd	TO HIGHLAND PKWY AND CLEVELAND AVE LOT 7 AND SUBJ	Alley Sweeping	0.13	167.00	\$21.71	
Excelsior MN 55331-9267	TO SD CLEVELAND AVE LOTS 8 9	Citywide Street Lighting	0.66	297.00	\$196.02	
*704 CLEVELAND AVE S	AND LOT 10 BLK 3	Ford/Cleveland Area ASL	0.54	167.00	\$90.18	
*Ward: 3					\$610.85	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	essment:		\$610.85	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Yo	ear Interest:		\$0.00	
		Payoff An	nount:		\$610.85	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Quetico Property Mgmt Llc	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Commercial/A		62.00	\$63.24	09-28-22-32-0028
Po Box 862	THE CITY OF ST. PAUL EX ST LOT 11 BLK 1	Alley Sweeping	0.13	34.00	\$4.42	
Lake Elmo MN 55042-0862	DEK 1	Citywide Street Lighting	0.66	62.00	\$40.92	
*550 CONCORD ST				_	\$108.58	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$108.58	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$108.58	
Shs Property Four Llc	PAUL MARTIN'S IST ADDITION TO	Street Sweeping - Commercial/A	rt			
20503 Cypress Dr	THE CITY OF ST. PAUL EX ST LOT 10	Alley Sweeping	0.13	40.00	\$5.20	09-28-22-32-0029
Farmington MN 55024-2730	BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*552 CONCORD ST		,		=	\$72.40	
*Ward: 2		*** Owner and Taxpayer ***			\$72.40	
*Pending as of: 8/21/2019		1 3				
		Total Assessment:			\$72.40	
		This Pay	This Payment: Current Year Principal:			
		Current				
		Current Year Interest:		\$0.00		
		Payoff A	Payoff Amount:			
James M Waters	PAUL MARTIN'S 1ST ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 1	Street Sweeping - Commercial/A		38.00	\$38.76	09-28-22-32-0035
Po Box 20265	THE CITT OF ST. PAUL EOT 4 BER 1	Alley Sweeping Citywide Street Lighting	0.13	39.00 38.00	\$5.07	
Bloomington MN 55420-0045		Citywide Street Lighting	0.66	38.00	\$25.08	
*582 CONCORD ST		*** 0 1.77			\$68.91	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	<u>-</u>	\$68.91	
		Total As			\$08.91	
		·	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$68.91	
		1 ayon 2	imount.		φ00.71	

		Ratification Date: Resolut	ion #:		_	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Edward J Dukes	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Commercial/A	t 1.02	80.00	\$81.60	09-28-22-32-0036
590 Concord St	THE CITY OF ST. PAUL LOT 2 & LOT 3	Alley Sweeping	0.13	80.00	\$10.40	
St Paul MN 55107-2408	BLK 1	Citywide Street Lighting	0.66	80.00	\$52.80	
590 CONCORD ST				_	\$144.80	
Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:	_ -	\$144.80	
		This Pay	ment:		\$0.00	
		Current	Current Year Principal:		\$0.00	
		Current	Current Year Interest: Payoff Amount:			
		Payoff A				
Phillip J Holmer	THE WEST ST. PAUL REAL ESTATE AND IMPROVEMENT SYNDICATE	Street Sweeping - Commercial/Ar		35.00	\$35.70	09-28-22-33-0100
Lauren P Holmer	ADDITION NO. 2 LOTS 1,2 & LOT 3	Street Sweeping - Residential Stre		62.50	\$26.25	
574 Concord St	BLK 37	Citywide Street Lighting	0.66	97.50	\$64.35	
St Paul MN 55107-2452					\$126.30	
*674 CONCORD ST *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:	=	\$126.30	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	amount:		\$126.30	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Goldberg Enterprises	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commerci	ial/Art 1.02	40.00	\$40.80	09-28-22-33-0029
1254 Robert St S	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOT 4 BLK 37	Citywide Street Lighting	0.66	40.00	\$26.40	
West St Paul MN 55118-2401	ADDITION NO. 2 LOT 4 BLK 3/			_	\$67.20	
*682 CONCORD ST		*** Taxpayer and 3rd Party	***			
*Ward: 2 *Pending as of: 8/21/2019		Tot	al Assessment:		\$67.20	
Tonamy as on orzinzony		Thi	s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$67.20	
William E Goldberg C/O Goldberg Enterprises	THE WEST ST. PAUL REAL ESTATE AND IMPROVEMENT SYNDICATE	*** Owner ***				09-28-22-33-0029
1254 Robert St S	ADDITION NO. 2 LOT 4 BLK 37	Tot	al Assessment:	=	\$67.20	
West St Paul MN 55118-2401			s Payment:		\$0.00	
*682 CONCORD ST			rent Year Principal:		\$0.00	
*Ward: 2		Cur	rent Year Interest:		\$0.00	
*Pending as of: 8/21/2019		Pay	off Amount:		\$67.20	
William E Goldberg	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commerci	ial/Art 1.02	80.00	\$81.60	09-28-22-33-0030
C/O Goldberg Enterprises	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 5 & LOT 6 BLK	Citywide Street Lighting	0.66	80.00	\$52.80	
1254 Robert St S	37			=	\$134.40	
West St Paul MN 55118-2401 *684 CONCORD ST		*** Owner and Taxpayer **	*			
*Ward: 2		Tot	al Assessment:		\$134.40	
*Pending as of: 8/21/2019		Thi	s Payment:		\$0.00	
-			rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$134.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dawn Paige Christensen	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art	1.02	120.00	\$122.40	09-28-22-33-0031
Carter G Turner	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 7 8 AND LOT 9	Citywide Street Lighting	0.66	120.00	\$79.20	
696 Concord St	BLK 37			=	\$201.60	
St Paul MN 55107-2452		*** Owner and Taxpayer ***				
*696 CONCORD ST						
*Ward: 2		Total Ass			\$201.60	
*Pending as of: 8/21/2019		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$201.60	
	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art				
W & W Rental Properties Llc	AND IMPROVEMENT SYNDICATE	Citywide Street Lighting	0.66	26.00	\$20.32 \$17.16	09-28-22-33-0112
7300 France Ave S Ste 215 Minneapolis MN 55435-4576	ADDITION NO. 2 EX THE SELY 4.5 FT;	City wide Street Lighting	0.00	20.00		
*710 CONCORD ST	LOT 2 AND ALL OF LOT 1 IN BLK 38	*** Owner and Taxpayer ***			\$43.68	
*Ward: 2		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$43.68	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$43.68	
Colleen Charpentier	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art				
712 Concord St	AND IMPROVEMENT SYNDICATE	Citywide Street Lighting	0.66	45.00	\$29.70	09-28-22-33-0111
St Paul MN 55107-2451	ADDITION NO. 2 THE SELY 4.5 FT OF	City wide Street Lighting	0.00	13.00		
	LOT 2 AND ALL OF LOT 3 IN BLK 38	*** Owner and Taxpayer ***			\$75.60	
*712 CONCORD ST *Ward: 2		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$75.60	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$75.60	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:	Resolution
Naumeauon Date.	Resolution

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Homero T Hernandez	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commerci		160.00	\$163.20	09-28-22-33-0071
750 Concord St	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 4 5 6 AND LOT	Citywide Street Lighting	0.66	160.00	\$105.60	
St Paul MN 55107-2451	7 BLK 39	**** 0 15 **	.t.		\$268.80	
*750 CONCORD ST		*** Owner and Taxpayer **	*			
*Ward: 2 *Pending as of: 8/21/2019		Tot	al Assessment:	=	\$268.80	
1 Chaing as 01. 6/21/2017			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$268.80	
St Paul Pw Concord Center	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commerci	al/Art	2,387.00		09-28-22-33-0098
Island Concord Park	AND IMPROVEMENT SYNDICATE	Street Sweeping - Residentia		39.00	\$16.38	***EXEMPT***
15 Kellogg Blvd W Rm 140	ADDITION NO. 2 BLKS 40, 41, 42 & BLK 43	Citywide Street Lighting	0.66	2,426.00	\$1,601.16	EXEM 1
St Paul MN 55102-1613				_	\$4,052.28	
*780 CONCORD ST *Ward: 2		*** Owner and Taxpayer **	*			
*Pending as of: 8/21/2019		Tot	al Assessment:	=	\$4,052.28	
		Thi	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$4,052.28	
	Part West Of Sly Extended East Line Of	Alley Sweeping				
Co Havenbrook Homes	Lot 3 Blk 3 Paul Martin's Addn; Lot 4 Blk	, 10		_	\$5.85	07-20-22-05-0117
3505 Koger Blvd Ste 400 Duluth GA 30096-7672	35	*** Owner and Taxpayer **	*** Owner and Taxpayer ***			
*0 CURTICE ST E		Tot	al Assessment:	,	\$5.85	
*Ward: 2		Thi	s Payment:		\$0.00	
*Pending as of: 8/21/2019			rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$5.85	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ramiro Dominguez Sanchez	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Str		70.00	\$29.40	09-28-22-32-0047
487 Curtice St E	THE CITY OF ST. PAUL LOTS 10 AND LOT 11 BLK 2	Citywide Street Lighting	0.66	70.00	\$46.20	
St Paul MN 55107-2466				_	\$75.60	
*487 CURTICE ST E		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 8/21/2019		Total A	ssessment:		\$75.60	
Timing us on 0,21,201)		This Pay			\$0.00	
		·	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$75.60	
	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Str	<u></u>			09-28-22-32-0048
Katherine L Kermott	THE CITY OF ST. PAUL LOT 12 BLK 2	Citywide Street Lighting	0.66	48.50	\$32.01	07-20-22-32-0040
495 Curtice St E				=	\$52.38	
St Paul MN 55107-2466		*** Owner and Taxpayer ***			ψ32.30	
*495 CURTICE ST E				_		
*Ward: 2		Total As	ssessment:		\$52.38	
*Pending as of: 8/21/2019		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$52.38	
	PAUL MARTIN'S IST ADDITION TO	Street Sweeping - Residential Str	<u> </u>	75.50		
Katherine L Kermott	THE CITY OF ST. PAUL LOT 13 BLK 2	Citywide Street Lighting	0.66	75.50	\$49.83	0, 20 22 02 00 1
495 Curtice St E				=	\$81.54	
St Paul MN 55107-2466		*** Owner and Taxpayer ***				
*495 CURTICE ST E						
*Ward: 2		Total As	ssessment:		\$81.54	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$81.54	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy M Borgan	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Street	0.42	60.00	\$25.20	09-28-22-33-0003
Joann E Borgan	THE CITY OF ST. PAUL E 21 FT OF LOT	Alley Sweeping	0.13	60.00	\$7.80	07 -0 00 0000
500 Curtice St E	6 AND ALL OF LOT 5 BLK 3	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55107-2467				_	\$72.60	
*500 CURTICE ST E		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 8/21/2019		Total Ass	essment:	-	\$72.60	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$72.60	
Tirsit Abera	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Stree		40.00	\$16.80	09-28-22-33-0005
Esmelealem M Woldemaran	THE CITY OF ST. PAUL PART OF LOT 4 BLK 35 OF THE WEST ST PAUL REAL	Citywide Street Lighting	0.66	40.00	\$26.40	
512 Curtice St E	ESTATE AND IMPROVEMENT			=	\$43.20	
St Paul MN 55107-2467 *512 CURTICE ST E	SYNDICATE ADD NO 2 BET E AND W LINES OF LOT 2 BLK 3 IN SD PAUL	*** Owner and Taxpayer ***				
*Ward: 2		Total Ass	essment:	=	\$43.20	
*Pending as of: 8/21/2019		This Payn	nent:		\$0.00	
•		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	mount:		\$43.20	
			. — — — -			
Ruby Lee Gardiner	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stree		40.00	\$16.80	09-28-22-33-0007
520 Curtice St E	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOT 3 BLK 35	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55107-2467					\$43.20	
*520 CURTICE ST E		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 8/21/2019		Total Ass	assmant.	<u> </u>	\$43.20	
1 chaing as of. 6/21/2019		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ai			\$43.20	
		rayon Ai	nvunt.		⊕+3.4 0	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy Mcglinch	OTTO AVENUE ADDITION LOT 14	Street Sweeping - Residential Stre	<u> </u>	84.00	\$35.28	09-28-23-44-0173
Catherine Mcglinch	BLK 1	Alley Sweeping	0.13	43.00	\$5.59	** == == ***
1641 Eleanor Ave		Citywide Street Lighting	0.66	84.00	\$55.44	
St Paul MN 55116-1408				_	\$96.31	
*1641 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$96.31	
		This Pay	ment:		\$0.00	
		Current \	Year Principal:		\$0.00	
		Current \	Year Interest:		\$0.00	
		Payoff A	Amount:		\$96.31	
Nicoderno Pitera	OTTO AVENUE ADDITION W 1/2 OF	Street Sweeping - Residential Stre	ee 0.42	- 65 .00		
Anna M Pitera	LOT 2 AND ALL OF LOT 3 BLK 2	Alley Sweeping	0.42	65.00	\$8.45	09-28-23-44-0175
1648 Eleanor Ave		Citywide Street Lighting	0.66	65.00	\$42.90	
St Paul MN 55116-1407		, <u></u> - <u></u> - <u></u> - <u>-</u>	****	_	\$78.65	
*1648 ELEANOR AVE		*** Owner and Taxpayer ***			\$/8.03	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	ssessment:	\$78.65		
C		This Pay	ment:	\$0.00		
		Current Year Principal:			\$0.00	
		Current `	Current Year Interest:			
		Payoff A	Amount:		\$78.65	
						- – – – – – -
James Alan Schiltgen Bobzien	OTTO AVENUE ADDITION E 23 FT OF LOT 5 AND ALL OF LOT 4 BLK 2	Street Sweeping - Residential Street		66.00	\$27.72	09-28-23-44-0176
Mary Jean Schiltgen Bobzien	LOT 3 AND ALL OF LOT 4 BLK 2	Alley Sweeping	0.13	66.00	\$8.58	
1654 Eleanor St		Citywide Street Lighting	0.66	66.00	\$43.56	
St Paul MN 55116-1407					\$79.86	
*1654 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$79.86	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$79.86	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert C Cooper	OTTO AVENUE ADDITION LOT 7	Street Sweeping - Residential Str	ree 0.42	41.00	<u>\$17.22</u>	09-28-23-44-0178
Gail S Cooper	BLK 2	Alley Sweeping	0.13	41.00	\$5.33	
1666 Eleanor Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-1407				_	\$49.61	
*1666 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	ssessment:		\$49.61	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$49.61	
Robert A Raymond	OTTO AVENUE ADDITION EX W 20 FT	Street Sweeping - Residential Str		62.00	\$26.04	09-28-23-44-0168
Grace V Raymond	LOT 14 BLK 1 GALARNEAULTS ADD AND IN SD OTTO AVE ADD LOT 8	Alley Sweeping	0.13	62.00	\$8.06	
1667 Eleanor Ave	BLK 1	Citywide Street Lighting	0.66	62.00	\$40.92	
St Paul MN 55116-1408					\$75.02	
*1667 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Assessment:			\$75.02	
			This Payment:		\$0.00 \$0.00	
			Current Year Principal:			
		Current Year Interest:		\$0.00		
		Payoff	Amount:	\$75.02		
	GALARNEAULT'S ADDITION E 17 FT	Street Sweeping - Residential Str	<u> </u>	60.00		
100 S 19th St Apt 1204	OF LOT 10 AND ALL OF LOT 11 BLK	Alley Sweeping	0.13	60.00	\$7.80	09-28-23-44-0105
Omaha NE 68102-1387	1	Citywide Street Lighting	0.66	60.00	\$39.60	
*1685 ELEANOR AVE		, 5 5		_	\$72.60	
*Ward: 3		*** Owner and Taxpayer ***			\$72.00	
*Pending as of: 8/21/2019		Total Assessment:			\$72.60	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael E Mader	GALARNEAULT'S ADDITION W 32	Street Sweeping - Residential Stree	0.42	108.00	\$45.36	09-28-23-44-0182
Karen J Mader	25/100 FT OF LOT 4 AND E 32 25/100	Alley Sweeping	0.13	108.00	\$14.04	
1686 Eleanor Ave	FT OF LOT 6 AND ALL OF LOT 5 BLK 2	Citywide Street Lighting	0.66	108.00	\$71.28	
St Paul MN 55116-1407				_	\$130.68	
*1686 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$130.68	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$130.68	
Carlos R Cruz	GALARNEAULT'S ADDITION W 10 75/100 FT OF LOT 6 AND ALL OF LOT	Street Sweeping - Residential Stree	0.42	88.50	\$37.17	09-28-23-44-0183
Britt Alexandra Cecconi Cruz	73/100 FT OF LOT 6 AND ALL OF LOT 7 BLK 2	Alley Sweeping	0.13	54.00	\$7.02	
1696 Eleanor Ave		Citywide Street Lighting	0.66	88.50	\$58.41	
St Paul MN 55116-1407					\$102.60	
*1696 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				-	0102.60	
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$102.60	
					\$0.00	
		Current Year Principal: Current Year Interest:		\$0.00		
					\$0.00	
		Payoff An	iount:		\$102.60	
Scott R Gillespie	GALARNEAULT'S ADDITION LOT 8	Street Sweeping - Residential Stree		84.00		09-28-23-44-0163
Carla S Gillespie	BLK 1	Alley Sweeping	0.13	43.00	\$5.59	07-20-23-44-0103
1697 Eleanor Ave		Citywide Street Lighting	0.66	84.00	\$55.44	
St Paul MN 55116-1408				_	\$96.31	
*1697 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$96.31	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$96.31	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gerald J Stimmler Trustee	PLUM ORCHARD LOT 28 BLK 5	Street Sweeping - Residential Stree	0.42	92.00	\$38.64	09-28-23-43-0080
aula M Stimmler Trustee		Alley Sweeping	0.13	59.00	\$7.67	** == == ***
701 Eleanor Ave		Citywide Street Lighting	0.66	92.00	\$60.72	
St Paul MN 55116-1439				_	\$107.03	
1701 ELEANOR AVE		*** Owner and Taxpayer ***				
Ward: 3						
Pending as of: 8/21/2019		Total Asso	essment:		\$107.03	
		This Payn	ient:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$107.03	
	PLUM ORCHARD LOT 25 BLK 5					
Amy L Cotter	PLUM ORCHARD LOT 23 BLK 3	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-43-0077
715 Eleanor Ave		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55116-1439		Citywide Street Lighting	0.00	+0.00		
1715 ELEANOR AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as on 0.21.201)		Total Asso	\$48.40			
		This Payn	\$0.00			
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Ar	\$48.40			
	JOHN GAARDEN ADDITION W 25 FT	Street Sweeping - Residential Stree				
Barry L Goldman	OF LOT 6 AND EX W 20 FT LOT 7	Alley Sweeping	0.42	45.00	\$5.85	09-28-23-43-0086
Darlene M Goldman	BLK 1	Citywide Street Lighting	0.66	45.00	\$29.70	
726 Eleanor Ave		City wide Street Lighting	0.00	=		
t Paul MN 55116-1438 F1726 ELEANOR AVE		*** Owner and Taxpayer ***			\$54.45	
Ward: 3					<u> </u>	
Pending as of: 8/21/2019		Total Assessment:			\$54.45	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James S Biondich	PLUM ORCHARD LOT 22 BLK 5	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-43-0074
1727 Eleanor Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1439		Citywide Street Lighting	0.66	40.00	\$26.40	
*1727 ELEANOR AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total A	Assessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Gregory Braginsky	JOHN GAARDEN ADDITION W 20 FT	Street Sweeping - Residential St		50.00	\$21.00	09-28-23-43-0087
Inna Braginsky	OF LOT 7 AND E 30 FT OF LOT 8 BLK	Alley Sweeping	0.13	50.00	\$6.50	
1732 Eleanor Ave	•	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1438				_	\$60.50	
*1732 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$60.50	
		This Pa	yment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Payoff Amount:			
Stephen G Schneider	JOHN GAARDEN ADDITION W 10 FT	Street Sweeping - Residential St		40.00	\$16.80	09-28-23-43-0088
1736 Eleanor Ave	OF LOT 8 AND E 30 FT OF LOT 9 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1438		Citywide Street Lighting	0.66	40.00	\$26.40	
*1736 ELEANOR AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T-4-1 A	Assessment:		\$48.40	
		This Pa			\$0.00	
			t Year Principal: t Year Interest:		\$0.00	
					\$0.00	
		Payon	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David Hovda	JOHN GAARDEN ADDITION W 5 FT	Street Sweeping - Residential Stree	0.42	45.00	\$18.90	09-28-23-43-0091
1746 Eleanor Ave	OF LOT 11 AND ALL OF LOT 12 BLK	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55116-1438		Citywide Street Lighting	0.66	45.00	\$29.70	
*1746 ELEANOR AVE				_	\$54.45	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	agmont:	-	\$54.45	
		This Paym			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$54.45	
		·				
Robert Kent Oleary	PLUM ORCHARD LOT 17 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0069
Megan Marie Oleary		Alley Sweeping	0.13	40.00	\$5.20	03 20 20 10 0003
1747 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1439				=	\$48.40	
*1747 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3					\$48.40	
*Pending as of: 8/21/2019			Total Assessment:			
			This Payment:			
			Current Year Principal:			
			Current Year Interest:			
		Payoff An	iount:		\$48.40	
Krisandrea M Ballas Rylander	PLUM ORCHARD LOT 15 BLK 5	Street Sweeping - Residential Stree		92.00	\$38.64	09-28-23-43-0067
1755 Eleanor Ave		Alley Sweeping	0.13	59.00	\$7.67	
St Paul MN 55116-1439		Citywide Street Lighting	0.66	92.00	\$60.72	
*1755 ELEANOR AVE				_	\$107.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$107.03	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$107.03	

20,0,200,	Tuble Improvement Assessment I	1 age				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
— — — — — — — — — Ryan Carlson	PLUM ORCHARD LOT 27 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0180
Lauren Carlson		Alley Sweeping	0.13	40.00	\$5.20	
767 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
t Paul MN 55116-1441				_	\$48.40	
1767 ELEANOR AVE		*** Owner and Taxpayer ***				
Ward: 3				_		
Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Yes	ar Principal:		\$0.00	
		Current Yes	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
	JOHN GAARDEN ADDITION E 20 FT	Street Sweeping - Residential Stree		50.00		
772 Eleanor Ave	OF LOT 4 AND W 30 FT OF LOT 3	Alley Sweeping	0.13	50.00	\$6.50	09-20-23-43-0104
St Paul MN 55116-1440	BLK 2	Citywide Street Lighting	0.66	50.00	\$33.00	
1772 ELEANOR AVE		, , ,		_	\$60.50	
Ward: 3		*** Owner and Taxpayer ***			φου.50	
Pending as of: 8/21/2019		Total Asses	Total Assessment:			
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$60.50	
John C Gunderson	JOHN GAARDEN ADDITION W 20 FT	Street Sweeping - Residential Stree				09-28-23-43-0185
ulie A Gunderson	OF LOT 4 AND E 25 FT OF LOT 5 BLK	Alley Sweeping	0.42	45.00	\$5.85	09-28-23-43-0185
780 Eleanor Ave	2	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1440				_	\$54.45	
1780 ELEANOR AVE		*** Owner and Taxpayer ***			φ34. 4 3	
Ward: 3		2 mile and Languy of				
Pending as of: 8/21/2019		Total Asses	ssment:	=	\$54.45	
		This Payme			\$0.00	
			ar Principal:		\$0.00	

Current Year Interest:

Payoff Amount:

\$0.00

\$54.45

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Lyle W Kratzke	PLUM ORCHARD W 1/2 OF LOT 22	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	09-28-23-43-0175
Kathy C Spencer	AND ALL OF LOT 21 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	0, 20 20 10 00.0
1795 Eleanor Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-1441				_	\$72.60	
*1795 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asses	ssment:		\$72.60	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$72.60	
William P Schmechel	PLUM ORCHARD E 1/2 OF LOT 19	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	09-28-23-43-0174
Cynthia M Bergum	AND ALL OF LOT 20 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	
1797 Eleanor Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-1441					\$72.60	
*1797 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:			\$72.60 \$0.00	
			This Payment: Current Year Principal:			
		Current Ye			\$0.00	
		Payoff Am	ount:		\$72.60	
	PLUM ORCHARD W 1/2 OF LOT 19	Street Sweeping - Residential Stree				
Jennifer F Rosemark	AND ALL OF LOT 18 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	09-28-23-43-01/3
1805 Eleanor Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-1441				=	\$72.60	
*1805 ELEANOR AVE		*** Owner and Taxpayer ***			\$72.00	
*Ward: 3		1 3				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$72.60	
1 511ding 45 01. 0/21/2017		This Paymo			\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am	ount:		\$72.60	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Lee A Miller	PLUM ORCHARD LOT 17 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0172
Jennifer L Mathiowetz		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 10 01.2
1809 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1441				_	\$48.40	
*1809 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
Peter M Runyon	RESERVE PARK GARDEN LOTS E 50	Street Sweeping - Commercial/Art	1.02	72.50		09-28-23-34-0032
Jan M Runyon	FT OF S 144 8/10 FT N OF ELEANOR	Street Sweeping - Residential Stree	0.42	25.00	\$10.50	07 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0
1821 Eleanor Ave	AVE AND W OF FAIRVIEW AVE OF E 1/2 OF LOT 14	Citywide Street Lighting	0.66	97.50	\$64.35	
St Paul MN 55116-1322				_	\$148.80	
*1821 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$148.80	
· ·		This Payn	nent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	Current Year Interest:			
		Payoff Ar	nount:		\$148.80	
Jon M Kirkhoff	RESERVE PARK GARDEN LOTS W 49	Street Sweeping - Residential Stree	0.42	49.00	\$20.58	09-28-23-34-0034
Karen Kirkhoff	O7/100 FT OF E 149 O7/100 FT OF S	Citywide Street Lighting	0.66	49.00	\$32.34	0, 20 20 01 0001
1833 Eleanor Ave	144 8/10 FT OF PART N OF ELEANOR AVE AND W OF FAIRVIEW AVE OF			_	\$52.92	
St Paul MN 55116-1322	LOT 14	*** Owner and Taxpayer ***			**>-	
*1833 ELEANOR AVE						
*Ward: 3		Total Ass	essment:		\$52.92	
*Pending as of: 8/21/2019		This Payn	nent:		\$0.00	
ž		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$52.92	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David R Peterson	PAYSON H. GILBERT'S ADD. N 1/2 OF	Street Sweeping - Residential Stre		50.00	\$21.00	09-28-23-34-0090
Sarah M Peterson	VAC ALLEY ADJ AND E 6 48/100 FT OF LOT 2 AND ALL OF LOT 1 BLK 2	Citywide Street Lighting	0.66	50.00	\$33.00	
1844 Eleanor Ave	0. 20. 2.1.0.122 0. 20			-	\$54.00	
St Paul MN 55116-1321		*** Owner and Taxpayer ***				
*1844 ELEANOR AVE						
*Ward: 3		Total Ass			\$54.00	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$54.00	
	MELROSE PARK N 1/2 OF VAC	Street Sweeping - Residential Stre				
1864 Eleanor Ave	ALLEY ADJ AND E 7 FT OF LOT 2	Citywide Street Lighting	0.66	51.00	\$33.66	09-28-23-34-0095
St Paul MN 55116-1321	AND ALL OF SD LOT 1 BLK 2	City wide Street Lighting	0.00	=		
*1864 ELEANOR AVE		*** Owner and Taxpayer ***			\$55.08	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$55.08	
		This Pay	nent:		\$0.00	
		Current Y	Current Year Principal:			
		Current Y	ear Interest:	\$0.00		
		Payoff A	Payoff Amount:			
			 -			
Bruce R Thayer	MELROSE PARK E 53 FT OF LOTS 7 AND LOT 8 BLK 1	Street Sweeping - Residential Stre Citywide Street Lighting	0.42 0.66	82.00 82.00	\$34.44 \$54.12	09-28-23-34-0055
Debra M Thayer		Citywide Street Lighting	0.00	82.00		
1871 Eleanor Ave		*** 0 1 T			\$88.56	
St Paul MN 55116-1341 *1871 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Ass	essment:		\$88.56	
*Pending as of: 8/21/2019		This Pay			\$0.00	
S			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$88.56	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Richard I Christensen	MELROSE PARK N 1/2 OF VAC	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	09-28-23-34-0097
Jane W Christensen	ALLEY ADJ AND W 18 FT OF LOT 3 AND E 32 FT OF LOT 4 BLK 2	Citywide Street Lighting	0.66	50.00	\$33.00	
1876 Eleanor Ave	AND E 3211 OF EOT 4 BER 2			=	\$54.00	
St Paul MN 55116-1321		*** Owner and Taxpayer ***				
*1876 ELEANOR AVE						
*Ward: 3		Total Asse			\$54.00	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$54.00	
Robert C Phythian	MELROSE PARK N 1/2 OF VAC	Street Sweeping - Residential Stree		50.00		09-28-23-34-0099
Stefanie O Phythian	ALLEY ADJ AND W 6 FT OF LOT 5	Citywide Street Lighting	0.66	50.00	\$33.00	0, 20 20 0 : 00,,
1886 Eleanor Ave	AND ALL OF LOT 6 BLK 2			=	\$54.00	
St Paul MN 55116-1321		*** Owner and Taxpayer ***			**	
*1886 ELEANOR AVE						
*Ward: 3		Total Asse	essment:		\$54.00	
*Pending as of: 8/21/2019		This Paym	This Payment:			
		Current Y	\$0.00			
		Current Y	\$0.00			
		Payoff An	nount:		\$54.00	
	MISSABE ADDITION N 1/2 OF VAC	Street Sweeping - Residential Stree		44.00		
Donna Kelly	ALLEY ADJ AND LOT 2 BLK 4	Citywide Street Lighting	0.66	44.00	\$29.04	0, 20 20 01 0101
1894 Eleanor Ave				=	\$47.52	
St Paul MN 55116-1321		*** Owner and Taxpayer ***			4 17 12 -	
*1894 ELEANOR AVE						
*Ward: 3		Total Asse	essment:		\$47.52	
*Pending as of: 8/21/2019		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$47.52	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Donald S Finlayson	MISSABE ADDITION E 25 FT OF	Street Sweeping - Residential Str	Θε 0.42	69.00	\$28.98	09-28-23-34-0102
Patricia A Finlayson	HOWELL ST AND N 1/2 OF ALLEY BOTH VAC AND ADJ AND LOT 3 BLK	Citywide Street Lighting	0.66	69.00	\$45.54	
1900 Eleanor Ave	4			_	\$74.52	
St Paul MN 55116-1323		*** Owner and Taxpayer ***				
*1900 ELEANOR AVE				=		
*Ward: 3			ssessment:		\$74.52	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest: Amount:		\$0.00 \$74.52	
		rayon 2	Amount.		\$74.32	
Thomas G Terry	SMITH'S FORD PARK N 1/2 OF VAC	Street Sweeping - Residential Str	ee 0.42	60.00		09-28-23-33-0039
Sandra J Terry	ALLEY ADJ AND E 26 FT OF LOT 3	Citywide Street Lighting	0.66	60.00	\$39.60	07-20-23-33-0037
1946 Eleanor Ave	AND EX E 13 FT LOT 2 BLK 2			_	\$64.80	
St Paul MN 55116-1323		*** Owner and Taxpayer ***			φο 1.00	
*1946 ELEANOR AVE						
*Ward: 3		Total As	ssessment:		\$64.80	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current	Current Year Principal:			
		Current	Year Interest:		\$0.00	
		Payoff A	Payoff Amount:			
Independent School Dist 625	STATE PARK ADDITION PLAT 4 LOTS	Street Sweeping - Residential Str	<u> </u>			00 28 22 22 0060
Horace Mann	1 THRU 11 BLK 2 STATE PK ADD	Citywide Street Lighting	0.66	1,455.00	\$960.30	09-28-23-33-0069
360 Colborne St	PLAT NO 5 AND IN SD STATE PK ADD			_		
St Paul MN 55102-3299	PLAT NO 4 LOTS 1 THRU LOT 11 BLK 1	*** Owner and Taxpayer ***			\$1,571.40	
*2001 ELEANOR AVE		owner and Taxpayer				
*Ward: 3		Total As	ssessment:	_	\$1,571.40	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$1,571.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey A Rathermel	STATE PARK ADDITION PLAT 4 EX S	Street Sweeping - Residential Street	0.42	93.50	\$39.27	09-28-23-33-0096
2034 Eleanor Ave	4 FT LOT 1 BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-1358		Citywide Street Lighting	0.66	93.50	\$61.71	
*2034 ELEANOR AVE				_	\$107.48	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Ass			\$107.48	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$107.48	
	STATE PARK ADDITION PLAT 4 S 10	Street Sweeping - Residential Street		93.50		
2035 Eleanor Ave	FT OF LOT 10 AND ALL OF LOT 11	Alley Sweeping	0.13	50.00	\$6.50	09-28-23-33-0089
St Paul MN 55116-1325	BLK 2	Citywide Street Lighting	0.66	93.50	\$61.71	
*2035 ELEANOR AVE		, 5		_	\$107.48	
*Ward: 3		*** Owner and Taxpayer ***			\$107.40	
*Pending as of: 8/21/2019		1 2				
1 chang as of. 0/21/2019		Total Ass	essment:	-	\$107.48	
		This Payn	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	Current Year Interest:		\$0.00	
		Payoff An	mount:		\$107.48	
Cory D Gilmer	E 78 Ft Of Lots 5 And Lot 6 Blk 1	Street Sweeping - Commercial/Art		45.50	\$46.41	09-28-23-24-0112
1482 Sargent Ave		Street Sweeping - Residential Stree		39.00	\$16.38	
St Paul MN 55105-2331		Citywide Street Lighting	0.66	84.50	\$55.77	
*443 FAIRVIEW AVE				_	\$118.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Ass			\$118.56	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$118.56	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shade Shoppe Llc 244 Fairview Ave S	WEINHAGEN PLACE SUBJ TO ESMTS THE FOL EX N 75 FT THE W 28 8/10 FT OF LOT 8 AND EX W 28 8/10 FT AND	Street Sweeping - Commercial/Ar Citywide Street Lighting	1.02 0.66	59.00 59.00	\$60.18 \$38.94	09-28-23-12-0015
St Paul MN 55105-1623	EX N 78 8/10 FT LOT 8 AND EX N 75 FT LOTS 9 AND LOT 10	*** O ***			\$99.12	
*244 FAIRVIEW AVE S *Ward: 3	LOTS 9 AND LOT 10	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$99.12	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$99.12	
Mary E Bettendorf	GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Commercial/Ar Alley Sweeping	t 1.02 0.13	45.00 45.00	\$45.90 \$5.85	09-28-23-24-0109
417 Fairview Ave S	MINN. LOT 2 BLK 1	Citywide Street Lighting	0.13	45.00	\$3.83 \$29.70	
St Paul MN 55105-1707		Oily wide Street Eighting	0.00	=		
*417 FAIRVIEW AVE S *Ward: 3		*** Owner and Taxpayer ***			\$81.45	
*Ward: 3 *Pending as of: 8/21/2019		o wher and rampayer				
1 chaing as of. 0/21/2019		Total As	sessment:	=	\$81.45	
		This Pay	ment:		\$0.00	
		Current '	Current Year Principal:			
		Current Year Interest:			\$0.00	
		Payoff A	Payoff Amount:		\$81.45	
*516 FAIRVIEW AVE S	SAINT PAUL ACADEMY GROUNDS LOT 2	Street Sweeping - Commercial/Ar Street Sweeping - Residential Street		25.00 70.00	\$25.50 \$29.40	09-28-23-42-0030
*Ward: 3		Citywide Street Lighting	0.66	95.00	\$62.70	
*Pending as of: 8/21/2019				_	\$117.60	
					\$117.00	
		Total As	sessment:		\$117.60	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$117.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Edward J Mellett	SAINT PAUL ACADEMY GROUNDS	Street Sweeping - Commercial/Art	1.02	46.00	\$46.92	09-28-23-42-0031
C/O Anne Brandrud	LOT 3	Citywide Street Lighting	0.66	46.00	\$30.36	
1871 Stanford Ave				<u>=</u>	\$77.28	
St Paul MN 55105-1653		*** Owner and Taxpayer ***				
*520 FAIRVIEW AVE S				_		
*Ward: 3		Total Asse	ssment:		\$77.28	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$77.28	
	SAINT PAUL ACADEMY GROUNDS	Street Sweeping - Commercial/Art		46.00		09-28-23-42-0032
524 Fairview Ave S	LOT 4	Citywide Street Lighting	0.66	46.00	\$30.36	07-20-25-42-0052
St Paul MN 55116-1466				_	\$77.28	
*524 FAIRVIEW AVE S		*** Owner and Taxpayer ***			Ψ77.20	
*Ward: 3		1 3				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$77.28	
-		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	Current Year Interest:			
		Payoff Am	ount:		\$77.28	
Heather L Rudolph	SAINT PAUL ACADEMY GROUNDS	Street Sweeping - Commercial/Art				09-28-23-42-0036
Jason R Rudolph	LOT 9	Citywide Street Lighting	0.66	46.00	\$30.36	09-28-23-42-0030
544 Fairview Ave		, <u></u> gg		_		
St Paul MN 55116-1466		*** Owner and Taxpayer ***			\$77.28	
*544 FAIRVIEW AVE S		Owner and Taxpayer				
*Ward: 3		Total Asse	ssment:	_	\$77.28	
*Pending as of: 8/21/2019		This Paym			\$0.00	
<u> </u>			ar Principal:		\$0.00	
		Current Ye	•		\$0.00	
		Payoff Am			\$77.28	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Vincent Sharma	SAINT PAUL ACADEMY GROUNDS	Street Sweeping - Commercial/Ai	rt 1.02	46.00	\$46.92	09-28-23-42-0037
546 Fairview Ave S	LOT 10	Citywide Street Lighting	0.66	46.00	\$30.36	
St Paul MN 55116-1466				=	\$77.28	
*546 FAIRVIEW AVE S		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:	=	\$77.28	
Fending as 61: 8/21/2019		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$77.28	
	SAINT PAUL ACADEMY GROUNDS S	Street Sweeping - Commercial/An	rt	69.00		09-28-23-42-0039
556 Fairview Ave S	1/2 OF LOT 12 AND ALL OF LOT 13	Citywide Street Lighting	0.66	69.00	\$45.54	0, 20 20 12 000,
St Paul MN 55116-1466				_	\$115.92	
*556 FAIRVIEW AVE S		*** Owner and Taxpayer ***			ψ11013 2	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$115.92	
-		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:	\$0.00		
		Payoff A	Amount:		\$115.92	
Ann Marie Benrud	SAINT PAUL ACADEMY GROUNDS LOT 14	Street Sweeping - Commercial/An		46.00	\$46.92	09-28-23-42-0040
566 Fairview Ave S	LOT 14	Citywide Street Lighting	0.66	46.00	\$30.36	
St Paul MN 55116-1466					\$77.28	
*566 FAIRVIEW AVE S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$77.28	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$77.28	

Owner or Taxpayer	Property Description	Item Description	Unit Data	Quantitu	Charge Amts	Property ID
	-	- 	Unit Rate	Quantity — — —		. — — — — — — —
Stp Partners Llc	SAINT PAUL ACADEMY GROUNDS LOT 15	Street Sweeping - Commercial/ Citywide Street Lighting	Art 1.02 0.66	46.00 46.00	\$46.92 \$30.36	09-28-23-42-0041
19950 Dodd Blvd #102	227 11	Citywide Street Lighting	0.00	46.00		
Lakeville MN 55044-6342		*** Owner and Taxpayer ***			\$77.28	
*570 FAIRVIEW AVE S *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total /	Assessment:		\$77.28	
Tending as of. 6/21/2017			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$77.28	
Christopher Hudson	SAINT PAUL ACADEMY GROUNDS	Street Sweeping - Commercial/	Art 1.02	46.00	\$46.92	09-28-23-42-0043
Kimberly Hudson	LOT 17	Citywide Street Lighting	0.66	46.00	\$30.36	
580 Fairview Ave S				=	\$77.28	
St Paul MN 55116-1466		*** Owner and Taxpayer ***				
*580 FAIRVIEW AVE S						
*Ward: 3			Assessment:		\$77.28	
*Pending as of: 8/21/2019			ayment:		\$0.00	
			nt Year Principal: nt Year Interest:		\$0.00	
			f Amount:		\$0.00 \$77.28	
		rayon	Amount:		\$77.20	
Mark J Stuart	SAINT PAUL ACADEMY GROUNDS	Street Sweeping - Commercial/	Art 1.02	46.00		09-28-23-42-0044
Julia K Donaldson	LOT 18	Citywide Street Lighting	0.66	46.00	\$30.36	
586 Fairview Ave S				-	\$77.28	
St Paul MN 55116-1466		*** Owner and Taxpayer ***				
*586 FAIRVIEW AVE S						
*Ward: 3			Assessment:		\$77.28	
*Pending as of: 8/21/2019			ayment:		\$0.00	
			nt Year Principal: nt Year Interest:		\$0.00	
			f Amount:		\$0.00 \$77.28	
		rayon	Amount.		\$11.40	

Ratification Date:

Daniel R Donovan	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Supering	David Shields					\$57.12	09-28-23-42-0045
Stead MN 55116-1466 Septiment Septim	Alice Shields	10 FT OF LOT 20 AND ALL OF LOT 19	Citywide Street Lighting	0.66	56.00	\$36.96	
*\$90 FAIRVIEW AVE \$ *Ward: 3 *Pending as of: \$21/2019 *SAINT PAUL ACADEMY GROUNDS Street Sweeping - Commercial/Art	590 Fairview Ave S				_	\$94.08	
**** Owner and Taxpayer **** ***** Owner and Taxpayer *** **** Owner and			*** Owner and Taxpayer ***				
Pending as of: 8/21/2019 This Paymen: S0.00 Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: S94.08						<u> </u>	
Current Year Principal: S0.00							
Daniel R Donovan	*Pending as of: 8/21/2019						
Payoff Amount Salit Payle Academy Grounds Salit Payle Academy Grounds Salit Payle Academy Grounds Street Sweeping - Commercial/Art 1.02 45.50 \$46.41 \$09.28-23-42-0046 \$20.00 \$20.40 \$20.40 \$20.00 \$20.40 \$20.00 \$20.40 \$20.00 \$20.40 \$20.40 \$20.00 \$20.40 \$20.40 \$20.00 \$20.40 \$20.00 \$20.40 \$20.00 \$20.40 \$20.40 \$20.00 \$20.40 \$20.40 \$20.00 \$20.40 \$20.40 \$20.				=			
Daniel R Donovan							
Dawn K Donovan 36 FT OF LOT 20 AND ALL OF LOT 21 Street Sweeping - Residential Stree 0.42 70.00 \$29.40			Payott A	mount:		\$94.08	
Dawn K Donovan 36 FT OF LOT 20 AND ALL OF LOT 21 Street Sweeping - Residential Stree 0.42 70.00 \$29.40	Daniel B. Danayan	SAINT PAUL ACADEMY GROUNDS S	Street Sweening - Commercial/Ar				
Citywide Street Lighting 0.66 115.50 \$76.23							09-28-23-42-0046
St Paul MN 55116-1466 **** Owner and Taxpayer **** **** Owner and Taxpayer *** **** Owner and Taxpayer **** **** O							
600 FAIRVIEW AVE S *Ward: 3 *Pending as of: 8/21/2019 ***Pending as of: 8/21/2019 *Owner and Taxpayer *** Total Assessment: \$152.04 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$152.04 ***Street Sweeping - Commercial/Art 1.02 20.00 \$20.40 09-28-23-31-0008 601 Fairview Ave S 10 FT FOR FAIRVIEW AVE LOT 6 BLK Street Sweeping - Residential Street 0.42 58.00 \$24.36 Citywide Street Lighting 0.66 78.00 \$51.48 ***Owner and Taxpayer *** ***Owner			,		_		
*Ward: 3 *Pending as of: 8/21/2019 *Pending as of: 8/21/2019 *Total Assessment: \$152.04 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$152.04 *Barbara A Fleig Trustee \$174 FARK ADDITION PLAT 2 EX E Street Sweeping - Commercial/Art 1.02 20.00 \$20.40 \$09-28-23-31-0008 *601 Fairview Ave S 10 FT FOR FAIRVIEW AVE LOT 6 BLK Street Sweeping - Residential Stree			*** Owner and Taxpaver ***			\$132.04	
*Pending as of: 8/21/2019 **Total Assessment: \$152.04 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$152.04 **State Park Addition PLAT 2 EXE follows a very support of the part of t			1 3				
This Payment: \$0.00			Total Ass	sessment:	\$152.04		
Current Year Interest: \$0.00 Payoff Amount: \$152.04	3		This Pay	ment:		\$0.00	
Payoff Amount: S152.04			Current Y	ear Principal:		\$0.00	
Barbara A Fleig Trustee 601 Fairview Ave S St Paul MN 55116-1453 *601 FAIRVIEW AVE S *Ward: 3 *Pending as of: 8/21/2019 STATE PARK ADDITION PLAT 2 EX E 10 FT FOR FAIRVIEW AVE LOT 6 BLK Street Sweeping - Commercial/Art 1.02 20.00 \$20.40 09-28-23-31-0008 Street Sweeping - Residential Stree 0.42 58.00 \$24.36 Citywide Street Lighting 0.66 78.00 \$51.48 ***Owner and Taxpayer *** Total Assessment: \$96.24 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			Current Y	ear Interest:		\$0.00	
601 Fairview Ave S St Paul MN 55116-1453 *601 FAIRVIEW AVE S *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: This Payment: Sp6.24 This Payment: Sp6.24 This Payment: Sp6.24 Current Year Principal: Street Sweeping - Residential Stree Street Sweeping - Residential Street Sweepi			Payoff Amount:			\$152.04	
601 Fairview Ave S St Paul MN 55116-1453 *601 FAIRVIEW AVE S *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: This Payment: Sp6.24 This Payment: Sp6.24 This Payment: Sp6.24 Current Year Principal: Street Sweeping - Residential Stree Street Sweeping - Residential Street Sweepi		-					
St Paul MN 55116-1453 *601 FAIRVIEW AVE S *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$96.24 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	_						09-28-23-31-0008
*601 FAIRVIEW AVE S *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$96.24 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00		l					
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$96.24 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			Citywide Street Lighting	0.66	/8.00		
*Pending as of: 8/21/2019 Total Assessment: \$96.24 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			*** 0 1T ***			\$96.24	
Total Assessment: \$96.24 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			*** Owner and Taxpayer ***				
Current Year Principal: \$0.00 Current Year Interest: \$0.00	renamg as en o.21.201)		Total Ass	sessment:		\$96.24	
Current Year Interest: \$0.00			This Pay	ment:		\$0.00	
			Current Y	Year Principal:		\$0.00	
Payoff Amount: \$96.24			Current Y	ear Interest:		\$0.00	
			Payoff A	mount:		\$96.24	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Camille M Meyer	LANE'S CLEVELAND VILLAS PLAT 2	Street Sweeping - Commercial/Ar	1.02	68.00	\$69.36	09-28-23-34-0002
615 Fairview Ave S	S 2O FT OF LOT 82 AND ALL OF LOT 81	Citywide Street Lighting	0.66	68.00	\$44.88	
St Paul MN 55116-1453	81			_	\$114.24	
*615 FAIRVIEW AVE S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$114.24	
		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current	ear Interest:		\$0.00	
		Payoff A	mount:		\$114.24	
						. —
James Anthony Blaha	LANE'S CLEVELAND VILLAS PLAT 2 LOT 78	Street Sweeping - Commercial/Ar Citywide Street Lighting	1.02 0.66	47.00 47.00	\$47.94 \$31.02	09-28-23-34-0005
Catherine Wendel Blaha	201 //	Citywide Street Lighting	0.00	47.00		
627 Fairview Ave S					\$78.96	
St Paul MN 55116-1453		*** Owner and Taxpayer ***				
*627 FAIRVIEW AVE S				<u> </u>		
*Ward: 3		Total Ass			\$78.96	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$78.96	
	LANE'S CLEVELAND VILLAS PLAT 2	Street Sweeping - Commercial/Ar	1.02	48.00		
Jeanette M Flynn	LOT 77	Citywide Street Lighting	0.66	48.00	\$31.68	07-20-23-34-0000
631 Fairview Ave S				=	\$80.64	
St Paul MN 55116-1453		*** Owner and Taxpayer ***			\$60.0 4	
*631 FAIRVIEW AVE S		o with and rampay or				
*Ward: 3		Total As	essment:	_	\$80.64	
*Pending as of: 8/21/2019		This Pay			\$0.00	
1 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Susan C Duffy	RESERVE PARK GARDEN LOTS PART	Street Sweeping - Commercial/Art	1.02	47.00	\$47.94	09-28-23-34-0029
Patrick M Duffy	OF DEWEY PL VAC ACCRUING AND S 47 FT OF N 141 FT OF PART S OF	Citywide Street Lighting	0.66	47.00	\$31.02	
657 Fairview Ave S	BAYARD AVE AND W OF FAIRVIEW				\$78.96	
St Paul MN 55116-1449	AVE OF E 1/2 OF LOT 14	*** Owner and Taxpayer ***				
*657 FAIRVIEW AVE S *Ward: 3		Total Ass	22222222	=	\$78.96	
		This Payn			\$0.00	
*Pending as of: 8/21/2019		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$78.96	
James N Rolland Trustee	RESERVE PARK GARDEN LOTS PART	Street Sweeping - Commercial/Art	1.02	47.00	\$47.94	09-28-23-34-0030
661 Fairview Ave S	OF DEWEY PL VAC ACCRUING AND	Citywide Street Lighting	0.66	47.00	\$31.02	0, 20 20 01 0000
St Paul MN 55116-1449	S 47 FT OF N 188 FT OF PART S OF BAYARD AVE AND W OF FAIRVIEW			_	\$78.96	
*661 FAIRVIEW AVE S	AVE OF E 1/2 OF LOT 14	*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$78.96	
		This Payn			\$0.00	
			ear Principal:		\$0.00 \$0.00	
			Current Year Interest:			
		Payoff Ai	nount:		\$78.96	
Thomas P Stephens	MATTOCK PARK LOT 1 BLK 8	Street Sweeping - Residential Stree	0.42	40.00		09-28-23-44-0001
Casey M Stephens		Alley Sweeping	0.13	83.50	\$10.86	
1594 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1409				_	\$54.06	
*1594 HARTFORD AVE *Ward: 3		*** Owner and Taxpayer ***	*** Owner and Taxpayer ***			
*Pending as of: 8/21/2019		Total Asse	essment:		\$54.06	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$54.06	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Samantha Visser	MATTOCK PARK LOT 22 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0090
Matthew Schober		Alley Sweeping	0.13	83.50	\$10.86	** = * = * * * * * * * * * * * * * * *
1597 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1410				_	\$54.06	
*1597 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	sment:		\$54.06	
		This Payme	nt:		\$0.00	
		Current Yea	r Principal:		\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Amo	ount:		\$54.06	
	MATTOCK PARK LOT 2 BLK 8					
Diane M Lemay	MATIOCKTARK LOT 2 BLK 6	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-44-0002
1600 Hartford Ave		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55116-1409		Citywide Street Lighting	0.00	40.00		
*1600 HARTFORD AVE		444.0			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	\$48.40			
		This Payment:			\$0.00	
		Current Yea			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amo	\$48.40			
	MATTOCK PARK LOT 5 BLK 8		— — — —			
Robert N Upton	MATIOCK PARK LUI 3 BLK 8	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	\$16.80	09-28-23-44-0005
1612 Hartford Ave		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55116-1409		Citywide Street Lighting	0.00	40.00		
41612 HARTFORD AVE		*** 0 17 ***			\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
		Total Assessment: \$48.4			\$48.40	
*Pending as of: 8/21/2019			oment.		ψτυ.τυ	
*Pending as of: 8/21/2019			nt·		\$0.00	
*Pending as of: 8/21/2019		This Payme			\$0.00 \$0.00	
*Pending as of: 8/21/2019			r Principal:		\$0.00 \$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shaun M West	MATTOCK PARK LOT 16 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0084
Kelsey J Feragen		Alley Sweeping	0.13	40.00	\$5.20	07 20 20 12 000 1
1621 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1410				_	\$48.40	
*1621 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Dana L Britten	MATTOCK PARK LOT 15 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0083
1625 Hartford Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1410		Citywide Street Lighting	0.66	40.00	\$26.40	
*1625 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Assessment:			\$48.40	
		This Paymo			\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Patrick J Bussen	MATTOCK PARK LOT 9 BLK 8	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0009
Barbara K Bussen		Alley Sweeping	0.13	40.00	\$5.20	
1626 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1409					\$48.40	
*1626 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asset			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
45 North Investment Properties Llc	MATTOCK PARK LOT 14 BLK 5	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-41-0082
11190 Sandcastle Dr Unit E		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55129-8616		Citywide Street Lighting	0.66	40.00	\$26.40	
*1629 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	MATTOCK BARK LOT 12 BLV (-			
Richard D Chandler	MATTOCK PARK LOT 13 BLK 6	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-41-0198
1647 Hartford Av		Alley Sweeping	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55116-1412		Citywide Street Lighting	0.00	40.00	•	
*1647 HARTFORD AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	\$48.40			
		This Payr			\$0.00	
		-	ear Principal:	\$0.00		
		Current Year Interest:			\$0.00	
		Payoff A	\$48.40			
Donald S Bluhm	MATTOCK PARK LOT 12 BLK 6	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-41-0197
Laureen Bluhm		Alley Sweeping	0.13	40.00	\$5.20	
1651 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1412				_	\$48.40	
*1651 HARTFORD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
5		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Benson Granberg	MATTOCK PARK LOT 10 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0195
Michelle Granberg		Alley Sweeping	0.13	40.00	\$5.20	
1659 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1412				_	\$48.40	
*1659 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	MATTOCK PARK LOT 6 BLK 7					
Jeremy S Webb	MATTOCK PARK LOT 0 BLK /	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-44-0098
Carrie Webb		Citywide Street Lighting	0.13	40.00	\$26.40	
1660 Hartford Ave		City wide Street Eighting	0.00	40.00		
St Paul MN 55116-1411		*** Owner and Taxpayer ***			\$48.40	
*1660 HARTFORD AVE *Ward: 3		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse:	ssment:	_	\$48.40	
1 chaing as of. 6/21/2017		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	•		\$0.00	
		Payoff Am	ount:		\$48.40	
Dale J Fierke	MATTOCK PARK LOT 9 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0194
Doris E Karlisch		Alley Sweeping	0.13	40.00	\$5.20	
1663 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1412				_	\$48.40	
*1663 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Isaiah Campbell	MATTOCK PARK LOT 8 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0193
Jill Campbell		Alley Sweeping	0.13	40.00	\$5.20	3, 20 20 12 12 1
1667 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1412				_	\$48.40	
*1667 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stree				
Peter J Blau Lucia A Blau	MINN. LOT 12 BLK 4	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-41-0190
1679 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1412		, , , ,		_	\$48.40	
*1679 HARTFORD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		o mar and rampay or				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
C		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Elizabeth M Sheppard	KIPP'S COLLEGE PARK, ST. PAUL, MINN. LOT 11 BLK 4	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-41-0189
3739 35th Ave S		Citywide Street Lighting	0.13	40.00	\$26.40	
Minneapolis MN 55406-2746		City wide Street Eighting	0.00	40.00		
*1683 HARTFORD AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kari L Strong	MATTOCK PARK LOT 12 BLK 7	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	09-28-23-44-0104
Michael J Strong		Alley Sweeping	0.13	44.00	\$5.72	02 20 20 11 0101
1686 Hartford Ave		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55116-1411				_	\$53.24	
*1686 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	ssment:	_	\$53.24	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$53.24	
John Bealka	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stree	0.42	45.00	\$18.90	09-28-23-41-0187
Katherine Bealka	MINN. LOT 9 BLK 4	Alley Sweeping	0.13	45.00	\$5.85	
1691 Hartford Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1412				_	\$54.45	
*1691 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	ssment:		\$54.45	
Ţ.		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$54.45	
Matthew J Gustafson	PLUM ORCHARD LOT 4 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0004
Kristina O Gustafson		Alley Sweeping	0.13	40.00	\$5.20	
1716 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1451				_	\$48.40	
*1716 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:** Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sara J Gephart	PLUM ORCHARD E 1/2 OF LOT 8 AND	Street Sweeping - Residential S	treε 0.42	60.00	\$25.20	09-28-23-43-0007
1728 Hartford Ave	ALL OF LOT 7 BLK 1	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55116-1451		Citywide Street Lighting	0.66	60.00	\$39.60	
*1728 HARTFORD AVE				==	\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:	\$72.60		
			ayment:		\$0.00	
			ayment. nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
			f Amount:		\$72.60	
	PLUM ORCHARD EX E 10 FT LOT 10	Street Sweeping - Residential S	$\phantom{00000000000000000000000000000000000$	70.00		09-28-23-43-0009
Susan G Heegaard	AND ALL OF LOT 11 BLK 1	Alley Sweeping	0.13	70.00	\$9.10	0, 20 20 10 000,
1742 Hartford Ave		Citywide Street Lighting	0.66	70.00	\$46.20	
St Paul MN 55116-1451				=	\$84.70	
*1742 HARTFORD AVE		*** Owner and Taxpayer ***			•••	
*Ward: 3				=		
*Pending as of: 8/21/2019		Total .	\$84.70			
		This P	\$0.00			
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payof	f Amount:		\$84.70	
	PLUM ORCHARD LOT 2 BLK 2	Street Sweeping - Residential S		40.00		09-28-23-43-0106
Benjamin R Pierce		Alley Sweeping	0.13	40.00	\$5.20	07-20-23-43-0100
1766 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1452				_	\$48.40	
*1766 HARTFORD AVE		*** Owner and Taxpayer ***			ψ 10.10	
*Ward: 3						
*Pending as of: 8/21/2019		Total .	Assessment:	-	\$48.40	
		This P	ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Pavof	f Amount:		\$48.40	

Ratification Date:

Sent Haley FRAMORCHARDLOT JULE 2 Street Sweeping - Residential Stee 0.42 40.00 \$15.80 \$5.20 \$15.80 \$7.80 \$1.80 \$	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kalberine Ilaley	Sean Haley	PLUM ORCHARD LOT 3 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0107
1770 HARTFORD AVE **** Owner and Taxpayer *** ***** Owner and Taxpayer *** **** Owner an	Katherine Haley		Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0 -0
*****Owner and Taxpayer *** ****Owner and Taxpayer *** ****Pending as of: \$21/2019 ****Pending as of: \$21/2019 ****Owner and Taxpayer ***			Citywide Street Lighting	0.66	40.00	\$26.40	
*Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$48.40 This Psyment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Psyoff Amount: \$48.40 **Angela Davis Drew Psyoff Amount: \$48.40 **Tyo Hardford Ave Citywide Street Lighting 0.66 40.00 \$5.20 ***Owner and Tuxpayer *** ****Owner	St Paul MN 55116-1452				_	\$48.40	
*Pending as of: 8/21/2019 **Total Assessment: \$48.40 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 **Rogeln Davis Drew Puttin ORCHARD LOT 9 BLK 2 Street Sweeping - Residential Stree 1.02 **Pending as of: 8/21/2019 **Total Assessment: \$48.40 **Pending as of: 8/21/2019 ***Owner and Taxpayer *** ***Owner and Ta	*1770 HARTFORD AVE		*** Owner and Taxpayer ***				
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$148.40 Angela Davis Drew Payoff Amount: \$148.40 Angela Davis Drew Payoff Amount: \$16.80 Ducheane Paul Drew \$16.80 Ducheane Paul Drew \$16.80 Citywide Street Lighting \$0.60 \$16.80 \$16.80 \$9-28-23-43-0113 \$18.796 Hartford Ave \$16.80	*Ward: 3						
Current Year Principal: S0.00	*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
Current Year Interest: S0.00 Payoff Amount: S48.40			This Paym	ent:		\$0.00	
Angela Davis Drew PLUMORCHARD LOT 9BLK 2 Street Sweeping - Residential Stree			Current Ye	ar Principal:		\$0.00	
Angela Davis Drew PLUM ORCHARD LOT 9 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0113 Duchesne Paul Drew Alley Sweeping 0.13 40.00 \$5.20 1796 Hartford Ave Citywide Street Lighting 0.66 40.00 \$26.40 184.40 185.20 1796 HARTFORD AVE ****Owner and Taxpayer *** **Ward: 3 **Pending as of: 8/21/2019 ***Owner and Taxpayer *** Kenneth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Alley Sweeping 0.13 40.00 \$5.20 09-28-23-43-0115 Kenneth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-43-0115 Remeth A Goulet PLUM ORCHARD LOT 11 BLK 2 Stree			Current Ye	ear Interest:		\$0.00	
Alley Sweeping 0.13 40.00 \$5.20			Payoff An	ount:		\$48.40	
Alley Sweeping 0.13 40.00 \$5.20							
1796 Hartford Ave St Paul MN 55116-1450 S48.40 S4	_	PLUM ORCHARD LOT 9 BLK 2					09-28-23-43-0113
St Paul MN 55116-1450 S48.40 ***T796 HARTFORD AVE **** Owner and Taxpayer **** S48.40 ***T796 HARTFORD AVE S48.40 Total Assessment: S0.00 ***Total Assessment: S0.00 Current Year Principal: S0.00 ***Current Year Interest: S0.00 ***Payoff Amount: S48.40 S48.40 ***Total Assessment: S48.40 S48.40 S48.40 ***Total Assessment: S48.40 S	Duchesne Paul Drew						
***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kenneth A Goulet PLUM ORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 \$9-28-23-43-0115 Rose L Koltes Alley Sweeping 0.13 40.00 \$52.00 St Paul MN 55116-1452 ***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** **Owner and Taxpayer *** **Owner and Taxpayer *** **Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00			Citywide Street Lighting	0.66	40.00		
*Ward: 3 *Pending as of: 8/21/2019 *Total Assessment:						\$48.40	
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kenneth A Goulet PLUMORCHARD LOT 11 BLK 2 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 \$09-28-23-43-0115 Rose L Koltes Alley Sweeping 0.13 40.00 \$52.0 1802 Hartford Ave Citywide Street Lighting 0.66 40.00 \$26.40 *\$1802 HARTFORD AVE ***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 **Owner and Taxpayer *** *Total Assessment: \$48.40 This Payment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	*1796 HARTFORD AVE		*** Owner and Taxpayer ***				
This Payment: \$0.00					_		
Current Year Principal: \$0.00	*Pending as of: 8/21/2019						
Current Year Interest: S0.00 Payoff Amount: S48.40			-				
Payoff Amount: S48.40				•			
Kenneth A Goulet							
Rose L Koltes Alley Sweeping Alley Sweeping 1802 Hartford Ave St Paul MN 55116-1452 **** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 **** Owner and Taxpayer *** **Total Assessment: Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			Payoff An	iount:		\$48.40	
Rose L Koltes Alley Sweeping Alley Sweeping 1802 Hartford Ave St Paul MN 55116-1452 **** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 **** Owner and Taxpayer *** **Total Assessment: Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	Vonneth A Coulet	PLUM ORCHARD LOT 11 BLK 2	Street Sweening - Residential Stree	${042}$		— — \$16.80 —	00 20 22 42 0115
1802 Hartford Ave St Paul MN 55116-1452 *1802 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: This Payment: Summer and Taxpayer \$48.40 **1802 HARTFORD AVE *** Owner and Taxpayer *** *** Owner and Taxpayer *** *** *** *** *** *** ***							09-28-23-43-0115
St Paul MN 55116-1452 *1802 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00							
***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			,		_		
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			*** Owner and Taynaver ***			\$46.40	
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			owner and ranpayer				
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			Total Asse	cement:	-	\$48.40	
Current Year Principal: \$0.00 Current Year Interest: \$0.00	rending as of: 6/21/2019						
Current Year Interest: \$0.00							
				=			
						\$48.40	

	r done improvement rissessment	Ratification Date: Resolution	on #:	1551110 150020 1	runuger. En	T uge (
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Frank M Jossi	PLUM ORCHARD E 5 FT OF LOT 14	Street Sweeping - Residential Stree	0.42	45.00		09-28-23-43-0117
Judy T Jossi	AND ALL OF LOT 13 BLK 2	Alley Sweeping	0.13	45.00	\$5.85	
1810 Hartford Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1452				=	\$54.45	
*1810 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$54.45	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$54.45	
	DILIM ORGINADE EVES ETTOT 14	Street Street of Commonwiel/Aut				
Margit A Myers	PLUM ORCHARD EX E 5 FT LOT 14 BLK 2	Street Sweeping - Commercial/Art Street Sweeping - Residential Stree	1.02 0.42	62.50 24.00	\$63.75 \$10.08	09-28-23-43-0118
Joseph W Ward		Alley Sweeping	0.13	48.00	\$6.24	
1814 Hartford Ave St Paul MN 55116-8790		Citywide Street Lighting	0.66	86.50	\$57.09	
*1814 HARTFORD AVE		,		=	\$137.16	
*Ward: 3		*** Owner and Taxpayer ***			\$137.10	
*Pending as of: 8/21/2019		1 2				
1 chang as of. 0/21/2019		Total Asse	essment:		\$137.16	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$137.16	
	- – – – – – – –	- – – – – – – –				
Theresa Quinn Accurso	WITHEE ADDITION LOT 1	Street Sweeping - Commercial/Art	1.02	25.00	\$25.50	09-28-23-44-0084
James R Accurso		Street Sweeping - Residential Stree		56.50	\$23.73	
1637 Highland Pky		Citywide Street Lighting	0.66	81.50	\$53.79	
St Paul MN 55116-2163		*** O 1T ***			\$103.02	
*1637 HIGHLAND PKWY *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:		\$103.02	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$103.02	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael S Morrissey	OTTO AVENUE ADDITION W 5	Street Sweeping - Commercial/Ar	1.02	49.00	\$49.98	09-28-23-44-0189
Sarah E Morrissey	97/100 FT OF LOT 9 AND ALL OF LOT 8 BLK 2	Alley Sweeping	0.13	49.00	\$6.37	
1667 Highland Pky	OBLK 2	Citywide Street Lighting	0.66	49.00	\$32.34	
St Paul MN 55116-2104				_	\$88.69	
*1667 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$88.69	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$88.69	
John P Oconnell	GALARNEAULT'S ADDITION E 7 FT OF LOT 12 AND ALL OF LOT 13 BLK	Street Sweeping - Commercial/Ar		50.00	\$51.00	09-28-23-44-0187
Maggie B B Oconnell	2	Alley Sweeping Citywide Street Lighting	0.13 0.66	50.00 50.00	\$6.50 \$33.00	
1675 Highland Pky		Citywide Street Lighting	0.00	30.00		
St Paul MN 55116-2104		*** 0 1 1 7 ***			\$90.50	
*1675 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3		Total As	sessment.		\$90.50	
*Pending as of: 8/21/2019		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A		\$90.50		
Anthony J Marshall	THAT PT OF LOT 9 BLK 2 LYING E OF	Street Sweeping - Commercial/Ar	1.02	47.00		09-28-23-44-0225
Megan Barrie	W 3 FT AND THE W 14.25 FT OF LOT 10 BLK 2	Alley Sweeping	0.13	47.00	\$6.11	
1691 Highland Pky	DLK 2	Citywide Street Lighting	0.66	47.00	\$31.02	
St Paul MN 55116-2104				_	\$85.07	
*1691 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$85.07	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$85.07	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary Barrie	LOT 8 BLK 2 AND THE W 3 FT OF LOT	Street Sweeping - Commercial/Art	1.02	26.50	\$27.03	09-28-23-44-0224
1695 Highland Pkwy	9 BLK 2	Street Sweeping - Residential Stree	0.42	59.00	\$24.78	
St Paul MN 55116-2104		Alley Sweeping	0.13	53.00	\$6.89	
*1695 HIGHLAND PKWY		Citywide Street Lighting	0.66	85.50	\$56.43	
*Ward: 3				_	\$115.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asso	essment:	=	\$115.13	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$115.13	
Taylor M Phelps	JOHN GAARDEN ADDITION VAC N	Street Sweeping - Commercial/Art		58.00	\$59.16	09-28-23-43-0098
Laura A Pfeiffer	10 FT OF HIGHLAND PKWY ADJ AND E 19 FT OF LOT 19 AND W 39 FT OF LOT 20 BLK 1	Alley Sweeping	0.13	58.00	\$7.54	
1733 Highland Pky		Citywide Street Lighting	0.66	58.00	\$38.28	
St Paul MN 55116-2114					\$104.98	
*1733 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asso			\$104.98	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$104.98	
			- — . — -			
Gloria M Salmen	JOHN GAARDEN ADDITION VAC N 10 FT OF HIGHLAND PKWY ADJ AND	Street Sweeping - Commercial/Art		55.00	\$56.10	09-28-23-43-0097
1737 Highland Pky	E 26 FT OF LOT 18 AND W 29 FT OF	Alley Sweeping Citywide Street Lighting	0.13 0.66	55.00 55.00	\$7.15 \$36.30	
St Paul MN 55116-2114	LOT 19 BLK 1	Citywide Street Lighting	0.00	33.00		
*1737 HIGHLAND PKWY		*** 0 1.T ***			\$99.55	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 Chaing as 01. 0/21/2017		Total Asso	essment:	-	\$99.55	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$99.55	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Commercial/Art 1.02 29.50 \$30.09 JOHN GAARDEN ADDITION VAC N Maria L Corcoran 09-28-23-43-0094 10 FT OF HIGHLAND PKWY ADJ AND Street Sweeping - Residential Stree 0.42 58.00 \$24.36 William B Corcoran LOT 15 BLK 1 0.13 59.00 Alley Sweeping \$7.67 1755 Highland Parkway 87.50 Citywide Street Lighting 0.66 \$57.75 St Paul MN 55116-2114 \$119.87 *1755 HIGHLAND PKWY *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$119.87 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$119.87 1.02 83.00 \$84.66 Street Sweeping - Commercial/Art Heather Rossi Tr JOHN GAARDEN ADDITION VAC N 09-28-23-43-0202 10 FT OF HIGHLAND PKWY ADJ AND 0.13 83.00 \$10.79 Alley Sweeping Patrick Wright Tr EX E 13 FT LOT 25 AND ALL OF LOT Citywide Street Lighting 0.66 83.00 \$54.78 1771 Highland Pky 24 BLK 2 St Paul MN 55116-2116 \$150.23 *** Owner and Taxpayer *** *1771 HIGHLAND PKWY *Ward: 3 Total Assessment: \$150.23 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Pavoff Amount:** \$150.23 1.02 48.00 Michael J Hanson JOHN GAARDEN ADDITION VAC N Street Sweeping - Commercial/Art \$48.96 09-28-23-43-0200 10 FT OF HIGHLAND PKWY ADJ AND Alley Sweeping 0.13 48.00 \$6.24 Jennifer M Gatti LOT 22 BLK 2 Citywide Street Lighting 0.66 48.00 \$31.68 1781 Highland Parkway St Paul MN 55116-2116 \$86.88 *** Owner and Taxpayer *** *1781 HIGHLAND PKWY *Ward: 3 Total Assessment: \$86.88 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$86.88

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Amy J Rolfzen	JOHN GAARDEN ADDITION VAC N	Street Sweeping - Commercial/Art	1.02	60.00	\$61.20	09-28-23-43-0195
1811 Highland Pky	10 FT OF HIGHLAND PKWY ADJ AND W 12 FT OF LOT 17 AND ALL OF LOT	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55116-2116	16 BLK 2	Citywide Street Lighting	0.66	60.00	\$39.60	
*1811 HIGHLAND PKWY				_	\$108.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					#100.60	
		Total Ass			\$108.60	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$108.60	
William H Gilliland Trustee	RESERVE PARK GARDEN LOTS E 55	Street Sweeping - Commercial/Art				
William H Gilliland Living Trust	FT OF W 165 FT OF S 116 3/10 FT OF	Alley Sweeping	0.13	55.00	\$7.15	09-28-23-34-0128
975 Lincoln Ave	PART N OF HIGHLAND PKWY OF E	Citywide Street Lighting	0.66	55.00	\$36.30	
St Paul MN 55105-3149	1/2 OF LOT 14	, , ,		=	\$99.55	
*1831 HIGHLAND PKWY		*** Owner and Taxpayer ***			\$99.33	
*Ward: 3		o what and rampayer				
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$99.55	
C		This Payı	This Payment: Current Year Principal:			
		Current Y				
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$99.55	
			. — — — -			
Thomas D Ek	RESERVE PARK GARDEN LOTS W 55	Street Sweeping - Commercial/Art		55.00	\$56.10	09-28-23-34-0126
Mary B Ek	FT OF S 116 3/10 FT OF PART N OF HIGHLAND PKWY OF E 1/2 OF LOT	Alley Sweeping	0.13	55.00	\$7.15	
1839 Highland Pky	14	Citywide Street Lighting	0.66	55.00	\$36.30	
St Paul MN 55116-1328					\$99.55	
*1839 HIGHLAND PKWY *Ward: 3		*** Owner and Taxpayer ***		_		
*Pending as of: 8/21/2019		Total Ass	essment:		\$99.55	
-		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$99.55	

Ratification Date:

Roger J Maulik	PAYSON H. GILBERT'S ADD. S 1/2 OF					
El: 1 4 CM 17		Street Sweeping - Commercial/A	rt 1.02	45.00	\$45.90	09-28-23-34-0124
Elizabeth C Maulik	VAC ALLEY ADJ AND W 2 54/100 FT OF LOT 12 AND EX W 1 54/100 FT	Citywide Street Lighting	0.66	45.00	\$29.70	
1847 Highland Pkwy	LOT 11 BLK 2			-	\$75.60	
St Paul MN 55116-1328		*** Owner and Taxpayer ***				
*1847 HIGHLAND PKWY						
*Ward: 3			ssessment:		\$75.60	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$75.60	
	MEL BOSE BARK S 1/2 OF VAC ALLEY	Street Sweeping - Commercial/A	rt	50.00		
Nancy K Piga Trustee	MELROSE PARK S 1/2 OF VAC ALLEY ADJ AND E 28 FT OF LOT 10 AND W	Citywide Street Lighting	0.66	50.00	\$33.00	09-28-23-34-0119
James T Piga Trustee	22 FT OF LOT 11 BLK 2	Citywide Street Lighting	0.00	J0.00 —		
1879 Highland Pky St Paul MN 55116-1328		*** Owner and Taxpayer ***			\$84.00	
*1879 HIGHLAND PKWY		Owner and Taxpayer				
*Ward: 3		Total A	ssessment:	_	\$84.00	
*Pending as of: 8/21/2019		This Pa			\$0.00	
Tending as 61. 6/21/2017			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$84.00	
Joseph J Peterson	MISSABE ADDITION S 1/2 OF VAC	Street Sweeping - Commercial/A	rt	70.00		09-28-23-34-0116
Christina Peterson	ALLEY ADJ AND EX E 18 FT LOT 6	Citywide Street Lighting	0.66	70.00	\$46.20	
1899 Highland Pky	AND ALL OF LOT 5 BLK 4			_	\$117.60	
St Paul MN 55116-1328		*** Owner and Taxpayer ***				
*1899 HIGHLAND PKWY						
*Ward: 3		Total A	ssessment:		\$117.60	
*Pending as of: 8/21/2019		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$117.60	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul Frederick Ziemer	MISSABE ADDITION S 1/2 OF VAC	Street Sweeping - Commercial/A		48.00	\$48.96	09-28-23-34-0113
1909 Highland Pky	ALLEY ADJ AND W 48 FT OF LOT 14 BLK 3	Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55116-1350					\$80.64	
*1909 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$80.64	
g		This Pa			\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$80.64	
Scott J Pollei Trustee	MISSABE ADDITION S 1/2 OF VAC	Street Sweeping - Commercial/A	art	44.00		09-28-23-34-0112
1915 Highland Pky	ALLEY ADJ AND LOT 13 BLK 3	Citywide Street Lighting	0.66	44.00	\$29.04	v> 20 20 01 0112
St Paul MN 55116-1350				_	\$73.92	
*1915 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A	ssessment:		\$73.92	
*Pending as of: 8/21/2019					\$73.92 \$0.00	
			This Payment: Current Year Principal: Current Year Interest:		\$0.00	
					\$0.00	
			Amount:		\$73.92	
Kristin Miller	MISSABE ADDITION S 1/2 OF VAC	Street Sweeping - Commercial/A	art	52.00	<u>\$53.04</u>	09-28-23-34-0109
1933 Highland Pky	ALLEY ADJ AND FOL W 8 FT OF LOT	Citywide Street Lighting	0.66	52.00	\$34.32	v> 20 20 01 010>
St Paul MN 55116-1350	10 AND ALL OF LOT 9 BLK 3			_	\$87.36	
*1933 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$87.36	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$87.36	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Luverne J Goodman	STATE PARK ADDITION PLAT 5 EX S	Street Sweeping - Commercial/An	rt 1.02	69.00	\$70.38	09-28-23-33-0074
Harriet Goodman	7 FT FOR BLVD LOT 6 BLK 3	Street Sweeping - Residential Street	eε 0.42	23.50	\$9.87	.,
2003 Highland Pky		Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55116-1310		Citywide Street Lighting	0.66	92.50	\$61.05	
*2003 HIGHLAND PKWY				_	\$147.41	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$147.41	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$147.41	
Benjamin Biddle	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Street	ee 0.42	87.00	\$36.54	09-28-23-21-0112
295 Howell St	PAUL, MINN. LOT 40 BLK 2	Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55105-1638		Citywide Street Lighting	0.66	87.00	\$57.42	
*295 HOWELL ST S				_	\$100.07	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			ssessment:		\$100.07 \$0.00	
		•	This Payment:			
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott A	Amount:		\$100.07	
	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Ar	rt			
349 Owasso Blvd S	PAUL, MINN. LOT 30 BLK 2	Street Sweeping - Residential Street		61.00	\$25.62	09-28-23-24-0212
Roseville MN 55113-2119		Alley Sweeping	0.13	40.00	\$5.20	
*473 HOWELL ST S		Citywide Street Lighting	0.66	81.00	\$53.46	
*Ward: 3				_	\$104.68	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$10 H.00	
		Total As	ssessment:	<u>_</u>	\$104.68	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$104.68	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen E Abbott	MISSABE ADDITION E 1/2 OF VAC ALLEY ADJ AND N 15 FT OF LOT 6 S	Street Sweeping - Residential		90.00	\$37.80	09-28-23-34-0080
Linda L Abbott	20 FT OF LOT 4 AND ALL OF LOT 5	Citywide Street Lighting	0.66	90.00	\$59.40	
669 Howell St S	BLK 2				\$97.20	
St Paul MN 55116-1220		*** Owner and Taxpayer ***				
*669 HOWELL ST S						
*Ward: 3			l Assessment:		\$97.20	
*Pending as of: 8/21/2019			Payment:		\$0.00	
			ent Year Principal: ent Year Interest:		\$0.00 \$0.00	
					\$0.00 \$97.20	
		rayo	off Amount:		\$97.20	
Dergon T Dyshholles	ELMWOOD LOT 26 BLK 8	Street Sweeping - Residential				
Bryan T Rubbelke Jeannette M Rubbelke	22	Alley Sweeping	0.13	81.00	\$10.53	09-28-23-14-0186
1596 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2109		,		_	\$53.73	
		*** Owner and Taxpayer ***			\$33./3	
*1596 JAMES AVE *Ward: 3		Owner and Tuxpayer				
*Pending as of: 8/21/2019		Tota	l Assessment:		\$53.73	
Tending as off. 6/21/2019		This	Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$53.73	
Pamela Mercier	ELMWOOD LOT 8 BLK 5	Street Sweeping - Residential		40.00	\$16.80	09-28-23-14-0116
601 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2110		Citywide Street Lighting	0.66	40.00	\$26.40	
41601 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019						
			l Assessment:		\$48.40	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Matthew R Mcmanimon	ELMWOOD LOT 23 BLK 8	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-14-0183
Tanya M Mcmanimon		Alley Sweeping	0.13	40.00	\$5.20	
1610 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2109				_	\$48.40	
*1610 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
-		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
			- — — — -			
Christopher C Chapman	ELMWOOD LOT 22 BLK 8	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-14-0182
Deanna M Mroczenski		Alley Sweeping	0.13	40.00	\$5.20	
1614 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2109				_	\$48.40	
*1614 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	Payoff Amount:			
			· — — -			
Lea Harpster	ELMWOOD LOT 13 BLK 3	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-14-0121
Han Hoppe		Alley Sweeping Citywide Street Lighting	0.13 0.66	83.50 40.00	\$10.86 \$26.40	
1623 James Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2110					\$54.06	
*1623 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$54.06	
		This Payı			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$54.06	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gary M Connelly	ELMWOOD LOT 27 BLK 7	Street Sweeping - Residential Stree	0.42	40.00	<u>\$16.80</u>	09-28-23-14-0166
1660 James Ave		Alley Sweeping	0.13	40.00	\$5.20	v, _v _v
St Paul MN 55105-2111		Citywide Street Lighting	0.66	40.00	\$26.40	
*1660 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	amanti	=	\$48.40	
		This Payme			\$0.00	
		•	ar Principal:		\$0.00	
		Current Yes	=		\$0.00	
		Payoff Am			\$48.40	
		1 u, v	ounc.		\$10.10	
Kathleen Patricia Lamkin	ELMWOOD LOT 24 BLK 7	Street Sweeping - Residential Stree		40.00		09-28-23-14-0163
Mark Gerald Lamkin		Alley Sweeping	0.13	40.00	\$5.20	07-20-23-14-0103
1670 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2111				_	\$48.40	
*1670 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	sment:		\$48.40	
		This Payme	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Current Yea				
		Payoff Am				
	ELMWOOD LOT 23 BLK 7					
Michael S Waltonen	ELMWOOD LOT 23 BLK /	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-14-0162
Sara A Nelson		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1674 James Ave		Citywide Street Lighting	0.00	+0.00		
St Paul MN 55105-2111		*** Owner and Taxpayer ***			\$48.40	
*1674 JAMES AVE		Owner and Taxpayer TTT				
*Ward: 3		Total Asses	sment:		\$48.40	
*Pending as of: 8/21/2019		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Yes	-		\$0.00	
		Cultur 10				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher J Herriges	ELMWOOD LOT 22 BLK 7	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-14-0161
1680 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2111		Citywide Street Lighting	0.66	40.00	\$26.40	
*1680 JAMES AVE				_	\$48.40	
*Ward: 3		*** Taxpayer and 3rd Party ***				
*Pending as of: 8/21/2019		T-4-1 A -	sessment:		\$48.40	
					\$48.40 \$0.00	
		This Pay			\$0.00 \$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
		Payoff A			\$48.40	
					\$40.40 	
Raymond A Zopf	ELMWOOD LOT 22 BLK 7	*** Owner ***				09-28-23-14-0161
1680 James Ave				_		
St Paul MN 55105-2111			sessment:		\$48.40	
*1680 JAMES AVE		This Pay			\$0.00	
*Ward: 3			Year Principal:		\$0.00	
*Pending as of: 8/21/2019			Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
Paul A Winghart	ELMWOOD LOT 20 BLK 7	Street Sweeping - Residential Stre	€ 0.42	40.00	\$16.80	09-28-23-14-0159
1688 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2111		Citywide Street Lighting	0.66	40.00	\$26.40	
*1688 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John B Shank	ELMWOOD LOT 18 BLK 7	Street Sweeping - Residential Stre	0.42	86.00	\$36.12	09-28-23-14-0157
Alison M Shank		Alley Sweeping	0.13	50.00	\$6.50	0, 20 20 11 010.
1696 James Ave		Citywide Street Lighting	0.66	86.00	\$56.76	
St Paul MN 55105-2111				_	\$99.38	
*1696 JAMES AVE		*** Owner and Taxpayer ***			4.7.4	
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$99.38	
		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$99.38	
Catherine M Bergen Mclagan	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 1	Street Sweeping - Residential Stre		79.00	\$33.18	09-28-23-13-0198
Matthew Mclagan	BLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	39.00 79.00	\$5.07 \$52.14	
1702 James Ave		Citywide Street Lighting	0.00	79.00		
St Paul MN 55105-2113					\$90.39	
*1702 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$90.39	
		This Payı		\$0.00		
			ear Principal:	\$0.00		
		Current Year Interest:		\$0.00		
		Payoff A	mount:		\$90.39	
Eugene Yevgeny Vasserman Trustee	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Stree				
Dan Li Trustee	ST. PAUL, RAMSEY CO., MINN. SUBJ	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0199
	TO ESMTS LOT 2 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
1901 Blue Hills Rd		ony wide succe Eighting	0.00	=		
Manhattan KS 66502-4502		*** Owner and Taxpayer ***			\$48.40	
*1704 JAMES AVE		Owner and Taxpayer				
*Ward: 3		T . 1 .			0.40, 40	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nicholas Hansen	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential St		40.00	\$16.80	09-28-23-13-0200
1706 James Ave	ST. PAUL, RAMSEY CO., MINN. SUBJ TO ESMTS LOT 3 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2113	TO ESIMIS LOT 3 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1706 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	
Patricia E Hanson	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-13-0193
1715 James Ave	ST. PAUL, RAMSEY CO., MINN. LOT	Alley Sweeping	0.13	40.00	\$5.20	V7
St Paul MN 55105-2114	26 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
41715 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff	Payoff Amount:		\$48.40	
Michelle A Buege	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 6	Street Sweeping - Residential St		40.00	\$16.80	09-28-23-13-0203
1722 James Ave	BLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2113		Citywide Street Lighting	0.00	40.00		
*1722 JAMES AVE		*** Owner and Taxpayer ***			\$48.40	
Pending as of: 8/21/2019				_		
		Total A	ssessment:		\$48.40	
		This Pa			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Matthew G Murphy	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-13-0204
724 James Ave	ST. PAUL, RAMSEY CO., MINN. LOT 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2113	BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
1724 JAMES AVE				=	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		T. 4.1.4			¢40.40	
		Total Ass			\$48.40	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
		Payoff A	ear Interest:		\$0.00 \$48.40	
		T ayon A	mount.		940.40	
Stephen E Collins	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Stre				09-28-23-13-0210
Christine D Collins	ST. PAUL, RAMSEY CO., MINN. LOT	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0210
748 James Ave	13 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2113		, , , , , , , , , , , , , , , , , , , ,		_	\$48.40	
*1748 JAMES AVE		*** Owner and Taxpayer ***			\$ +0.4 0	
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	eccment:		\$48.40	
rending as of. 8/21/2019		This Pay		\$0.00		
			ear Principal:	\$0.00		
			Current Year Interest: Payoff Amount:			
Chomas B Simerson Wallfred	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-13-0211
Patricia A Simerson Wallfred	ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
752 James Ave	113211 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2113				_	\$48.40	
T1752 JAMES AVE Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
5		This Pay	nent:		\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Elizabeth R Mitchell	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Stree		40.00	\$16.80	09-28-23-13-0184	
Linnea Loren	ST. PAUL, RAMSEY CO., MINN. LOT 17 BLK 1	Alley Sweeping	0.13	40.00	\$5.20		
1755 James Ave	1/ BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40		
St Paul MN 55105-2114				_	\$48.40		
*1755 JAMES AVE		*** Owner and Taxpayer ***					
*Ward: 3							
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40		
		This Payn			\$0.00		
			ear Principal:		\$0.00		
			ear Interest:		\$0.00		
		Payoff Ai	nount:		\$48.40		
	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Stree					
1756 James Ave	ST. PAUL, RAMSEY CO., MINN. LOT	Alley Sweeping	0.13	39.00	\$5.07	09 20 20 10 0212	
St Paul MN 55105-2113	15 BLK 2	Citywide Street Lighting	0.66	79.00	\$52.14		
*1756 JAMES AVE				_	\$90.39		
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***					
Pending as of: 8/21/2019		Total Ass	essment:	-	\$90.39		
		This Payn			\$0.00		
			ear Principal:		\$0.00		
			ear Interest:		\$0.00		
		Payoff Ai	nount:		\$90.39		
	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential Street		82.00		09-28-23-13-0141	
1762 James Ave	TO THE CITY OF ST. PAUL, RAMSEY	Alley Sweeping	0.13	38.00	\$4.94	0, 20 20 10 0111	
St Paul MN 55105-2115	CO., MINNESOTA LOT 1 BLK 2	Citywide Street Lighting	0.66	82.00	\$54.12		
*1762 JAMES AVE				_	\$93.50		
*Ward: 3		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2019		Total Asse		-	\$93.50		
		This Payn			\$0.00		
			ear Principal:		\$0.00		
			ear Interest:		\$0.00		
		Payoff Ar	nount:		\$93.50		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jay A Boss Febbo	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential St	reε 0.42	40.00	\$16.80	09-28-23-13-0142
Sandra E Boss Febbo	TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 2 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1766 James Ave	CO., MINNESOTA LOT 2 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2115				=	\$48.40	
*1766 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	Assessment:	-	\$48.40	
		This Pa	nyment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Paul D Sorensen	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential St		60.00	\$25.20	09-28-23-13-0139
Karen W Wright	TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA W 1/2 OF LOT 29	Alley Sweeping	0.13	60.00	\$7.80	
1769 James Ave	AND ALL OF LOT 28 BLK 1	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-2116				_	\$72.60	
*1769 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$72.60	
		This Pa	nyment:		\$0.00	
			t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$72.60	
	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential St	reε 0.42			
Peter Magnuson	TO THE CITY OF ST. PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0145
Megan Magnuson 1776 James Ave	CO., MINNESOTA LOT 5 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2115		, ··· <u></u> g		=	\$48.40	
*1776 JAMES AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3				_		
*Pending as of: 8/21/2019			Assessment:		\$48.40	
		This Pa	nyment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Richard Stewart Fellerman	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential	Stree 0.42	40.00	\$16.80	09-28-23-13-0137
1779 James Ave	TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 26 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2116	CO., MINNESOTA LOT 20 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1779 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Tota	l Assessment:	=	\$48.40	
		This	Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Paye	off Amount:		\$48.40	
	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential	Stree 0.42	40.00	\$16.80	09-28-23-13-0136
Jack Grengs	TO THE CITY OF ST. PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
1783 James Ave	CO., MINNESOTA LOT 25 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2116				_	\$48.40	
*1783 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			l Assessment:		\$48.40	
			Payment:		\$0.00	
		Current Year Principal:			\$0.00	
			Current Year Interest:		\$0.00	
		Payo	off Amount:		\$48.40	
Joseph P Maguire	HESSE REARRANGEMENT E 72 18/100 FT OF LOTS 4 AND LOT 5	Street Sweeping - Residential		72.00	\$30.24	09-28-23-13-0131
1803 James Ave	18/10011 01 2013 4 AND 201	Alley Sweeping Citywide Street Lighting	0.13 0.66	88.00 72.00	\$11.44 \$47.52	
St Paul MN 55105-2116		Citywide Street Lighting	0.00	72.00		
*1803 JAMES AVE		*** O ***			\$89.20	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Tota	l Assessment:	<u>-</u>	\$89.20	
		This	Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Paye	off Amount:		\$89.20	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 40.00 \$16.80 MACALESTER COLLEGE ADDITION Pamela E Brethorst 09-28-23-13-0152 TO THE CITY OF ST. PAUL, RAMSEY 0.13 40.00 Alley Sweeping \$5.20 1804 James Ave CO., MINNESOTA LOT 12 BLK 2 Citywide Street Lighting 40.00 0.66 \$26.40 St Paul MN 55105-2115 \$48.40 *1804 JAMES AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Paul Benick MACALESTER COLLEGE ADDITION 09-28-23-13-0153 TO THE CITY OF ST. PAUL, RAMSEY Alley Sweeping 0.13 40.00 \$5.20 Kathleen M Oconnor CO., MINNESOTA LOT 13 BLK 2 Citywide Street Lighting 0.66 40.00 \$26.40 1808 James Ave St Paul MN 55105-2115 \$48.40 *** Owner and Taxpayer *** *1808 JAMES AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$48.40 John J Ewen MACALESTER COLLEGE ADDITION Street Sweeping - Commercial/Art 1.02 63.00 \$64.26 09-28-23-13-0154 TO THE CITY OF ST. PAUL, RAMSEY 39.00 Street Sweeping - Residential Stree 0.42 \$16.38 Ida M Ewen CO., MINNESOTA LOTS 14 & LOT 15 Alley Sweeping 0.13 78.00 \$10.14 1718 Hampshire Ave BLK 2 Citywide Street Lighting 0.66 102.00 \$67.32 St Paul MN 55116-2456 \$158.10 *1814 JAMES AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 \$158.10 Total Assessment: \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00

Payoff Amount:

\$158.10

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Evan J Gundlach	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Art	1.02	61.00	\$62.22	09-28-23-24-0133
Jeffrey A Hayes	PAUL, MINN. LOT 1 BLK 1	Street Sweeping - Residential Stree	0.42	20.00	\$8.40	
1822 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1714		Citywide Street Lighting	0.66	81.00	\$53.46	
*1822 JAMES AVE					\$129.28	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$129.28	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$129.28	
Jennifer S Deutsch	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-24-0136
1834 James St	PAUL, MINN. LOT 4 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1704		Citywide Street Lighting	0.66	40.00	\$26.40	
*1834 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Nathan J Rayle	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-24-0131
Jessica R Rayle	CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 27 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1843 James Ave	WHAN, EOT 27 BER 1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1715				_	\$48.40	
*1843 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
-		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Jennifer A Jones	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Residential St	reε 0.42	40.00	\$16.80	09-28-23-24-0139		
1846 James Ave	PAUL, MINN. LOT 7 BLK 1	Alley Sweeping	0.13	40.00	\$5.20			
St Paul MN 55105-1714		Citywide Street Lighting	0.66	40.00	\$26.40			
*1846 JAMES AVE				_	\$48.40			
*Ward: 3		*** Owner and Taxpayer ***						
*Pending as of: 8/21/2019		Total A	.ssessment:	-	\$48.40			
		This Pa	yment:		\$0.00			
			Year Principal:		\$0.00			
			Year Interest:		\$0.00			
		Payoff	Amount:		\$48.40			
Steven Bieloh	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-24-0142		
Sarah Matschke	PAUL, MINN. LOT 10 BLK 1	Alley Sweeping	0.13	40.00	\$5.20			
1858 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40			
St Paul MN 55105-1714				=	\$48.40			
*1858 JAMES AVE		*** Owner and Taxpayer ***						
*Ward: 3					<u> </u>			
*Pending as of: 8/21/2019			ssessment:	\$48.40				
		This Pa	-		\$0.00			
			Year Principal:		\$0.00			
			Year Interest:		\$0.00			
		Payoti	Amount:		\$48.40			
	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential St		40.00		<u> </u>		
1861 James Ave	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	09-20-23-24-012/		
St Paul MN 55105-1715	MINN. LOT 22 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40			
*1861 JAMES AVE				=	\$48.40			
*Ward: 3		*** Owner and Taxpayer ***			φ10.10			
*Pending as of: 8/21/2019		Total A	.ssessment:	-	\$48.40			
		This Pa	yment:		\$0.00			
			Year Principal:		\$0.00			
			Year Interest:		\$0.00			
		Payoff	Amount:		\$48.40			

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Stephen M Busse	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-24-0143
Lynn M Busse	PAUL, MINN. LOT 11 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	v, _v
1862 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1714				_	\$48.40	
*1862 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
						· — <u>— — — —</u> —
Dale W Pippin	GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-24-0126
Teresa M Morrow	MINN. LOT 21 BLK 1	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1867 James Ave		Citywide Street Lighting	0.00	40.00	<u> </u>	
St Paul MN 55105-1715		****			\$48.40	
*1867 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
renamg as on orangers		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	mount:		\$48.40	
Daniel J Coonan	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-24-0125
1871 James Ave	CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 20 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1715	MINN. EOT 20 BEK T	Citywide Street Lighting	0.66	40.00	\$26.40	
*1871 JAMES AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Acamp Comeloral Cappell Dyak ADDITION PAIR City of St PAUL RANSIY CO. MINS. LIDT 19 BLA 1 Street Sweeping - Residential Stree 0.42 40.00 \$3.2.04 \$	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Zembury P Schuessler CITY OF ST PAIL EAMSEN CO. Alley Sweeping 0.13 40.00 55.20	Jeanne M Comeford	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential S	treε 0.42	40.00	\$16.80	09-28-23-24-0124
Street Summary Street Lighting Street Summary Str	Zachary P Schuessler				40.00	\$5.20	0, 10 10 11 011
***Owner and Taxpayor ***	1875 James Ave	MINN. LOT 19 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
***Owner and Taxpayer *** ***Owner and Taxpayer	St Paul MN 55105-1715				_	\$48.40	
Pending as of: \$21/2019 Total Assessment: \$48,40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48,40 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48,40 This Payment: \$48,40 This Payoff Amount: \$48,40 This P	*1875 JAMES AVE		* Owner and Taxpayer ***				
This Payment: \$0.00	*Ward: 3				_		
Current Year Principal: S0.00	*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
Current Year Interest: S0.00			This P	ayment:		\$0.00	
Payoff Amount: S48.40				•			
Jacob O Otieno						\$0.00	
1878 James Ave PAUL, MINN, LOT 15 BLK Alley Sweeping 0.13 40.00 \$5.20 \$5.346 1878 JAMES AVE			Payofi	f Amount:		\$48.40	
1878 James Ave PAUL, MINN, LOT 15 BLK Alley Sweeping 0.13 40.00 \$5.20 \$5.346 1878 JAMES AVE							
St Paul MN 55105-1714 Citywide Street Lighting 0.66 81.00 \$53.46 *1878 JAMES AVE **** Owner and Taxpayer **** \$92.68 **** Owner and Taxpayer **** \$92.68 **** Owner and Taxpayer **** \$92.68 **** Owner and Taxpayer *** \$93.92 **** Owner and Taxp	Jacob O Otieno						09-28-23-24-0147
*1878 JAMES AVE *Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** Total Assessment: \$92.68 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$92.68 Francis J Mccann GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1 ***Owner and Taxpayer *** ***Owne		PAUL, MINN. LOT 15 BLK 1					
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$92.68 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$92.68 Francis J Mccann 1879 James Ave CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1 *1879 JAMES AVE **Pending as of: 8/21/2019 Street Sweeping - Residential Stree			Citywide Street Lighting	0.66	81.00	\$53.46	
*Pending as of: 8/21/2019 Total Assessment: \$92.68 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$92.68 Francis J Mecann GARFIELD PARK ADDITION TO THE Street Sweeping - Residential Street \$0.00 Payoff Amount: \$92.68 Francis J Mecann GARFIELD PARK ADDITION TO THE Street Sweeping - Residential Street \$0.42	*1878 JAMES AVE					\$92.68	
Total Assessment: S92.68 This Payment: S0.00 Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: S92.68			*** Owner and Taxpayer ***				
This Payment: \$0.00	*Pending as of: 8/21/2019		Total	A a a a a a a a a a a a a a a a a a a a	=	\$02.69	
Current Year Principal: \$0.00							
Current Year Interest: \$0.00				-			
Payoff Amount: S92.68 Payoff Amount: Street Sweeping - Residential Street 0.42 84.00 \$35.28 09-28-23-24-0123 1879 James Ave CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1 Citywide Street Lighting 0.66 84.00 \$55.44 \$1879 JAMES AVE \$95.92 \$95.92 \$\$*** Owner and Taxpayer *** \$\$*** Owner and Taxpayer *** \$\$95.92 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Current Year In				=			
Francis J Mccann 1879 James Ave St Paul MN 55105-1715 *Ward: 3 *Pending as of: 8/21/2019 GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1 Street Sweeping - Residential Stree							
1879 James Ave CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1 Citywide Street Lighting 0.13 40.00 \$5.20 Citywide Street Lighting 0.66 84.00 \$55.44 \$1879 JAMES AVE \$			- wy 0.2			ψ>2100	
1879 James Ave CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 18 BLK 1 Alley Sweeping 0.13 40.00 \$5.20	Francis J Mccann	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential S		84.00	\$35.28	09-28-23-24-0123
St Paul MN 55105-1715 *1879 JAMES AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$95.92 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	1879 James Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 10 10 11 0110
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$95.92 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	St Paul MN 55105-1715	MINN. LOT 18 BLK 1	Citywide Street Lighting	0.66	84.00	\$55.44	
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$95.92 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	*1879 JAMES AVE				_	\$95.92	
Total Assessment: \$95.92 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	*Ward: 3		*** Owner and Taxpayer ***				
Current Year Principal: \$0.00 Current Year Interest: \$0.00	*Pending as of: 8/21/2019		Total A	Assessment:	-	\$95.92	
Current Year Interest: \$0.00			This P	ayment:		\$0.00	
			Curren	nt Year Principal:		\$0.00	
Payoff Amount: \$95.92			Curren	nt Year Interest:		\$0.00	
			Payoff	f Amount:		\$95.92	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Anthony Blonigan	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Residential Str	ree 0.42	81.00	\$34.02	09-28-23-24-0184
Sarah Scholz	PAUL, MINN. LOT 1 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1882 James Ave		Citywide Street Lighting	0.66	81.00	\$53.46	
St Paul MN 55105-1717				_	\$92.68	
*1882 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$92.68	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$92.68	
Donald C Aston	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str		84.00	\$35.28	09-28-23-24-0183
1883 James Ave	CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 30 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1716	MINN. BOT JUBER 2	Citywide Street Lighting	0.66	84.00	\$55.44	
*1883 JAMES AVE				_	\$95.92	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$95.92	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$95.92	
Ginger L Edwards	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-24-0185
1886 James Ave	PAUL, MINN. LOT 2 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1717		Citywide Street Lighting	0.66	40.00	\$26.40	
*1886 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Chris J Meronuck	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-24-0180
Jane E Meronuck	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
1893 James Ave	MINN. LOT 27 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1716				_	\$48.40	
*1893 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Kathleen M Haney	GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-24-0179
1897 James Ave	MINN. LOT 26 BLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-1716		Citywide Street Lighting	0.00	40.00	•	
*1897 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	\$48.40		
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Anne M Lea	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-24-0178
Robert Lea	CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 25 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1901 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1716					\$48.40	
*1901 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:	Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Charles W Betz Iii	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str	<u>e</u> εε 0.42	35.00	\$14.70	09-28-23-24-0176
1909 James Ave	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	35.00	\$4.55	
St Paul MN 55105-1716	MINN. LOT 23 BLK 2	Citywide Street Lighting	0.66	35.00	\$23.10	
*1909 JAMES AVE				_	\$42.35	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$42.35	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$42.35	
	VIDNO MACALESTED DADLY ST	Street Sweeping - Residential Str	<u> </u>			
45 North Investment Properties Llc	KIPP'S MACALESTER PARK, ST. PAUL, MINN. W 1 61/100 FT OF LOT 7	Alley Sweeping	0.42	37.00	\$13.34 \$4.81	09-28-23-24-0191
11190 Sandcastle Dr Unit E St Paul MN 55129-8616	AND ALL OF LOT 8 BLK 2	Citywide Street Lighting	0.66	37.00	\$24.42	
		eny mae zweet Eignung	0.00	=	\$44.77	
*1910 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***			\$44.77	
*Pending as of: 8/21/2019		o wher and ranpayer				
1 cliding as 01. 6/21/2019		Total A	ssessment:	\$44.77		
		This Pay		\$0.00		
			Year Principal:	\$0.00		
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$44.77	
Theresa V Breton	KIPP'S MACALESTER PARK, ST. PAUL, MINN. LOT 10 BLK 2	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-24-0193
1918 James Ave	FACE, MINN. EOT TO BER 2	Alley Sweeping	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55105-1717		Citywide Street Lighting	0.66	40.00		
*1918 JAMES AVE		*** 0 17 ***			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T . 1 A	22 22 22 24 24 t		¢40.40	
			ssessment:		\$48.40	
		This Pay			\$0.00 \$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
			Year Interest:		\$0.00 \$48.40	
		rayon A	amount.		J40.4U	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian T Woessner	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str	ee 0.42	94.00	\$39.48	09-28-23-24-0171
Po Box 211156	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	60.00	\$7.80	
Eagan MN 55121-2556	MINN. W 1/2 OF LOT 17 AND ALL OF LOT 16 BLK 2	Citywide Street Lighting	0.66	94.00	\$62.04	
*1937 JAMES AVE				_	\$109.32	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	sessment:		\$109.32	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			mount:		\$0.00 \$109.32	
Gary J Bechtold Laura L Bechtold	HANKEE'S CLEVELAND VIEW LOT 1 BLK 8	Street Sweeping - Residential Street Sweeping Alley Sweeping Citywide Street Lighting	0.42 0.13 0.66	81.00 40.00 81.00	\$34.02 \$5.20 \$53.46	09-28-23-23-0086
1940 James Ave		City wide bucct Eighting	0.00	=		
St Paul MN 55105-1718		*** Owner and Taxpayer ***			\$92.68	
*1940 JAMES AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	sessment:		\$92.68	
		This Pay	This Payment:			
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$92.68	
						. — — — — –
Mark G Rufener	HANKEE'S CLEVELAND VIEW LOT 2 BLK 8	Street Sweeping - Residential Str Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-23-0087
Sandra J Rufener		Citywide Street Lighting	0.66	40.00	\$3.20 \$26.40	
1944 James Ave		Only wide bullet Lighting	0.00	- 0.00	·	
St Paul MN 55105-1718 * 1944 JAMES AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
-		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kelly Wicker	HANKEE'S CLEVELAND VIEW LOT 4	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-23-0089
Daniel Wicker	BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1950 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1718				_	\$48.40	
*1950 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
Benjamin J Lexau	HANKEE'S CLEVELAND VIEW E 18 FT	Street Sweeping - Residential Street				
Jennifer L Torinus	OF LOT 25 AND ALL OF LOT 26 BLK	Alley Sweeping	0.13	58.00	\$7.54	09-28-23-23-0081
1955 James Ave	5	Citywide Street Lighting	0.66	58.00	\$38.28	
St Paul MN 55105-1719				=	\$70.18	
*1955 JAMES AVE		*** Owner and Taxpayer ***			Ψ/0.10	
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$70.18	
č		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$70.18	
Lou M Thomas	HANKEE'S CLEVELAND VIEW LOT 9 BLK 8	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-23-0093
Lisa C Thomas	DLK 0	Alley Sweeping	0.13	40.00	\$5.20	
1970 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1718					\$48.40	
*1970 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Natalie Ann Lovejoy	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-23-0096
1984 James Ave	12 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1718		Citywide Street Lighting	0.66	40.00	\$26.40	
*1984 JAMES AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Joan M Eichhorst	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Str		40.00		
1985 James Ave	19 BLK 5	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0076
St Paul MN 55105-1719		Citywide Street Lighting	0.66	40.00	\$26.40	
*1985 JAMES AVE		, , ,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		o wher and ranpayer				
1 chang as of. 6/21/2017		Total A	ssessment:	\$48.40		
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
Douglas T Shaw	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-23-0097
Michelle L Foster	13 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1990 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1718					\$48.40	
*1990 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** HANKEE'S CLEVELAND VIEW LOT 1 Street Sweeping - Residential Stree 0.42 81.00 \$34.02 Ryan Weber 09-28-23-23-0193 BLK 7 0.13 40.00 Alley Sweeping \$5.20 2002 James Ave Citywide Street Lighting 81.00 0.66 \$53.46 St Paul MN 55105-1720 \$92.68 *2002 JAMES AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$92.68 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$92.68 40.00 HANKEE'S CLEVELAND VIEW LOT Street Sweeping - Residential Stree 0.42 \$16.80 Daniel P Carroll 09-28-23-23-0190 28 BLK 6 Alley Sweeping 0.13 40.00 \$5.20 Kathleen E Carroll Citywide Street Lighting 0.66 40.00 \$26.40 2011 James Ave St Paul MN 55105-1721 \$48.40 *** Owner and Taxpayer *** *2011 JAMES AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$48.40 Sarah G Bjorkman HANKEE'S CLEVELAND VIEW LOT Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-23-0189 27 BLK 6 0.13 40.00 \$5.20 Alley Sweeping Mark A Tracy Citywide Street Lighting 0.66 40.00 \$26.40 2015 James Ave St Paul MN 55105-1721 \$48.40 *** Owner and Taxpayer *** *2015 JAMES AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
R Gregory Muellerleile	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-23-0188
Virginia I Steinhagen	26 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
2019 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1721				_	\$48.40	
*2019 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym			\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Andrew N Gockel	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree				
Lizabeth N Gockel	10 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0201
2036 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1720		, 5		_	\$48.40	
*2036 JAMES AVE		*** Owner and Taxpayer ***			\$46.4U	
*Ward: 3		T . 1 A			040.40	
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym		\$0.00		
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$0.00 \$48.40	
Ray A Kotta	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-23-0184
Joyce L Kotta	21 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
2037 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1721				_	\$48.40	
*2037 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen D Miller	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-23-0202
Jillian D Tyler	11 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
2040 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1720					\$48.40	
*2040 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019			Assessment:		\$48.40	
		This Pa			\$0.00	
			t Year Principal: t Year Interest:		\$0.00 \$0.00	
			Amount:		\$0.00 \$48.40	
		rayon	Amount:		540.40	
Kimberly K Phillips	HANKEE'S CLEVELAND VIEW E 1/2	Street Sweeping - Residential St	reε 0.42	60.00	\$25.20	09-28-23-23-0183
Serge A Phillips	OF LOT 19 AND ALL OF LOT 20 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	** -* -* ****
2043 James Ave	0	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-1721					\$72.60	
*2043 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019			Assessment:		\$72.60	
		This Pa			\$0.00	
			t Year Principal: t Year Interest:		\$0.00 \$0.00	
			Amount:		\$0.00 \$72.60	
		rayon	Amount.		\$72.00	
Gail Morris Toussaint	HANKEE'S RE-AR LOT 5 BLK 3	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-23-0181
2053 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1721		Citywide Street Lighting	0.66	40.00	\$26.40	
*2053 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			Assessment:		\$48.40	
		This Pa			\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest: Amount:		\$0.00 \$48.40	
		rayon	Amount.		940.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher K Burke	HANKEE'S RE-AR LOT 4 BLK 3	Street Sweeping - Commercial/Art	1.02	63.50	\$64.77	09-28-23-23-0180
Sara M Burke		Street Sweeping - Residential Stree	0.42	23.50	\$9.87	07
2057 James Ave		Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55105-1721		Citywide Street Lighting	0.66	87.00	\$57.42	
*2057 JAMES AVE				_	\$138.17	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:		\$138.17	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am			\$138.17	
	ELMWOOD LOT 26 BLK 1	Street Sweeping - Residential Stree	0.42	40.00		09-28-23-14-0026
1596 Jefferson Ave		Alley Sweeping	0.13	83.50	\$10.86	07 20 20 21 0020
St Paul MN 55105-2001		Citywide Street Lighting	0.66	40.00	\$26.40	
*1596 JEFFERSON AVE				_	\$54.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$54.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	\$0.00			
		Payoff Am	ount:		\$54.06	
Jill S Knudsen	ELMWOOD LOT 24 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0024
1606 Jefferson Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2001		Citywide Street Lighting	0.66	40.00	\$26.40	
*1606 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	=	\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am	ount:		\$48.40	
		•				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	MACALESTER VILLAS LOT 10 BLK	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-11-0185
Liza M Haas	12	Alley Sweeping	0.13	40.00	\$5.20	
607 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2050				_	\$48.40	
41607 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payn			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	ELMWOOD LOT 22 BLK 1	Street Sweeping - Residential Stree				
David E Woodard	EEMWOOD EOT 22 BEK 1	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-14-0022
Katherine C Meerse		Citywide Street Lighting	0.66	40.00	\$26.40	
1614 Jefferson Ave		City wide Street Eighting	0.00	-		
St Paul MN 55105-2001		*** Owner and Taxpayer ***			\$48.40	
*1614 JEFFERSON AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
rending as of. 6/21/2019		This Payn	\$0.00			
		Current Y	\$0.00			
			ear Interest:		\$0.00	
		Payoff Ar			\$48.40	
		-				. — — — — —
John D Carey	ELMWOOD LOT 21 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0021
1618 Jefferson Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2001		Citywide Street Lighting	0.66	40.00	\$26.40	
*1618 JEFFERSON AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					ф 10, 10	
		Total Ass			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:	Resolution #:
--------------------	---------------

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Anthony S Buchl	MACALESTER VILLAS LOT 6 BLK 11	Street Sweeping - Residential St	ree 0.42	51.00	\$21.42	09-28-23-11-0155
Laura B Buchl		Alley Sweeping	0.13	89.00	\$11.58	0, 10 10 11 010
1655 Jefferson Ave		Citywide Street Lighting	0.66	51.00	\$33.66	
St Paul MN 55105-2002				=	\$66.66	
*1655 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:	_	\$66.66	
rending as or. 6/21/2019		This Pa	nyment:		\$0.00	
		Current	t Year Principal:		\$0.00	
		Current	t Year Interest:		\$0.00	
		Payoff	Amount:		\$66.66	
	ELMWOOD LOT 27 BLK 2	Street Sweeping - Residential St				
Donna M Anderson	ELINWOOD EOT 27 BER 2	Alley Sweeping - Residential St	0.42	40.00	\$5.20	09-28-23-14-0053
1658 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2051		City wide Street Eighting	0.00	10.00		
*1658 JEFFERSON AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
		Total A	Assessment:		\$48.40	
		This Pa	\$0.00			
		Current	\$0.00			
		Current	t Year Interest:	\$0.00		
		Payoff	Amount:		\$48.40	
Miriam S Itzkowitz	MACALESTER VILLAS W 10 FT OF	Street Sweeping - Residential St		45.00		09-28-23-11-0159
1675 Jefferson Ave	LOT 10 AND E 35 FT OF LOT 11 BLK	Alley Sweeping	0.13	45.00	\$5.85	09-28-23-11-0159
St Paul MN 55105-2002	11	Citywide Street Lighting	0.66	45.00	\$29.70	
*1675 JEFFERSON AVE		,		_	\$54.45	
*Ward: 3		*** Owner and Taxpayer ***			ФЭ4.43	
*Pending as of: 8/21/2019		Total A	Assessment:	-	\$54.45	
		This Pa	nyment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Julie K G Nelson	MACALESTER VILLAS LOT 14 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-11-0162
Christopher D Nelson	11	Alley Sweeping	0.13	40.00	\$5.20	0, 10 10 00 000
1689 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2002				_	\$48.40	
*1689 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
	-					
David J Hubbard	MACALESTER VILLAS LOT 15 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-11-0163
1693 Jefferson Ave	11	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2002		Citywide Street Lighting	0.66	40.00	\$26.40	
*1693 JEFFERSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
Joyce E Krech	ELMWOOD LOT 18 BLK 2	Street Sweeping - Residential Stree	0.42	89.00	\$37.38	09-28-23-14-0044
Jennifer Jeannette		Alley Sweeping	0.13	51.00	\$6.63	
1696 Jefferson Ave		Citywide Street Lighting	0.66	89.00	\$58.74	
St Paul MN 55105-2051				_	\$102.75	
*1696 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$102.75	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$102.75	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Lawrence Davidson	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	Θε 0.42	99.00	\$41.58	09-28-23-13-0001
Siiri Davidson	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	70.00	\$9.10	0, 20 20 0000
1702 Jefferson Ave	MINN. EX W 10 FT LOT 2 AND ALL OF LOT 1 BLK 1	Citywide Street Lighting	0.66	99.00	\$65.34	
St Paul MN 55105-2052				_	\$116.02	
*1702 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$116.02	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$116.02	
Molly Glewwe	MACALESTER VILLAS LOT 30 BLK	Street Sweeping - Residential Street	ee 0.42	83.50	\$35.07	09-28-23-12-0181
Christopher Morrissette	10	Alley Sweeping	0.13	40.00	\$5.20	
1703 Jefferson Ave		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-2053				_	\$95.38	
*1703 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$95.38	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$95.38	
Michael Bruce Vento	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Stre		50.00	\$21.00	09-28-23-13-0002
Karen Beth Vento	MINN. W 10 FT OF LOT 2 AND ALL OF	Alley Sweeping	0.13	50.00	\$6.50	
1710 Jefferson Ave	LOT 3 BLK 1	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2052					\$60.50	
*1710 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Susan E Stokes	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-13-0003
1712 Jefferson Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2052	MINN. LOT 4 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1712 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	. — — — — — — —					
Darryl R Heaps	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Stre	0.42 0.13	60.00 60.00	\$25.20 \$7.80	09-28-23-13-0007
Tracy E Heaps	MINN. E 1/2 OF LOT 9 AND ALL OF	Alley Sweeping Citywide Street Lighting	0.66	60.00	\$39.60	
1728 Jefferson Ave	LOT 8 BLK 1	City wide Street Eighting	0.00	=		
St Paul MN 55105-2052		*** Owner and Taxpayer ***			\$72.60	
*1728 JEFFERSON AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$72.60	
S		This Payı	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.60	
			- — — — -			-
Robert Anderson	MACALESTER VILLAS LOT 22 BLK	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-12-0173
Ann Anderson	10	Alley Sweeping	0.13	40.00	\$5.20	
1733 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2053					\$48.40	
*1733 JEFFERSON AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payı	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael T Choinski	MACALESTER VILLAS W 13 33/100	Street Sweeping - Residential Stree	0.42	53.00	\$22.26	09-28-23-12-0170
Alicia R Choinski	FT OF LOT 19 AND ALL OF LOT 18	Alley Sweeping	0.13	53.00	\$6.89	0, 20 20 12 01.0
1749 Jefferson Ave	BLK 10	Citywide Street Lighting	0.66	53.00	\$34.98	
St Paul MN 55105-2053				_	\$64.13	
*1749 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:	_	\$64.13	
č		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$64.13	
Daniel S Revsbeck	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0012
1754 Jefferson Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	07-20-23-13-0012
St Paul MN 55105-2052	MINN. LOT 14 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1754 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ10.10	
*Pending as of: 8/21/2019		1 2				
		Total Asse	essment:	=	\$48.40	
		This Paym	ient:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Michael A Milne	MACALESTER VILLAS LOT 17 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0169
Colleen M Schinneer	10	Alley Sweeping	0.13	40.00	\$5.20	
1755 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2053				_	\$48.40	
*1755 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
3		This Paym	ient:		\$0.00	
		11110 1 41/11				
		-	ear Principal:		\$0.00	
		Current Ye			\$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Ellen J Emanuel Trustee	MACALESTER VILLAS LOT 16 BLK	Street Sweeping - Residential Stree	0.42	83.00	\$34.86	09-28-23-12-0168
Peggy M Martin Trustee	10	Alley Sweeping	0.13	39.00	\$5.07	., _, _, _,
1757 Jefferson Ave		Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55105-2053				_	\$94.71	
*1757 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse	essment:		\$94.71	
		This Payn			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$94.71	
Andrew E Olson	MACALESTER VILLAS SECOND ADDITION LOT 28 BLK 3	Street Sweeping - Residential Stree	0.42 0.13	85.00 43.00	\$35.70 \$5.59	09-28-23-12-0208
1761 Jefferson Ave		Alley Sweeping Citywide Street Lighting	0.13	45.00 85.00	\$5.39 \$56.10	
St Paul MN 55105-2054		Citywide Street Lighting	0.00	65.00		
*1761 JEFFERSON AVE		*** O 1T ***			\$97.39	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Pending as 01: 8/21/2019		Total Asso	essment:	-	\$97.39	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$97.39	
Nicholas J Ganas	MACALESTER VILLAS SECOND ADDITION LOT 26 BLK 3	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0206
Carol J Ganas	ADDITION LOT 20 BLK 3	Alley Sweeping	0.13	43.00 43.00	\$5.59 \$28.38	
1771 Jefferson Ave		Citywide Street Lighting	0.66	43.00		
St Paul MN 55105-2054					\$52.03	
*1771 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asso			\$52.03	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$52.03	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul R Barrett	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Str	reε 0.42	40.00	\$16.80	09-28-23-13-0032
Nancy M Barrett	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
1772 Jefferson Ave	MINN. LOT 4 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2003				-	\$48.40	
*1772 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Kimberley M Hayden	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-13-0034
1780 Jefferson Ave	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 6 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2003		Citywide Street Lighting	0.66	40.00	\$26.40	
*1780 JEFFERSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Daniel C Mcmullen	MACALESTER VILLAS SECOND	Street Sweeping - Residential Str	reε 0.42	43.00	\$18.06	09-28-23-12-0203
Ashley Mcmullen	ADDITION LOT 23 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
1783 Jefferson Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2054				-	\$52.03	
*1783 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	=	\$52.03	
5		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$52.03	

F

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Clare M Ludden	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0035
1784 Jefferson Ave	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 7 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2003	MINN. LOT / BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1784 JEFFERSON AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	esmant:	=	\$48.40	
		This Paymo			\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am			\$48.40	
Joseph B Miller	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0202
Denise M Miller	ADDITION LOT 22 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
1787 Jefferson Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2054				=	\$52.03	
*1787 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$52.03	
		This Payme	\$0.00			
		Current Ye	\$0.00			
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$52.03	
Gayle C Ericksen	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0201
1791 Jefferson Ave	ADDITION LOT 21 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-2054		Citywide Street Lighting	0.66	43.00	\$28.38	
*1791 JEFFERSON AVE					\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse:	ssment:	-	\$52.03	
		This Paymo			\$0.00	
		i ilis rayili				
		Current Ve	ar Principal·		\$0.00	
		Current Ye	ar Principal:		\$0.00 \$0.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher D Johnson	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0199
Melissa J Eberhart	ADDITION LOT 19 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
1801 Jefferson Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2054				_	\$52.03	
*1801 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$52.03	
		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$52.03	
	CLENWOOD BARK ADDITION TO	Street Sweeping - Residential Stree				
Susan Elizabeth Hansen Vargas	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-13-0040
Brett Douglas Tanning	MINN. LOT 12 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
1806 Jefferson Ave		City wide Street Eighting	0.00	10.00		
St Paul MN 55105-2003		*** Owner and Taxpayer ***			\$48.40	
*1806 JEFFERSON AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	essment:	-	\$48.40	
rending as of. 8/21/2019		This Paym			\$0.00	
		Current Y	\$0.00			
			ear Interest:		\$0.00	
		Payoff An			\$48.40	
Patricia A Smith Welles	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	\$16.80	09-28-23-13-0041
1810 Jefferson Ave	MINN. LOT 13 BLK 2	Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55105-2003		Citywide Silect Lighting	0.00	40.00		
1810 JEFFERSON AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym			\$0.00	
		Tills Fayii				
		Current V	ear Principal		00.02	
			ear Principal: ear Interest:		\$0.00 \$0.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Leland R Whitney	LANE'S FAIRVIEW VILLAS LOT 14	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	09-28-23-21-0188
Leslie M Whitney		Alley Sweeping	0.13	50.00	\$6.50	03 20 20 21 0100
1835 Jefferson Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-1614				_	\$60.50	
*1835 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$60.50	
8		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$60.50	
Calvin J Roetzel	LANE'S FAIRVIEW VILLAS LOT 13	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	09-28-23-21-0187
Caroline K Roetzel		Alley Sweeping	0.13	50.00	\$6.50	0, 20 20 21 010,
1839 Jefferson Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-1663				=	\$60.50	
*1839 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$60.50	
C		This Payme	This Payment:			
		Current Year Principal:			\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:	\$60.50		
Joseph A Harris	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Stree	0.42	45.00	\$18.90	09-28-23-24-0007
Katherine J Harris	RAMSEY COUNTY, MINNESOTA E 45 15/100 FT OF PART N OF ALLEY OF	Alley Sweeping	0.13	45.00	\$5.85	
1846 Jefferson Ave	LOT 3	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55105-1662				<u>=</u>	\$54.45	
*1846 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$54.45	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$54.45	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David A Sonnen	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Str	ee 0.42	40.00	\$16.80	09-28-23-24-0009
Sandra Jean Western	RAMSEY COUNTY, MINNESOTA W 40	Alley Sweeping	0.13	40.00	\$5.20	07 20 20 21 0007
1854 Jefferson Ave	FT OF PART N OF ALLEY OF LOT 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1662				_	\$48.40	
*1854 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff 2	Amount:		\$48.40	
		Stand Committee Decided in Section 1				
Matthew S Runyon	UNDERWOOD'S ACRE LOTS, RAMSEY COUNTY, MINNESOTA W 62	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	63.00 63.00	\$26.46 \$8.19	09-28-23-24-0011
James R Runyon	5/10 FT OF PART N OF ALLEY OF LOT	Citywide Street Lighting	0.66	63.00	\$41.58	
1866 Jefferson Ave	4	City wide Street Eighting	0.00	=		
St Paul MN 55105-1662		***			\$76.23	
*1866 JEFFERSON AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$76.23	
5		This Payment:			\$0.00	
			Current Year Principal: Current Year Interest:			
		Current				
		Payoff .	Amount:	\$76.23		
Bernard L Menally	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Str		45.00	\$18.90	09-28-23-24-0013
Linda Passon Mcnally	RAMSEY COUNTY, MINNESOTA W 45 1/10 FT OF E 85 1/10 FT OF PART N OF	Alley Sweeping	0.13	45.00	\$5.85	
1878 Jefferson Ave	ALLEY OF LOT 5	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55105-1662				<u>=</u>	\$54.45	
*1878 JEFFERSON AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$54.45	
S		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Pavoff A	Amount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick T Martin	WESSINGER'S GARDEN LOTS	Street Sweeping - Residential Stre	<u>eε</u> 0.42	50.00	\$21.00	09-28-23-21-0178
Rebecca J Martin	RAMSEY CO., MINN. EX W 170 FT THE	Alley Sweeping	0.13	50.00	\$6.50	0, 20 20 21 01/0
1881 Jefferson Ave	W 1/2 OF PART S OF ALLEY OF LOT 5	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-1663				_	\$60.50	
*1881 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$60.50	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$60.50	
Ann M Brombach	UNDERWOOD'S ACRE LOTS, RAMSEY COUNTY, MINNESOTA EX W	Street Sweeping - Residential Stre		45.00	\$18.90	09-28-23-24-0015
1882 Jefferson Ave	80 FT PART N OF ALLEY OF LOT 6	Alley Sweeping	0.13	45.00	\$5.85 \$30.70	
St Paul MN 55105-1662		Citywide Street Lighting	0.66	45.00	\$29.70	
*1882 JEFFERSON AVE					\$54.45	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Tending as 61. (721/2017)		Total As	ssessment:	\$54.45		
		This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$0.00	
					\$54.45	
Christopher J Edge	UNDERWOOD'S ACRE LOTS, RAMSEY COUNTY, MINNESOTA W 40	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-24-0017
Karen S Edge	FT OF PART N OF ALLEY OF LOT 6	Citywide Street Lighting	0.66	40.00	\$26.40	
1890 Jefferson Ave		Citywide Street Lighting	0.00	+0.00 =		
St Paul MN 55105-1662		*** Owner and Taxpayer ***			\$48.40	
*1890 JEFFERSON AVE		Owner and Taxpayer				
*Ward: 3		Total As	ssessment:	=	\$48.40	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	
		1 ayon F	imount.		φτυ•τυ	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andrew J Naber Trustee	EDWARD D. LANGAN'S	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0176
Dora L Miller Trustee	REARRANGEMENT LOT 13	Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 -0 -0
1893 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1663				_	\$48.40	
*1893 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Lisa A Mcellistrem	BEYER'S SUBDIVISION LOT 1 BLK 1	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	09-28-23-24-0018
1896 Jefferson Ave		Alley Sweeping	0.13 0.66	42.00	\$5.46 \$27.72	
St Paul MN 55105-1662		Citywide Street Lighting	0.00	42.00		
*1896 JEFFERSON AVE					\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	\$50.82		
		This Paym		\$0.00		
		-	ear Principal:	\$0.00		
			ear Interest:	\$0.00		
		Payoff An		\$50.82		
Thomas M Peterson	BEYER'S SUBDIVISION LOT 2 BLK 1	Street Sweeping - Residential Stree	0.42	41.00	\$17.22	09-28-23-24-0019
Roberta K Anderson		Alley Sweeping	0.13	41.00	\$5.33	
1900 Jefferson Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55105-1662				_	\$49.61	
*1900 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$49.61	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$49.61	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** BEYER'S SUBDIVISION LOT 3 BLK 1 Street Sweeping - Residential Stree 0.42 42.00 \$17.64 David K Ulve 09-28-23-24-0020 0.13 42.00 Alley Sweeping \$5.46 1904 Jefferson Ave Citywide Street Lighting 42.00 \$27.72 0.66 St Paul MN 55105-1662 \$50.82 *1904 JEFFERSON AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$50.82 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$50.82 60.00 Street Sweeping - Residential Stree 0.42 \$25.20 Chris Hood UNDERWOOD'S ACRE LOTS, 09-28-23-24-0021 RAMSEY COUNTY, MINNESOTA E 60 Citywide Street Lighting 0.66 60.00 \$39.60 1910 Jefferson Ave FT OF N 145 5/10 FT OF LOT 8 St Paul MN 55105-1662 \$64.80 *** Owner and Taxpaver *** *1910 JEFFERSON AVE *Ward: 3 Total Assessment: \$64.80 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$64.80 40.00 44 North Property Solutions Llc EDWARD D. LANGAN'S Street Sweeping - Residential Stree 0.42 \$16.80 09-28-23-21-0169 REARRANGEMENT LOT 6 Alley Sweeping 0.13 40.00 \$5.20 1608 Thomas Ave Unit Upper Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55104-3850 \$48.40 *1919 JEFFERSON AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 \$48.40 Total Assessment: This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy G Huberty	FRANSEN'S ADDITION LOT 3	Street Sweeping - Residential St	ree 0.42	42.00	\$17.64	09-28-23-24-0025
usan Hepburn Huberty		Citywide Street Lighting	0.66	42.00	\$27.72	
924 Jefferson Ave				_	\$45.36	
St Paul MN 55105-1662		*** Owner and Taxpayer ***				
1924 JEFFERSON AVE						
Ward: 3		Total A	ssessment:		\$45.36	
Pending as of: 8/21/2019		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$45.36	
		Character Commission Build a state of S				. — — — — —
Patrick F Quinn	EDWARD D. LANGAN'S REARRANGEMENT LOT 3	Street Sweeping - Residential St Alley Sweeping	reε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-21-0166
Wilma I Quinn		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
931 Jefferson Ave		Citywide Street Lighting	0.00	+0.00		
St Paul MN 55105-1663		*** Owner and Taxpayer ***			\$48.40	
*1931 JEFFERSON AVE *Ward: 3		Owner and Taxpayer				
Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa	yment:	\$0.00		
		Current	Current Year Principal:		\$0.00	
		Current Year Interest:		\$0.00		
		Payoff	Amount:	\$48.40		
		Character Commission Build a state of S				. — — — — —
ason R Elhardt	HANKEE'S CLEVELAND VIEW LOT 2 BLK 1	Street Sweeping - Residential St Alley Sweeping	reε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-23-0002
212 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1160		City wide Suber Lighting	0.00	=		
1944 JEFFERSON AVE		*** Owner and Taxpayer ***			\$48.40	
Ward: 3		Owner and Taxpayer				
Pending as of: 8/21/2019		Total A	Total Assessment:			
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher J Thompson	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential St	ree 0.42	99.50	\$41.79	09-28-23-22-0114
Mary M Thompson	RAMSEY COUNTY, MINN. LOTS 29	Alley Sweeping	0.13	78.00	\$10.14	
1945 Jefferson Ave	AND LOT 30 BLK 6	Citywide Street Lighting	0.66	99.50	\$65.67	
St Paul MN 55105-1604				_	\$117.60	
*1945 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$117.60	
		This Pa	yment:		\$0.00	
		Current	t Year Principal:		\$0.00	
		Current	t Year Interest:		\$0.00	
		Payoff	Amount:		\$117.60	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential St				
	RAMSEY COUNTY, MINN. LOT 28 BLK	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-22-0113
Joshua Lim 1949 Jefferson Ave	6	Citywide Street Lighting	0.66	40.00	\$26.40	
		City wide Succe Digiting	0.00	=		
St Paul MN 55105-1604		*** Owner and Taxpayer ***			\$48.40	
*1949 JEFFERSON AVE *Ward: 3		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total A	Assessment:	-	\$48.40	
Tending as of. (7217201)		This Pa		\$0.00		
			t Year Principal:	\$0.00		
		Current Year Interest: Payoff Amount:			\$0.00	
					\$48.40	
						- — — — — —
John A Dellaselva	HANKEE'S CLEVELAND VIEW LOT 4 BLK 1	Street Sweeping - Residential Str	reε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-23-0004
Lisa L Dellaselva	22	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
1954 Jefferson Ave		City wide Street Lighting	0.00	40.00		
St Paul MN 55105-1603		***			\$48.40	
*1954 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A	ssessment:	-	\$48.40	
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
			Amount:		\$48.40	
		rayon	Amount.		\$40.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joel A Wolf	HANKEE'S CLEVELAND VIEW LOT 5	Street Sweeping - Residential	Stree 0.42	40.00	\$16.80	09-28-23-23-0005
Anne K Wolf	BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1958 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1603				_	\$48.40	
*1958 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Tota	l Assessment:		\$48.40	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$48.40	
	-		- — — — –			
Jose A Rivera Perez	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential		40.00	\$16.80	09-28-23-22-0107
Laura E Johnson	RAMSEY COUNTY, MINN. LOT 22 BLK	Alley Sweeping	0.13	40.00	\$5.20	
1975 Jefferson Ave	·	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1604				_	\$48.40	
*1975 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			l Assessment:		\$48.40	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$48.40	
John P Krieger Jr	HANKEE'S CLEVELAND VIEW LOT 11 BLK 1	Street Sweeping - Residential Alley Sweeping	Stree 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-23-0011
Redeena G Krieger		Citywide Street Lighting	0.66	40.00	\$26.40	
1980 Jefferson Ave		City wide bucct Eighting	0.00	40.00		
St Paul MN 55105-1603		*** Owner and Taxpayer ***			\$48.40	
*1980 JEFFERSON AVE		Owner and Taxpayer				
*Ward: 3		T-4-	l Assessment:	-	\$48.40	
*Pending as of: 8/21/2019			Payment:		\$48.40 \$0.00	
			ent Year Principal:		\$0.00 \$0.00	
			ent Year Frincipal: ent Year Interest:		\$0.00	
			off Amount:		\$48.40	
		Tayo	711 / MITUUIIL.		φτυ.τυ	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas K Rothman	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0104
Nancy Livingston Rothman	RAMSEY COUNTY, MINN. LOT 19 BLK	Alley Sweeping	0.13	40.00	\$5.20	***************************************
1985 Jefferson Ave	6	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1604				_	\$48.40	
*1985 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Daniel T Chen	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 18 BLK	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-22-0103
1989 Jefferson Av	6	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55105-1604		Citywide Street Lighting	0.00	40.00		
*1989 JEFFERSON AVE		*** 0 1.77 ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Fending as of. 6/21/2019		Total Asse	\$48.40			
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Y	Current Year Interest:			
		Payoff Amount:			\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree				
Joseph M Hardy	RAMSEY COUNTY, MINN. LOT 17 BLK	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-22-0102
Molly Hardy 1995 Jefferson Ave	6	Citywide Street Lighting	0.66	40.00	\$26.40	
		2.1,		=		
St Paul MN 55105-1604		*** Owner and Taxpayer ***			\$48.40	
*1995 JEFFERSON AVE *Ward: 3		Owner and Taxpayor				
		Total Asse	essment:	_	\$48.40	
*Pending as of: 8/21/2019		This Paym			\$0.00	
		I IIIs I ayıı	CIII.		ψ0.00	
		Current V	ear Principal		\$0.00	
			ear Principal:		\$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Melissa A Jefferson	HANKEE'S CLEVELAND VIEW LOT 1	Street Sweeping - Residential S	tree 0.42	81.00	\$34.02	09-28-23-23-0115
2000 Jefferson Ave	BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1605		Citywide Street Lighting	0.66	81.00	\$53.46	
*2000 JEFFERSON AVE				_	\$92.68	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$92.68	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$92.68	
Ellen Chazdon	HANKEE'S CLEVELAND VIEW LOT 3 BLK 2	Street Sweeping - Residential S Alley Sweeping	treε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-23-0117
Scott Chazdon		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
2010 Jefferson Ave		City wide Street Lighting	0.00	-10.00		
St Paul MN 55105-1605		*** Owner and Taxpayer ***			\$48.40	
*2010 JEFFERSON AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
1 chang as of. 0/21/2017			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	Payoff Amount:			
Jennifer Comstock Blair	HANKEE'S CLEVELAND VIEW LOT 4	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-23-0118
2014 Jefferson Ave	BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1605		Citywide Street Lighting	0.66	40.00	\$26.40	
*2014 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$48.40	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas F Morgan Iii	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0222
Lorraine Y Morgan	RAMSEY COUNTY, MINN. LOT 27 BLK	Alley Sweeping	0.13	40.00	\$5.20	
2015 Jefferson Ave	3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1606				_	\$48.40	
*2015 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	HANKEE'S CLEVELAND VIEW LOT 5	Street Sweeping - Residential Stree				
Mary E Tinucci	BLK 2	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-23-0119
Kathleen Ann Hiniker		Citywide Street Lighting	0.66	40.00	\$26.40	
2016 Jefferson Ave		City wide Street Eighting	0.00	=		
St Paul MN 55105-1605		*** Owner and Taxpayer ***			\$48.40	
*2016 JEFFERSON AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	essment:	=	\$48.40	
-		This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$0.00	
					\$48.40	
			· — · — · — · —			
Aaron S Hendrickson	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 23 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0218
Keely E Hendrickson	5	Alley Sweeping	0.13	40.00	\$5.20	
2029 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1606					\$48.40	
*2029 JEFFERSON AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

		Ratification Date: Res	olution #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Bryan T Koch	HANKEE'S CLEVELAND VIEW EX E	Street Sweeping - Residential	Streε 0.42	67.00	\$28.14	09-28-23-23-0123
Loretta K Koch	13 FT LOT 9 AND ALL OF LOT 10 BLK	Alley Sweeping	0.13	67.00	\$8.71	
2034 Jefferson Ave	2	Citywide Street Lighting	0.66	67.00	\$44.22	
St Paul MN 55105-1605				_	\$81.07	
*2034 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Tota	1 Assessment:		\$81.07	
-		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$81.07	
Ronald C Armstrong	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential	Stree 0.42	40.00	<u>\$16.80</u>	09-28-23-23-0125
Tricia L Armstrong	12 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	07-28-23-23-0123
2046 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1605				_	\$48.40	
*2046 JEFFERSON AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3		1,7				
*Pending as of: 8/21/2019		Tota	l Assessment:		\$48.40	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$48.40	
Jeannette M Gerstenberger	HANKEE'S RE-AR E 1/2 OF LOT 2 AND	Street Sweeping - Residential	Stree 0.42	60.00	\$25.20	09-28-23-23-0126
Karl E Gerstenberger	ALL OF LOT 1 BLK 1	Alley Sweeping	0.13	60.00	\$7.80	37 <u>-</u> 2 <u>-2 </u> -2 <u>-2 </u>
2050 Jefferson Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-1605				_	\$72.60	
*2050 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Tota	l Assessment:		\$72.60	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey A Ellerd	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Str	<u> </u>	40.00	\$16.80	09-28-23-22-0212
Dawn M Ellerd	RAMSEY COUNTY, MINN. LOT 17 BLK 5	Alley Sweeping	0.13	40.00	\$5.20	
2055 Jefferson Ave	3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1606				_	\$48.40	
*2055 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3		T 4 1 A			¢40.40	
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Casey M Welch	MELROSE PARK LOT 4 BLK 1	Street Sweeping - Residential Str	<u> </u>	55.00		
Kelly M Welch		Citywide Street Lighting	0.66	55.00	\$36.30	09-28-23-34-0052
667 Josephine Place		on, was on our Eighting	0.00	=	\$59.40	
St Paul MN 55116-1222		*** Owner and Taxpayer ***			\$59.40	
*667 JOSEPHINE PL		Owner and Taxpayer				
*Ward: 3		Total As	ssessment:		\$59.40	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current	Year Principal:	\$0.00		
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:	\$59.40		
	MELROSE PARK LOT 5 BLK 1	Street Systeming Decidential Street				
Frank E Villaume Iii	MELROSE FARR LOT 3 BLK 1	Street Sweeping - Residential Street Citywide Street Lighting	ee 0.42 0.66	55.00 55.00	\$23.10 \$36.30	09-28-23-34-0053
Mary Jo Villaume		Citywide Street Lighting	0.00	33.00		
671 Josephine Pl					\$59.40	
St Paul MN 55116-1222		*** Owner and Taxpayer ***				
*671 JOSEPHINE PL *Ward: 3		Total As	ssessment:		\$59.40	
*Pending as of: 8/21/2019		This Pay			\$0.00	
1 chang as of. 6/21/2017			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$59.40	
		1 ayon 2	imvuiit.		φυ/•τυ	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James R Strong	MELROSE PARK LOT 6 BLK 1	Street Sweeping - Residential Str	<u>-eε</u> 0.42	55.00	\$23.10	09-28-23-34-0054
Kristin A Strong		Citywide Street Lighting	0.66	55.00	\$36.30	
677 Josephine Pl				_	\$59.40	
St Paul MN 55116-1222		*** Owner and Taxpayer ***				
*677 JOSEPHINE PL				_		
*Ward: 3			ssessment:		\$59.40	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$59.40	
						. — — — — — —
Ryan S Bartley	ne G Bartley OF LOTS 10 AND 11 AND N 5 FT OF W 21 36/100 FT OF LOT 12 AND ALL OF LOT 9 BLK 1	Street Sweeping - Residential Str		55.00	\$23.10	09-28-23-34-0043
Christine G Bartley		Citywide Street Lighting	0.66	55.00	\$36.30	
678 Josephine Place				_	\$59.40	
St Paul MN 55116-1221		*** Owner and Taxpayer ***				
*678 JOSEPHINE PL						
*Ward: 3			Total Assessment:			
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$59.40	
Brigid Omalley	ELMWOOD LOT 7 BLK 1	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-14-0007
55 Luella St S		Alley Sweeping	0.13	83.50	\$10.86	
St Paul MN 55119-5026		Citywide Street Lighting	0.66	40.00	\$26.40	
*1599 JULIET AVE					\$54.06	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
rending as of. 0/21/2017		Total A	ssessment:	_	\$54.06	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$54.06	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick Sievert	ELMWOOD LOT 10 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0010
609 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	** =* =* ***
St Paul MN 55105-2118		Citywide Street Lighting	0.66	40.00	\$26.40	
41609 JULIET AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019				_		
		Total Assess			\$48.40	
		This Payme			\$0.00	
		Current Yea	-		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$48.40	
Gregory J Kennedy	ELMWOOD LOT 12 BLK 1	Street Sweeping - Residential Stree				00 20 22 14 0012
1617 Juliet Ave		Alley Sweeping	0.42	40.00	\$5.20	09-28-23-14-0012
St Paul MN 55105-2118		Citywide Street Lighting	0.66	40.00	\$26.40	
		enj mae en en Eigming	0.00	=	\$48.40	
*1617 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019						
		Total Assess	\$48.40			
		This Payme	\$0.00			
		Current Yea			\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Amo	ount:		\$48.40	
Mary T Currie	ELMWOOD LOT 28 BLK 3	Street Sweeping - Residential Stree				
		Alley Sweeping	0.42	89.00	\$11.58	09-28-23-14-0082
Scott A Ickes 656 Juliet Ave		Citywide Street Lighting	0.66	51.00	\$33.66	
St Paul MN 55105-2119		, <u></u>		_	\$66.66	
1656 JULIET AVE		*** Owner and Taxpayer ***			\$00.00	
		Owner and Taxpayer				
Ward: 3		Total Assess	sment.	-	\$66.66	
Pending as of: 8/21/2019		This Payme			\$0.00	
		I IIIS F ayille	ш.		φυ.υυ	
•			r Principal.		90.00	
		Current Yea			\$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John I Marshall	ELMWOOD LOT 26 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0080
Jennifer A Marshall		Alley Sweeping	0.13	40.00	\$5.20	
1662 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2119				_	\$48.40	
*1662 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Robert E Hanafin	ELMWOOD LOT 21 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0075
Janet E Hanafin		Alley Sweeping	0.13	40.00	\$5.20	
1684 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2119				_	\$48.40	
*1684 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Yo	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Timothy C Ciccarelli	ELMWOOD LOT 15 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0041
8579 Birch Blvd		Alley Sweeping	0.13	40.00	\$5.20	
Inver Grove Heights MN 55076-5140		Citywide Street Lighting	0.66	40.00	\$26.40	
*1689 JULIET AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Arthur J Frawley	ELMWOOD LOT 16 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0042
1693 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2120		Citywide Street Lighting	0.66	40.00	\$26.40	
*1693 JULIET AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_ _	# 40, 40	
		Total Asse			\$48.40	
		This Payme			\$0.00	
			ear Principal:		\$0.00	
		Current Ye Payoff Am			\$0.00	
		гауон Ап	iount:		\$48.40	
Anne Miner Pearson	ELMWOOD LOT 18 BLK 3	Street Sweeping - Residential Stree				
Daniel V Pearson		Alley Sweeping	0.13	51.00	\$6.63	05 20 25 11 0072
1970 Nature View Ln		Citywide Street Lighting	0.66	89.00	\$58.74	
St Paul MN 55118-4460				_	\$102.75	
*1696 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$102.75	
•		This Payme	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$102.75	
Andrew O Larson	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree				
	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0028
Bridget M Love	MINN. LOT 30 BLK 1	Citywide Street Lighting	0.66	84.00	\$55.44	
1701 Juliet Ave St Paul MN 55102-2122		on, was succe Lighting	0.00	=		
		*** Owner and Taxpayer ***			\$95.92	
*1701 JULIET AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$95.92	
1 Chaing as 01. 0/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			=			
		Current Ye	ear interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Susan Kay Henderson Trustee	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-13-0088
Richard E Cottle Trustee	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
1706 Juliet Ave	MINN. LOT 2 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2121				_	\$48.40	
*1706 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			Assessment:		\$48.40	
		This Pa	yment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Dennis C Vrijsen	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential St		40.00	\$16.80	09-28-23-13-0026
Emily M Vrijsen	MINN. LOT 28 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1707 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2122					\$48.40	
*1707 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3		T 1 A		-	0.40, 40	
*Pending as of: 8/21/2019			assessment:		\$48.40	
		This Pa	t Year Principal:		\$0.00 \$0.00	
			t Year Frincipal: t Year Interest:		\$0.00	
			Amount:		\$48.40	
		1 ayvii	Amount.		940.40	
	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential St	<u>reε 0.42</u>	40.00		09-28-23-13-0090
1710 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	07 20 20 10 0070
St Paul MN 55105-2121	MINN. LOT 4 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
*1710 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	Assessment:	-	\$48.40	
		This Pa	yment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christine L Michels	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	09-28-23-13-0025
1711 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	07 20 20 20 0020
St Paul MN 55105-2122	MINN. LOT 27 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1711 JULIET AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payor	f Amount:		\$48.40	
Michael T Fleming	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential S Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-13-0021
Katherine L Fleming	MINN. LOT 23 BLK 1	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1729 Juliet Ave St Paul MN 55105-2122		City wide Sureet Eighting	0.00	=	-	
		*** Owner and Taxpayer ***			\$48.40	
*1729 JULIET AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:	-	\$48.40	
Tending as of. 0/21/2017			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payor	f Amount:		\$48.40	
John A Hunter	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-13-0099
Lonna Hunter	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 13 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1748 Juliet Ave	WINN. EOT 13 BER 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2121				_	\$48.40	
*1748 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:	=	\$48.40	
		This I	Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payor	f Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

James B Voigt	
Lauren E Voigt	
1751 Juliet Ave St Paul MN 55105-2122 S48.40	3-0100
***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Joseph Larson Trustee GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., Minneapolis MN 55417-8521 *Total Assessment: \$48.40 This Payment: \$0.00 Payoff Amount: \$40.00 Street Sweeping - Residential Stree \$0.42	3-0100
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Joseph Larson Trustee GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 4 *Interest Succepting Residential Stree	3-0100
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 The CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 4 **IT52 JULIET AVE **Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** **Total Assessment: \$48.40 This Payment: \$48.40 This Payment: \$48.40 This Payment: \$48.40	3-0100
This Payment: \$0.00	3-0100
Current Year Principal: \$0.00	3-0100
Current Year Interest: \$0.00	3-0100
Payoff Amount: \$48.40	3-0100
Joseph Larson Trustee GLENWOOD PARK ADDITION TO Street Sweeping - Residential Street 0.42 40.00 \$16.80 09-28-23-15 15th Ave S MINN. LOT 14 BLK 4 Alley Sweeping 0.13 40.00 \$5.20 26.40 1752 JULIET AVE	3-0100
5125 15th Ave S THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 4 Alley Sweeping 0.13 40.00 \$5.20 Minneapolis MN 55417-8521 Citywide Street Lighting 0.66 40.00 \$26.40 *1752 JULIET AVE *** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$48.40 Total Assessment: \$48.40 This Payment: \$0.00	3-0100
5125 15th Ave S THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 4 Alley Sweeping 0.13 40.00 \$5.20 Minneapolis MN 55417-8521 Citywide Street Lighting 0.66 40.00 \$26.40 *1752 JULIET AVE **** Owner and Taxpayer **** **** Owner and Taxpayer **** *** Owner and Taxpayer *** *Total Assessment: \$48.40 This Payment: \$0.00	3-0100
Minneapolis MN 55417-8521 *1752 JULIET AVE *Ward: 3 *Pending as of: 8/21/2019 MINN. LOT 14 BLK 4 Citywide Street Lighting 0.66 40.00 \$26.40 **** Owner and Taxpayer *** Total Assessment: This Payment: \$48.40 This Payment: \$0.13 40.00 \$26.40 \$48.40 \$48.40	
*1752 JULIET AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00	
*Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$48.40 This Payment: \$0.00	
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00	
Total Assessment: \$48.40 This Payment: \$0.00	
•	
Current Year Principal: \$0.00	
Current Ten Timerpan work	
Current Year Interest: \$0.00	
Payoff Amount: \$48.40	
Ella M Packingham GLENWOOD PARK ADDITION TO Street Sweeping - Residential Stree 0.42 83.50 \$35.07 09-28-23-	3-0101
Andrew J Packingham THE CITY OF ST. PAUL, RAMSEY CO., Alley Sweeping 0.13 39.00 \$5.07	0 0101
MINN. LOT 15 BLK 4 Citywide Street Lighting 0.66 83.50 \$55.11	
St Paul MN 55105-2121 \$95.25	
*1756 JULIET AVE *** Owner and Taxpayer *** *Ward: 3	
*Pending as of: 8/21/2019 Total Assessment: \$95.25	
This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$95.25	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Marilyn Salmon	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	<u> </u>	83.50	\$35.07	09-28-23-13-0014
757 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	39.00	\$5.07	
St Paul MN 55105-2122	MINN. LOT 16 BLK 1	Citywide Street Lighting	0.66	83.50	\$55.11	
1757 JULIET AVE				_	\$95.25	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Assessment:			\$95.25	
		This Pay			\$93.23 \$0.00	
			ment: Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$95.25	
Benjamin Louis Weiss	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	· 0.42	83.00	\$34.86	09-28-23-13-0057
1762 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	38.00	\$4.94	0, 20 20 10 000.
St Paul MN 55105-2123		Citywide Street Lighting	0.66	83.00	\$54.78	
*1762 JULIET AVE				_	\$94.58	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	sessment:	\$94.58		
		This Pay	ment:	\$0.00		
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$94.58	
	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	$\frac{1}{\epsilon} - \frac{1}{0.42} - \frac{1}{0.42}$			09-28-23-13-0056
763 Juliet Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	48.00	\$6.24	07-20-25-15-0050
St Paul MN 55105-2124	MINN. LOT 3O AND EX W 3O FT LOT 29 BLK 2	Citywide Street Lighting	0.66	88.00	\$58.08	
² 1763 JULIET AVE	29 BLK 2			_	\$101.28	
Ward: 3		*** Owner and Taxpayer ***			ψ101 .2 0	
*Pending as of: 8/21/2019		Total Assessment:		\$101.28		
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$101.28	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shannon Cleary	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Str	ree 0.42	40.00		09-28-23-13-0058
Michael R Turner	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	v, _v _v
1764 Juliet Ave	MINN. LOT 2 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2123				_	\$48.40	
*1764 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
	CLENWOOD BARK ADDITION TO	Stungt Syraming Decidential St		- 40 .00		
Rafael Manrique	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	40.00	\$16.80 \$5.20	09-28-23-13-0059
Jean H Manrique	MINN. LOT 3 BLK 3	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1768 Juliet Ave		City wide Street Lighting	0.00	=		
St Paul MN 55105-2123		*** Owner and Taxpayer ***			\$48.40	
*1768 JULIET AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	_	\$48.40	
Tolking as of. (721/201)		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
						-
Brian Brom	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-13-0054
Molly Brom	THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX E 10 FT LOT 28 AND EX W	Alley Sweeping	0.13	40.00	\$5.20	
1771 Juliet Ave	30 FT LOT 27 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2124				_	\$48.40	
*1771 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	=	\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Amy M Hunter	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0053
Jay R Hunter	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	07 20 20 0000
1775 Juliet Ave	MINN. W 30 FT OF LOT 27 AND E 10 FT OF LOT 26 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2124				_	\$48.40	
*1775 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Ashleigh Penrod	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Stree	0.42	35.00	\$14.70	09-28-23-13-0063
Joseph Rippke	MINN. E 5 FT OF LOT 8 AND W 3/4 OF	Alley Sweeping	0.13	35.00	\$4.55	
1786 Juliet Ave	LOT 7 BLK 3	Citywide Street Lighting	0.66	35.00	\$23.10	
St Paul MN 55105-2123					\$42.35	
*1786 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:		\$42.35	
renamg as on oranger		This Paym			\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	nount:		\$42.35	
Kevin J Mcgill	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0049
Sheila C Mcgill	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 22 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1795 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2124				_	\$48.40	
*1795 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David M Wiegratz	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	09-28-23-13-0066
Erin Barrett	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
1796 Juliet Ave	MINN. LOT 10 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2123				=	\$48.40	
*1796 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	ee 0.42			09-28-23-13-0048
Gina M Kuntz	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0048
1797 Juliet Ave	MINN. LOT 21 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2124		,		=	\$48.40	
*1797 JULIET AVE		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		o what and rampayer				
*Pending as of: 8/21/2019		Total As	sessment:	=	\$48.40	
1 thanks as on 0,21,201,		This Payment:			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Dorothy L Brandt	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	ee — — — — — — — — — — — — — — — — — —			
Joseph G Brandt	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	50.00	\$6.50	09-28-23-13-0046
1807 Juliet Ave	MINN. EX W 20 FT LOT 18 AND EX E	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2124	10 FT LOT 19 BLK 2	, 6 6		=	\$60.50	
*1807 JULIET AVE		*** Owner and Taxpayer ***			\$00.30	
*Ward: 3				=	0.0.50	
*Pending as of: 8/21/2019			sessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Margaret Johanna Walker	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	09-28-23-13-0045
Eric Robert Hendrickson	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	50.00	\$6.50	
1813 Juliet Ave	MINN. E 30 FT OF LOT 17 AND W 20 FT OF LOT 18 BLK 2	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2124				_	\$60.50	
*1813 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
		This Payme	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff Am	nount:		\$60.50	
Sean M Burke	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0070
1814 Juliet Ave	MINN. LOT 14 BLK 3	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2123		Citywide Street Lighting	0.00	40.00		
*1814 JULIET AVE		*** 0 1.5			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
3		Total Asse	\$48.40			
		This Payme	\$0.00			
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff Am	nount:		\$48.40	
Brian E Casey		Street Sweeping - Residential Stree				. — — — — — — —
Teresa A Casey		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-24-0054
1829 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1710		, , ,		_	\$48.40	
		*** Owner and Taxpayer ***			\$46.40	
*1829 JULIET AVE *Ward: 3		o mier and raspayer				
		Total Asse	ssment:		\$48.40	
*Pending as of: 8/21/2019		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John Nordlander Baldwin	PRESCOTT'S REARRANGEMENT LOT	Street Sweeping - Residential Street	0.42	41.00	\$17.22	09-28-23-24-0053
1835 Juliet Ave	6	Alley Sweeping	0.13	41.00	\$5.33	** ****
St Paul MN 55105-1710		Citywide Street Lighting	0.66	41.00	\$27.06	
*1835 JULIET AVE				_	\$49.61	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	essment:		\$49.61	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$49.61	
Christopher J Boylan	LAMPERT'S SUBDIVISION LOT 3	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-24-0059
Kristin L M Boylan		Alley Sweeping	0.13	40.00	\$5.20	
1842 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1709					\$48.40	
*1842 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3					**	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
					\$0.00 \$48.40	
		Payoff A	mount:		540.40	
	PRESCOTT'S REARRANGEMENT LOT	Street Sweeping - Residential Street		43.00		09-28-23-24-0051
Colin J Boucher	4	Alley Sweeping	0.13	43.00	\$5.59	07-20-23-24-0031
1843 Juliet Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-1710				=	\$52.03	
*1843 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$52.03	
1 chaing as of. 0/21/2017		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$52.03	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Str	ree 0.42	42.00	\$17.64	09-28-23-24-0061
Hans Peterson	RAMSEY COUNTY, MINNESOTA W 41	Alley Sweeping	0.13	42.00	\$5.46	
848 Juliet Ave	5/IO FT OF E 83 FT OF PART N OF ALLEY OF LOT 18	Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-1709				_	\$50.82	
1848 JULIET AVE		*** Owner and Taxpayer ***				
Ward: 3					<u> </u>	
Pending as of: 8/21/2019			ssessment:		\$50.82	
		This Pa	•		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$50.82	
	LINDENWOODS AGRE LOTS	Street Sweeping - Residential Str	reε 0.42			
Gary C Wetterberg	UNDERWOOD'S ACRE LOTS, RAMSEY COUNTY, MINNESOTA E 40	Alley Sweeping - Residential Str	0.42	40.00	\$5.20	09-28-23-24-0049
1849 Juliet Ave	FT OF W 80 FT OF PART S OF ALLEY	Citywide Street Lighting	0.66	40.00	\$3.20 \$26.40	
St Paul MN 55105-1710	AND N OF JULIET AVE OF LOT 3	City wide Street Lighting	0.00	+0.00 =		
*1849 JULIET AVE		*** 0 1T ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chang as of. 6/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current	Current Year Principal:			
		Current Year Interest:			\$0.00	
		Payoff	Payoff Amount:			
Bms Properties Llc	UNDERWOOD'S ACRE LOTS, RAMSEY COUNTY, MINNESOTA E 42	Street Sweeping - Residential Str Alley Sweeping	теє 0.42 0.13	42.00 42.00	\$17.64 \$5.46	09-28-23-24-0047
753 Sutton Ln	15/100 FT OF PART S OF ALLEY AND	Citywide Street Lighting	0.66	42.00	\$3.40 \$27.72	
Mendota Heights MN 55118-3717	N OF JULIET AVE OF LOT 4	City wide Street Lighting	0.00			
*1861 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***			\$50.82	
Pending as of: 8/21/2019						
		Total A	ssessment:		\$50.82	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$50.82	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Teresa A Boylan Trust	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	09-28-23-24-0046
1863 Juliet Ave	RAMSEY COUNTY, MINNESOTA E 41	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55105-1710	5/10 FT OF W 83 FT OF PART S OF ALLEY AND N OF JULIET AVE OF	Citywide Street Lighting	0.66	42.00	\$27.72	
*1863 JULIET AVE	LOT 4			_	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$50.82	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$50.82	
						. — — — — — —
Christopher J Huberty	UNDERWOOD'S ACRE LOTS, RAMSEY COUNTY, MINNESOTA W 41	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	42.00 42.00	\$17.64 \$5.46	09-28-23-24-0045
Debra J Huberty	5/10 FT OF PART S OF ALLEY AND N	Citywide Street Lighting	0.66	42.00	\$3.40 \$27.72	
1867 Juliet Ave St Paul MN 55105-1710	OF JULIET AVE OF LOT 4	City wide Street Eighting	0.00	=	\$50.82	
*1867 JULIET AVE		*** Owner and Taxpayer ***			\$50.82	
*Ward: 3		Owner and Tuxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$50.82	
1 on any as on 0,21,2019		This Payment: Current Year Principal:		\$0.00		
				\$0.00		
		Current Year Interest:			\$0.00	
		Payoff Ar	mount:	\$50.82		
Marilyn S Karr Trustee	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Stree		40.00	\$16.80	09-28-23-24-0066
1868 Juliet Ave	RAMSEY COUNTY, MINNESOTA E 40 FT OF PART N OF ALLEY OF LOT 16	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1709		Citywide Street Lighting	0.66	40.00	\$26.40	
*1868 JULIET AVE					\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 on any as on 0,21,2019		Total Ass	essment:		\$1.00	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$1.00	
						F\$CROW

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
45 North Investment Properties Llc	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Str	<u>reε</u> 0.42	41.00	\$17.22	09-28-23-24-0042
11190 Sandcastle Dr Unit E	RAMSEY COUNTY, MINNESOTA EX E	Alley Sweeping	0.13	41.00	\$5.33	0, 20 20 21 00 2
St Paul MN 55129-8616	84 FT PART S OF ALLEY AND N OF JULIET AVE OF LOT 5	Citywide Street Lighting	0.66	41.00	\$27.06	
*1877 JULIET AVE				_	\$49.61	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	ssessment:		\$49.61	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$49.61	
Isaiah Levreau	EDNA ADDITION LOT 2	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-24-0070
Rebekah Levreau		Alley Sweeping	0.13	40.00	\$5.20	
1886 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1709					\$48.40	
*1886 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pag			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott .	Amount:		\$48.40	
Nicholar VI Constitut	EDNA ADDITION LOT 3	Street Sweeping - Residential Str	<u></u>			
Nicholas N Sperling Elizabeth B Sterling		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-24-0071
1888 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1709		, 5		_	\$48.40	
*1888 JULIET AVE		*** Owner and Taxpayer ***			φ + σ.+υ	
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
1 chang as 01. 0/21/2017		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick Page	BEYER'S SUBDIVISION LOT 3 BLK 2	Street Sweeping - Residential Stre	es 0.42	42.00	\$17.64	09-28-23-24-0074
Patricia Page		Alley Sweeping	0.13	42.00	\$5.46	**
135 Bay St		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55102-3527				_	\$50.82	
41902 JULIET AVE		*** Owner and Taxpayer ***				
Ward: 3				_		
*Pending as of: 8/21/2019		Total As	sessment:		\$50.82	
-		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$50.82	
Jonathan R Klepp	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Stre	ee — — — — — — — — — — — — — — — — — —	<u> </u>		00 20 22 24 0026
1907 Juliet Ave	RAMSEY COUNTY, MINNESOTA SUBJ	Citywide Street Lighting	0.66	63.00	\$41.58	09-28-23-24-0036
St Paul MN 55105-1710	TO ESMT AND EX W 62 5/10 FT THE N	on, who show Eighting	0.00	=		
1907 JULIET AVE	125 44/100 FT OF S 155 44/100 FT OF LOT 8	125 44/100 FT OF S 155 44/100 FT OF LOT 8 *** Owner and Taxpayer ***		\$68.04		
*Ward: 3		Owner and Taxpayer				
Pending as of: 8/21/2019		Total As	sessment:	=	\$68.04	
1 chang as of. 0/21/2019		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:		\$0.00		
				\$0.00		
		Payoff Amount:			\$68.04	

	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Stre	<u>eε</u> — <u>0.42</u> —			09-28-23-24-0077
914 Juliet Ave	RAMSEY COUNTY, MINNESOTA W 40	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1709	FT OF PART S OF JULIET AVE AND N OF ALLEY OF LOT 13	Citywide Street Lighting	0.66	40.00	\$26.40	
1914 JULIET AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total As	sessment:	-	\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Davie ff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert M Anderson	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Str	<u>eε</u> 0.42	41.00	\$17.22	09-28-23-24-0079
Clare T Anderson	RAMSEY COUNTY, MINNESOTA W 41	Alley Sweeping	0.13	41.00	\$5.33	
1922 Juliet Ave	15/100 FT OF E 83 15/100 FT OF PART S OF JULIET AVE AND N OF ALLEY	Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55105-1709	OF LOT 12			_	\$49.61	
*1922 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			ssessment:		\$49.61	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$49.61	
	FRANSEN'S ADDITION LOT 4					. — — — — — –
Amy J Kuebelbeck	FRANSEN S ADDITION LOT 4	Street Sweeping - Residential Str	ee 0.42 0.66	42.00 42.00	\$17.64 \$27.72	09-28-23-24-0032
Mark R Neuzil		Citywide Street Lighting	0.00	42.00		
1927 Juliet Ave					\$45.36	
St Paul MN 55105-1710		*** Owner and Taxpayer ***				
*1927 JULIET AVE *Ward: 3		Total A	ssessment:	=	\$45.36	
*Pending as of: 8/21/2019		This Pa			\$0.00	
1 chang as 01. 6/21/2017			Year Principal:		\$0.00	
		Current Year Interest:			\$0.00	
			Amount:		\$45.36	
		- Ly - L			V 10.00	
Jennifer Bursell	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Str	<u>e</u> ε 0.42	40.00		09-28-23-23-0029
Michael F Forsman	29 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1947 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1723				_	\$48.40	
*1947 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Resolution #:

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas R Bumgardner	HANKEE'S CLEVELAND VIEW LOT 3	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	09-28-23-23-0033
Anne P Bumgardner	BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1950 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1722				_	\$48.40	
*1950 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
Bernard F Brondum	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stre	<u> </u>			
Jennifer L T Brondum	27 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0027
1955 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1723		,,,	-	_	\$48.40	
*1955 JULIET AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	sessment:	=	\$48.40	
2		This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$0.00	
					\$48.40	
Shannon C Cunningham	HANKEE'S CLEVELAND VIEW LOT 5	Street Sweeping - Residential Stre	ee 0.42			
Joshua L Cunningham	BLK 4	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0035
1956 Juliette Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1722		,,,		_	\$48.40	
*1956 JULIET AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:	=	\$48.40	
1 Chang as 01. 0/21/2017		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Marc Isaacson	HANKEE'S CLEVELAND VIEW LOT 7	Street Sweeping - Residential Stree	0.42	36.00	\$15.12	09-28-23-23-0037
Heidi Jo Anderson Isaacson	BLK 4	Alley Sweeping	0.13	36.00	\$4.68	0, 20 20 20 000.
1964 Juliet Ave		Citywide Street Lighting	0.66	36.00	\$23.76	
St Paul MN 55105-1722				=	\$43.56	
*1964 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$43.56	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$43.56	
Rochelle A Pierskalla	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree				
1967 Juliet Ave	24 BLK 1	Alley Sweeping	0.13	36.00	\$4.68	09-28-23-23-0024
St Paul MN 55105-1723		Citywide Street Lighting	0.66	36.00	\$23.76	
*1967 JULIET AVE		,		_	\$43.56	
*Ward: 3		*** Owner and Taxpayer ***			\$43.30	
*Pending as of: 8/21/2019		1 7				
Tollowing as on oranger		Total Assessment:			\$43.56	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Amount:			\$43.56	
Wanda Richell Burke	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree				
1981 Juliet Ave	20 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0020
St Paul MN 55105-1723		Citywide Street Lighting	0.66	40.00	\$26.40	
*1981 JULIET AVE		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			φ+0.+0	
*Pending as of: 8/21/2019		1 3				
1 chang as of. 6/21/2017		Total Assessment:		\$48.40		
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An			\$48.40	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** HANKEE'S CLEVELAND VIEW LOT Street Sweeping - Residential Stree 0.42 40.00 \$16.80 Daniel Stangler 09-28-23-23-0019 19 BLK 1 0.13 40.00 Alley Sweeping \$5.20 Molly Stangler Citywide Street Lighting 0.66 40.00 \$26.40 1985 Juliet Ave St Paul MN 55105-1723 \$48.40 *** Owner and Taxpayer *** *1985 JULIET AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 40.00 HANKEE'S CLEVELAND VIEW LOT Street Sweeping - Residential Stree 0.42 \$16.80 Andrew C Crockett 09-28-23-23-0042 12 BLK 4 Alley Sweeping 0.13 40.00 \$5.20 1986 Juliet Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-1722 *1986 JULIET AVE \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$48.40 HANKEE'S CLEVELAND VIEW LOT 1 Street Sweeping - Residential Stree 0.42 83.50 \$35.07 Liam J Higgins 09-28-23-23-0220 BLK 3 0.13 40.00 Alley Sweeping \$5.20 Jennifer Sauter Higgins Citywide Street Lighting 0.66 83.50 \$55.11 2002 Juliet Ave St Paul MN 55105-1724 \$95.38 *** Owner and Taxpayer *** *2002 JULIET AVE *Ward: 3 Total Assessment: \$95.38 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00

Payoff Amount:

\$95.38

*Pending as of: 8/21/2019

11:10:09 11/5/2019	Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM Ratification Date: Resolution #:					Page 16	
Owner or Taxpayer	Property Description	Ratification Date: Resolution Item Description	on #: <u>Unit Rate</u>	Quantity	Charge Amts	Property ID	
Shaun Riffe	HANKEE'S CLEVELAND VIEW LOT 2	Street Sweeping - Residential Street	0.42	40.00		09-28-23-23-0142	
Andrea Riffe	BLK 3	Alley Sweeping	0.13	40.00	\$5.20	07-20-23-23-01-42	
2004 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40		
St Paul MN 55105-1724				=	\$48.40		
*2004 JULIET AVE		*** Owner and Taxpayer ***					
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	-	\$48.40		
		This Payr	nent:		\$0.00		
		Current Y	ear Principal:		\$0.00		
		Current Y	ear Interest:		\$0.00		
		Payoff A	nount:		\$48.40		
John C Smeltzer	HANKEE'S CLEVELAND VIEW LOT 4	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-23-0144	
2014 Juliet Ave	BLK 3	Alley Sweeping	0.13	40.00	\$5.20		
St Paul MN 55105-1724		Citywide Street Lighting	0.66	40.00	\$26.40		
*2014 JULIET AVE				_	\$48.40		
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***					
rending as of. 6/21/2019		Total Ass	essment:	_ _	\$48.40		
		This Payr	nent:		\$0.00		
		Current Y	ear Principal:		\$0.00		
		Current Y	ear Interest:		\$0.00		
		Payoff A	nount:		\$48.40		
			· — — . –				
Michael P Hogan	HANKEE'S CLEVELAND VIEW LOT 5 BLK 3	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-23-0145	
2020 Juliet Ave	DLK J	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40		
St Paul MN 55105-1724		Citywide Street Lighting	0.00	40.00			
*2020 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40		

Total Assessment:

Current Year Principal:

Current Year Interest:

Payoff Amount:

This Payment:

\$48.40

\$0.00

\$0.00

\$0.00

\$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Stephen J Gergen	HANKEE'S CLEVELAND VIEW EX	Street Sweeping - Residential St	ree 0.42	55.00	\$23.10	09-28-23-23-0146	
Lois K Gergen	THE W 14 FT LOT 7 AND ALL OF LOT	Alley Sweeping	0.13	55.00	\$7.15	0, 20 20 20 00 00	
2022 Juliet Ave	6 BLK 3	Citywide Street Lighting	0.66	55.00	\$36.30		
St Paul MN 55105-1724				=	\$66.55		
*2022 JULIET AVE		*** Owner and Taxpayer ***					
*Ward: 3				-			
*Pending as of: 8/21/2019		Total A	ssessment:		\$66.55		
		This Pa	yment:		\$0.00		
		Current	Year Principal:		\$0.00		
		Current	Year Interest:		\$0.00		
		Payoff	Amount:		\$66.55		
Christopher H Mikko	HANKEE'S CLEVELAND VIEW LOT 22 BLK 2	Street Sweeping - Residential St		40.00	\$16.80	09-28-23-23-0134	
2033 Juliet Ave	22 BLK 2	Alley Sweeping	0.13	40.00	\$5.20		
St Paul MN 55105-1725		Citywide Street Lighting	0.66	40.00	\$26.40		
*2033 JULIET AVE					\$48.40		
*Ward: 3		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2019		T . 1 A	Total Assessment:				
					\$48.40 \$0.00		
			This Payment: Current Year Principal: Current Year Interest:				
			Amount:		\$0.00 \$48.40		
		гауоп	Amount:		\$48.40		
	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential St				09-28-23-23-0131	
Phillip Craig	19 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	07-20-23-23-0131	
2045 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40		
St Paul MN 55105-1725				=	\$48.40		
*2045 JULIET AVE		*** Owner and Taxpayer ***			Ψ10.10		
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40		
5		This Pa	yment:		\$0.00		
			Year Principal:		\$0.00		
		Current	Year Interest:		\$0.00		
		Payoff	Amount:		\$48.40		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy L Smith	HANKEE'S RE-AR LOT 1 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-23-0152
Debra D Smith		Alley Sweeping	0.13	40.00	\$5.20	
2048 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1724				=	\$48.40	
*2048 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
Lori M Hoefener	HANKEE'S RE-AR LOT 5 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-23-0129
2053 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1725		Citywide Street Lighting	0.66	40.00	\$26.40	
*2053 JULIET AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Barton R Johnson	HANKEE'S RE-AR LOT 3 BLK 2	Street Sweeping - Commercial/Art	1.02	63.50	\$64.77	09-28-23-23-0154
Marjorie L Kemp Johnson		Street Sweeping - Residential Stree	0.42	23.50	\$9.87	
2056 Juliet Ave		Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55105-1724		Citywide Street Lighting	0.66	87.00	\$57.42	
*2056 JULIET AVE				_	\$138.17	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$138.17	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$138.17	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Adam C Benson	HANKEE'S RE-AR LOT 4 BLK 1	Street Sweeping - Commercial/Art	1.02	61.50	\$62.73	09-28-23-23-0128
Mollie C Benson		Street Sweeping - Residential Stree	0.42	23.50	\$9.87	
2057 Juliet Ave		Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55105-1725		Citywide Street Lighting	0.66	85.00	\$56.10	
*2057 JULIET AVE				=	\$134.81	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$134.81	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$134.81	
Adam J Berg	CIC NO 578 ROWHOUSE AT SNELLIN	Street Sweeping - Commercial/Art	1.02	6.78	\$6.91	09-28-23-41-0228
1590 Juno Ave #18	UNIT NO.18	Street Sweeping - Residential Stree	0.42	5.95	\$2.50	
St Paul MN 55116-1587		Alley Sweeping	0.13	13.55	\$1.76	
*1590 JUNO AVE 18		Citywide Street Lighting	0.66	12.73	\$8.39	
*Ward: 3				_	\$19.56	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses	Total Assessment:			
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$19.56	
Guinevere M Wollmering	BENEDICTINE PLAT 1 SUBJ TO	Street Sweeping - Residential Stree	0.42	19.00	\$7.98	09-28-23-41-0019
1595 Juno Ave	PARTY WALL AGRT AND ESMTS PART OF E 147 5/10 FT OF LOT 33 W	Citywide Street Lighting	0.66	19.00	\$12.54	
St Paul MN 55116-1414	OF FOL L BEG ON S L OF AND 128				\$20.52	
*1595 JUNO AVE *Ward: 3	6/10 FT W FROM SE COR OF SD LOT TH N PAR WITH E L OF SD LOT 14	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$20.52	
		This Paymo	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am	ount:		\$20.52	
		•				

Ratification Date:

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 19.00 \$7.98 BENEDICTINE PLAT 1 SUBJ TO Christine Carragee 09-28-23-41-0018 PARTY WALL AGRTS AND ESMTS Citywide Street Lighting 0.66 19.00 \$12.54 1597 Juno Ave AND EX E 147 5/10 FT PART OF LOT St Paul MN 55116-1414 \$20.52 33 E OF FOL L BEG ON S L OF AND 166 8/10 FT W FROM SE COR OF SD *** Owner and Taxpayer *** *1597 JUNO AVE LOT TH N PAR WITH E L OF SD LOT 14 *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$20.52 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$20.52 **Payoff Amount:** Street Sweeping - Residential Stree 0.42 22.00 \$9.24 Christine H Carragee BENEDICTINE PLAT 1 SUBJ TO 09-28-23-41-0017 PARTY WALL AGRT AND ESMTS Citywide Street Lighting 0.66 22.00 \$14.52 1597 Juno Ave PART OF LOT 33 W OF FOL L BEG ON St Paul MN 55116-1414 \$23.76 S L OF AND 166 8/10 FT W FROM SE COR OF SD LOT TH N PAR WITH E L *** Owner and Taxpayer *** *1599 JUNO AVE OF SD LOT 14 O7/100 FT TH W PAR *Ward: 3 Total Assessment: \$23.76 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$23.76 MATTOCK PARK LOT 3 BLK 1 Vicky L Stanton Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-41-0024 Alley Sweeping 0.13 40.00 \$5.20 1604 Juno Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-1413 \$48.40 *1604 JUNO AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ronald L Barrett Jr	BENEDICTINE PLAT 1 LOT 31	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0015
1607 Juno Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 32 0020
St Paul MN 55116-1414		Citywide Street Lighting	0.66	40.00	\$26.40	
*1607 JUNO AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Anthony J Loftsgaarden	MATTOCK PARK LOT 5 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0026
Jane Loftsgaarden		Alley Sweeping	0.13	40.00	\$5.20	
1610 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1413					\$48.40	
*1610 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3		m . 1 A		-	0.40,.40	
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym	ent: ear Principal:		\$0.00 \$0.00	
			_		\$0.00	
			Current Year Interest: Payoff Amount:			
		Tayon Aii	ount.		\$48.40	
	MATTOCK PARK LOT 7 BLK 1	Street Sweeping - Residential Stree		40.00		09-28-23-41-0028
Sheryl A Marsh Trustee		Alley Sweeping	0.13	40.00	\$5.20	02 20 20 11 0020
1618 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1413				_	\$48.40	
*1618 JUNO AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael C Peterson	MATTOCK PARK LOT 9 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0030
Elizabeth M Peterson		Alley Sweeping	0.13	40.00	\$5.20	03 20 20 11 0000
1628 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1413				_	\$48.40	
*1628 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Mark D Buege	BENEDICTINE PLAT 1 LOT 26	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0010
Peggy J Buege		Alley Sweeping	0.13	40.00	\$5.20	
1629 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1414				_	\$48.40	
*1629 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:	\$0.00		
		Current Ye	ar Interest:		\$0.00	
		Payoff An	Payoff Amount:			
	MATTOCK PARK LOT 10 BLK 1					
Michael J Fragassi	MATIOCK PARK LOT TO BEK. 1	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-41-0031
Chantel P Fragassi		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1632 Juno Ave		Citywide Street Lighting	0.00	- 0.00		
St Paul MN 55116-1413		***			\$48.40	
*1632 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	iount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David W Macomber	BENEDICTINE PLAT 1 LOT 25	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0009
Kara V Cundy		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 32 000,
1633 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1414				=	\$48.40	
*1633 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
	MATTOCK PARK LOT 11 BLK 1	Street Commission Devident of Street		83.50		
Patricia M Mcfadden	MATIOCK PARK LOT IT BLK	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00	\$35.07 \$5.20	09-28-23-41-0032
1636 Juno Ave St Paul MN 55116-1413		Citywide Street Lighting	0.66	83.50	\$5.20 \$55.11	
		on, was successing	0.00	=	-	
*1636 JUNO AVE		*** Owner and Taxpayer ***			\$95.38	
*Ward: 3 *Pending as of: 8/21/2019		owner and raxpayer				
Fending as 01. 6/21/2019		Total Asse	ssment:		\$95.38	
		This Paym	ent:		\$0.00	
			Current Year Principal: Current Year Interest: Payoff Amount:			
		Payoff An				
Aaron Michael Leventhal	BENEDICTINE PLAT 1 LOT 23	Street Sweeping - Residential Stree	0.42	89.00	\$37.38	09-28-23-41-0117
1641 Juno Ave		Alley Sweeping	0.13	59.00	\$7.67	
St Paul MN 55116-1416		Citywide Street Lighting	0.66	89.00	\$58.74	
*1641 JUNO AVE					\$103.79	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$103.79	
		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$0.00 \$103.79	
		rayon An	ivalit.		\$105.77	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Richard H Distad	BENEDICTINE PLAT 1 SUBJ TO	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-41-0201
Linda S Distad	ESMTS; LOT 22	Alley Sweeping	0.13	40.00	\$5.20	
1830 Eagle Ridge Dr Apt 3001		Citywide Street Lighting	0.66	40.00	\$26.40	
Mendota Heights MN 55118-4202				_	\$48.40	
*1647 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	DEVENORNE NATIGUELE	Carrat Carraina Davidantial Carr				
Richard H Distad	BENEDICTINE PLAT 1 SUBJ TO ESMTS; EX W 15 FT LOT 21	Street Sweeping - Residential Stre Alley Sweeping	0.42	25.00 25.00	\$10.50 \$3.25	09-28-23-41-0200
Linda S Distad		Citywide Street Lighting	0.13	25.00	\$3.23 \$16.50	
1830 Eagle Ridge Dr Apt 3001		City wide Succe Lighting	0.00	=		
Mendota Heights MN 55118-4202		***			\$30.25	
*1649 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3		T 1 A		=	#20.25	
*Pending as of: 8/21/2019		Total Ass			\$30.25	
		This Paye		\$0.00		
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff A	mount:		\$30.25	
Leslie A Brandt	MATTOCK PARK LOT 3 BLK 2	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-41-0120
Andrew Barry		Alley Sweeping	0.13	40.00	\$5.20	
1650 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1415				_	\$48.40	
*1650 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Pay	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	MATTOCK PARK LOT 5 BLK 2	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-41-0122
ennifer L Lehtinen		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 0122
658 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1415				=	\$48.40	
*1658 JUNO AVE		*** Owner and Taxpayer ***			• • •	
Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
5		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
		-				
Richard E Cunningham Jr	MATTOCK PARK LOT 6 BLK 2	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-41-0123
Susan M Cunningham		Alley Sweeping	0.13	40.00	\$5.20	
1662 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1415					\$48.40	
*1662 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr	\$0.00			
		Current Y	\$0.00			
		Current Year Interest:			\$0.00	
		Payoff A	Payoff Amount:			
	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Street				
Anthony F Bergeron	MINN. LOT 14 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-41-0112
Marjorie Ann Bergeron		Citywide Street Lighting	0.66	40.00	\$26.40	
669 Juno Ave		City wide Buleet Eighting	0.00	=		
St Paul MN 55116-1416		*** Owner and Taxpayer ***			\$48.40	
*1669 JUNO AVE		Owner and Taxpayer				
Ward: 3				=	0.40, 40	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ch Group Llc	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0204
32 N Oaks Rd	MINN. LOT 2 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
North Oaks MN 55127-6325		Citywide Street Lighting	0.66	40.00	\$26.40	
*1672 JUNO AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff An	ount:		\$48.40	
	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stree		40.00		00 20 22 41 0110
Jennifer Haight	MINN. LOT 12 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-41-0110
1677 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1416		,		_	\$48.40	
*1677 JUNO AVE		*** Owner and Taxpayer ***			\$40.4U	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	This Payment:			
		Current Ye	\$0.00			
		Current Ye	\$0.00			
		Payoff An	\$48.40			
	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stree				
1681 Juno Ave	MINN. LOT 11 BLK 1	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-41-0109
St Paul MN 55116-3652		Citywide Street Lighting	0.66	40.00	\$26.40	
*1681 JUNO AVE		, , ,		_	\$48.40	
*1081 JUNU AVE *Ward: 3		*** Owner and Taxpayer ***			φ 40.4 0	
*Ward: 3 *Pending as of: 8/21/2019						
1 Chaing as 01. 0/21/2017		Total Asse	ssment:	=	\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff An	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark A Lauer	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stre	ee 0.42	45.00	\$18.90	09-28-23-41-0107
Mary A Lauer	MINN. LOT 9 BLK 1	Alley Sweeping	0.13	45.00	\$5.85	
1693 Juno Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-1416					\$54.45	
*1693 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$54.45	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$54.45	
Bruce K Allen	KIPP'S COLLEGE PARK, ST. PAUL, MINN. LOT 8 BLK 1	Street Sweeping - Residential Stre Alley Sweeping	0.42 0.13	84.50 50.00	\$35.49 \$6.50	09-28-23-41-0106
1697 Juno Ave		Citywide Street Lighting	0.13	84.50	\$6.30 \$55.77	
St Paul MN 55116-1416		City wide Street Eighting	0.00	=		
*1697 JUNO AVE		*** Owner and Taxpayer ***			\$97.76	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	sessment:	\$97.76		
		This Pay	ment:	\$0.00		
			Year Principal:	\$0.00		
		Current	Year Interest:		\$0.00	
		Payoff A	Payoff Amount:			
Jeriann C Angelo	STATE PARK ADDITION PLAT 5 LOT	Street Sweeping - Residential Stre	es 0.42	40.00	\$16.80	09-28-23-33-0054
Theodore G Angelo	15 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
674 Kenneth St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1223					\$48.40	
*674 KENNETH ST		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	STATE PARK ADDITION PLAT 5 LOT	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-33-0053
Donna M Idstrom	14 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	** == == == ***
678 Kenneth St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1223				_	\$48.40	
*678 KENNETH ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	STATE PARK ADDITION PLAT 5 LOT	Street Sweeping - Residential Stre		— — — — 96.00		
Nicholas Gianino Stacy Gianino	1 BLK 3	Alley Sweeping	0.13	54.00	\$7.02	09-28-23-33-0070
691 Kenneth St		Citywide Street Lighting	0.66	96.00	\$63.36	
St Paul MN 55116-1330		on, was succe Eighning	0.00	=	\$110.70	
		*** Owner and Taxpayer ***			\$110.70	
*691 KENNETH ST		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	-	\$110.70	
1 chang as of. 0/21/2019		This Payı			\$0.00	
			Current Year Principal:			
			ear Interest:		\$0.00 \$0.00	
		Payoff A		\$110.70		
			. — — — -			-
David E Adson	STATE PARK ADDITION PLAT 5 N 10 FT OF LOT 3 AND ALL OF LOT 2 BLK	Street Sweeping - Residential Stre		50.00	\$21.00	09-28-23-33-0071
Margaret Becker Adson	3	Alley Sweeping	0.13	50.00	\$6.50	
697 Kenneth St		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1330					\$60.50	
*697 KENNETH ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$60.50	
		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael J Ruiz	MACALESTER VILLAS LOT 3 BLK 1	Street Sweeping - Residential Stree	0.42	48.00	\$20.16	09-28-23-11-0003
Christine Ruiz		Alley Sweeping	0.13	48.00	\$6.24	
254 Macalester St		Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55105-2030				_	\$58.08	
*254 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$58.08	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$58.08	
	MACALESTER VILLAS LOT 4 BLK 2					
Ryan Church	WIACALESTER VILLAS LOT 4 BLR 2	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	48.00 48.00	\$20.16 \$6.24	09-28-23-11-0029
Christine Church		Citywide Street Lighting	0.13	48.00	\$31.68	
257 Macalester St		City wide Street Lighting	0.00	- 46.00		
St Paul MN 55105-2031		*** Owner and Taxpayer ***			\$58.08	
*257 MACALESTER ST		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	=	\$58.08	
1 chang as of. 6/21/2019		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	Payoff Amount:			
James Rufi	MACALESTER VILLAS LOT 4 BLK 1	Street Sweeping - Residential Stree	0.42	48.00	\$20.16	09-28-23-11-0004
1728 Minnehaha Av W		Alley Sweeping	0.13	48.00	\$6.24	
St Paul MN 55104-1153		Citywide Street Lighting	0.66	48.00	\$31.68	
*258 MACALESTER ST				_	\$58.08	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=======================================		
		Total Asse			\$58.08	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$58.08	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian C Mcclellan	MACALESTER VILLAS LOT 3 BLK 5	Street Sweeping - Residential St	reε 0.42	48.00	\$20.16	09-28-23-11-0053
285 Macalester St		Alley Sweeping	0.13	48.00	\$6.24	
St Paul MN 55105-2033		Citywide Street Lighting	0.66	48.00	\$31.68	
*285 MACALESTER ST				_	\$58.08	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total A	Assessment:		\$58.08	
		This Pa	nyment:		\$0.00	
		Current	t Year Principal:		\$0.00	
		Current	t Year Interest:		\$0.00	
		Payoff	Amount:		\$58.08	
Gregory J Clark	MACALESTER VILLAS LOT 5 BLK 6	Street Sweeping - Residential St		92.00	\$38.64	09-28-23-11-0076
Amy R Clark		Alley Sweeping	0.13	64.00	\$8.32	
296 Macalester St		Citywide Street Lighting	0.66	92.00	\$60.72	
St Paul MN 55105-2032					\$107.68	
*296 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			Assessment:		\$107.68	
		This Pa			\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$107.68	
Daniel A Strombeck	MACALESTER VILLAS LOT 1 BLK 7	Street Sweeping - Residential St		92.00		
Eva M Romero		Alley Sweeping	0.13	64.00	\$8.32	09-28-23-11-0099
304 Macalester St		Citywide Street Lighting	0.66	92.00	\$60.72	
St Paul MN 55105-2034		,		_	\$107.68	
		*** Owner and Taxpayer ***			\$107.08	
*304 MACALESTER ST *Ward: 3		owner and Taxpayer				
		Total A	Assessment:	=	\$107.68	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
			Amount:		\$107.68	
		1 ayon	,		Ψ107100	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James Blaine Walker	MACALESTER VILLAS LOT 4 BLK 8	Street Sweeping - Residential Stre	0.42	48.00	\$20.16	09-28-23-11-0129
Nancy Walker		Alley Sweeping	0.13	48.00	\$6.24	03 20 20 11 0123
321 Macalester St		Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55105-2035				_	\$58.08	
*321 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$58.08	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$58.08	
	-					
Janine L Valento	MACALESTER VILLAS LOT 1 BLK 11	Street Sweeping - Residential Stre		92.00	\$38.64	09-28-23-11-0150
Brian J Valento		Alley Sweeping	0.13	64.00	\$8.32	
333 Macalester St		Citywide Street Lighting	0.66	92.00	\$60.72	
St Paul MN 55105-2021				_	\$107.68	
*333 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$107.68	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$107.68	
	MACALESTER VILLAS LOT 3 BLK 11	Street Sweeping - Residential Stre		- 48 .00		
Mark E Beckman	Material Branch Control of the Contr	Alley Sweeping	0.13	48.00	\$6.24	09-28-23-11-0152
Pamela J Beckman		Citywide Street Lighting	0.66	48.00	\$31.68	
343 Macalester St		City wide Street Lighting	0.00	40.00 =		
St Paul MN 55105-2021		*** Owner and Taxpayer ***			\$58.08	
*343 MACALESTER ST		Owner and Taxpayer				
*Ward: 3		T-4-1 A -			050.00	
*Pending as of: 8/21/2019		Total Ass			\$58.08 \$0.00	
		This Pays			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A	mount:		\$58.08	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** ELMWOOD LOT 2 BLK 2 Street Sweeping - Residential Stree 0.42 45.00 \$18.90 Eli Hill 09-28-23-14-0028 0.13 45.00 Alley Sweeping \$5.85 Sarah Hill Citywide Street Lighting 0.66 45.00 \$29.70 365 Macalester St \$54.45 St Paul MN 55105-2125 *** Owner and Taxpayer *** *365 MACALESTER ST *Ward: 3 Total Assessment: \$54.45 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$54.45 ELMWOOD LOT 18 BLK 1 45.00 Street Sweeping - Residential Stree 0.42 \$18.90 Roger W Arechiga 09-28-23-14-0018 Alley Sweeping 0.13 45.00 \$5.85 Karen A Arechiga Citywide Street Lighting 0.66 45.00 \$29.70 366 Macalester St St Paul MN 55105-2126 \$54.45 *** Owner and Taxpayer *** *366 MACALESTER ST *Ward: 3 Total Assessment: \$54.45 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$54.45 ELMWOOD LOT 16 BLK 1 Matthew C Wells Street Sweeping - Residential Stree 0.42 45.00 \$18.90 09-28-23-14-0016 0.13 45.00 \$5.85 Alley Sweeping Lara E Andersen Citywide Street Lighting 0.66 45.00 \$29.70 378 Macalester St St Paul MN 55105-2126 \$54.45 *** Owner and Taxpayer *** *378 MACALESTER ST *Ward: 3 Total Assessment: \$54.45 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$54.45

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark L Mongiat	ELMWOOD LOT 6 BLK 2	Street Sweeping - Residential Stree	0.42	83.00	\$34.86	09-28-23-14-0032
Jan M Beebe		Alley Sweeping	0.13	46.00	\$5.98	03 20 20 11 0002
387 Macalaster St		Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55105-2125				_	\$95.62	
*387 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$95.62	
-		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$95.62	
		-				
Bruce G Albrecht	ELMWOOD LOT 1 BLK 3	Street Sweeping - Residential Stree	0.42	82.50	\$34.65	09-28-23-14-0055
393 Macalester St		Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-2127		Citywide Street Lighting	0.66	82.50	\$54.45	
*393 MACALESTER ST				_	\$94.95	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asse			\$94.95	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$94.95	
Daniel V Hackenmueller	ELMWOOD N 5 FT OF LOT 18 AND ALL OF LOT 19 BLK 4	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	85.00 50.00	\$35.70 \$6.50	09-28-23-14-0101
Maura L Hackenmueller		Citywide Street Lighting	0.13	85.00	\$6.30 \$56.10	
394 Macalester St		City wide Street Lighting	0.00	=		
St Paul MN 55105-2128		***			\$98.30	
*394 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A		=	000.20	
*Pending as of: 8/21/2019		Total Asse			\$98.30	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$98.30	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David J Prince	ELMWOOD N 40 FT OF LOT 5 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0059
Jennifer Prince		Alley Sweeping	0.13	40.00	\$5.20	
411 Macalester St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2127				_	\$48.40	
*411 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
City Of St Paul	ELMWOOD LOTS 1 THRU 28 AND VAC ALLEY IN BLK 6	Street Sweeping - Residential Stree	0.42	1,736.00	\$729.12	09-28-23-14-0135
25 4th St W Rm 1000	VACALLET INDEX	Citywide Street Lighting	0.66	1,736.00	\$1,145.76	***EXEMPT***
St Paul MN 55102-1692					\$1,874.88	
*423 MACALESTER ST		*** Owner and Taxpayer ***				
*Ward: 3		T + 1 A		_	#1 074 00	
*Pending as of: 8/21/2019		Total Asse			\$1,874.88	
		This Paym	ent: ear Principal:		\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$0.00 \$1,874.88	
		Fayon An	iount:		\$1,074.00	
	ELMWOOD LOT 19 BLK 8	Street Sweeping - Residential Stree		81.50		09-28-23-14-0179
456 Macalester St		Alley Sweeping	0.13	43.00	\$5.59	07-20-25-14-0177
St Paul MN 55105-2132		Citywide Street Lighting	0.66	81.50	\$53.79	
*456 MACALESTER ST				_	\$93.61	
*Ward: 3		*** Owner and Taxpayer ***			470.00	
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$93.61	
		This Paym	ent:		\$0.00	
		-	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$93.61	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** ELMWOOD LOT 18 BLK 8 Street Sweeping - Residential Stree 0.42 43.00 \$18.06 John B Hickman 09-28-23-14-0178 0.13 43.00 Alley Sweeping \$5.59 Melissa L Hickman Citywide Street Lighting 0.66 43.00 \$28.38 460 Macalester St \$52.03 St Paul MN 55105-2132 *** Owner and Taxpayer *** *460 MACALESTER ST *Ward: 3 Total Assessment: \$52.03 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$52.03 ELMWOOD LOT 3 BLK 7 43.00 Street Sweeping - Residential Stree 0.42 \$18.06 Cameron Bullock 09-28-23-14-0138 Alley Sweeping 0.13 43.00 \$5.59 Paulette Millhorn Citywide Street Lighting 0.66 43.00 \$28.38 463 Macalester St St Paul MN 55105-2131 \$52.03 *** Owner and Taxpayer *** *463 MACALESTER ST *Ward: 3 Total Assessment: \$52.03 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$52.03 ELMWOOD LOT 17 BLK 8 Matthew David Hozza Street Sweeping - Residential Stree 0.42 43.00 \$18.06 09-28-23-14-0177 0.13 43.00 \$5.59 Alley Sweeping Julia Wren Hozza Citywide Street Lighting 0.66 43.00 \$28.38 466 Macalester St St Paul MN 55105-2132 \$52.03 *** Owner and Taxpayer *** *466 MACALESTER ST *Ward: 3 Total Assessment: \$52.03 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$52.03 **Payoff Amount:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daniel J Madigan	GERARD'S REARRANGEMENT LOT 8 BLK 2	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	09-28-23-44-0086
Julie A Madigan	BLK 2	Citywide Street Lighting	0.66	60.00	\$39.60	
698 Macalester St St Paul MN 55116-1463		*** Owner and Taxpayer ***			\$64.80	
*698 MACALESTER ST		Owner and Taxpayer				
*Ward: 3		Total Asses	sment:	-	\$64.80	
*Pending as of: 8/21/2019		This Paymo			\$0.00	
<u> </u>		-	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$64.80	
John M Jones	CIC NO 578 ROWHOUSE AT SNELLIN	Street Sweeping - Commercial/Art	1.02	6.78	\$6.91	09-28-23-41-0216
Andrea N Jones	UNIT NO.6	Street Sweeping - Residential Stree	0.42	5.95	\$2.50	
1060 Portland Ave		Alley Sweeping	0.13	13.55	\$1.76	
St Paul MN 55104-7010		Citywide Street Lighting	0.66	12.73	\$8.39	
*1589 NILES AVE 6				_	\$19.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	=	\$19.56	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am	ount:		\$19.56	
Mark A Liberman	CIC NO 578 ROWHOUSE AT SNELLIN	Street Sweeping - Commercial/Art	1.02	6.78	\$6.91	09-28-23-41-0218
Viktoriya Vasylenko	UNIT NO.8	Street Sweeping - Residential Stree	0.42	5.95	\$2.50	
13360 Alton Rd		Alley Sweeping	0.13	13.55	\$1.76	
Palm Beach Gardens FL 33418-6023		Citywide Street Lighting	0.66	12.73	\$8.39	
*1591 NILES AVE 8				_	\$19.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	_	\$19.56	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$19.56	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joseph M Roith	CIC NO 578 ROWHOUSE AT SNELLIN	Street Sweeping - Commercial/Art	1.02	6.78	\$6.91	09-28-23-41-0220
Emily J Tremblay	UNIT NO.10	Street Sweeping - Residential Stree	0.42	5.95	\$2.50	
1593 Niles Ave N Unit 10		Alley Sweeping	0.13	13.55	\$1.76	
St Paul MN 55116-2276		Citywide Street Lighting	0.66	12.73	\$8.39	
*1593 NILES AVE 10				_	\$19.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$19.56	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$19.56	
Robert A Bonne	MATTOCK PARK LOT 2 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0046
Susan M Bonne		Alley Sweeping	0.13	40.00	\$5.20	
1600 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1420				_	\$48.40	
*1600 NILES AVE *Ward: 3		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asses	ssment:	=	\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
William J Mckinney	MATTOCK PARK LOT 21 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0042
Delma B Mckinney		Alley Sweeping	0.13	40.00	\$5.20	
23059 Tree Crest Ct		Citywide Street Lighting	0.66	40.00	\$26.40	
Bonita Springs FL 34135-2014				_	\$48.40	
*1601 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Asses	sement:	-	\$48.40	
*Pending as of: 8/21/2019		This Payme			\$48.40 \$0.00	
			ar Principal:		\$0.00 \$0.00	
		Current Ye	=		\$0.00	
		Payoff Am			\$48.40	
		i ayon Am	vunt.		970.70	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Doug D Olzenak	MATTOCK PARK LOT 3 BLK 4	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-41-0047
Kerry L Olzenak		Alley Sweeping	0.13	40.00	\$5.20	
8951 Tewsbury Gate		Citywide Street Lighting	0.66	40.00	\$26.40	
Maple Grove MN 55311-1125				_	\$48.40	
*1604 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
_		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	=.=.= =.=					
John S Weiss Trustee	MATTOCK PARK LOT 20 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0041
Joanne L Weiss Trustee		Alley Sweeping	0.13	40.00	\$5.20	
1605 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1421					\$48.40	
*1605 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	MATTOCK PARK LOT 18 BLK 1	Street Sweeping - Residential Stree				
Catherine M Walls		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-41-0039
1611 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1421				_	\$48.40	
*1611 NILES AVE		*** Owner and Taxpayer ***			φ 40.4 0	
*Ward: 3		o who and rampay of				
*Pending as of: 8/21/2019		Total Asso	essment:	-	\$48.40	
1 Chaing as 01. 0/21/2019		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
		Carront 1			Ψ0.00	
		Current Y	ear Interest:		\$0.00	

Re

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James D Edwards	MATTOCK PARK LOT 5 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0202
Marilyn Edwards		Alley Sweeping	0.13	40.00	\$5.20	V7 -0 - 0 00
612 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1420				_	\$48.40	
41612 NILES AVE		*** Owner and Taxpayer ***				
Ward: 3						
Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
-		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	— — — — — — — — — — — — — — — — — — —					
Michael E Danielson	MATTOCK PARK LOT 16 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0037
1621 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1421		Citywide Street Lighting	0.66	40.00	\$26.40	
41621 NILES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Asso	eccment:		\$48.40	
		This Payn			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$48.40	
Michelle L Obrien	MATTOCK PARK LOT 15 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0036
625 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1421		Citywide Street Lighting	0.66	40.00	\$26.40	
1625 NILES AVE					\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019				=	<u> </u>	
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christine M Carey	MATTOCK PARK LOT 9 BLK 4	Street Sweeping - Residential Stre	<u> </u>	40.00	\$16.80	09-28-23-41-0052
1626 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 32 0002
St Paul MN 55116-1420		Citywide Street Lighting	0.66	40.00	\$26.40	
*1626 NILES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current \	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Bentley R Jackson	MATTOCK PARK LOT 14 BLK 1	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-41-0035
Nicole Fredricks Jackson		Alley Sweeping	0.13	40.00	\$5.20	
1627 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1421				_	\$48.40	
*1627 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
William E Casebolt	MATTOCK PARK EOT TO BEK 4	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-41-0053
Mary R Casebolt		Citywide Street Lighting	0.13	40.00	\$26.40	
1630 Niles Ave		Citywide Street Lighting	0.00	-		
St Paul MN 55116-1420		*** Owner and Taxpayer ***			\$48.40	
*1630 NILES AVE		Owner and Taxpayer				
*Ward: 3		T . 1.4		=	0.40, 40	
*Pending as of: 8/21/2019			sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

	Tuble Improvement Essessinen	r uge 1				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael E Wirtz	MATTOCK PARK LOT 13 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0034
1631 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1421		Citywide Street Lighting	0.66	40.00	\$26.40	
*1631 NILES AVE				-	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
Marcie A Allen	MATTOCK PARK LOT 11 BLK 4	Street Sweeping - Residential Stree	0.42	83.50	\$35.07	09-28-23-41-0054
1634 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1420		Citywide Street Lighting	0.66	83.50	\$55.11	
*1634 NILES AVE					\$95.38	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chang as of. 0/21/2019		Total Asse	ssment:		\$95.38	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$95.38	
Matthew F Mcguire	MATTOCK PARK LOT 2 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0146
1646 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1422		Citywide Street Lighting	0.66	40.00	\$26.40	
*1646 NILES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse		-	\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Linnea J Treitler	MATTOCK PARK LOT 3 BLK 3	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-41-0147
1650 Niles Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1422		Citywide Street Lighting	0.66	40.00	\$26.40	
*1650 NILES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	essment:		\$48.40	
		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Srikanth Varanasi	MATTOCK PARK LOT 12 BLK 2	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-41-0142
Melissa Varanasi		Alley Sweeping	0.13	40.00	\$5.20	
1651 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1423				_	\$48.40	
*1651 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
			- — -			
Derek S Beumer	WATTOCK PARK LOT 0 BLK 3	Street Sweeping - Residential Stre	0.42 0.13	40.00 40.00	\$16.80	09-28-23-41-0150
1660 Niles Ave		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55116-1422		Citywide Street Lighting	0.00	40.00		
*1660 NILES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

				Quantity	Charge Amts	Property ID
Gregory D Mcgee	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0153
Ann M C Mcgee	MINN. LOT 2 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1674 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1422				_	\$48.40	
*1674 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	VIDES COLLECE DADV CT DAILI	Street Sweeping - Residential Stree				
John William Murphy Curran	KIPP'S COLLEGE PARK, ST. PAUL, MINN. E 4 34/100 FT OF LOT 10 AND	Alley Sweeping	0.42	44.00	\$5.72	09-28-23-41-0134
1681 Niles Ave St Paul MN 55116-1423	ALL OF LOT 11 BLK 2	Citywide Street Lighting	0.66	44.00	\$29.04	
		eny mae succe Eigning	0.00		\$53.24	
*1681 NILES AVE		*** Owner and Taxpayer ***			\$33.24	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as of. 6/21/2017		Total Asso	essment:	=	\$53.24	
		This Paym	ent:		\$0.00	
		Current Y	Current Year Principal: Current Year Interest: Payoff Amount:			
		Current Y				
		Payoff Ar				
44 North Property Sollutions Llc	KIPP'S COLLEGE PARK, ST. PAUL, MINN. W 40 FT OF LOT 10 BLK 2	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-41-0133
1608 Thomas Ave		Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55104-3849		Citywide Street Lighting	0.00	40.00		
*1689 NILES AVE		*** 0 17 ***			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	ecement.		\$48.40	
		This Payn			\$0.00	
		· ·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		('iirrent V	ear Interest:			

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John H Tradewell	ELMWOOD LOT 24 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-14-0132
1606 Palace Ave		Alley Sweeping	0.13	40.00	\$5.20	V7 V
St Paul MN 55105-2133		Citywide Street Lighting	0.66	40.00	\$26.40	
*1606 PALACE AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asses			\$48.40	
		This Payme			\$0.00	
		Current Yes	ar Principal:		\$0.00	
		Current Yea			\$0.00	
		Payoff Am	ount:		\$48.40	
		Character Devile (110)				
Donna M Brittain	ELWWOOD LOT 9 BLK 4	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-14-0091
1607 Palace Ave		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55105-2134		Citywide Street Lighting	0.00	40.00		
*1607 PALACE AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as of. 6/21/201)		Total Asses	\$48.40			
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff Amount:			\$48.40	
Brad C Perri		Street Sweeping - Residential Stree				
	22 662 261 10 22K 1	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-14-0092
Laura J Mccartan		Citywide Street Lighting	0.13	40.00	\$26.40	
1611 Palace Ave		City wide Subst Lighting	0.00	=	•	
St Paul MN 55105-2134		*** Owner and Taxpayer ***			\$48.40	
*1611 PALACE AVE		Owner and Taxpayer				
*Ward: 3		T-4:1 A	an ant	-	¢40.40	
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Payment: Current Year Principal:			\$0.00	
		Current Yea	=		\$0.00 \$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John A Barneson	ELMWOOD LOT 21 BLK 5	Street Sweeping - Residential Str	<u>reε</u> 0.42	40.00	\$16.80	09-28-23-14-0129
Anna M Klessig		Alley Sweeping	0.13	40.00	\$5.20	
1618 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2133				_	\$48.40	
*1618 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	ELMWOOD LOT 20 BLK 5					
Mary B Cerkvenik	ELMWOOD LOT 20 BLK 3	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-14-0128
David S Norrgard		Alley Sweeping Citywide Street Lighting	0.13 0.66	83.50 40.00	\$10.86 \$26.40	
1622 Palace Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2133					\$54.06	
*1622 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		T 1.4			05406	
*Pending as of: 8/21/2019			ssessment:		\$54.06	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott A	Amount:		\$54.06	
R Michael Buelow	ELMWOOD EX N 40 FT, LOT 5 & ALL	Street Sweeping - Residential Str	<u>eε</u> —	85.50		09-28-23-14-0060
Suellen W Buelow	OF LOT 6 BLK 3	Alley Sweeping	0.13	51.00	\$6.63	0, 20 20 11 0000
1645 Palace Ave		Citywide Street Lighting	0.66	85.50	\$56.43	
St Paul MN 55105-2136				_	\$98.97	
*1645 PALACE AVE		*** Owner and Taxpayer ***			*****	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$98.97	
6		This Pay	yment:		\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Pavoff A	Amount:		\$98.97	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Wendy T Huckaby	ELMWOOD LOT 7 BLK 3	Street Sweeping - Residential Street	0.42	50.00	\$21.00	09-28-23-14-0061
1653 Palace Ave		Alley Sweeping	0.13	88.50	\$11.51	.,
St Paul MN 55105-2136		Citywide Street Lighting	0.66	50.00	\$33.00	
*1653 PALACE AVE				_	\$65.51	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	essment:		\$65.51	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$65.51	
Barbara J Finnemann	ELMWOOD LOT 12 BLK 3	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-14-0066
Gary J Finnemann		Alley Sweeping	0.13	40.00	\$5.20	
1675 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2136				_	\$48.40	
*1675 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
			 -			
Joshua Oberheide	ELIMWOOD LOT 13 BLK 3	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-14-0067
Molly Oberheide		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1679 Palace Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2136					\$48.40	
*1679 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				=	***	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** ELMWOOD LOT 16 BLK 3 Craig W Ainsworth Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-14-0070 0.13 40.00 Alley Sweeping \$5.20 1691 Palace Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-2136 \$48.40 *1691 PALACE AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 ELMWOOD LOT 17 BLK 3 Street Sweeping - Residential Stree 88.50 \$37.17 0.42 Alexander M Repucci 09-28-23-14-0071 Alley Sweeping 0.13 50.00 \$6.50 Taylor M Champoux Citywide Street Lighting 0.66 88.50 \$58.41 1693 Palace Ave St Paul MN 55105-2136 \$102.08 *** Owner and Taxpayer *** *1693 PALACE AVE *Ward: 3 Total Assessment: \$102.08 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$102.08 Reza Taghavi GLENWOOD PARK ADDITION TO Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-13-0115 THE CITY OF ST. PAUL, RAMSEY CO., 0.13 40.00 \$5.20 Alley Sweeping Betsy Parrish MINN, LOT 29 BLK 4 Citywide Street Lighting 0.66 40.00 \$26.40 1705 Palace Ave St Paul MN 55105-2138 \$48.40 *** Owner and Taxpayer *** *1705 PALACE AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rosemary Elizabeth Gavin	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Str	reε 0.42	40.00	\$16.80	09-28-23-13-0114
1707 Palace Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2138	MINN. LOT 28 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
*1707 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$48.40	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Str				
Anne S Celander	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-13-0113
1711 Palace Ave	MINN. LOT 27 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2138		City wide Street Eighting	0.00	=		
*1711 PALACE AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Pending as of: 8/21/2019		Total A	ssessment:	=	\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Winston Kaehler	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Str		41.00	\$17.22	09-28-23-13-0172
1712 Palace Ave	ST. PAUL, RAMSEY CO., MINN. E 1 FT OF LOT 6 AND ALL OF LOT 5 BLK 1	Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55105-2137	OF LOT 6 AND ALL OF LOT 3 BLK 1	Citywide Street Lighting	0.66	41.00	\$27.06	
*1712 PALACE AVE				_	\$49.61	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$49.61	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$49.61	
		1 ayon			ψ12.01	

Ratification Date:

Stephen Tschida GENACOT PARK ARMITION TO Stephen Tschida	Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Alley Sweeping	Stephen J Tschida	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential S	tree 0.42	40.00	\$16.80	09-28-23-13-0112
St Paul NN 55105-2138 Steel Sweeping - Residential Stree Steel Sweeping - Residential Stree Steel Street Lighting Steel Sweeping - Residential Stree Steel					40.00	\$5.20	07 20 20 0002
***Owner and Taxpayer *** ***Pending as of: \$\frac{8}{2}\$ \$\frac{1}{1}\$ \$	St Paul MN 55105-2138	MINN. LOT 20 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
Total Assessment: \$48.40	*1717 PALACE AVE				=	\$48.40	
Total Assessment: \$48.40	*Ward: 3		*** Owner and Taxpayer ***				
This Payment: \$0.00	*Pending as of: 8/21/2019				=		
Current Year Principal: S0.00							
Mary C Greeley				-			
Mary C Greeley WEBSTER ADDITION TO THE CITY OF Chad J Greeley ST. PAUL, RAMSEY CO., MINN. EXE I PLOT 6 BLK 1 Street Sweeping - Residential Stree 0.42 39.00 \$16.38 09-28-23-13-0173				•			
Mary C Greeley Chad J Greeley ST. PAUL, RAMSEY CO., MINN. EX. E1 PTLOT 6 BLK 1 ****Owner and Taxpayer **** ****Owner and Taxpayer *** ****O							
Chad J Greeley			Payof	f Amount:		\$48.40	
Chad J Greeley		WEDSTER ADDITION TO THE CITY OF	Street Sweening Decidential S				
Title Palace Ave FT LOT 6 BLK 1 Citywide Street Lighting 0.66 39.00 \$25.74	·						09-28-23-13-01/3
St Paul MN 55105-2137	· ·	FT LOT 6 BLK 1					
***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** *Total Assessment: \$47.19 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$47.19 ***Owner Adolf Interest: \$0.00 Payoff Amount: \$47.19 ***Owner Adolf Interest: \$0.00 ***Owner Adolf Interest: \$0.00 ***Owner Amount: \$47.19 ***Owner and Taxpayer ***			, ,		=	\$47.10	
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$47.19 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$47.19 Cole A Vryens WEBSTER ADDITION TO THE CITY OF 1810 Bryant Ave S Apt 6 Minneapolis MN 55403-3151 *1732 PALACE AVE *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$47.19 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 \$09-28-23-13-0176 Alley Sweeping 0.13 40.00 \$5.20 Citywide Street Lighting 0.66 40.00 \$26.40 ****Owner and Taxpayer *** Total Assessment: \$48.40 This Payment: \$48.40 This Payment: \$0.00			*** Owner and Taxpaver ***			φ47.19	
*Pending as of: 8/21/2019 Total Assessment: \$47.19 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$47.19 Cole A Vryens Webster Addition to the citry of 1810 Bryant Ave S Apt 6 Minneapolis MN 55403-3151 *Total Assessment: \$48.40 ***Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$48.40 This Payment: \$0.00			1 ,				
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$47.19 Cole A Vryens Webster Addition to the City of St. PAUL, RAMSEY CO., MINN. LOT 9 BLK 1 Alley Sweeping - Residential Stree			Total	Assessment:	<u>-</u>	\$47.19	
Current Year Interest: \$0.00 Payoff Amount: \$47.19 Cole A Vryens	8		This F	ayment:		\$0.00	
Payoff Amount: S47.19			Curren	nt Year Principal:		\$0.00	
Cole A Vryens 1810 Bryant Ave S Apt 6 Minneapolis MN 55403-3151 *1732 PALACE AVE *Ward: 3 *Pending as of: 8/21/2019 WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 9 BLK 1 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-13-0176 Alley Sweeping 0.13 40.00 \$5.20 Citywide Street Lighting 0.66 40.00 \$26.40 **** Owner and Taxpayer *** Total Assessment: \$48.40 This Payment: \$48.40			Curre	nt Year Interest:		\$0.00	
1810 Bryant Ave S Apt 6 Minneapolis MN 55403-3151 *1732 PALACE AVE *Ward: 3 *Pending as of: 8/21/2019 ST. PAUL, RAMSEY CO., MINN. LOT 9 BLK 1 Alley Sweeping 0.13 40.00 \$5.20 Citywide Street Lighting 0.66 40.00 \$48.40 **** Owner and Taxpayer *** Total Assessment: This Payment: \$48.40 This Payment: \$0.00			Payof	f Amount:		\$47.19	
1810 Bryant Ave S Apt 6 Minneapolis MN 55403-3151 *1732 PALACE AVE *Ward: 3 *Pending as of: 8/21/2019 ST. PAUL, RAMSEY CO., MINN. LOT 9 BLK 1 Alley Sweeping 0.13 40.00 \$5.20 Citywide Street Lighting 0.66 40.00 \$26.40 **** Owner and Taxpayer *** Total Assessment: \$48.40 This Payment: \$0.00							
Minneapolis MN 55403-3151 *1732 PALACE AVE *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: This Payment: *\$48.40 *\$48.40 *\$48.40	-						09-28-23-13-0176
*1732 PALACE AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00							
*Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$48.40 This Payment: \$0.00	_		Citywide Street Lighting	0.00	40.00		
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00			*** O 1T ***			\$48.40	
Total Assessment: \$48.40 This Payment: \$0.00			*** Owner and Taxpayer ***				
This Payment: \$0.00	*Pending as of: 8/21/2019		Total	Assessment:	_	\$48.40	
			This F	ayment:			
Current real Frincipal. \$0.00				nt Year Principal:		\$0.00	
Current Year Interest: \$0.00			Curre	nt Year Interest:		\$0.00	
Payoff Amount: \$48.40			Payof	f Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen J Ames	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0108
Kathleen M Ames	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
1735 Palace Ave	MINN. LOT 22 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2138				_	\$48.40	
*1735 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	WEDCTED A DIVISION TO THE CITY OF	Street Sweeping - Residential Stree				
Kimberly L Bobbitt	WEBSTER ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT	Alley Sweeping - Residential Street	0.42	40.00	\$5.20	09-28-23-13-0177
1738 Palace Ave	10 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2137		City wide Street Eighting	0.00	=		
*1738 PALACE AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019						
		Total Asso	essment:		\$48.40	
		This Payn	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Kate M Baxter-Kauf	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stree				
Michael J Baxter-Kauf	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	07-20-25-15-0107
1739 Palace Ave	MINN. LOT 21 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2138				=	\$48.40	
*1739 PALACE AVE		*** Owner and Taxpayer ***			•	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
-		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Re

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Peter Harris	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-13-0180
Karey Mason	ST. PAUL, RAMSEY CO., MINN. LOT	Alley Sweeping	0.13	40.00	\$5.20	
748 Palace Ave	13 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2137				_	\$48.40	
1748 PALACE AVE		*** Owner and Taxpayer ***				
Ward: 3						
Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Margaret A Santos	GLENWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Str	теє 0.42 0.13	83.50	\$35.07 \$5.07	09-28-23-13-0102
Aaron E Santos	MINN. LOT 16 BLK 4	Alley Sweeping Citywide Street Lighting	0.13	39.00 83.50	\$5.07 \$55.11	
1757 Palace Ave		Citywide Street Lighting	0.00	65.50		
St Paul MN 55105-2138		*** 0 17 ***			\$95.25	
*1757 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A	ssessment:		\$95.25	
*Pending as of: 8/21/2019		This Pa			\$93.23 \$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$95.25	
		1 ayon	amount.		\$73.23	
	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential Str		83.00	\$34.86	09-28-23-13-0117
Danielle Hinrichs	TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 1 BLK 1	Alley Sweeping	0.13	38.00	\$4.94	
1760 Palace Ave	CO., WINNESOTA LOT TELK T	Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55105-2139				_	\$94.58	
*1760 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A			£04.59	
*Pending as of: 8/21/2019			ssessment:		\$94.58	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$94.58	

	1 done improvement rissessment	Ratification Date: Resolution	Resolution #:			8	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Haivy N Thompson	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-13-0120	
Гravis J Thompson	TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 4 BLK 1	Alley Sweeping	0.13	40.00	\$5.20		
1774 Palace Ave	Co., MINNESOTA EOT 4 BEK 1	Citywide Street Lighting	0.66	40.00	\$26.40		
St Paul MN 55105-2139				_	\$48.40		
*1774 PALACE AVE		*** Owner and Taxpayer ***					
*Ward: 3				-			
*Pending as of: 8/21/2019		Total Ass			\$48.40		
		This Payn			\$0.00		
			ear Principal:		\$0.00		
			ear Interest:		\$0.00		
		Payoff An	nount:		\$48.40		
Danielle Alisa Salus	MACALESTER COLLEGE ADDITION	Street Sweeping - Residential Stree					
1776 Palace Ave	TO THE CITY OF ST. PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0121	
St Paul MN 55105	CO., MINNESOTA LOT 5 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40		
*1776 PALACE AVE		,		=	\$48.40		
*Ward: 3		*** Owner and Taxpayer ***			ψ10.10		
*Pending as of: 8/21/2019				_			
C		Total Ass	essment:		\$48.40		
		This Payn	nent:		\$0.00		
		Current Y	ear Principal:		\$0.00		
			ear Interest:		\$0.00		
		Payoff An	nount:		\$48.40		
Joshua A Wodarz	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-13-0124	
Zoe M L Wodarz	CO., MINNESOTA LOT 8 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40		
1788 Palace Ave		City wide Street Lighting	0.00	40.00	-		
St Paul MN 55105-2139 *1788 PALACE AVE		*** Owner and Taxpayer ***			\$48.40		
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:		\$48.40		
		This Payn			\$0.00		
		·	ear Principal:		\$0.00		
		Current Y	ear Interest:		\$0.00		
		Payoff A	nount:		\$48.40		

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM tion #:

Ratification D	Date: Resolut

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Schumacher Holdings Llc	GLENWOOD PARK ADDITION TO	Street Sweeping - Residential Stre	6 0.42	40.00	\$16.80	09-28-23-13-0079
9607 Whistling Valley Trl	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	
Lake Elmo MN 55042-4444	MINN. LOT 23 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1789 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:	_ _	\$48.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	
Jordan C Nicholas	SCHULTZ REAR. VAC ALLEY E OF	Street Sweeping - Residential Stre	<u> </u>	40.00	\$16.80	09-28-23-13-0074
1811 Palace Ave	AND ADJ AND EX W 78 18/100 FT	Alley Sweeping	0.13	40.00	\$5.20	07-20-25-15-0074
St Paul MN 55105-2140	LOTS 1 2 AND LOT 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1811 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$101.10	
*Pending as of: 8/21/2019		Total As	sessment:	-	\$48.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	
Kraig W Stewardson	SCHULTZ REAR. E 40 FT OF W 78	Street Sweeping - Residential Stre	<u> </u>	40.00	\$16.80	09-28-23-13-0073
1815 Palace Ave	18/100 FT OF LOTS 1 2 AND LOT 3	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 10 0070
St Paul MN 55105-2140		Citywide Street Lighting	0.66	40.00	\$26.40	
*1815 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			4.0	
*Pending as of: 8/21/2019						
		Total As	sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	

Ratification Date:

Citywide Street Lighting		Property I	Charge Amts	Quantity	Unit Rate	Item Description	Property Description	Owner or Taxpayer
State Company State St	4-0107	09-28-23-24-	\$27.30	65.00	0.42	Street Sweeping - Residential Stree		Christopher M Haack
St Paul MN 55105-1727 S73.45 S73.								Lisa L Ramos
***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$73.45 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$73.45 Gerald F Wolf 1846 Palace Ave St Paul MN 55105-1726 ***By Balace AVE ***Owner and Taxpayer *** \$73.45 ***Owner and Taxpayer ***				65.00	0.66	Citywide Street Lighting	THOI EUSTI OF EOT 17	1835 Palace Ave
*Ward: 3 *Pending as of: 8/21/2019 *Pending as of: 8/21/2019 Total Assessment: \$73.45 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$73.45 Gerald F Wolf 1846 Palace Ave St Paul MN 55105-1726 *** Owner and Taxpayer *** *** Owner and Taxpayer *** Total Assessment: \$73.45 *** Owner and Taxpayer *** *** Owner and Taxpayer *** *** Owner and Taxpayer ***			\$73.45					
*Pending as of: 8/21/2019 Total Assessment: \$73.45 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$73.45 Gerald F Wolf Garfield PARK Addition to the City of St. PAUL, RAMSEY CO., MINN. E 1/2 OF LOT 10 AND ALL OF St. Paul MN 55105-1726 *1846 PALACE AVE ***Owner and Taxpayer *** Total Assessment: \$73.45 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$73.45 ***Owner and Taxpayer *** ***Owner and Taxpayer *** ***Owner and Taxpayer ***						*** Owner and Taxpayer ***		*1835 PALACE AVE
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$73.45 Gerald F Wolf				-				
Current Year Principal: \$0.00								*Pending as of: 8/21/2019
Current Year Interest: \$0.00						· · · · · · · · · · · · · · · · · · ·		
Payoff Amount: \$73.45 Gerald F Wolf GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., Alley Sweeping - Residential Street Sw								
Gerald F Wolf GARFIELD PARK ADDITION TO THE Street Sweeping - Residential Street 0.42 60.00 \$25.20 09-28-23-24 1846 Palace Ave CITY OF ST. PAUL, RAMSEY CO., MINN. E 1/2 OF LOT 10 AND ALL OF LOT 9 BLK 1 Citywide Street Lighting 0.66 60.00 \$39.60 *1846 PALACE AVE *** Owner and Taxpayer ***								
1846 Palace Ave CITY OF ST. PAUL, RAMSEY CO., MINN. E 1/2 OF LOT 10 AND ALL OF LOT 9 BLK 1 *1846 PALACE AVE *Ward: 3 CITY OF ST. PAUL, RAMSEY CO., MINN. E 1/2 OF LOT 10 AND ALL OF LOT 9 BLK 1 Alley Sweeping 0.13 60.00 \$7.80 Citywide Street Lighting 0.66 60.00 \$39.60 *72.60			\$/3.45		unt:	Payott Ame		
1846 Palace Ave CITY OF ST. PAUL, RAMSEY CO., MINN. E 1/2 OF LOT 10 AND ALL OF LOT 9 BLK 1 *Ward: 3 CITY OF ST. PAUL, RAMSEY CO., MINN. E 1/2 OF LOT 10 AND ALL OF LOT 9 BLK 1 Alley Sweeping 0.13 60.00 \$7.80 Citywide Street Lighting 0.66 60.00 \$39.60 *\$39.60 ***Owner and Taxpayer ***								
St Paul MN 55105-1726	1-0116	09-28-23-24-						
*1846 PALACE AVE *Ward: 3 *** Owner and Taxpayer ***								
*Ward: 3 *** Owner and Taxpayer ***				=	0.00	Citywide Succi Lighting	LOT 9 BLK 1	
Titula 5			\$72.60			*** Over an and Toymovan ***		
*Pending as of: 8/21/2019						Owner and Taxpayer		
Total Assessment: \$72.60			\$72.60	-	ment:	Total Asses		Pending as 01: 8/21/2019
This Payment: \$0.00			\$0.00		nt:	This Payme		
Current Year Principal: \$0.00			\$0.00		r Principal:	Current Yea		
Current Year Interest: \$0.00			\$0.00		r Interest:	Current Yea		
Payoff Amount: \$72.60			\$72.60		unt:	Payoff Ame		
	4-0213	09-28-23-24-						Ann Klauda
1859 Palace Ave RAMSEY COUNTY, MINNESOTA E 75 Alley Sweeping 0.13 75.00 \$9.75								1859 Palace Ave
St Paul MN 55105-1727 LOT 17 Citywide Street Lighting 0.66 /5.00 \$49.50				75.00	0.66	Citywide Street Lighting		
*1859 PALACE AVE			\$90.75					*1859 PALACE AVE
*Ward: 3 *** Owner and Taxpayer ***						*** Owner and Taxpayer ***		
*Pending as of: 8/21/2019 Total Assessment: \$90.75			\$90.75	-	ment:	Total Asses		*Pending as of: 8/21/2019
This Payment: \$0.00								
Current Year Principal: \$0.00								
Current Year Interest: \$0.00			\$0.00		=			
Payoff Amount: \$90.75			\$90.75		unt:	Payoff Ame		

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Susan M Mccullough	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential S	Stree 0.42	50.00	\$21.00	09-28-23-24-0102
David T Mccullough	RAMSEY COUNTY, MINNESOTA W 50	Alley Sweeping	0.13	50.00	\$6.50	02 20 20 21 0102
1865 Palace Ave	FT OF PART S OF ALLEY OF LOT 17	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-1727				_	\$60.50	
*1865 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total .	Assessment:		\$60.50	
		This P	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$60.50	
Robert White	EDNA ADDITION LOT 5	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-24-0097
Jane V Whitlock		Alley Sweeping	0.13	40.00	\$5.20	
1885 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1728				_	\$48.40	
*1885 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			Assessment:		\$48.40	
			Payment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	
Stephen H Mulligan	GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-24-0214
Julia K Mulligan	MINN. LOT 4 BLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1890 Palace Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-1729					\$48.40	
*1890 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$48.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Jason Friedman GARFIELD PARK ADDITION TO THE Street Sweeping - Residential Street GITY OF ST. PAUL, RAMSEY CO., Minneapolis MN 55406-4024 Street Sweeping - Residential Street GITY OF ST. PAUL, RAMSEY CO., MINN. LOT 5 BLK 2 Citywide Street Lighting GARFIELD PARK ADDITION TO THE Street Sweeping - Residential Street GITY OF ST. PAUL, RAMSEY CO., CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 5 BLK 2 Citywide Street Lighting GIANGE SWEEPING GIANGE SWEEP	\$16.80 \$5.20	09-28-23-24-0160
4445 45th Ave S MINN.LOT 5 BLK 2	\$5.20	
Minneapolis MN 55406-4024 Citywide Street Lighting 0.66 40.00		
1	\$26.40	
*1896 PALACE AVE	\$48.40	
*Ward: 3 *** Owner and Taxpayer ***		
*Pending as of: 8/21/2019		
Total Assessment:	\$48.40	
This Payment:	\$0.00	
Current Year Principal:	\$0.00	
Current Year Interest:	\$0.00	
Payoff Amount:	\$48.40	
Taylor P Westerberg BEYER'S SUBDIVISION LOT 5 BLK 2 Street Sweeping - Residential Stree 0.42 41.00	\$17.22	09-28-23-24-0094
1897 Palace Ave Alley Sweeping 0.13 41.00	\$5.33	
St Paul MN 55105-1728 Citywide Street Lighting 0.66 41.00	\$27.06	
*1897 PALACE AVE	\$49.61	
*Ward: 3 *** Owner and Taxpayer ***		
*Pending as of: 8/21/2019	0.40.61	
Total Assessment:	\$49.61 \$0.00	
This Payment: Current Year Principal:	\$0.00 \$0.00	
Current Year Interest:	\$0.00	
Payoff Amount:	\$49.61	
1 ayou Amount.	947.01	
Thomas E Barnes UNDERWOOD'S ACRE LOTS, Street Sweeping - Residential Stree 0.42 45.00	<u>\$18.90</u> — -	
Sarah Barnes RAMSEY COUNTY, MINNESOTA E 45 Alley Sweeping 0.13 45.00	\$5.85	0, 20 20 21 00,2
FT OF PART S OF ALLEY OF LOT 13 1905 Palace Ave Citywide Street Lighting 0.66 45.00	\$29.70	
St Paul MN 55105-1728	\$54.45	
*1905 PALACE AVE *** Owner and Taxpayer *** *Ward: 3		
*Pending as of: 8/21/2019 Total Assessment:	\$54.45	
This Payment:	\$0.00	
Current Year Principal:	\$0.00	
Current Year Interest:	\$0.00	
Payoff Amount:	\$54.45	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 36.00 \$15.12 GARFIELD PARK ADDITION TO THE Jason M Kallsen 09-28-23-24-0163 CITY OF ST. PAUL, RAMSEY CO., 0.13 36.00 Alley Sweeping \$4.68 Angela D Kallsen MINN. LOT 8 BLK 2 36.00 \$23.76 Citywide Street Lighting 0.66 1906 Palace Ave St Paul MN 55105-1729 \$43.56 *** Owner and Taxpayer *** *1906 PALACE AVE *Ward: 3 Total Assessment: \$43.56 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$43.56 41.00 Street Sweeping - Residential Stree 0.42 \$17.22 Scott M Acker UNDERWOOD'S ACRE LOTS, 09-28-23-24-0089 RAMSEY COUNTY, MINNESOTA E 41 Alley Sweeping 0.13 41.00 \$5.33 Lindsey R Acker FT OF PART S OF ALLEY OF LOT 12 Citywide Street Lighting 0.66 41.00 \$27.06 1917 Palace Ave St Paul MN 55105-1728 \$49.61 *** Owner and Taxpayer *** *1917 PALACE AVE *Ward: 3 Total Assessment: \$49.61 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$49.61 Steven C Radow UNDERWOOD'S ACRE LOTS, Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-24-0088 RAMSEY COUNTY, MINNESOTA W 40 0.13 40.00 Alley Sweeping \$5.20 Nancy S Radow FT OF E 81 FT OF PART S OF ALLEY Citywide Street Lighting 0.66 40.00 \$26.40 1919 Palace Ave OF LOT 12 St Paul MN 55105-1728 \$48.40 *** Owner and Taxpayer *** *1919 PALACE AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Barbara A Sherf	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	09-28-23-24-0167
Dale B Sherf	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	0.13	40.00	\$5.20	03 20 20 21 010.
1924 Palace Ave	MINN. LOT 12 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1729				_	\$48.40	
*1924 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
-		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Lisa J Hertzberg	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-24-0086
Zeevi Becker	RAMSEY COUNTY, MINNESOTA E 40 FT OF PART S OF ALLEY OF LOT 11	Alley Sweeping	0.13	40.00	\$5.20	
1929 Palace Ave	THO TAKES OF ALLEET OF LOT TO	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1728				_	\$48.40	
*1929 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Clinton R Racine	GARFIELD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-24-0168
Gloria J Racine	MINN. LOT 13 BLK 2	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20	
1930 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1729					\$48.40	
*1930 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Jennifer L Schneider	UNDERWOOD'S ACRE LOTS,	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-24-0085
1933 Palace Ave	RAMSEY COUNTY, MINNESOTA E 40	Alley Sweeping	0.13	40.00	\$5.20	.,
St Paul MN 55105-1728	FT OF W 85 15/100 FT OF PART S OF ALLEY OF LOT 11	Citywide Street Lighting	0.66	40.00	\$26.40	
*1933 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Cynthia E Vann	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-24-0169
1934 Palace Ave	CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1729		Citywide Street Lighting	0.66	40.00	\$26.40	
*1934 PALACE AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	=	\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:			
Lawrence J Gallatin	GARFIELD PARK ADDITION TO THE	Street Sweeping - Residential Str	reε 0.42	84.00	\$35.28	09-28-23-24-0170
Colleen A Gallatin	CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 15 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1938 Palace Ave	MIINN. EOI 13 BER 2	Citywide Street Lighting	0.66	84.00	\$55.44	
St Paul MN 55105-1729				_	\$95.92	
*1938 PALACE AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$95.92	
-		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Current	. I cai interest.		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas S Vinck	HANKEE'S CLEVELAND VIEW EX W	Street Sweeping - Residential Str	<u>eε</u> 0.42	58.00	\$24.36	09-28-23-23-0063
Jennifer L Vinck	22 FT LOT 6 AND ALL OF LOT 5 BLK	Alley Sweeping	0.13	58.00	\$7.54	
1958 Palace Ave	5	Citywide Street Lighting	0.66	58.00	\$38.28	
St Paul MN 55105-1730				_	\$70.18	
*1958 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$70.18	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$70.18	
Glenn A Kinde	HANKEE'S CLEVELAND VIEW LOT 9	Street Sweeping - Residential Str	ee 0.42	40.00	\$16.80	09-28-23-23-0066
1974 Palace Ave	BLK 5	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1730		Citywide Street Lighting	0.66	40.00	\$26.40	
*1974 PALACE AVE				==	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Raymond P Lauren	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-23-0051
Diane M Lauren	21 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1979 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1731					\$48.40	
*1979 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay			\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James R Kelly	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-23-0068
1982 Palace Ave	11 BLK 5	Alley Sweeping	0.13	40.00	\$5.20	** =* =* ****
St Paul MN 55105-1730		Citywide Street Lighting	0.66	40.00	\$26.40	
*1982 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree				
Rachel A Sibley	18 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0048
1989 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1731		,		=	\$48.40	
*1989 PALACE AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3		1 7				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
3		This Payn	nent:	\$0.00		
		Current Y	ear Principal:		\$0.00	
		Current Y	Current Year Interest: Payoff Amount:			
		Payoff A				
Matthew J Dehne	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree				
Melissa R Dehne	14 BLK 5	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-23-0071
1992 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1730		, , ,		_	\$48.40	
*1992 PALACE AVE		*** Owner and Taxpayer ***			φ 4 0. 4 0	
*Ward: 3		o wher and rampayer				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
1 chang as 01. 0/21/2017		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
					\$0.00	
		Current Y	ear Interest:		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daniel Marcelle	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-23-0047
Caylynn Wallace Marcelle	17 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1993 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1731				_	\$48.40	
*1993 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Andrew T Kopacek	HANKEE'S CLEVELAND VIEW LOT 16 BLK 4	Street Sweeping - Residential Stree	0.42	83.50	\$35.07	09-28-23-23-0046
Celeste M Kopacek	TO BER 4	Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20	
1999 Palace Ave		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-1731					\$95.38	
*1999 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$95.38	
		This Paym	\$0.00			
		Current Ye	\$0.00			
		Current Ye	\$0.00			
		Payoff An	ount:		\$95.38	
	HANKEE'S CLEVELAND VIEW E 1/2	Street Sweeping - Residential Stree		93.50		09-28-23-23-0167
Геіsha Devine	OF LOT 29 AND ALL OF LOT 30 BLK	Alley Sweeping	0.13	60.00	\$7.80	07-20-25-25-0107
2003 Palace Ave	3	Citywide Street Lighting	0.66	93.50	\$61.71	
St Paul MN 55105-1733				_	\$108.78	
*2003 PALACE AVE		*** Owner and Taxpayer ***			Ψ100.70	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$108.78	
2 Junity 45 01. 0/21/2017		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff An			\$108.78	

	Tuble Improvement Assessment I	- ng				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daniel G Zajac	HANKEE'S CLEVELAND VIEW LOT 2	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-23-0169
Catherine A Zajac	BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
2006 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1732				_	\$48.40	
*2006 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total As	sessment:	_	\$48.40	
*Pending as of: 8/21/2019		This Pay			\$0.00	
		· · · · · · · · · · · · · · · · · · ·	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	
		Tayon 2	inount.		ψ10.10	
Eric N Lagerquist	HANKEE'S CLEVELAND VIEW W 1/2	Street Sweeping - Residential Stre	ee 0.42	60.00		09-28-23-23-0171
Jane G Lagerquist	OF LOT 4 AND ALL OF LOT 5 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	0, 20 20 20 01/1
2016 Palace Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-1732				_	\$72.60	
*2016 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3					\$72.60	
*Pending as of: 8/21/2019			Total Assessment:			
		This Pay			\$0.00	
			Year Principal:		\$0.00 \$0.00	
			Current Year Interest:			
		Payoff A	Amount:		\$72.60	
Christopher Leclair	HANKEE'S CLEVELAND VIEW EX E	Street Sweeping - Residential Stre	<u> </u>	54.00		09-28-23-23-0173
Kerry E Leclair	14 FT LOT 7 AND ALL OF LOT 8 BLK 6	Alley Sweeping	0.13	54.00	\$7.02	V7
2030 Palace Ave		Citywide Street Lighting	0.66	54.00	\$35.64	
St Paul MN 55105-1732				_	\$65.34	
*2030 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A	sessment:	=	\$65.34	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$65.34	
		1 ayon A	imount.		ψ UJ.J 7	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jane E Cunningham	HANKEE'S CLEVELAND VIEW LOT 9	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-23-0174
2032 Palace Ave	BLK 6	Alley Sweeping	0.13	40.00	\$5.20	.,
St Paul MN 55105-1732		Citywide Street Lighting	0.66	40.00	\$26.40	
*2032 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	— — — — — — — — — — — — — — — — — — —	Charles Desidential Co		40.00		
Phillip J Yetter	HANKEE'S CLEVELAND VIEW LOT 10 BLK 6	Street Sweeping - Residential St Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-23-0175
Teresa Johnson Yetter		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
2038 Palace Ave St Paul MN 55105-1732		City wide Saleet Lighting	0.00	=		
		*** Owner and Taxpayer ***			\$48.40	
*2038 PALACE AVE *Ward: 3		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total A	Assessment:	-	\$48.40	
1 chang as 61. 6/21/2019			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Janelle J Swanson	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Residential St		40.00	\$16.80	09-28-23-23-0176
2042 Palace Ave	11 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1732		Citywide Street Lighting	0.66	40.00	\$26.40	
*2042 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			nyment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
1936 Building Llc	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/Art	1.02	57.00	\$58.14	09-28-23-21-0053
C/O Neil Oxendale	PAUL, MINN. W 10 FT OF LOT 19 AND	Street Sweeping - Residential Stre	0.42	125.00	\$52.50	** == == ****
4188 Edmund Blvd	ALL OF LOT 20 BLK 1	Alley Sweeping	0.13	57.00	\$7.41	
Minneapolis MN 55406-3646		Citywide Street Lighting	0.66	182.00	\$120.12	
*244 PRIOR AVE S				_	\$238.17	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
Tollang as off 0/21/2019		Total Ass	essment:	_	\$238.17	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$238.17	
Church Of Nativity Of Our Lord	WESSINGER'S GARDEN LOTS	Street Sweeping - Residential Stre		1,523.00	\$639.66	09-28-23-21-0191
1900 Wellesley Ave	RAMSEY CO., MINN. EX S 30 FT FOR AVE W 1/2 OF LOT 2 AND ALL OF LOT	Citywide Street Lighting	0.66	1,523.00	\$1,005.18	
St Paul MN 55105-1617	3			_	\$1,644.84	
*324 PRIOR AVE S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$1,644.84	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$1,644.84	
Stuart A Fagrelius	SMITH'S FORD PARK EX S 10 FT LOT 5	Street Sweeping - Residential Stre	0.42	100.00		09-28-23-33-0028
Rosemary G Fagrelius	AND ALL OF LOT 4 BLK 1	Citywide Street Lighting	0.66	100.00	\$66.00	07-20-23-33-0020
665 Prior Ave S		,		=	\$108.00	
St Paul MN 55116-1226		*** Owner and Taxpayer ***			\$100.00	
*665 PRIOR AVE S		owner and ranpayer				
*Ward: 3		Total Ass	eccment:	_	\$108.00	
*Pending as of: 8/21/2019		This Pays			\$0.00	
1 chaing as 01. 6/21/2019		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
					\$0.00 \$108.00	
		Payoff A	mount;		\$100.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul D Schulz	SMITH'S FORD PARK S 10 FT OF LOT 5	Street Sweeping - Residential S	tree 0.42	90.00	\$37.80	09-28-23-33-0029
Julie P Schulz	AND EX S 30 FT LOT 7 AND ALL OF LOT 6 BLK 1	Citywide Street Lighting	0.66	90.00	\$59.40	
675 Prior Ave S				_	\$97.20	
St Paul MN 55116-1226		*** Owner and Taxpayer ***				
*675 PRIOR AVE S				_		
*Ward: 3			Assessment:		\$97.20	
*Pending as of: 8/21/2019			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			it Year Interest:		\$0.00	
		Payon	Amount:		\$97.20	
	MISSABE ADDITION VAC ALLEY					09-28-23-34-0134
686 Prior Ave S	ACCRUING & S 1/2 OF LOT 10 & EX E 5	Citywide Street Lighting	0.66	88.00	\$58.08	09-28-23-34-0134
St Paul MN 55116-1225	FT LOT 9 BLK 2	,	****	_	\$95.04	
*686 PRIOR AVE S		*** Owner and Taxpayer ***			\$93.04	
*Ward: 3		owner und ranpayer				
*Pending as of: 8/21/2019		Total A	Assessment:	_	\$95.04	
5		This P	This Payment: Current Year Principal:			
		Curren	t Year Interest:		\$0.00	
		Payofi	Amount:		\$95.04	
	BENEDICTINE PLAT LOT					
Professional Real Estate Management Llc	BENEDICTINE PLATTEOT 1	Street Sweeping - Commercial/		53.00	\$54.06	09-28-23-41-0003
2476 Haverton Rd		Alley Sweeping Citywide Street Lighting	0.13 0.66	53.00 53.00	\$6.89 \$34.98	
Mendota Heights MN 55120-1730		Snelling/Randolph Area ASL	1.12	53.12	\$59.49	
*1604 RANDOLPH AVE		Shehing randopii riica risz	1.12	=	\$155.42	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$155.42	
		Total A	Assessment:	=	\$155.42	
		This P	ayment:		\$0.00	
		Currer	t Year Principal:		\$0.00	
		Currer	t Year Interest:		\$0.00	
		Payofi	Amount:		\$155.42	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Professional R E Mgmt Llc	BENEDICTINE PLAT 1 LOT 2	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-41-0004
C/O Daniel A Nedoroski Jr		Alley Sweeping	0.13	40.00	\$5.20	
2476 Haverton Rd		Citywide Street Lighting	0.66	40.00	\$26.40	
Mendota Heights MN 55120-1730		Snelling/Randolph Area ASL	1.12	40.00	\$44.80	
*1608 RANDOLPH AVE				_	\$117.20	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$117.20	
		This Paymo	ent:		\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am	ount:		\$117.20	
Emk Holding Co Llc	BENEDICTINE PLAT 1 LOT 3	Street Sweeping - Commercial/Art		40.00	\$40.80	09-28-23-41-0005
80 Virginia St		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 0000
St Paul MN 55102-2114		Citywide Street Lighting	0.66	40.00	\$26.40	
*1610 RANDOLPH AVE		Snelling/Randolph Area ASL	1.12	40.00	\$44.80	
*Ward: 3				_	\$117.20	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses	ssment:	_	\$117.20	
		This Paymo	ent:	\$0.00		
		Current Year Principal:			\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$117.20	
Nancy L Cameron	ELMWOOD LOT 11 BLK 8	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-14-0171
4459 Snail Lake Blvd		Alley Sweeping	0.13	40.00	\$5.20	
Shoreview MN 55126-1919		Citywide Street Lighting	0.66	40.00	\$26.40	
*1615 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$72.40	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Anthony R Rainelli	ELMWOOD LOT 12 BLK 8	Street Sweeping - Commercial/		40.00	\$40.80	09-28-23-14-0172
Richard A Rainelli		Alley Sweeping	0.13	40.00	\$5.20	
1744 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2026				_	\$72.40	
*1619 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			Assessment:		\$72.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$72.40	
		Street Services Communication				
Daytoncroix Llc	BENEDICTINE PLAT 1 LOTS 4 THRU LOT 8	Street Sweeping - Commercial/ Alley Sweeping	0.13	200.00	\$204.00 \$26.00	09-28-23-41-0006
14229 St Croix Tr N		Citywide Street Lighting	0.66	200.00	\$132.00	
Stillwater MN 55082-9587		City wide Street Eighting	0.00	=	\$362.00	
*1620 RANDOLPH AVE		*** Owner and Taxpayer ***			\$362.00	
*Ward: 3 *Pending as of: 8/21/2019		owner and ranpayer				
rending as of. 6/21/2019		Total	Assessment:	\$362.00		
		This Payment:			\$0.00	
			Current Year Principal: Current Year Interest:		\$0.00	
					\$0.00	
		Payof	f Amount:		\$362.00	
Daytoncroix Llc	BENEDICTINE PLAT 1 SUBJ TO ST LOT	Street Sweeping - Commercial/		40.00	\$40.80	09-28-23-41-0007
14229 St Croix Tr N	9	Street Sweeping - Residential S		126.00	\$52.92	
Stillwater MN 55082-9587		Alley Sweeping	0.13	40.00	\$5.20	
*1636 RANDOLPH AVE		Citywide Street Lighting	0.66	166.00	\$109.56	
*Ward: 3					\$208.48	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total .	Assessment:		\$208.48	
		This P	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Currer	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$208.48	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** BENEDICTINE PLAT 1 W 20 FT OF Street Sweeping - Commercial/Art 1.02 60.00 \$61.20 Robert J Herron Tr 09-28-23-41-0095 LOT 11 AND ALL OF LOT 12 0.13 60.00 Alley Sweeping \$7.80 1646 Randolph Av Citywide Street Lighting 0.66 60.00 \$39.60 St Paul MN 55105-2151 *1646 RANDOLPH AVE \$108.60 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$108.60 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$108.60 BENEDICTINE PLAT 1 LOT 13 1.02 40.00 Street Sweeping - Commercial/Art \$40.80 Rebecca Lee Walter Place 09-28-23-41-0096 Alley Sweeping 0.13 40.00 \$5.20 187 Hurley St E Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55118-1525 \$72.40 *1652 RANDOLPH AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.40 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$72.40 Anthony A Blake REGISTERED LAND SURVEY 19 Street Sweeping - Commercial/Art 1.02 40.00 \$40.80 09-28-23-14-0143 TRACT A 0.13 1.00 \$0.13 Alley Sweeping Holly K Blake Citywide Street Lighting 0.66 40.00 \$26.40 1657 Randolph Ave St Paul MN 55105 \$67.33 *** Owner and Taxpayer *** *1657 RANDOLPH AVE *Ward: 3 Total Assessment: \$67.33 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$67.33 **Payoff Amount:**

Street Sweeping - Commercial/Art	4-0145
Alley Sweeping	
***661 RANDOLPH AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$6.88 Shafa Wala REGISTERED LAND SURVEY 19 Payoff Amount: \$6.88 Shafa Wala REGISTERED LAND SURVEY 19 Payoff Amount: \$6.88 Shafa Wala REGISTERED LAND SURVEY 19 Payoff Amount: \$6.88 Shafa Wala REGISTERED LAND SURVEY 19 Payoff Amount: \$6.88 Shafa Wala REGISTERED LAND SURVEY 19 Payoff Amount: \$6.88 This Payment: \$6.88 *** Owner and Taxpayer *** *** O	
*** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88 Shafa Wala REGISTERED LAND SURVEY 19 Alley Sweeping - Commercial/Art 1.02 1.00 \$1.02 09-28-23-14 Po Box 1032 TRACT D Alley Sweeping 0.13 40.00 \$5.20 San Lorenzo CA 94580-5006 Citywide Street Lighting 0.66 1.00 \$0.66 *1663 RANDOLPH AVE *Ward: 3 *Pending as of: 8/21/2019 *** Owner and Taxpayer *** Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
*Pending as of: 8/21/2019 *Pending as of: 8/21/2019 Total Assessment: \$6.88 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88 Shafa Wala Po Box 1032 TRACT D Alley Sweeping - Commercial/Art 1.02 1.00 \$1.02 \$09-28-23-14 Alley Sweeping 0.13 40.00 \$5.20 San Lorenzo CA 94580-5006 *1663 RANDOLPH AVE *Ward: 3 *Pending as of: 8/21/2019 **Owner and Taxpayer *** Total Assessment: \$6.88 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88 Shafa Wala	
This Payment: S0.00 Current Year Principal: S0.00 Current Year Interest: S0.00 Current Year Interest: S0.00 Payoff Amount: S6.88 Shafa Wala	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: S6.88	
Shafa Wala	
Po Box 1032 TRACT D Alley Sweeping 0.13 40.00 \$5.20 San Lorenzo CA 94580-5006 Citywide Street Lighting 0.66 1.00 \$0.66	
TRACT D Alley Sweeping 0.13 40.00 \$5.20	- — — —
San Lorenzo CA 94580-5006 *1663 RANDOLPH AVE *** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	4-0146
*1663 RANDOLPH AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
***Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
*Pending as of: 8/21/2019 Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
Total Assessment: \$6.88 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$6.88	
Current Year Interest: \$0.00 Payoff Amount: \$6.88	
Payoff Amount: \$6.88	
· 	
Svetlana Shavzin REGISTERED LAND SURVEY 19 Street Sweeping - Commercial/Art 1.02 1.00 \$1.02 00.30.32.14	
1665 Randolph Ave TRACT E Alley Sweeping 0.13 1.00 \$0.13	4-014/
St Paul MN 55105-2152 Citywide Street Lighting 0.66 1.00 \$0.66	
*1665 RANDOLPH AVE	
*Ward: 3 *** Owner and Taxpayer ***	
*Pending as of: 8/21/2019	
Total Assessment: \$1.81	
This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$1.81	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael R Rowlee	ELMWOOD LOT 12 BLK 7	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-14-0151
Julie M Rowlee		Alley Sweeping	0.13	40.00	\$5.20	
1675 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2152					\$72.40	
*1675 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
		Payoff An	ear Interest:		\$0.00 \$72.40	
		гауоп Ап	iount:		\$72.40	
Mark Wingerd	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Commercial/Art		40.00		09-28-23-41-0101
708 Cleveland Ave Unit 200	MINN. LOT 3 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	07-20-23-41-0101
New Brighton MN 55112-3510		Citywide Street Lighting	0.66	40.00	\$26.40	
*1676 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment:			\$72.40	
		This Paym	This Payment: Current Year Principal: Current Year Interest:			
		Payoff An	ount:		\$72.40	
	ELMWOOD LOT 13 BLK 7	Street Sweeping - Commercial/Art		40.00		
1975 Sheridan Ave		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-14-0152
St Paul MN 55116-2611		Citywide Street Lighting	0.66	40.00	\$26.40	
*1679 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ/2.10	
*Pending as of: 8/21/2019		• •				
2		Total Asse	ssment:		\$72.40	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$72.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	ELMWOOD LOT 15 BLK 7	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-14-0154
Martin A Schooley		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 010 1
1687 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2152				_	\$72.40	
*1687 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$72.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	iount:		\$72.40	
J Lyn Properties Llc	KIPP'S COLLEGE PARK, ST. PAUL, MINN. LOT 6 BLK 1	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	09-28-23-41-0104
Co John C Newman Jr	MINN. EOT OBER 1	Alley Sweeping	0.13	45.00	\$5.85	
1031 South Howell St		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-2501					\$81.45	
*1690 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 4	001.45			
*Pending as of: 8/21/2019		Total Asse	\$81.45			
		This Paym	\$0.00			
		Current Year Principal: Current Year Interest:			\$0.00 \$0.00	
					\$0.00 \$81.45	
		Payoff An	iount.		301.43	
Kristen Bergland Llc	ELMWOOD SUBJ TO ESMTS LOT 16	Street Sweeping - Commercial/Art		40.00		09-28-23-14-0155
2519 37th Ave S	BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
Minneapolis MN 55406-1745		Citywide Street Lighting	0.66	40.00	\$26.40	
*1691 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$72.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
J Lyn Properties Llc	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Commercial/Art	1.02	50.00	\$51.00	09-28-23-41-0105
Co John C Newman Jr	MINN. LOT 7 BLK 1	Street Sweeping - Residential Stree	0.42	126.00	\$52.92	
1031 South Howell St		Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-2501		Citywide Street Lighting	0.66	176.00	\$116.16	
*1692 RANDOLPH AVE					\$226.58	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$226.58	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$226.58	
Pasco Llc	ELMWOOD LOT 17 BLK 7	Street Sweeping - Commercial/Art	1.02	25.00	\$25.50	09-28-23-14-0156
1729 Juliet Ave		Street Sweeping - Residential Stree	0.42	61.00	\$25.62	
St Paul MN 55105-2122		Alley Sweeping	0.13	50.00	\$6.50	
*1695 RANDOLPH AVE		Citywide Street Lighting	0.66	86.00	\$56.76	
*Ward: 3					\$114.38	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	\$114.38		
		This Paym	ent:	\$0.00		
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$114.38	
Heidi L Klima	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-13-0223
1717 Randolph Ave	ST. PAUL, RAMSEY CO., MINN. EX AVE LOT 26 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2154	AVE EOT 20 BER 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1717 RANDOLPH AVE				_	\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 Chaing as 01. 0/21/2017		Total Asse	ssment:		\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elizabeth E Gilles	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Commercial/	Art 1.02	40.00	\$40.80	09-28-23-13-0220
Rynn Burke	ST. PAUL, RAMSEY CO., MINN. EX	Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 -0 -0
1729 Randolph Ave	AVE LOT 23 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2154				_	\$72.40	
*1729 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$72.40	
		This Pa	nyment:		\$0.00	
			t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$72.40	
Richard H Distad	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Commercial/A		40.00	\$40.80	09-28-23-13-0219
Linda S Distad	ST. PAUL, RAMSEY CO., MINN. EX AVE LOT 22 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1830 Eagle Ridge Dr Apt 3001		Citywide Street Lighting	0.66	40.00	\$26.40	
Mendota Heights MN 55118-4202					\$72.40	
*1735 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$72.40	
			nyment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$72.40	
	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Commercial/A	Art 1.02			
1747 Randolph Ave	ST. PAUL, RAMSEY CO., MINN. EX	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-13-0216
St Paul MN 55105-2154	AVE LOT 19 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1747 RANDOLPH AVE		,		_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			\$72.40	
*Pending as of: 8/21/2019		1 7				
1 ording as of. 0/21/2017		Total A	Assessment:	-	\$72.40	
			nyment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$72.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Cassville Properties Llc	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Commercial	/Art 1.02	40.00	\$40.80	09-28-23-13-0215
711 Sumner St	ST. PAUL, RAMSEY CO., MINN. EX AVE LOT 18 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1332	AVEEDT TOBER 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1749 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:		\$72.40	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			ff Amount:		\$72.40	
Larry D Kuenster	WEBSTER ADDITION TO THE CITY OF	Street Sweeping - Commercial	/Art 1.02	40.00		
Tamara H Kuenster	ST. PAUL, RAMSEY CO., MINN. EX	Alley Sweeping	0.13	40.00	\$5.20	07-20-25-15-0214
711 Sumner St	AVE LOT 17 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1332				_	\$72.40	
*1753 RANDOLPH AVE		*** Owner and Taxpayer ***			Ψ72.10	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total	Total Assessment:			
		This	This Payment: Current Year Principal: Current Year Interest:		\$0.00	
		Curre			\$0.00	
		Curre			\$0.00	
		Payo	ff Amount:		\$72.40	
	WAGALESTER COLLEGE ARRESTS	Stant Samuel Communication		— — — —		
Gwynne L Evans	MACALESTER COLLEGE ADDITION TO THE CITY OF ST. PAUL, RAMSEY	Street Sweeping - Commercial Street Sweeping - Residential		78.00 119.00	\$79.56 \$49.98	09-28-23-13-0167
1405 Summit Ave	CO., MINNESOTA LOTS 29 AND LOT	Alley Sweeping	0.13	78.00	\$10.14	
St Paul MN 55105-2240	30 BLK 2	Citywide Street Lighting	0.66	197.00	\$130.02	
*1765 RANDOLPH AVE		,		_	\$269.70	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$209.70	
		Total	Assessment:	-	\$269.70	
		This	Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$269.70	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James T Haney	MACALESTER COLLEGE ADDITION	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-13-0165
Paul P Haney	TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 27 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1773 Randolph Ave	ee,	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2157					\$72.40	
*1773 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Asse	ecment.	=	\$72.40	
*Pending as of: 8/21/2019		This Paym			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	
Thomas N Sauro	MACALESTER COLLEGE ADDITION	Street Sweeping - Commercial/Art		40.00	\$40.80	09-28-23-13-0160
780 Heinel Dr	TO THE CITY OF ST. PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 10 0100
Roseville MN 55113-2151	CO., MINNESOTA LOT 22 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1793 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$72.40	
		This Paym	ent:		\$0.00	
		Current Ye	Current Year Principal:		\$0.00	
		Current Year Interest:			\$0.00	
		Payoff An	nount:		\$72.40	
	VIDES MACALECTED DADY ST	Street Sweeping - Commercial/Art				
Kvasnik Properties I Llc 2190 Marshall Ave	KIPP'S MACALESTER PARK, ST. PAUL, MINN. LOT 16 BLK 1	Street Sweeping - Commercial/Art Street Sweeping - Residential Street	0.42	122.00	\$40.80 \$51.24	09-28-23-24-0148
2190 Marshall Ave St Paul MN 55104-5758		Alley Sweeping	0.13	40.00	\$5.20	
*1877 RANDOLPH AVE		Citywide Street Lighting	0.66	162.00	\$106.92	
*Ward: 3				=	\$204.16	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	essment:	=	\$204.16	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An				

Ratification Date: Res

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David Laliberte	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-24-0210
1320 W Lake St Apt 511	PAUL, MINN. LOT 28 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
Minneapolis MN 55408-4987		Citywide Street Lighting	0.66	40.00	\$26.40	
*1891 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	coment:		\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$72.40	
Michael D Franta	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-24-0209
Polly A Franta	PAUL, MINN. LOT 27 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 -0 0-07
1895 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1746				=	\$72.40	
*1895 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$72.40 \$0.00	
			This Payment: Current Year Principal:			
			ear Interest:		\$0.00	
		Payoff An	iount:		\$72.40	
	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Art		40.00		09-28-23-24-0207
Heidi H Johng	PAUL, MINN. LOT 25 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	03 20 20 21 0207
1903 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1746				_	\$72.40	
*1903 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$72.40	
		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00	
					\$0.00 \$72.40	
		Payoff An	ivunt:		\$72.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
ames E Weatherly Iii	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-24-0206
Anne K Weatherly	PAUL, MINN. LOT 24 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1907 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1746				_	\$72.40	
*1907 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$72.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$72.40	
	KIPP'S MACALESTER PARK, ST.	Street Sweeping - Commercial/Art				
	PAUL, MINN. E 10 FT OF LOT 22 AND	Alley Sweeping	0.13	45.00	\$5.85	09-28-23-24-0205
1911 Randolph Ave	ALL OF LOT 23 BLK 2	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55105-1746		City wide Sureet Eighting	0.00	=		
*1911 RANDOLPH AVE *Ward: 3		*** Owner and Taxpayer ***			\$81.45	
*Pending as of: 8/21/2019		Total Assessment:			\$81.45	
		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:		\$0.00		
		Payoff An	ount:		\$81.45	
						. — — — — —
A Z M Shamsul Alam	KIPP'S MACALESTER PARK, ST. PAUL, MINN. W 15 FT OF LOT 19 AND	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	09-28-23-24-0201
1929 Randolph Ave	E 30 FT OF LOT 18 BLK 2	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-1746		Citywide Street Lighting	0.66	45.00	\$29.70	
*1929 RANDOLPH AVE					\$81.45	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 onding 45 01. 0/21/2017		Total Asse		=	\$81.45	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$81.45	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael P Kowski	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Commercial/Art	1.02	20.00	\$20.40	09-28-23-23-0114
Shelley D Jensen	30 BLK 8	Street Sweeping - Residential Stree	0.42	61.00	\$25.62	
1943 Randolph Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1749		Citywide Street Lighting	0.66	81.00	\$53.46	
*1943 RANDOLPH AVE					\$104.68	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asses			\$104.68	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$104.68	
	-					-
Dorcas K Macauley	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-23-0112
1951 Randolph Ave	28 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1749		Citywide Street Lighting	0.66	40.00	\$26.40	
*1951 RANDOLPH AVE					\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
rending as or. of 21/2017		Total Asse	ssment:	-	\$72.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$72.40	
John G Osatluk	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-23-0110
Rhonda R Osatluk	26 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1959 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1749				_	\$72.40	
*1959 RANDOLPH AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	=	\$72.40	
-		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$72.40	

Ratification Date: Res

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dane Erickson	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Commercial/Ar	1.02	40.00	\$40.80	09-28-23-23-0109
Kelsey Erickson	25 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1963 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1749				_	\$72.40	
*1963 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
			- — — — -			
Kaye O Roskaft	HANKEE'S CLEVELAND VIEW LOT 22 BLK 8	Street Sweeping - Commercial/Ar		40.00	\$40.80	09-28-23-23-0106
1973 Randolph Ave	22 BLK 6	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-1749		Citywide Street Lighting	0.00	40.00		
*1973 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$72.40	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
			- — — — -			
Christine A Dugan	HANKEE'S CLEVELAND VIEW LOT 21 BLK 8	Street Sweeping - Commercial/Ar		40.00	\$40.80	09-28-23-23-0105
Eva P Tavarez	ZI BLK 6	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
1979 Randolph Ave		Citywide Street Lighting	0.66	40.00		
St Paul MN 55105-1749					\$72.40	
*1977 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$72.40	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Roland M Trost	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-23-0102
Patricia A Trost	18 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1989 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1749				_	\$72.40	
*1989 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$72.40	
		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	
						. — — — — — -
Tamara E Earley	HANKEE'S CLEVELAND VIEW LOT 28 BLK 7	Street Sweeping - Commercial/Art	1.02	40.00 40.00	\$40.80 \$5.20	09-28-23-23-0217
2011 Randolph Ave	20 3211 /	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00	\$3.20 \$26.40	
St Paul MN 55105-1751		Citywide Street Lighting	0.00	40.00		
*2011 RANDOLPH AVE		*** O 1T ***			\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***		_		
5		Total Assessment:			\$72.40	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Amount:			\$72.40	
		-				. — — — — — -
Erica R Boulay Ali	HANKEE'S CLEVELAND VIEW LOT	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-23-0216
Haseeb Ali	27 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
2015 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1751					\$72.40	
*2015 RANDOLPH AVE *Ward: 3		*** Owner and Taxpayer ***		_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$72.40	
-		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joseph R Travers	HANKEE'S CLEVELAND VIEW EX W	Street Sweeping - Commercial/A	rt 1.02	53.00	\$54.06	09-28-23-23-0212
2033 Randolph Ave	15 FT LOT 22 AND W 28 32/100 FT OF	Alley Sweeping	0.13	53.00	\$6.89	02 20 20 20 0212
St Paul MN 55105-1751	LOT 23 BLK 7	Citywide Street Lighting	0.66	53.00	\$34.98	
*2033 RANDOLPH AVE				_	\$95.93	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			ssessment:		\$95.93	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$95.93	
Michael J Salvatore	GIBSON'S ADDITION S 60 FT OF PART E OF ROY ST AND W OF ALLEY OF	Street Sweeping - Residential Str		60.00	\$25.20	09-28-23-44-0070
664 Roy St S	LOT 1	Alley Sweeping Citywide Street Lighting	0.13 0.66	60.00 60.00	\$7.80 \$39.60	
St Paul MN 55116-1424		Citywide Street Lighting	0.00	60.00		
*664 ROY ST S		*** 0 1.77 ***			\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$72.60	
		This Pay	This Payment: Current Year Principal:			
		Current				
		Current	Year Interest:		\$0.00	
		Payoff A	Payoff Amount:			
Catherine J Young Ryan	GERARD'S REARRANGEMENT LOT	Street Sweeping - Residential Street	ο.42	60.00	\$25.20	09-28-23-44-0069
672 S Roy St	11 BLK 1	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55116-1424		Citywide Street Lighting	0.66	60.00	\$39.60	
*672 ROY ST S				_	\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$72.60	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.60	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Carl R Jaeschke	GERARD'S REARRANGEMENT N 1/2	Street Sweeping - Residential Str	ree 0.42	50.00	\$21.00	09-28-23-44-0065
Kelly A Riordan Jaeschke	OF LOT 7 BLK 1	Alley Sweeping	0.13	50.00	\$6.50	
698 Roy St S		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1424				_	\$60.50	
*698 ROY ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$60.50	
Colleen F Groezinger	GERARD'S REARRANGEMENT LOT 6	Street Sweeping - Residential Str	rec 0.42			
705 Roy St S	BLK 2	Citywide Street Lighting	0.66	60.00	\$39.60	09-28-23-44-0079
St Paul MN 55116-1425		,	****	_		
*705 ROY ST S		*** Owner and Taxpayer ***			\$64.80	
*Ward: 3		owner and Taxpayor				
*Pending as of: 8/21/2019		Total A	Total Assessment:			
8		This Payment:			\$0.00	
		-	Current Year Principal:			
		Current Year Interest:			\$0.00	
		Payoff A	Amount:	\$64.80		
Chandler Sentell	MATTOCK PARK LOT 22 BLK 9	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-44-0050
1597 Scheffer Ave		Alley Sweeping Citywide Street Lighting	0.13	83.50	\$10.86	
St Paul MN 55116-1427		Citywide Street Lighting	0.66	40.00	\$26.40	
*1597 SCHEFFER AVE					\$54.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$54.06	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Pavoff A	Amount:		\$54.06	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David C Lindsey	MATTOCK PARK LOT 21 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0049
Barbara E Lindsey		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 00 15
1601 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1427				_	\$48.40	
*1601 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Kurt E Rotter	MATTOCK PARK LOT 20 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0048
1605 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1427		Citywide Street Lighting	0.66	40.00	\$26.40	
*1605 SCHEFFER AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Assessment:			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	MATTOCK PARK LOT 18 BLK 9	Street Sweeping - Residential Street				
Spouse		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-44-0040
1611 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
				=	\$48.40	
		*** Owner and Taxpayer ***			Ψτο.τυ	
		- · · · · · · · · · · · · · · · · · · ·				
		Total Asse	ssment:		\$48.40	
1 chung as 01. 0/21/2017						
		-				
		Current Ye	=		\$0.00	
					\$48.40	
St Paul MN 55116-1427 *1611 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer *** Total Asse This Paym Current Ye	ssment: ent: ar Principal: ar Interest:	=	\$48.40 \$48.40 \$0.00 \$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Patrick D Meagher	MATTOCK PARK LOT 17 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0045
Carol E Berge		Alley Sweeping	0.13	40.00	\$5.20	.,
1615 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1427				_	\$48.40	
*1615 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
		- – – – – – –				
Daniel J Zutter	MATTOCK PARK LOT 16 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-44-0044
Mary F Vetter		Alley Sweeping	0.13	40.00	\$5.20	
1619 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1427					\$48.40	
*1619 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3					**	
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$48.40	
		rayon An	iount.		340.40	
Cindy Sherman	MATTOCK PARK LOT 15 BLK 9	Street Sweeping - Residential Stree				09-28-23-44-0043
1625 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 00 10
St Paul MN 55116-1427		Citywide Street Lighting	0.66	40.00	\$26.40	
*1625 SCHEFFER AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
C		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David E Hosford	GIBSON'S ADDITION E 55 FT OF W	Street Sweeping - Residential Str		55.00	\$23.10	09-28-23-44-0091
1628 Scheffer Ave	110 FT OF LOT 10	Citywide Street Lighting	0.66	55.00	\$36.30	
St Paul MN 55116-1448				=	\$59.40	
*1628 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$59.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$59.40	
Shamas Kiani	MATTOCK PARK LOT 12 BLK 9	Street Sweeping - Residential Street	ee 0.42	83.50	\$35.07	09-28-23-44-0040
13575 Hillary Path		Alley Sweeping	0.13	40.00	\$5.20	
Hastings MN 55033-9574		Citywide Street Lighting	0.66	83.50	\$55.11	
*1635 SCHEFFER AVE				_	\$95.38	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$95.38	
		This Pay	ment:		\$0.00	
		Current	Year Principal:	\$0.00		
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$95.38	
		Street Services - Decidential Services	<u> </u>	- 87.50		
Ann Lockwood	GIBSON'S ADDITION W 55 FT OF LOT 10	Street Sweeping - Residential Str Citywide Street Lighting	0.42	87.50 87.50	\$50.75 \$57.75	09-28-23-44-0092
Jeremy Gottlieb		Citywide Street Lighting	0.00	67.30		
1636 Scheffer Ave		***			\$94.50	
St Paul MN 55116-1448		*** Owner and Taxpayer ***				
*1636 SCHEFFER AVE				_	004.50	
*Ward: 3			ssessment:		\$94.50	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$94.50	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** MATTOCK PARK E 54 25/100 FT OF Street Sweeping - Residential Stree 0.42 90.50 \$38.01 Quality Homes Renewed Inc 09-28-23-44-0148 LOT 28 BLK 10 0.13 54.00 Alley Sweeping \$7.02 24800 Wiltsey Ln Citywide Street Lighting 0.66 90.50 \$59.73 Excelsior MN 55331-8963 \$104.76 *1641 SCHEFFER AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$104.76 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$104.76 43.00 OTTO AVENUE ADDITION LOT 3 Street Sweeping - Residential Stree 0.42 \$18.06 Benjamin Alec Hecker 09-28-23-44-0151 BLK 1 Alley Sweeping 0.13 43.00 \$5.59 Rachel C Robinson Citywide Street Lighting 0.66 43.00 \$28.38 1648 Scheffer Ave St Paul MN 55116-1428 \$52.03 *** Owner and Taxpayer *** *1648 SCHEFFER AVE *Ward: 3 Total Assessment: \$52.03 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$52.03 MATTOCK PARK LOT 24 BLK 10 Neil M Lee Street Sweeping - Residential Stree 0.42 40.00 \$16.80 09-28-23-44-0144 0.13 40.00 \$5.20 Alley Sweeping Elizabeth Vega Lee Citywide Street Lighting 0.66 40.00 \$26.40 1659 Scheffer Ave St Paul MN 55116-1429 \$48.40 *** Owner and Taxpayer *** *1659 SCHEFFER AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00

Current Year Interest:

Payoff Amount:

\$0.00

\$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	GALARNEAULT'S ADDITION LOT 1	Street Sweeping - Residential Stre	0.42	41.00	\$17.22	09-28-23-44-0156
670 Scheffer Ave	BLK 1	Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55116-1428		Citywide Street Lighting	0.66	41.00	\$27.06	
*1670 SCHEFFER AVE				_	\$49.61	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T 1 4			040.61	
		Total Ass			\$49.61	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$49.61	
	MATTOCK PARK LOT 21 BLK 10	Street Sweeping - Residential Stree				09-28-23-44-0141
Laura A Martell		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-44-0141
1671 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1429		,		_	\$48.40	
*1671 SCHEFFER AVE		*** Owner and Taxpayer ***			\$40.4U	
*Ward: 3		- with the company of				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Amount:			\$48.40	
Jeffrey J Touhey	MATTOCK PARK LOT 19 BLK 10	Street Sweeping - Residential Stre				
679 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-44-0139
St Paul MN 55116-1429		Citywide Street Lighting	0.66	40.00	\$26.40	
		City mae Succe Eighning	0.00	=		
*1679 SCHEFFER AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
Pending as of: 8/21/2019		Owner and Taxpayor				
1 manig as on 0/21/201/		Total Assessment:			\$3.00	
		This Payı	This Payment:			
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$3.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	MATTOCK PARK LOT 17 BLK 10	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	09-28-23-44-0137
1689 Scheffer Ave		Alley Sweeping	0.13	44.00	\$5.72	***************************************
St Paul MN 55116-1429		Citywide Street Lighting	0.66	44.00	\$29.04	
*1689 SCHEFFER AVE				_	\$53.24	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$53.24	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$53.24	
Andrew S Busteed	PLUM ORCHARD LOT 27 BLK 4	Street Sweeping - Residential Stree				
1709 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-43-0051
St Paul MN 55116-1455		Citywide Street Lighting	0.66	40.00	\$26.40	
*1709 SCHEFFER AVE		, ,		=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			ψ+0.+0	
*Pending as of: 8/21/2019				=======================================		
		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	\$48.40			
Patrice M Vick	PLUM ORCHARD LOT 25 BLK 4	Street Sweeping - Residential Stree		40.00		09-28-23-43-0049
1717 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	09-20-23-43-0049
St Paul MN 55116-1455		Citywide Street Lighting	0.66	40.00	\$26.40	
*1717 SCHEFFER AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			ψτο.το	
*Pending as of: 8/21/2019						
		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	ount.		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Eric R Sandeen	PLUM ORCHARD LOT 6 BLK 5	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-43-0058
Barbara E Berdahl		Alley Sweeping	0.13	40.00	\$5.20	
1722 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1454				_	\$48.40	
*1722 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	sessment:		\$48.40	
_		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Patrick J Besinger	PLUM ORCHARD LOT 23 BLK 4	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-43-0047
Catherine M Rusciano		Alley Sweeping	0.13	40.00	\$5.20	
1725 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1455					\$48.40	
*1725 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payment:			\$0.00	
		Current Y	Current Year Principal:			
		Current Y	Year Interest:		\$0.00	
		Payoff Amount:			\$48.40	
Charles R Blons	PLUM ORCHARD LOT 22 BLK 4	Street Sweeping - Residential Stre				
Lee R Blons		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-43-0046
1729 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
		City wide Street Lighting	0.00	=		
St Paul MN 55116-1455		*** Owner and Taxpayer ***			\$48.40	
*1729 SCHEFFER AVE		Owner and Taxpayer				
*Ward: 3				=	0.40.40	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul O Strickland	PLUM ORCHARD LOT 20 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0044
Carolyn C Rehn		Alley Sweeping	0.13	40.00	\$5.20	02 20 20 10 0011
1735 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1455				_	\$48.40	
*1735 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$48.40	
9		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	_		\$0.00	
		Payoff Am	ount:		\$48.40	
Jacquelyn Thomas	PLUM ORCHARD LOT 9 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	<u>\$16.80</u>	09-28-23-43-0061
Kenneth L Roberts		Alley Sweeping	0.13	40.00	\$5.20	
1736 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1454				_	\$48.40	
*1736 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asset	ssment:	-	\$48.40	
		This Payme	This Payment:			
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Dennis L Ryan	PLUM ORCHARD LOT 19 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0043
Laura A Ryan		Alley Sweeping	0.13	40.00	\$5.20	
1739 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1455				_	\$48.40	
*1739 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
		This Paymo	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy G Rogers	PLUM ORCHARD LOT 11 BLK 5	Street Sweeping - Residential Stre	0.42	40.00		09-28-23-43-0063
Kathleen A Brunelle		Alley Sweeping	0.13	40.00	\$5.20	09 20 20 10 0000
1744 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1454				=	\$48.40	
*1744 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				a		
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Kathryn Mallon	PLUM ORCHARD LOT 12 BLK 5	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-43-0064
1746 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1454		Citywide Street Lighting	0.66	40.00	\$26.40	
*1746 SCHEFFER AVE					\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
William F Nichols	PLUM ORCHARD E 10 FT OF LOT 14 AND ALL OF LOT 13 BLK 5	Street Sweeping - Residential Stre Alley Sweeping	0.42	50.00	\$21.00 \$6.50	09-28-23-43-0065
Susan E Nichols		Citywide Street Lighting	0.66	50.00	\$33.00	
1596 Middleton Ave		Citywide Succi Lighting	0.00	=		
St Paul MN 55102-4216		***			\$60.50	
*1752 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3		T-/ 1 A	aggree out.	=	\$60.50	
*Pending as of: 8/21/2019		Total Ass			\$60.50	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$60.50	

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Karrine M Seidel	PLUM ORCHARD EX W 5 FT LOT 28	Street Sweeping - Residential Street	0.42	86.50	\$36.33	09-28-23-43-0157
1763 Scheffer Ave	BLK 3	Alley Sweeping	0.13	48.00	\$6.24	0, 20 20 10 010.
St Paul MN 55116-1457		Citywide Street Lighting	0.66	86.50	\$57.09	
*1763 SCHEFFER AVE				_	\$99.66	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=	000.66	
		Total Ass			\$99.66	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$99.66	
	PLUM ORCHARD LOT 2 BLK 6	Street Sweeping - Residential Stree				00 20 22 42 0150
1766 Scheffer Ave		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-43-0159
St Paul MN 55116-1456		Citywide Street Lighting	0.66	40.00	\$26.40	
		, , ,		_	\$48.40	
*1766 SCHEFFER AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019						
		Total Ass			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
		Current Year Interest:		\$0.00		
		Payoff An	nount:		\$48.40	
	PLUM ORCHARD W 5 FT OF LOT 28	Street Sweeping - Residential Stree		45.00		09-28-23-43-0156
1769 Scheffer Ave	AND ALL OF LOT 27 BLK 3	Alley Sweeping	0.13	45.00	\$5.85	07-20-23-43-0130
St Paul MN 55116-1457		Citywide Street Lighting	0.66	45.00	\$29.70	
*1769 SCHEFFER AVE				=	\$54.45	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$54.45	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$54.45	
		2 11/01/11				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Susan M Sevlie	PLUM ORCHARD LOT 4 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	<u>\$16.80</u>	09-28-23-43-0161
William S Sevlie		Alley Sweeping	0.13	40.00	\$5.20	., _, _, ., ., ., ., .,
1772 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1456				_	\$48.40	
*1772 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
David A Shupe	PLUM ORCHARD LOT 5 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0162
Della J Shupe		Alley Sweeping	0.13	40.00	\$5.20	
1776 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1456					\$48.40	
*1776 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym	\$0.00			
		Current Yo	\$0.00			
		Current Year Interest:			\$0.00	
		Payoff An	nount:		\$48.40	
Charles T Evans	PLUM ORCHARD LOT 24 BLK 3	Street Sweeping - Residential Stree				
Kristine A Evans		Alley Sweeping	0.13	40.00	\$5.20	07-20-23- 4 3-0133
1781 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1457				_	\$48.40	
*1781 SCHEFFER AVE		*** Owner and Taxpayer ***			φτο.το	
*Ward: 3		- · · · · · · · · · · · · · · · · · · ·				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
1 Chaing as 01. 0/21/2017		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Carrent 1			ψ0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	PLUM ORCHARD LOT 23 BLK 3	Street Sweeping - Residential Stree		40.00	<u> </u>	09-28-23-43-0152
Jill Harris		Alley Sweeping	0.13	40.00	\$5.20	07-20-25-45-0132
1785 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1457				_	\$48.40	
*1785 SCHEFFER AVE		*** Owner and Taxpayer ***			ψτο.το	
*Ward: 3		- · · · · · · · · · · · · · · · · · · ·				
*Pending as of: 8/21/2019		Total Asse	ssment.	=	\$48.40	
reliding as of. 8/21/2019		This Paym			\$0.00	
		-	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An			\$48.40	
John M Pavlovich	PLUM ORCHARD LOT 21 BLK 3	Street Sweeping - Residential Stree		40.00	\$16.80	09-28-23-43-0150
Barbara J Hyer		Alley Sweeping	0.13	40.00	\$5.20	
1793 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1457				_	\$48.40	
*1793 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
_		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff Amount:			\$48.40	
	PLUM ORCHARD LOT 10 BLK 6	Street Sweeping - Residential Stree				
Jeffrey Strack	TECH CREIMAD LOT TO BER U	Alley Sweeping - Residential Stree	0.42	40.00	\$16.80 \$5.20	09-28-23-43-0166
Jennifer Strack		Citywide Street Lighting	0.13	40.00	\$26.40	
1798 Scheffer Ave		Only wide Succe Lighting	0.00	- 0.00	_	
St Paul MN 55116-1456		*** 0 1T ***			\$48.40	
*1798 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Karen K Becker	PLUM ORCHARD LOT 19 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-43-0148
Gregory D Becker		Alley Sweeping	0.13	40.00	\$5.20	
1799 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1457				_	\$48.40	
*1799 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	coment:		\$48.40	
Pending as of: 8/21/2019		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Am			\$48.40	
	PLUM ORCHARD W 1/2 OF LOT 12	Street Sweeping - Residential Stree				09-28-23-43-0168
1810 Scheffer Ave	AND ALL OF LOT 13 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	07-20-25-45-0100
St Paul MN 55116-1456		Citywide Street Lighting	0.66	60.00	\$39.60	
*1810 SCHEFFER AVE				_	\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	Total Assessment:			
		This Payme	This Payment:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	Current Year Interest:		\$0.00	
		Payoff Am	Payoff Amount:			
	PLUM ORCHARD LOT 15 BLK 3					. — — — — — —
Christopher M Erickson	TLOW ORCHARD LOT 13 BLK 3	Street Sweeping - Commercial/Art Street Sweeping - Residential Street	1.02 0.42	62.50 26.50	\$63.75 \$11.13	09-28-23-43-0144
Jodi S Erickson 1815 Scheffer Ave		Alley Sweeping	0.42	53.00	\$6.89	
St Paul MN 55116-1457		Citywide Street Lighting	0.66	89.00	\$58.74	
*1815 SCHEFFER AVE		,		=	\$140.51	
*Ward: 3		*** Owner and Taxpayer ***			ψ140.51	
*Pending as of: 8/21/2019				_		
		Total Asse			\$140.51	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Am	iount:		\$140.51	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Wynette Barnett	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Str	<u>eε</u> 0.42	40.00	\$16.80	09-28-22-32-0041
562 Concord St	THE CITY OF ST. PAUL LOT 14 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55107-2048		Citywide Street Lighting	0.66	40.00	\$26.40	
*0 SIDNEY ST E				=	\$48.40	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	PAUL MARTIN'S IST ADDITION TO	Street Sweeping - Residential Str	<u>e</u>	207.00		09-28-22-32-0046
484 Sidney St E	THE CITY OF ST. PAUL EX W 40 FT	Citywide Street Lighting	0.66	207.00	\$136.62	0, 20 22 02 00 10
St Paul MN 55107-2416	LOT 1 BLK 27 W ST PAUL REAL EST AND IMP SYND ADD NO 2 AND PART			=	\$223.56	
*484 SIDNEY ST E *Ward: 2	OF LOT 2 PAUL MARTINS 1ST ADD E OF E L OF W 40 FT OF LOT 1 BLK 27 W	*** Owner and Taxpayer ***			¥	
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$223.56	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Payoff Amount:		\$223.56	
Lest Comis Pierre	PAUL MARTIN'S IST ADDITION TO	Street Sweeping - Residential Str	<u></u>			
Jose L Garcia Rivera Paula Garcia	THE CITY OF ST. PAUL LOT 12 BLK 1	Alley Sweeping	0.13	70.00	\$9.10	09-28-22-32-0039
491 Sidney St E		Citywide Street Lighting	0.66	36.00	\$23.76	
St Paul MN 55107-2417		,		_	\$47.98	
*491 SIDNEY ST E		*** Owner and Taxpayer ***			\$47.98	
*Ward: 2						
*Pending as of: 8/21/2019			ssessment:		\$47.98	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payon A	Amount:		\$47.98	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joseph Kellerman	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Str		40.00	\$16.80	09-28-22-32-0040
Emily Kellerman	THE CITY OF ST. PAUL LOT 13 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
495 Sidney St E		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55107-2417				_	\$48.40	
*495 SIDNEY ST E		*** Owner and Taxpayer ***				
*Ward: 2				=	0.40, 40	
*Pending as of: 8/21/2019			ssessment:		\$48.40 \$0.00	
		This Pay	Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	
		Tayon 2	imount.		ф -10.10	
Soledad Flores De Santana	PAUL MARTIN'S 1ST ADDITION TO	Street Sweeping - Residential Str	ee	40.00		09-28-22-32-0042
501 Sidney St E	THE CITY OF ST. PAUL LOT 15 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	0, 10 11 01 00 11
St Paul MN 55107-2434		Citywide Street Lighting	0.66	40.00	\$26.40	
*501 SIDNEY ST E				=	\$48.40	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
			This Payment:			
			Year Principal:		\$0.00 \$0.00	
			Current Year Interest: Payoff Amount:		\$0.00	
		Payoff A			\$48.40	
James Wiiliam Kochevar	MACALESTER VILLAS LOT 17 BLK 7	Street Sweeping - Commercial/A		64.00	\$65.28	09-28-23-11-0115
Laura Kochevar		Street Sweeping - Residential Str		22.50	\$9.45	
317 Snelling Ave S		Alley Sweeping	0.13	45.00	\$5.85 \$57.00	
St Paul MN 55105-2047		Citywide Street Lighting	0.66	86.50	\$57.09	
*317 SNELLING AVE S		*** Owner and Taxpayer ***			\$137.67	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total A	Total Assessment:		\$71.01	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$71.01	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey Hitchcock	ELMWOOD LOT 1 BLK 4	Street Sweeping - Commercial/Art	1.02	22.50	\$22.95	09-28-23-14-0083
Kari Hitchcock		Street Sweeping - Residential Stree	0.42	74.50	\$31.29	
393 Snelling Ave S		Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-2145		Citywide Street Lighting	0.66	97.00	\$64.02	
*393 SNELLING AVE S				_	\$124.11	
*Ward: 3		*** Owner and Taxpayer ***			4-2	
*Pending as of: 8/21/2019						
		Total Asses			\$124.11	
		This Payme			\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Ame	ount:		\$124.11	
Albert Nelson Jr	ELMWOOD LOT 6 BLK 4	Street Sweeping - Commercial/Art	1.02	23.00	\$23.46	09-28-23-14-0088
419 Snelling Ave S		Street Sweeping - Residential Stree	0.42	74.50	\$31.29	07-20-23-14-0000
St Paul MN 55105-2145		Alley Sweeping	0.13	46.00	\$5.98	
*419 SNELLING AVE S		Citywide Street Lighting	0.66	97.50	\$64.35	
				=	\$125.08	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***	\$123.08			
		Total Acces	Total Assessment:			
		This Payme			\$125.08 \$0.00	
		-			\$0.00	
			Current Year Principal: Current Year Interest: Payoff Amount:			
		rayon Am	ount:		\$125.08	
	ELMWOOD LOT 2 BLK 5	Street Sweeping - Commercial/Art				<u> </u>
425 Snelling Ave S		Alley Sweeping	0.13	45.00	\$5.85	07-20-23-14-0110
St Paul MN 55105-2160		Citywide Street Lighting	0.66	45.00	\$29.70	
		, , , , , ,		_		
*425 SNELLING AVE S *Ward: 3		*** Owner and Taxpayer ***			\$81.45	
*Pending as of: 8/21/2019					****	
		Total Asses			\$81.45	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Yea			\$0.00	
		Payoff Ame	ount:		\$81.45	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Krigers Inc	SECTION 9 TOWN 28 RANGE 23 THE S	Street Sweeping - Commercial/Ar		339.00	\$345.78	09-28-23-41-0208
485 Snelling Av S	38 FT OF N 178 FT OF W 100 FT OF E150 FT & THE S 100 FT OF N 140 FT OF	Citywide Street Lighting	0.66	339.00	\$223.74	
St Paul MN 55116-1502	W 205.64 FT OF E 255.64 FT OF NE 1/4	Snelling/Randolph Area ASL	1.12	343.46	\$384.68	
*485 SNELLING AVE S	OF SE 1/4 IN SEC 9 TN 28 RN 23				\$954.20	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:	_ _	\$954.20	
		This Pay	ment:		\$0.00	
		Current 3	Year Principal:		\$0.00	
		Current 3	Year Interest:		\$0.00	
		Payoff A	Amount:		\$954.20	
Lawall Hassan Gummi	CIC NO 578 ROWHOUSE AT SNELLIN UNIT NO.19	Street Sweeping - Commercial/Ar		6.78	\$6.91	09-28-23-41-0229
517 Snelling Ave S	UNII NO.19	Street Sweeping - Residential Stre		5.95	\$2.50	
St Paul MN 55116-1503		Alley Sweeping	0.13	13.55	\$1.76	
*517 SNELLING AVE S 19		Citywide Street Lighting	0.66	12.73	\$8.39	
*Ward: 3		*** Owner and Taxpayer ***			\$19.56	
*Pending as of: 8/21/2019		The Owner and Taxpayer				
		Total As	sessment:	_	\$19.56	
		This Pay			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff A	Amount:		\$19.56	
Andrea M Lacroix	CIC NO 578 ROWHOUSE AT SNELLIN UNIT NO.13	Street Sweeping - Commercial/Ar Street Sweeping - Residential Stre		6.78 5.05	\$6.91 \$2.50	09-28-23-41-0223
David M Lacroix		Alley Sweeping	0.42	5.95 13.55	\$2.30 \$1.76	
523 Snelling Ave S Unit 13		Citywide Street Lighting	0.66	12.73	\$8.39	
St Paul MN 55116-1503		City wide Street Lighting	0.00	=		
*523 SNELLING AVE S 13 *Ward: 3		*** Owner and Taxpayer ***			\$19.56	
*Pending as of: 8/21/2019		Total As	sessment:		\$19.56	
		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$19.56	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Suresh L Hettiarachchi	CIC NO 578 ROWHOUSE AT SNELLIN	Street Sweeping - Commercial/Art	1.02	6.78	\$6.91	09-28-23-41-0221
Kshanika T Anthony	UNIT NO.11	Street Sweeping - Residential Stree	0.42	5.95	\$2.50	07
10033 Frederick Pl		Alley Sweeping	0.13	13.55	\$1.76	
Eden Prairie MN 55347-3822		Citywide Street Lighting	0.66	12.73	\$8.39	
*525 SNELLING AVE S 11				_	\$19.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:	=	\$19.56	
		This Paym			\$0.00	
		·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$19.56	
Michael Henderson	CIC NO 578 ROWHOUSE AT SNELLIN	Street Sweeping - Commercial/Art		6.78	\$6.91	09-28-23-41-0217
529 Snelling Ave S	UNIT NO.7	Street Sweeping - Residential Stree	0.42	5.95	\$2.50	07 20 25 11 0217
St Paul MN 55116-1503		Alley Sweeping	0.13	13.55	\$1.76	
*529 SNELLING AVE S 7		Citywide Street Lighting	0.66	12.73	\$8.39	
*Ward: 3				_	\$19.56	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	Total Assessment:			
		This Paym	This Payment: Current Year Principal:		\$0.00	
		Current Ye			\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$19.56	
Mark R Misukanis	MATTOCK PARK LOT 28 BLK 4	Street Sweeping - Commercial/Art	1.02	50.00	<u>\$51.00</u>	09-28-23-41-0069
Janice E Misukanis		Street Sweeping - Residential Stree	0.42	119.00	\$49.98	
965 Stratford Rd		Alley Sweeping	0.13	50.00	\$6.50	
West St Paul MN 55118-4215		Citywide Street Lighting	0.66	169.00	\$111.54	
*543 SNELLING AVE S				_	\$219.02	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:	_	\$219.02	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$219.02	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Evelyn M Blum	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art	1.02	2.81	\$2.87	09-28-23-44-0201
605 Snelling Ave E Unit 105	CONDOS UNIT NO.105	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	0, 20 20 11 0202
St Paul MN 55116-1519		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 105		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3				_	\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses	ssment:	-	\$8.13	
		This Paymo	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am			\$8.13	
Alissa Olson Trustee	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art		2.81	\$2.87	09-28-23-44-0208
Leah Swartzbaugh Trustee	CONDOS UNIT NO.204	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	0, 20 20 11 0200
24364 E Fremont Dr		Alley Sweeping	0.13	5.62	\$0.73	
Aurora CO 80016-4100		Citywide Street Lighting	0.66	5.29	\$3.49	
*605 SNELLING AVE S 204				_	\$8.13	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T 4 1 A				
		Total Asses			\$8.13	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$8.13	
	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art				<u> </u>
1068 Finn St S	CONDOS UNIT NO.205	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	09-28-23-44-0209
St Paul MN 55116-1808		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 205		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3				_	\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			ψ0.13	
		Total Asses	ssment:		\$8.13	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	_		\$0.00	
		Payoff Am			\$8.13	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Capitol Four Investment Llc	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art	1.02	2.81	\$2.87	09-28-23-44-0210
1591 Corral Ln	CONDOS UNIT NO.206	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	
Woodbury MN 55125-8884		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 206		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3				_	\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses	ssment:		\$8.13	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$8.13	
Rebecca Duren	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art	1.02	2.81	\$2.87	09-28-23-44-0213
605 Snelling Ave S 209	CONDOS UNIT NO.209	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	0, 20 20 11 0210
St Paul MN 55116-1585		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 209		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3				_	\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses	Total Assessment:			
		This Payme	ent:		\$0.00	
		Current Ye	Current Year Principal: Current Year Interest:			
		Current Ye				
		Payoff Am	ount:		\$8.13	
Susan M Shaughnessy	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art	1.02	2.81	\$2.87	09-28-23-44-0214
605 Snelling Ave S Unit 210	CONDOS UNIT NO.210	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	
St Paul MN 55116-1585		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 210		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3					\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses		_	\$8.13	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$8.13	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Katelin Nelson	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art	1.02	2.81	\$2.87	09-28-23-44-0215
605 Snelling Ave S Unit 211	CONDOS UNIT NO.211	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	***************************************
St Paul MN 55116-1585		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 211		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3				_	\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	=	\$8.13	
		This Paymo	ent:		\$0.00	
		·	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am			\$8.13	
	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art	1.02	2.81	\$2.87	09-28-23-44-0220
Jerome J Pomije	CONDOS UNIT NO.308	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	** ** ***
16322 Victoria Crv Se		Alley Sweeping	0.13	5.62	\$0.73	
Prior Lake MN 55372-3371		Citywide Street Lighting	0.66	5.29	\$3.49	
*605 SNELLING AVE S 308				-	\$8.13	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Agga		\$8.13		
		Total Assessment:			\$8.13 \$0.00	
		This Payme			\$0.00 \$0.00	
		Current Year Principal: Current Year Interest:		\$0.00		
					\$8.13	
		Payoff Am	ount:		\$6.13	
	CIC NO 532 HIGHLAND HEIGHTS	Street Sweeping - Commercial/Art				09-28-23-44-0221
605 Snelling Ave S Unit 309	CONDOS UNIT NO.309	Street Sweeping - Residential Stree	0.42	2.48	\$1.04	09-28-23-44-0221
St Paul MN 55116-1589		Alley Sweeping	0.13	5.62	\$0.73	
*605 SNELLING AVE S 309		Citywide Street Lighting	0.66	5.29	\$3.49	
*Ward: 3				=	\$8.13	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			ψ0.13	
		Total Asse	ssment:	_	\$8.13	
		This Payme	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am	ount:		\$8.13	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Olive Tree Properties Llc	MATTOCK PARK LOT 24 BLK 8	Street Sweeping - Commercial/Art	1.02	43.00	\$43.86	09-28-23-44-0024
2127 Spruce Place		Alley Sweeping	0.13	43.00	\$5.59	.,
St Paul MN 55110-4731		Citywide Street Lighting	0.66	43.00	\$28.38	
*625 SNELLING AVE S				_	\$77.83	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T 1 . 4		-	ф л д 02	
		Total Asso			\$77.83	
		This Payn			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff Ar			\$0.00 \$77.83	
		rayon Ar	nount:		\$//.83	
	MATTOCK PARK LOT 23 BLK 8	Street Sweeping - Commercial/Art		50.00		
Joanne E Schmitt	MATTOCK TARK EOT 23 BEK 6	Street Sweeping - Commercial/Art Street Sweeping - Residential Street		119.00	\$31.00 \$49.98	09-28-23-44-0023
Susan Dunlop		Alley Sweeping	0.13	50.00	\$6.50	
422 Oday St S		Citywide Street Lighting	0.66	169.00	\$111.54	
Maplewood MN 55119-5540				_	\$219.02	
*631 SNELLING AVE S *Ward: 3		*** Owner and Taxpayer ***			\$219.02	
*Pending as of: 8/21/2019				_		
		Total Assessment:			\$219.02	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			Current Year Interest: Payoff Amount:			
		Payoff Ar				
Rna Properties Llc	GIBSON'S ADDITION PART E OF	Street Sweeping - Commercial/Art	1.02	120.00	\$122.40	09-28-23-44-0055
14301 Burnsville Pky W	ALLEY LOT 1	Street Sweeping - Residential Stree		119.00	\$49.98	
Burnsville MN 55306-4844		Alley Sweeping	0.13	120.00	\$15.60	
*665 SNELLING AVE S		Citywide Street Lighting	0.66	239.00	\$157.74	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$345.72	
Fending as 01: 6/21/2019						
		Total Asso	essment:		\$345.72	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$345.72	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Deborah J Wurst	MACALESTER VILLAS W 38 FT OF	Street Sweeping - Commercial/Art	1.02	38.00	\$38.76	09-28-23-11-0201
Shane Wurst	LOT 20 BLK 1	Alley Sweeping	0.13	38.00	\$4.94	., _, _, _,
1594 St Clair Ave		Citywide Street Lighting	0.66	38.00	\$25.08	
St Paul MN 55105-1930				_	\$68.78	
*1594 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$68.78	
		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$68.78	
			- — — — –			
J Adam Dady	MACALESTER VILLAS LOT 23 BLK 1	Street Sweeping - Commercial/Art		40.00	\$40.80	09-28-23-11-0021
Lylah Dady		Alley Sweeping	0.13	40.00	\$5.20 \$26.40	
1239 Juno Ave		Citywide Street Lighting	0.66	40.00		
St Paul MN 55116-1659					\$72.40	
*1606 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3				_ -		
*Pending as of: 8/21/2019		Total Ass			\$72.40	
		This Payment:			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
	MACALESTER VILLAS LOT 24 BLK 1	Street Sweeping - Commercial/Art		40.00		
John J Kendrick		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-11-0022
1610 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1930				_	\$72.40	
*1610 ST CLAIR AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$72.40	
1 chang as of. 0/21/2017		This Payı			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	MACALESTER VILLAS LOT 25 BLK 1	Street Sweeping - Commercial/Ar	t 1.02	40.00		09-28-23-11-0023
oshua L Ortiz		Alley Sweeping	0.13	40.00	\$5.20	** ***
1614 Saint Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1930				_	\$72.40	
*1614 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	sessment:	-	\$72.40	
C		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	
	MACALESTER VILLAS LOT 27 BLK 2					
Jill D Larson	MACALESTER VILLAS LOT 2/ BLK 2	Street Sweeping - Commercial/Ar	t 1.02 0.13	51.00	\$52.02 \$11.51	09-28-23-11-0050
1656 St Clair Ave		Alley Sweeping Citywide Street Lighting	0.13	88.50 51.00	\$33.66	
St Paul MN 55105-1931		Citywide Street Lighting	0.00	51.00 =	<u> </u>	
*1656 ST CLAIR AVE					\$97.19	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	sessment:	\$97.19		
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	Current Year Interest:			
		Payoff Amount:			\$97.19	
Aaron D Carufel	MACALESTER VILLAS LOT 26 BLK 2	Street Sweeping - Commercial/Ar	rt — 1.02			
	White Hazarak viada la 20 adik 2	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-11-0049
1660 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1931		City wide Succe Lighting	0.00	=		
*1660 ST CLAIR AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	Total Assessment:			
		This Pay			\$72.40 \$0.00	
		-	Year Principal:		\$0.00	
			I IIII TPUI.		ΨΟ.ΟΟ	
			Year Interest:		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Oavid K Jewison	MACALESTER VILLAS LOT 23 BLK 2	Street Sweeping - Commercial/Ar	t 1.02	40.00	\$40.80	09-28-23-11-0046
670 St Clair Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 00 10
St Paul MN 55105-1931		Citywide Street Lighting	0.66	40.00	\$26.40	
*1670 ST CLAIR AVE				=	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			sessment:		\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$72.40	
	MACALESTER VILLAS LOT 22 BLK 2	Street Sweeping - Commercial/Ar	t			
201 Chapel Hill Rd		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-11-0045
Red Bank NJ 07701-5487		Citywide Street Lighting	0.66	40.00	\$26.40	
*1674 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			ψ/2.10	
*Pending as of: 8/21/2019				-		
			sessment:	\$72.40		
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff A	amount:		\$72.40	
	MACALESTER VILLAS LOT 18 BLK 2	Street Sweeping - Commercial/Ar	t — — — — — — —	40.00		09-28-23-11-0041
690 St Clair Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 00 11
St Paul MN 55105-0006		Citywide Street Lighting	0.66	40.00	\$26.40	
41690 ST CLAIR AVE				_	\$72.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019						
			sessment:		\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kurt W Grebner Trustee	MACALESTER VILLAS LOT 2 BLK 3	Street Sweeping - Commercial	Art 1.02	40.00	\$40.80	09-28-23-12-0020
1706 St Clair Ave		Alley Sweeping	0.13	40.00	\$5.20	** ***
St Paul MN 55105-1934		Citywide Street Lighting	0.66	40.00	\$26.40	
*1706 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$72.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$72.40	
Steven Davis	MACALESTER VILLAS LOT 4 BLK 3	Street Sweeping - Commercial		40.00		
Alisa Davis		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-12-0022
1576 Boardwalk Ct		Citywide Street Lighting	0.66	40.00	\$26.40	
Mendota Heights MN 55118-2747		,g		_	\$72.40	
		*** Owner and Taxpayer ***			\$72.40	
*1716 ST CLAIR AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total	Assessment:	\$72.40		
2		This I	Payment:	\$0.00		
		Current Year Principal:			\$0.00	
		Curre	Current Year Interest:			
		Payor	f Amount:		\$72.40	
John P Horner	MACALESTER VILLAS LOT 6 BLK 3	Street Sweeping - Commercial		40.00	\$40.80	09-28-23-12-0024
Caroline M Horner		Alley Sweeping	0.13	40.00	\$5.20	
1722 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1934					\$72.40	
*1722 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$72.40	
		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	f Amount:		\$72.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daniel V Kumerow	MACALESTER VILLAS LOT 8 BLK 3	Street Sweeping - Commercial/A	rt 1.02	40.00	\$40.80	09-28-23-12-0026
1730 St Clair Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 12 0020
St Paul MN 55105-1934		Citywide Street Lighting	0.66	40.00	\$26.40	
*1730 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	
	MACALESTER VILLAS LOT 11 BLK 3		rt			09-28-23-12-0029
1012 Sanchez St		Alley Sweeping	0.13	40.00	\$5.20	07-20-25-12-0027
San Francisco CA 94114-3313		Citywide Street Lighting	0.66	40.00	\$26.40	
*1742 ST CLAIR AVE				=	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ/2.40	
*Pending as of: 8/21/2019		Total As	\$72.40			
				\$0.00		
		-	This Payment: Current Year Principal:			
			Current Year Interest:			
			Amount:		\$0.00 \$72.40	
Phyllis A Walker	MACALESTER VILLAS LOT 12 BLK 3	Street Sweeping - Commercial/A	rt 1.02	40.00	\$40.80	09-28-23-12-0030
1744 St Clair Ave		Alley Sweeping	0.13	40.00	\$5.20	** ****
St Paul MN 55105-1934		Citywide Street Lighting	0.66	40.00	\$26.40	
*1744 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
-		Total As	Total Assessment:			
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** MACALESTER VILLAS LOT 13 BLK 3 Street Sweeping - Commercial/Art 1.02 40.00 \$40.80 Gregg Sivesind 09-28-23-12-0031 0.13 40.00 Alley Sweeping \$5.20 1748 Saint Clair Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-1934 \$72.40 *1748 ST CLAIR AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$72.40 MACALESTER VILLAS LOT 14 BLK 3 1.02 40.00 Street Sweeping - Commercial/Art \$40.80 Anthony P Lussenhop 09-28-23-12-0032 Alley Sweeping 0.13 40.00 \$5.20 Susan O Lussenhop Citywide Street Lighting 0.66 40.00 \$26.40 1752 St Clair Ave St Paul MN 55105-1934 \$72.40 *** Owner and Taxpayer *** *1752 ST CLAIR AVE *Ward: 3 Total Assessment: \$72.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$72.40 Jonathan W Gust WEINHAGEN PLACE W 1/2 OF LOT 2 Street Sweeping - Commercial/Art 1.02 60.00 \$61.20 09-28-23-12-0002 AND ALL OF LOT 3 0.66 60.00 Citywide Street Lighting \$39.60 1768 St Clair Ave St Paul MN 55105-1974 \$100.80 *1768 ST CLAIR AVE *** Owner and Taxpayer *** *Ward: 3 \$100.80 *Pending as of: 8/21/2019 Total Assessment: This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$100.80

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mildred Rein Trustee	WEINHAGEN REARRANGEMENT EX	Street Sweeping - Commercial/A	Art 1.02	226.00	\$230.52	09-28-23-12-0006
1780 Bohland Ave	S 100 FT LOT 1	Citywide Street Lighting	0.66	226.00	\$149.16	
St Paul MN 55116-2125					\$379.68	
*1776 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$379.68	
		This Pa	•		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		rayon	Amount:		\$379.68	
	WEINHAGEN REARRANGEMENT	Street Sweeping - Commercial/A	Art	100.00		09-28-23-12-0007
2190 Marshall Ave	LOT 2 AND EX W 1/10 FT LOT 3	Citywide Street Lighting	0.66	100.00	\$66.00	0, 20 20 12 000.
St Paul MN 55104-5758				_	\$168.00	
*1796 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$168.00	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$168.00	
	WEINHAGEN PLACE SUBJ TO ESMTS	Street Sweeping - Commercial/A	Art			09-28-23-12-0014
Co The Wicker Shop	THE FOL W 1/10 FT OF LOT 3	Citywide Street Lighting	0.66	108.00	\$71.28	** ***
2190 Marshall Ave	WEINHAGEN RE AND IN SD WEINHAGEN PL EX W 28 8/10 FT THE			_	\$181.44	
St Paul MN 55105-5758 * 1802 ST CLAIR AVE	N 78 8/10 FT OF LOT 8 ALSO EX W 53 FT OF N 64 FT THE FOL N 75 FT OF W	*** Owner and Taxpayer ***				
*Ward: 3		Total A	assessment:	=	\$181.44	
*Pending as of: 8/21/2019			yment:		\$0.00	
1 Thomas 40 Oi. 0/21/2017			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$181.44	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kvk Enterprises Inc	WEINHAGEN PLACE N 64 FT OF W 3	Street Sweeping - Commercial/A	rt 1.02	117.00	\$119.34	09-28-23-12-0013
Co The Wicker Shop	FT OF LOT 9 AND N 64 FT OF LOT 10	Citywide Street Lighting	0.66	117.00	\$77.22	
2190 Marshall Ave				_	\$196.56	
St Paul MN 55105-5758		*** Owner and Taxpayer ***				
*1816 ST CLAIR AVE						
*Ward: 3		Total As	sessment:		\$196.56	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$196.56	
	BERKELEY PLACE LOT 2 BLK 1					. — — — — — -
St Clairway & Rye Real Estate Llc	BERKELET PLACE LOT 2 BLK 1	Street Sweeping - Commercial/An	t 1.02 0.13	50.00	\$51.00	09-28-23-21-0002
811 Fox Pointe Ln Sw		Alley Sweeping Citywide Street Lighting	0.13	50.00 50.00	\$6.50 \$33.00	
Rochester MN 55902-3471		Citywide Street Lighting	0.00	50.00		
*1828 ST CLAIR AVE		**** 0 17 ***			\$90.50	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 cliding as 01. 8/21/2019		Total As	Total Assessment:			
		This Pay	ment:		\$0.00	
		Current	Current Year Principal:			
		Current	Year Interest:		\$0.00	
		Payoff A	Payoff Amount:			
Vp Llc	BERKELEY PLACE LOT 4 BLK 1	Street Sweeping - Commercial/An		50.00	\$51.00	09-28-23-21-0004
1764 Grand Ave		Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-1820		Citywide Street Lighting	0.66	50.00	\$33.00	
*1842 ST CLAIR AVE					\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$90.50	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			=			
		Current	Year Interest:		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	BERKELEY PLACE LOT 5 BLK 1	Street Sweeping - Commercial/		50.00	\$51.00	09-28-23-21-0005
Attn Patrick Votel		Alley Sweeping	0.13	50.00	\$6.50	
1764 Grand Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-1820				-	\$90.50	
*1848 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$90.50	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payoti	f Amount:		\$90.50	
		Street Services Communicati				
Vp Llc	BERKELEY PLACE EX W 45 FT LOT 7 AND ALL OF LOT 6 BLK 1	Street Sweeping - Commercial/. Alley Sweeping	Art 1.02 0.13	55.00 55.00	\$56.10 \$7.15	09-28-23-21-0006
Attn Patrick Votel		Citywide Street Lighting	0.66	55.00	\$36.30	
1764 Grand Ave St Paul MN 55105-1820		enty what shoet Eightning	0.00	=	\$99.55	
*1854 ST CLAIR AVE		*** Owner and Taxpayer ***			\$99.33	
*Ward: 3		owner und rumpayer				
*Pending as of: 8/21/2019		Total A	Assessment:	-	\$99.55	
1 chang as of. 0,21,201)		This Payment:			\$0.00	
			nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Payoff	Payoff Amount:			
						. — — — — — —
Stephan Grzeskowiak	BERKELEY PLACE W 45 FT OF LOT 7	Street Sweeping - Commercial/		22.50	\$22.95	09-28-23-21-0007
Paengelantonweg 33	BLK 1	Street Sweeping - Residential S		62.50	\$26.25	
*1860 ST CLAIR AVE		Alley Sweeping	0.13	45.00	\$5.85 \$56.10	
*Ward: 3		Citywide Street Lighting	0.66	85.00	\$56.10	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$111.15	
			Assessment:		\$111.15	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$111.15	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey A Maas	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/Ar	t 1.02	40.00	\$40.80	09-28-23-21-0035
1866 St Clair Ave	PAUL, MINN. LOT 2 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1645		Citywide Street Lighting	0.66	40.00	\$26.40	
*1866 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$72.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/Ar	t 1.02	40.00	\$40.80	09-28-23-21-0039
1880 St Clair Ave	PAUL, MINN. LOT 6 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	0) 20 20 21 000)
St Paul MN 55105-1645		Citywide Street Lighting	0.66	40.00	\$26.40	
*1880 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$72.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
Marylou M Anderson	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/Ar	t 1.02	40.00	\$40.80	09-28-23-21-0040
1884 St Clair Ave	PAUL, MINN. LOT 7 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1645		Citywide Street Lighting	0.66	40.00	\$26.40	
*1884 ST CLAIR AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$72.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Margaret M Schmidt	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/A		40.00	\$40.80	09-28-23-21-0041
1690 Atwater Path	PAUL, MINN. LOT 8 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
Inver Grove Heights MN 55077-1200		Citywide Street Lighting	0.66	40.00	\$26.40	
*1888 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$72.40	
		This Pa	•		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$72.40	
Bruce M Wright	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/A		40.00		09-28-23-21-0047
Jean A Wright	PAUL, MINN. LOT 14 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-21-004/
1912 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1645		,		_	\$72.40	
*1912 ST CLAIR AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3		o wher and ranpayer				
*Pending as of: 8/21/2019		Total A	Total Assessment:			
		This Payment:			\$0.00	
		Current	Current Year Principal:			
		Current	Year Interest:		\$0.00	
		Payoff Amount:			\$72.40	
	AUDITORIS SURDIVISIONAL SO ST	Start Sansaire Communication	art			
Kathryn Michelle Budzien	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. LOT 15 BLK 1	Street Sweeping - Commercial/A Alley Sweeping	0.13	40.00	\$40.80 \$5.20	09-28-23-21-0048
1918 St Clari Ave	,	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105		City wide Street Lighting	0.00	=		
*1918 ST CLAIR AVE *Ward: 3		*** Owner and Taxpayer ***			\$72.40	
*Pending as of: 8/21/2019		Омны ани тахрауы				
1 Chang as of. 0/21/2017		Total Assessment:			\$72.40	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Vincent E Rush	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-21-0050
Deborah L Baumgartner Rush	PAUL, MINN. LOT 17 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1926 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1645					\$72.40	
*1926 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 .		=	072.40	
*Pending as of: 8/21/2019		Total Asse			\$72.40 \$0.00	
		This Payn	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar			\$72.40	
		I uyon A			Ψ,2.10	
Gregory R Larson	LANE'S VIEW LOTS I AND LOT 2	Street Sweeping - Commercial/Art	1.02	80.00		09-28-23-22-0001
Jeffrey M Larson		Street Sweeping - Residential Stree	0.42	124.00	\$52.08	0, 10 10 11 0001
5120 Danens Dr		Alley Sweeping	0.13	80.00	\$10.40	
Minneapolis MN 55439-1403		Citywide Street Lighting	0.66	204.00	\$134.64	
*1940 ST CLAIR AVE				_	\$278.72	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chaing as of. 6/21/2019		Total Assessment:			\$278.72	
		This Payn	This Payment: Current Year Principal:			
		Current Y				
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	Payoff Amount:			
	LANE'S VIEW LOT 6					. — — — — — —
Emk Holding Co Llc	LANES VIEW LOT 0	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	40.00 40.00	\$40.80 \$5.20	09-28-23-22-0005
80 Virginia St St Paul MN 55102-2114		Citywide Street Lighting	0.13	40.00	\$26.40	
*1960 ST CLAIR AVE		on, was successing	0.00	=	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			\$72.40	
*Pending as of: 8/21/2019		o wher and rangely er				
2 Jinding us of. 0/21/2017		Total Asso	Total Assessment:			
		This Payn			\$72.40 \$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Julie L Johnson	LANE'S VIEW LOT 7	Street Sweeping - Commercial/	Art 1.02	40.00	\$40.80	09-28-23-22-0006
1966 St Clair Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1647		Citywide Street Lighting	0.66	40.00	\$26.40	
*1966 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			Assessment:		\$72.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$72.40	
	LANE'S VIEW LOT 8	Street Sweeping - Commercial/				
Mary E Lusk	EANES VIEW EOT 6	Alley Sweeping - Commercial/A	Art 1.02 0.13	39.00	\$5.07	09-28-23-22-0007
1968 Saint Clair Ave St Paul MN 55105-1647		Citywide Street Lighting	0.66	39.00	\$25.74	
		enj mae eneer Eigining	0.00	=		
*1968 ST CLAIR AVE		*** Owner and Taxpayer ***			\$70.59	
*Ward: 3		Owner and Tuxpayer				
*Pending as of: 8/21/2019		Total A	Assessment:	\$70.59		
			This Payment:			
			t Year Principal:		\$0.00 \$0.00	
			t Year Interest:		\$0.00	
		Payoff	Payoff Amount:			
		- — — — — — —				. — — — — — —
Gwynne L Evans	LANE'S VIEW LOTS 12 AND LOT 13	Street Sweeping - Commercial/		78.00	\$79.56	09-28-23-22-0011
1405 Summit Ave		Alley Sweeping	0.13	78.00	\$10.14	
St Paul MN 55105-2240		Citywide Street Lighting	0.66	78.00	\$51.48	
*1986 ST CLAIR AVE					\$141.18	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$141.18	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoti	Amount:		\$141.18	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
1994 St Clair Llc	LANE'S VIEW LOT 14 AND TRACT	Street Sweeping - Commercial/Art	1.02	82.00	\$83.64	09-28-23-22-0012
C/O Keys North Prop Management	BOUNDED BY SD LOT KENNETH AVE	Street Sweeping - Residential Stree	0.42	124.00	\$52.08	· · · · · · · · · · · · · · · · · · ·
3537 Irving Ave S	AND EXTENDED N AND S LINES OF SD LOT 14	Alley Sweeping	0.13	82.00	\$10.66	
Minneapolis MN 55408-3325	33 201 11	Citywide Street Lighting	0.66	206.00	\$135.96	
*1994 ST CLAIR AVE				_	\$282.34	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	esment:	-	\$282.34	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am			\$282.34	
		Tuyon	ounc.		\$202iC 1	
Amelia T Smith	ROBERT L WARES ADDITION LOT 1	Street Sweeping - Commercial/Art			\$28.56	09-28-23-22-0115
2000 Saint Clair Ave	BLK 1	Street Sweeping - Residential Stree	0.42	62.00	\$26.04	03 20 20 22 0110
St Paul MN 55105		Alley Sweeping	0.13	56.00	\$7.28	
*2000 ST CLAIR AVE		Citywide Street Lighting	0.66	90.00	\$59.40	
*Ward: 3				=	\$121.28	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$121 .2 0	
		Total Assessment:			\$121.28	
		This Paymo	ent:		\$0.00	
		· ·	Current Year Principal:			
		Current Ye	•		\$0.00 \$0.00	
		Payoff Am	ount:		\$121.28	
Carla Maxwell Monacelli	ROBERT L WARES ADDITION LOT 2	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	09-28-23-22-0116
Thomas L. Maxwell	BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
2010 Saint Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105				-	\$72.40	
*2008 ST CLAIR AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$72.40	
		This Paymo	ent:		\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ounte		\$72.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
David James Horner	ROBERT L WARES ADDITION LOT 3	Street Sweeping - Commercial/Art		40.00	\$40.80	09-28-23-22-0117
15598 West Big Sky Dr	BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
Surprise AZ 85374-4751		Citywide Street Lighting	0.66	40.00	\$26.40	
*2012 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$72.40	
		This Payr			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
Peggy Sue Dunigan	COMMON INTEREST COMMUNITY	Street Sweeping - Commercial/Art	1.02	10.00	\$10.20	09-28-23-22-0229
2044 Saint Clair Ave Unit 2	NUMBER 449 THE LILY CONDOMINIUM UNIT NO. 2044-2	Alley Sweeping	0.13	20.50	\$2.67	
St Paul MN 55105-1650	CONDOMINIUM UNIT NO. 2044-2	Citywide Street Lighting	0.66	10.00	\$6.60	
*2044 ST CLAIR AVE 2				_	\$19.47	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	Total Assessment:			
		This Payr	This Payment:		\$0.00	
		· · · · · · · · · · · · · · · · · · ·	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	Payoff Amount:		\$19.47	
Brent P Gillen	MACALESTER VILLAS LOT 16 BLK 6	Street Sweeping - Commercial/Art	1.02	64.00	\$65.28	09-28-23-11-0087
Heidi B Gillen		Street Sweeping - Residential Street		22.50	\$9.45	
1800 Portland Ave		Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55104-6059		Citywide Street Lighting	0.66	86.50	\$57.09	
*1581 STANFORD AVE				_	\$137.67	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$137.67	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$137.67	
		Ž				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michele Daniele Smith Cox	MACALESTER VILLAS LOT 14 BLK 6	Street Sweeping - Residential Stre	<u>-</u> <u>-</u> - <u>-</u>	40.00	\$16.80	09-28-23-11-0085
1591 Standford Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 0000
St Paul MN 55105-2031		Citywide Street Lighting	0.66	40.00	\$26.40	
*1591 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
•		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current 3	Year Principal:		\$0.00	
		Current 3	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Jonathan C Marshall	MACALESTER VILLAS LOT 12 BLK 6	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-11-0083
Jill C Marshall		Alley Sweeping	0.13	40.00	\$5.20	
1599 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2037				_	\$48.40	
*1599 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:	\$48.40 \$0.00		
			This Payment:			
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	MACALESTER VILLAS LOT 8 BLK 6	Street Sweeping - Residential Stre	<u> </u>	- 40 .00		
State Of Mn Trust Exempt	WHENESTER VIELES SOT OBER O	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-11-0079
Ramsey Co Tax Forf Land		Citywide Street Lighting	0.66	40.00	\$26.40	
Po Box 64097		City wide Succe Eighting	0.00	=	•	
St Paul MN 55164-0097		*** Owner and Taxpayer ***			\$48.40	
*1615 STANFORD AVE		Owner and Taxpayer				
*Ward: 3		Total As	sessment:	=	\$48.40	
*Pending as of: 8/21/2019		Total As			\$48.40 \$0.00	
		· · · · · · · · · · · · · · · · · · ·	ment: Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	
		i ayon P	minguit.		970.7U	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William J Wald Trustee	MACALESTER VILLAS LOT 26 BLK 7	Street Sweeping - Residential Str	reε 0.42	40.00	\$16.80	09-28-23-11-0124
894 Payne Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55130-4102		Citywide Street Lighting	0.66	40.00	\$26.40	
*1618 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	MACALESTER VILLAS LOT 27 BLK 7					
Robert W Reynolds	MACALESTER VILLAS LOT 2/ BLK /	Street Sweeping - Residential Str	reε 0.42 0.13	40.00 83.50	\$16.80 \$10.86	09-28-23-11-0125
Ellen L Reynolds		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$26.40	
1622 Stanford Ave		Citywide Street Lighting	0.00	+0.00		
St Paul MN 55105-2036		***			\$54.06	
*1622 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A	ssessment:	-	\$54.06	
*Pending as of: 8/21/2019				\$34.06		
			This Payment:			
			Current Year Principal: Current Year Interest:			
			Amount:		\$0.00 \$54.06	
		1 ayon	Amount.		334.00	
Gary Thomas Gabor	MACALESTER VILLAS LOT 27 BLK 8	Street Sweeping - Residential Str	ree 0.42	51.00	<u>\$21.42</u>	09-28-23-11-0149
Virginia Ann Gabor		Alley Sweeping	0.13	89.00	\$11.58	0, 20 20 22 02 0
1654 Stanford Ave		Citywide Street Lighting	0.66	51.00	\$33.66	
St Paul MN 55105-2038				_	\$66.66	
*1654 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$66.66	
-		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$66.66	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
David G Hage	MACALESTER VILLAS LOTS 7 AND	Street Sweeping - Residential S	Stree 0.42	80.00	\$33.60	09-28-23-11-0057
Mary T Sexe	LOT 8 BLK 5	Alley Sweeping	0.13	80.00	\$10.40	
1661 Stanford Ave		Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55105-2039				_	\$96.80	
*1661 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			Assessment:		\$96.80	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$96.80	
	MACALECTED VILLAG W IA ET AE	Street Sweeping - Residential S				
Therese A Murray	MACALESTER VILLAS W 10 FT OF LOT 21 AND ALL OF LOT 20 BLK 8	Alley Sweeping - Residential S	0.42	50.00	\$21.00 \$6.50	09-28-23-11-0144
1684 Stanford Ave St Paul MN 55105-2038		Citywide Street Lighting	0.66	50.00	\$33.00	
*1684 STANFORD AVE		,		_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			\$00.30	
*Pending as of: 8/21/2019		o wher and rampayer				
Tending as 01. 0/21/2017		Total	Assessment:	\$60.50		
		This F	This Payment: Current Year Principal:			
		Curre				
		Curren	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$60.50	
Margaret M Clouthier	MACALESTER VILLAS LOT 17 BLK 8	Street Sweeping - Residential S		89.00	\$37.38	09-28-23-11-0141
Dominic Acito		Alley Sweeping	0.13	51.00	\$6.63	
1692 Stanford Ave		Citywide Street Lighting	0.66	89.00	\$58.74	
St Paul MN 55105-2038					\$102.75	
*1692 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			Assessment:		\$102.75	
			Payment:		\$0.00	
			nt Year Principal: nt Year Interest:		\$0.00 \$0.00	
			f Amount:		\$0.00 \$102.75	
		rayor	i Amvunt.		\$102.73	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daphne R Walmer	MACALESTER VILLAS LOT 16 BLK 5	Street Sweeping - Residential Stree	0.42	89.00	\$37.38	09-28-23-11-0063
David N Herreid		Alley Sweeping	0.13	51.00	\$6.63	0, 20 20 11 0000
1697 Stanford Ave		Citywide Street Lighting	0.66	89.00	\$58.74	
St Paul MN 55105-2039				_	\$102.75	
*1697 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$102.75	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$102.75	
Thomas P Margarit	MACALESTER VILLAS E 10 FT OF LOT 5 AND W 30 FT OF LOT 4 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0132
Tamara L Margarit	EOT S AND W SOTT OF EOT 4 BEK	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1714 Stanford Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2040		*** 0 1T ***			\$48.40	
*1714 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Assa	ssmant:	=	\$48.40	
*Pending as of: 8/21/2019			Total Assessment: This Payment:			
		-	ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$48.40	
Michael Quast	MACALESTER VILLAS LOT 25 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0073
Michaela Quast		Alley Sweeping	0.13	40.00	\$5.20	
1721 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2041				_	\$48.40	
*1721 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael G Brogdon	MACALESTER VILLAS LOT 12 BLK 9	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-12-0139
Mary B Brogdon		Alley Sweeping	0.13	40.00	\$5.20	03 20 20 12 01 0 3
1746 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2040				_	\$48.40	
*1746 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	MACALESTER VILLAS LOT 13 BLK 9					· — — — — — — —
Scott Solowiej	WACALESTER VILLAS LOT 13 BLR 9	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-12-0140
Anna Solowiej		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1750 Stanford Ave		Citywide Sirect Lighting	0.00	+0.00	•	
St Paul MN 55105-2040		***			\$48.40	
*1750 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A	esassmant.	=	\$48.40	
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$0.00	
			Current Year Principal:			
			Current Year Interest:			
		Payoff Amount:			\$0.00 \$48.40	
Nancy M Blonigen	MACALESTER VILLAS LOT 18 BLK 4	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-12-0066
1751 Stanford Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2041		Citywide Street Lighting	0.66	40.00	\$26.40	
*1751 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Kerry Jensen	MACALESTER VILLAS LOT 17 BLK 4	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	09-28-23-12-0065
1753 Stanford Ave		Alley Sweeping	0.13	40.00	\$5.20	** ****
St Paul MN 55105-2041		Citywide Street Lighting	0.66	40.00	\$26.40	
*1753 STANFORD AVE				-	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Ass	sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Bruce R Oliver	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stre		60.00	\$25.20	09-28-23-12-0106
1774 Stanford Ave	ADDITION W 25 FT OF LOT 3 AND E 35 FT OF LOT 4 BLK 2	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55105-2042		Citywide Street Lighting	0.66	60.00	\$39.60	
*1774 STANFORD AVE					\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$72.60	
		This Pay	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:		\$0.00	
					\$0.00	
		Current Y			\$0.00	
		Payoff A			\$72.60	
David D Ketz	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stre	0.42	60.00	\$25.20	09-28-23-12-0107
Kathryn A Ketz	ADDITION W 7 5/10 FT OF LOT 4 E 10	Alley Sweeping	0.13	60.00	\$7.80	0, 10 10 11 010,
1780 Stanford Ave	FT OF LOT 6 AND ALL OF LOT 5 BLK 2	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-0242				_	\$72.60	
*1780 STANFORD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	Total Assessment:			
6		This Pay	nent:		\$0.00	
			Year Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William Berndt	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stre	es 0.42	64.00	\$26.88	09-28-23-12-0100
Susan Berndt	ADDITION E 1/2 OF LOT 23 AND ALL	Alley Sweeping	0.13	64.00	\$8.32	
1781 Stanford Ave	OF LOT 24 BLK 1	Citywide Street Lighting	0.66	64.00	\$42.24	
St Paul MN 55105-2043				-	\$77.44	
*1781 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$77.44	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$77.44	
	. — — — — — — —					
George R Wandling Jr	MACALESTER VILLAS SECOND ADDITION W 1/2 OF LOT 23 AND ALL	Street Sweeping - Residential Stre Alley Sweeping	0.42 0.13	64.00 64.00	\$26.88 \$8.32	09-28-23-12-0099
Lara Jane Galloway Wandling	OF LOT 22 BLK 1	Citywide Street Lighting	0.13	64.00	\$6.32 \$42.24	
1787 Stanford Ave		City wide Street Eighting	0.00	O4.00		
St Paul MN 55105-2043		*** Owner and Taxpayer ***			\$77.44	
*1787 STANFORD AVE *Ward: 3		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:	\$77.44		
1 Chaing as 61. 6/21/2019			This Payment: Current Year Principal: Current Year Interest:			
		Payoff A	Payoff Amount:		\$77.44	
Jennifer Ann Sullivan	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stre	ee 0.42	43.00	\$18.06	09-28-23-12-0110
1796 Stanford Ave	ADDITION LOT 9 BLK 2	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-2042		Citywide Street Lighting	0.66	43.00	\$28.38	
*1796 STANFORD AVE					\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Total Assessment:		\$52.03	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$52.03	

Ratification Date:	Resolution #:
--------------------	---------------

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kim A Pearson	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0112
Vicki Florine Pearson	ADDITION LOT 11 BLK 2	Alley Sweeping	0.13	43.00	\$5.59	
1804 Stanford Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2042				_	\$52.03	
*1804 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$52.03	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$52.03	
	MACAL ESTED VILLAG SECOND	Street Street in Decidential Street				
Frances P C Berendt Trustee	MACALESTER VILLAS SECOND ADDITION LOT 12 BLK 2	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	43.00 43.00	\$18.06 \$5.59	09-28-23-12-0113
525 Fairview Ave S Apt 462		Citywide Street Lighting	0.13	43.00	\$28.38	
St Paul MN 55116-1499		City wide Succe Eighting	0.00	=		
*1808 STANFORD AVE		*** Owner and Taxpayer ***			\$52.03	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	semant:		\$52.03	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$52.03	
		1 ayon : In	iouni.		\$0 2.00	
	MACALESTER VILLAS SECOND	Street Sweeping - Commercial/Art		63.50	\$64.77	09-28-23-12-0115
1816 Stanford Ave	ADDITION LOT 14 BLK 2	Street Sweeping - Residential Stree	0.42	21.50	\$9.03	
St Paul MN 55105-2042		Alley Sweeping	0.13	43.00	\$5.59	
*1816 STANFORD AVE		Citywide Street Lighting	0.66	85.00	\$56.10	
*Ward: 3					\$135.49	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse		-	\$135.49	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$135.49	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Bradford J Rencher	STANFORD PLACE LOT 3	Street Sweeping - Residential Stree	0.42	45.00	\$18.90	09-28-23-21-0115
Michelle C Rencher		Alley Sweeping	0.13	45.00	\$5.85	V7
1828 Stanford Ave		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55105-1660				=	\$54.45	
*1828 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$54.45	
		This Payme	nt:		\$0.00	
		Current Yea	r Principal:		\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Amo	ount:		\$54.45	
	-					
William B Glendenning	THERESA PLACE LOT 5	Street Sweeping - Residential Stree	0.42	47.00	\$19.74	09-28-23-21-0029
1837 Stanford Ave		Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55105-1661		Citywide Street Lighting	0.66	47.00	\$31.02	
*1837 STANFORD AVE					\$56.87	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$56.87	
		This Payme			\$0.00	
		Current Yea	r Principal:		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$56.87	
Kristina K Lindell	THERESA PLACE LOT 7	Street Sweeping - Residential Stree		- 47 .00		
Brian E Lindell		Alley Sweeping	0.13	47.00	\$6.11	09-28-23-21-0027
1845 Stanford Ave		Citywide Street Lighting	0.66	47.00	\$31.02	
St Paul MN 55105-1661		,		_	\$56.87	
*1845 STANFORD AVE		*** Owner and Taxpayer ***			\$30.87	
		Owner and Taxpayer				
*Ward: 3		Total Asses	ement:	=	\$56.87	
*Danding og of: 9/21/2010		This Payme			\$0.00	
*Pending as of: 8/21/2019			111.		JU.UU	
*Pending as of: 8/21/2019		-			\$0.00	
*Pending as of: 8/21/2019		Current Yea Current Yea	r Principal:		\$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael Murphy	THERESA PLACE LOT 8	Street Sweeping - Residential Stree	0.42	85.50	\$35.91	09-28-23-21-0026
Katherine Murphy		Alley Sweeping	0.13	47.00	\$6.11	
1847 Stanford Ave		Citywide Street Lighting	0.66	85.50	\$56.43	
St Paul MN 55105-1661				_	\$98.45	
*1847 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$98.45	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$98.45	
	-					
James K Smith	WELLESLEY PLACE LOT 1 BLK 1	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	09-28-23-21-0122
Jean A Smith		Alley Sweeping	0.13	44.00	\$5.72	
1850 Stanford Ave		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-1660				_	\$53.24	
*1850 STANFORD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$53.24	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$53.24	
Church Of Nativity Of Our Lord	WELLESLEY PLACE N 1/2 OF VAC ALLEY ADJ AND LOT 3 BLK 1	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	09-28-23-21-0124
1900 Wellesley Ave	ALLET ADJAND EOT J BEK T	Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-1617					\$47.52	
*1856 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$47.52	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$47.52	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Church Of Nativity Of Our Lord	WELLESLEY PLACE N 1/2 OF VAC	Street Sweeping - Residential Str		44.00	\$18.48	09-28-23-21-0125
1900 Wellesley Ave	ALLEY ADJ AND LOT 4 BLK 1	Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-1617					\$47.52	
*1860 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			ssessment:		\$47.52	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$47.52	
	WELLESLEY PLACE N 1/2 OF VAC	Street Sweeping - Residential Str				
Church Of Nativity Of Our Lord	ALLEY ADJ AND LOT 5 BLK 1	Citywide Street Lighting	0.66	44.00	\$29.04	09-28-23-21-0126
1900 Wellesley Ave St Paul MN 55105-1617		City wide Sirect Eighting	0.00	=	•	
*1866 STANFORD AVE		*** Owner and Taxpayer ***			\$47.52	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$47.52	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$47.52	
Edward J Mellett	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. LOT 36 BLK 2	Street Sweeping - Residential Str	теє 0.42 0.13	40.00	\$16.80 \$5.20	09-28-23-21-0109
C/O Anne Brandrud		Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
1871 Stanford Ave		Citywide Street Lighting	0.00	+0.00	·	
St Paul MN 55105-1653		*** Owner and Taxpayer ***			\$48.40	
*1871 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A			0.40.40	
*Pending as of: 8/21/2019			ssessment:		\$48.40 \$0.00	
		This Pa	yment: Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00 \$0.00	
			Amount:		\$48.40	
		rayon	Amyunt.		940.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Dungarvin Mgmt Services Inc	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Street	<u> 0.42</u>	40.00	\$16.80	09-28-23-21-0107
1444 Northland Dr Ste 200	PAUL, MINN. LOT 34 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
Mendota Heights MN 55120-1004		Citywide Street Lighting	0.66	40.00	\$26.40	
*1879 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Patrick T Dobie	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-21-0104
Kristine M S Dobie	PAUL, MINN. LOT 31 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1893 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1653				_	\$48.40	
*1893 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott A	Amount:		\$48.40	
	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential Str	<u> </u>			
Jennifer L Kotval 1909 Stanford Ave	PAUL, MINN. LOT 27 BLK 2	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-21-0100
St Paul MN 55105-1653		Citywide Street Lighting	0.66	40.00	\$26.40	
		, <u></u> gg		_		
*1909 STANFORD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Tuxpayer				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:			
		Current	i cai illiciest.		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jean Omodt	AUDITOR'S SUBDIVISION NO. 58 ST.	Street Sweeping - Residential S	tree 0.42	40.00	\$16.80	09-28-23-21-0099
1915 Stanford Ave	PAUL, MINN. LOT 26 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1653		Citywide Street Lighting	0.66	40.00	\$26.40	
*1915 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	
Susan J Gonzalez	AUDITOR'S SUBDIVISION NO. 58 ST. PAUL, MINN. E 7 22/100 FT OF LOT 21	Street Sweeping - Residential S		47.00	\$19.74	09-28-23-21-0095
1933 Stanford Ave	AND ALL OF LOT 22 BLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	47.00 47.00	\$6.11 \$31.02	
St Paul MN 55105-1653		Citywide Street Lighting	0.00	47.00		
*1933 STANFORD AVE		*** Owner and Taxpayer ***			\$56.87	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as of. 0/21/2019		Total Assessment:			\$56.87	
		This F	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$56.87	
Jacqueline C Mannering	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S		82.00	\$34.44	09-28-23-22-0057
15250 North 5th Ln	RAMSEY COUNTY, MINN. LOT 1 BLK 3	Alley Sweeping	0.13	38.00	\$4.94	
Phoenix AZ 85023-5210		Citywide Street Lighting	0.66	82.00	\$54.12	
*1942 STANFORD AVE					\$93.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:		\$93.50	
		This F	ayment:		\$0.00	
			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$93.50	

Ratification Date: Re

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy C Peterson	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0055
Dianne L Peterson	RAMSEY COUNTY, MINN. LOT 29 BLK	Alley Sweeping	0.13	40.00	\$5.20	07 -0 -0 0000
1945 Stanford Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1655				_	\$48.40	
*1945 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ient:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
	-					
John W Schubert	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0053
Lynn M Schubert	RAMSEY COUNTY, MINN. LOT 27 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1953 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1655				_	\$48.40	
*1953 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree				
Matthew M Mcelroy	RAMSEY COUNTY, MINN. LOT 26 BLK	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-22-0052
Mary J Mcelroy 1957 Stanford Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1655				_		
*1957 STANFORD AVE		*** Owner and Taxpayer ***			\$48.40	
		Owner and Taxpayer				
*Ward: 3		Total Asse	essment:	-	\$48.40	
*Pending as of: 8/21/2019		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$48.40	
		1 ayon An	iount.		υτο-το	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Karleen A Parnell	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-22-0064
968 Stanford Ave	RAMSEY COUNTY, MINN. LOT 8 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1654	3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1968 STANFORD AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Str	ree 0.42	40.00		
1972 Stanford Ave	RAMSEY COUNTY, MINN. LOT 9 BLK	Alley Sweeping	0.13	40.00	\$5.20	** ****
St Paul MN 55105-1654	3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1972 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	\$48.40		
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Michael S Wilson	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-22-0048
Amy J Lokensgard	RAMSEY COUNTY, MINN. LOT 22 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
973 Stanford Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1655				_	\$48.40	
1973 STANFORD AVE		*** Owner and Taxpayer ***				
Ward: 3 Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0066
ulita L Friesen	RAMSEY COUNTY, MINN. LOT 10 BLK	Alley Sweeping	0.13	40.00	\$5.20	
976 Stanford Ave	3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1654				_	\$48.40	
*1976 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
-		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
	ACADEMY HEIGHTS ST BAHL	Street Sweeping - Residential Stree				
Geoff Lindback	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 11 BLK	Alley Sweeping - Residential Street	0.42	40.00	\$5.20	09-28-23-22-0067
2542 Pierce St Ne	3	Citywide Street Lighting	0.66	40.00	\$26.40	
Minneapolis MN 55418-3840		City wide Street Lighting	0.00	=		
*1980 STANFORD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer · · ·				
1 chaing as of. 6/21/2019		Total Asse	ssment:	-	\$48.40	
		This Paym	ent:		\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff An	ount:		\$48.40	
Susan A Sonnen	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 20 BLK	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-22-0046
1983 Stanford Av	2	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55105-1655		Citywide Street Lighting	0.00	40.00	-	
*1983 STANFORD AVE		*** O 1 T ***			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment.		\$48.40	
		This Paym			\$0.00	
					Ψ0.00	
			ar Principal:		\$0.00	
			ar Principal:		\$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert J Fenlon	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Str	<u> 0.42</u>	40.00	\$16.80	09-28-23-22-0068
Mary K Fenlon	RAMSEY COUNTY, MINN. LOT 12 BLK	Alley Sweeping	0.13	40.00	\$5.20	
1984 Stanford Ave	3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1654				_	\$48.40	
*1984 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
						· — — — — — —
Anthony J Hansen	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 18 BLK	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-22-0044
Margaret P Hansen	2	Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
1989 Stanford Ave		Citywide Silect Lighting	0.00	40.00		
St Paul MN 55105-1655					\$48.40	
*1989 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		T + 1 A		=	£40.40	
*Pending as of: 8/21/2019			ssessment:		\$48.40 \$0.00	
		This Pay				
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		rayon A	Amount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Str		82.00		09-28-23-22-0071
1996 Stanford Ave	RAMSEY COUNTY, MINN. LOT 15 BLK 3	Alley Sweeping	0.13	38.00	\$4.94	
St Paul MN 55105-1654	3	Citywide Street Lighting	0.66	82.00	\$54.12	
*1996 STANFORD AVE				_	\$93.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$93.50	
		This Pay			\$93.30 \$0.00	
		•			\$0.00 \$0.00	
			Year Principal: Year Interest:			
					\$0.00	
		Payoff A	Amount:		\$93.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James H Stanway	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-22-0171
Kari J Stanway	RAMSEY COUNTY, MINN. LOT 2 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 22 00.12
2004 Stanford Ave	4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1656				_	\$48.40	
*2004 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Steven G Katras	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 29 BLK	Street Sweeping - Residential Street		40.00	\$16.80	09-28-23-22-0168
Mary Jo B Katras	1	Alley Sweeping	0.13	40.00	\$5.20	
2005 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1657					\$48.40	
*2005 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=	0.40, 40	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff A	mount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street		40.00		09-28-23-22-0167
2011 Stanford Ave	RAMSEY COUNTY, MINN. LOT 28 BLK	Alley Sweeping	0.13	40.00	\$5.20	03 20 20 22 010.
St Paul MN 55105-1657	1	Citywide Street Lighting	0.66	40.00	\$26.40	
*2011 STANFORD AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Ass	essment:		\$48.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Douglas C Frazey	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-22-0163
Hillary K Frazey	RAMSEY COUNTY, MINN. LOT 24 BLK	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 22 0100
2027 Stanford Ave	1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1657				-	\$48.40	
*2027 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	sessment:		\$48.40	
		This Payr	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Joanne Camille Nelson Trust Agreement	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street	$\frac{1}{6} - \frac{1}{0.42} - \frac{1}{0.42}$			
2031 Stanford Ave	RAMSEY COUNTY, MINN. LOT 23 BLK	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-22-0162
St Paul MN 55105-1657	1	Citywide Street Lighting	0.66	40.00	\$26.40	
*2031 STANFORD AVE		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$40.40	
*Pending as of: 8/21/2019		- · · · · · · · · · · · · · · · · · · ·				
Tonding as on 0,21,2019		Total Ass	\$48.40			
		This Payment:			\$0.00	
		Current Y	\$0.00			
		Current Y	ear Interest:		\$0.00	
		Payoff Amount:			\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street				
Stuart Douglas Olson 2032 Stanford Av	RAMSEY COUNTY, MINN. LOT 9 BLK	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-22-0178
St Paul MN 55105-1656	4	Citywide Street Lighting	0.66	40.00	\$26.40	
*2032 STANFORD AVE		, , , , , , , , , , , , , , , , , , , ,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$40.40	
*Pending as of: 8/21/2019		o wher and rangely of				
1 chang as 01. 0/21/2017		Total Assessment:			\$48.40	
		This Payr			\$0.00	
		1108 1 4 11				
					\$0.00	
		Current Y	Year Principal: Year Interest:		\$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Peter R Le Tourneau	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street	0.42	40.00	\$16.80	09-28-23-22-0160
039 Stanford Ave	RAMSEY COUNTY, MINN. LOT 21 BLK	Alley Sweeping	0.13	40.00	\$5.20	** -* *-**
St Paul MN 55105-1657	1	Citywide Street Lighting	0.66	40.00	\$26.40	
*2039 STANFORD AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019						
		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Street				
2044 Stanford Ave	RAMSEY COUNTY, MINN. LOT 12 BLK	Alley Sweeping	0.13	40.00	\$5.20	09-20-23-22-0101
St Paul MN 55105-1656	4	Citywide Street Lighting	0.66	40.00	\$26.40	
2044 STANFORD AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			9 +0.+0	
*Pending as of: 8/21/2019		Total Ass	\$48.40			
			\$0.00			
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$48.40	
Thomas A Ruckmar	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art	1.02	20.00	\$20.40	09-28-22-33-0046
eanne M Ruckmar	AND IMPROVEMENT SYNDICATE	Street Sweeping - Residential Street	0.42	61.50	\$25.83	
309 Stickney St	ADDITION NO. 2 LOT 24 BLK 34	Citywide Street Lighting	0.66	81.50	\$53.79	
St Paul MN 55107-2457				_	\$100.02	
809 STICKNEY ST		*** Owner and Taxpayer ***				
Ward: 2						
Pending as of: 8/21/2019		Total Ass	essment:		\$100.02	
-		This Payr	nent:		\$0.00	
		-	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$100.02	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brad T Johnson	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial		92.00	\$93.84	09-28-22-33-0052
825 Stickney Street	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 N 1/2 OF LOTS 1 2	Citywide Street Lighting	0.66	92.00	\$60.72	
St Paul MN 55107-2421	AND LOT 3 BLK 33			-	\$154.56	
*825 STICKNEY ST		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 8/21/2019			Assessment:		\$154.56	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$154.56	
Michael Sciarra	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial		60.00	\$61.20	09-28-22-33-0053
833 Stickney St	AND IMPROVEMENT SYNDICATE	Alley Sweeping	0.13	120.00	\$15.60	
St Paul MN 55107-2421	ADDITION NO. 2 S 1/2 OF LOTS 1 2 AND LOT 3 BLK 33	Citywide Street Lighting	0.66	60.00	\$39.60	
*833 STICKNEY ST				_	\$116.40	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Total Assessment:		\$116.40	
		This l	Payment:		\$0.00	
		Curre	Current Year Principal: Current Year Interest: Payoff Amount:		\$0.00	
		Curre			\$0.00	
		Payor			\$116.40	
Eman Youssef Khalil	THE WEST ST. PAUL REAL ESTATE AND IMPROVEMENT SYNDICATE	Street Sweeping - Commercial		55.00	\$56.10	09-28-22-33-0082
1320 9th Ave S	ADDITION NO. 2 S 1/2 OF LOTS 27 28	Citywide Street Lighting	0.66	55.00	\$36.30	
South Saint Paul MN 55075-3309	29 AND LOT 30 BLK 39				\$92.40	
*858 STICKNEY ST		*** Owner and Taxpayer ***				
*Ward: 2				_		
*Pending as of: 8/21/2019			Assessment:		\$92.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$92.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Denise B Turgeon	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art	1.02	52.50	\$53.55	09-28-22-33-0081
868 Stickney St	AND IMPROVEMENT SYNDICATE	Street Sweeping - Residential Street	0.42	20.00	\$8.40	
St Paul MN 55107-2455	ADDITION NO. 2 LOT 26 BLK 39	Citywide Street Lighting	0.66	72.50	\$47.85	
*868 STICKNEY ST				_	\$109.80	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$109.80	
		This Payr			\$0.00	
		· · · · · · · · · · · · · · · · · · ·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$109.80	
Pinnacle Properties Llc	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art		72.00		09-28-22-33-0094
C/O John Aasan	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 S 2/3 OF LOTS 22 23	Citywide Street Lighting	0.66	72.00	\$47.52	
641 Eben Ct	AND LOT 24 BLK 32			_	\$120.96	
Stillwater MN 55082-3728		*** Owner and Taxpayer ***				
*871 STICKNEY ST				=		
*Ward: 2		Total Ass	essment:	\$120.96		
*Pending as of: 8/21/2019		This Payment:			\$0.00	
		Current Y	Current Year Principal: Current Year Interest:			
		Current Y				
		Payoff A	nount:		\$120.96	
Ellen R Rosen	MISSABE ADDITION LOT 4 BLK 1	Street Sweeping - Residential Street		55.00	\$23.10	09-28-23-34-0067
Peter A Rosen		Citywide Street Lighting	0.66	55.00	\$36.30	
667 Sue Pl					\$59.40	
St Paul MN 55116-1228		*** Owner and Taxpayer ***				
*667 SUE PL						
*Ward: 3		Total Ass	essment:		\$59.40	
*Pending as of: 8/21/2019		This Payr			\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$59.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen E C Hintz	MELROSE PARK LOT 12 BLK 1	Street Sweeping - Residential Stre	ϵ 0.42	55.00	\$23.10	09-28-23-34-0060
Anne M Hintz		Citywide Street Lighting	0.66	55.00	\$36.30	., _, _, ,,
672 Sue Place				_	\$59.40	
St Paul MN 55116-1227		*** Owner and Taxpayer ***				
*672 SUE PL				=		
*Ward: 3		Total Ass	sessment:		\$59.40	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$59.40	
Thomas Benson	MISSABE ADDITION LOT 5 BLK 1	Street Sweeping - Residential Stre	$\frac{1}{\epsilon} - \frac{1}{0.42} - \frac{1}{0.42}$			
Sandra Benson		Citywide Street Lighting	0.66	55.00	\$36.30	09-28-23-34-0068
673 Sue Pl		City wide Succe Eighting	0.00	=		
St Paul MN 55116-1228		*** Owner and Taxpayer ***			\$59.40	
*673 SUE PL		Owner and Taxpayer				
*Ward: 3		Total As	sessment:		\$59.40	
*Pending as of: 8/21/2019		This Pay			\$0.00	
1 thang at the 0,21,201)		-	Year Principal:	\$0.00		
			Year Interest:	\$0.00		
		Payoff A	Payoff Amount:			
Ellen K Osthus	SMITH'S FORD PARK LOT 12 BLK 1	Street Sweeping - Residential Stre	<u> </u>			
672 Sumner St		Citywide Street Lighting	0.42	55.00	\$36.30	09-28-23-33-0034
St Paul MN 55116-1229		City wide Baleet Lighting	0.00	=		
		*** Over on a Toyrovon ***			\$59.40	
*672 SUMNER ST *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	sessment:		\$59.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$59.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen A Haider	STATE PARK ADDITION PLAT 5 LOTS	Street Sweeping - Residential Stre	6 0.42	80.00	\$33.60	09-28-23-33-0050
Theresa A Haider	8 AND LOT 9 BLK 1	Alley Sweeping	0.13	80.00	\$10.40	
675 Sumner St		Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55116-1230				_	\$96.80	
*675 SUMNER ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:	_	\$96.80	
		This Pay	ment:		\$0.00	
		Current \	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	mount:		\$96.80	
Ora Itkin	SMITH'S FORD PARK LOT 11 BLK 1	Street Sweeping - Residential Stre	· 0.42	55.00	\$23.10	09-28-23-33-0033
676 Sumner Ave		Citywide Street Lighting	0.66	55.00	\$36.30	
St Paul MN 55116-1229				_	\$59.40	
*676 SUMNER ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:	=	\$59.40	
		This Payment:			\$0.00	
			Year Principal:	\$0.00		
		Current `	Year Interest:	\$0.00		
		Payoff Amount:			\$59.40	
Timothy L Eaton	SMITH'S FORD PARK N 1/2 OF VAC	Street Sweeping - Residential Stre		102.00	\$42.84	09-28-23-33-0041
Sandra E Eaton	ALLEY ADJ AND EX E 24 FT LOT 4 AND ALL OF LOT 5 BLK 2	Citywide Street Lighting	0.66	102.00	\$67.32	
696 Sumner St	AND REPORTED A PERCE			_	\$110.16	
St Paul MN 55116-1331		*** Owner and Taxpayer ***				
*696 SUMNER ST						
*Ward: 3		Total As	sessment:		\$110.16	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A			\$110.16	

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Kari K Tierney Trustee	STATE PARK ADDITION PLAT 5 S 27	Street Sweeping - Residential Stree	0.42	67.00	\$28.14	09-28-23-33-0063		
Michael J Tierney Trustee	O8/100 FT OF LOT 2 AND ALL OF LOT 3 BLK 4	Citywide Street Lighting	0.66	67.00	\$44.22			
697 Sumner St	Der Jahr .			_	\$72.36			
St Paul MN 55116-1332		*** Owner and Taxpayer ***						
*697 SUMNER ST				-				
*Ward: 3		Total Asse			\$72.36			
*Pending as of: 8/21/2019		This Payn			\$0.00			
			ear Principal:		\$0.00			
			ear Interest:		\$0.00			
		Payoff Ar	nount:		\$72.36			
	SMITH'S FORD PARK S 1/2 OF VAC	Street Sweeping - Commercial/Art	1.02	30.00		09-28-23-33-0042		
Linda K Jenny	ALLEY ADJ AND W 26 48/100 FT OF LOT 7 AND ALL OF LOT 6 BLK 2	Street Sweeping - Residential Stree		63.00	\$26.46			
710 Sumner St	LOT / AND ALL OF LOT WHEN 2	Citywide Street Lighting	0.66	93.00	\$61.38			
St Paul MN 55116-1331				_	\$118.44			
*710 SUMNER ST		*** Owner and Taxpayer ***						
*Ward: 3 *Pending as of: 8/21/2019		Total Asso	ecement:		\$118.44			
Fending as 01. 6/21/2019		This Payn			\$0.00			
			ear Principal:		\$0.00			
			ear Interest:	\$0.00				
		Payoff Ar	nount:		\$118.44			
Larry D Kuenster	STATE PARK ADDITION PLAT 5 SUBJ	Street Sweeping - Commercial/Art	1.02	69.00	\$70.38	09-28-23-33-0064		
Tamara H Kuenster	TO ST LOT 6 AND LOTS 4 AND LOT 5 BLK 4	Street Sweeping - Residential Stree	0.42	63.50	\$26.67	0, 10 10 00 000		
711 Sumner St	BLK 4	Citywide Street Lighting	0.66	132.50	\$87.45			
St Paul MN 55116-1332				_	\$184.50			
*711 SUMNER ST *Ward: 3		*** Owner and Taxpayer ***						
*Pending as of: 8/21/2019		Total Asso	essment:		\$184.50			
-		This Payn	nent:		\$0.00			
		Current Y	ear Principal:		\$0.00			
		Current Y	ear Interest:		\$0.00			

Payoff Amount:

\$184.50

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Port Authority City Of St Paul	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art	1.02	120.00	\$122.40	09-28-22-33-0025
380 St Peter St Ste 850	AND IMPROVEMENT SYNDICATE ADDITION NO. 4 VAC STS ACCRUING	Citywide Street Lighting	0.66	120.00	\$79.20	***EXEMPT***
St Paul MN 55102-1313	& FOL; EX PART SWLY OF C R I RY			_	\$201.60	
*0 VERSAILLES AVE	R/W C L OF LOTS 1 THRU 9 BLK 50 ALSO, LOTS 1 THRU LOT 9 BLK 57	*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 8/21/2019		Total Asse	essment.		\$201.60	
rending as of. 6/21/2017		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$201.60	
Aaron J Swanson	MATTOCK PARK E 20 FT OF LOT 2 AND ALL OF LOT 1 BLK 5	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	60.00 93.50	\$25.20 \$12.16	09-28-23-41-0070
1596 Watson Ave		Citywide Street Lighting	0.13	60.00	\$39.60	
St Paul MN 55116-1430		City wide Street Eighting	0.00	=		
*1596 WATSON AVE		*** Owner and Taxpayer ***			\$76.96	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Teliding us of. 0/21/2019		Total Asse	Total Assessment:			
		This Paym	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Current Y				
		Current Y				
		Payoff An				
Ann Lawson	MATTOCK PARK LOT 22 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0065
Terrapin Properties Llc		Alley Sweeping	0.13	83.50	\$10.86	
1597 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1431				_	\$54.06	
*1597 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse			\$54.06	
		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00	
					\$0.00 \$54.06	
		Payoff An	iount:		\$54.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Marie A Zamslow	MATTOCK PARK SUBJ TO ESMT LOT	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0064
1601 Watson Ave	21 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	** =* =* ** ***
St Paul MN 55116-1431		Citywide Street Lighting	0.66	40.00	\$26.40	
*1601 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	MATTOCK PARK LOT 4 BLK 5	Street Sweeping - Residential Street				
1606 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	09-28-23-41-0072
		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1430		, <u></u> gg		_	•	
*1606 WATSON AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019						
		Total Ass	essment:	\$48.40		
		This Payr	nent:	\$0.00		
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:	\$48.40		
	MATTOCK PARK LOT 19 BLK 4					
Estella M Daniels	MATTOCK PARK LOT 19 BLK 4	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-41-0062
Michael J Leipold		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1609 Watson Ave		City wide Street Lighting	0.00	+0.00 =		
St Paul MN 55116-1431		*** Owner and Taxpayer ***			\$48.40	
*1609 WATSON AVE		Owner and Taxpayer				
*Ward: 3		Total Ass	agement:	=	\$48.40	
*Pending as of: 8/21/2019		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$48.40	
		r ayon A	nount.		J40.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Niklas H Costello	MATTOCK PARK LOT 7 BLK 5	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0075
1618 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1430		Citywide Street Lighting	0.66	40.00	\$26.40	
*1618 WATSON AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	MATTOCK PARK LOT 13 BLK 4	Street Sweeping - Residential Stree				
Nathan G Waibel Susan Waibel		Alley Sweeping	0.42	40.00	\$5.20	09-28-23-41-0056
1631 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1431		, , , ,		_	\$48.40	
*1631 WATSON AVE		*** Owner and Taxpayer ***			φ+0.+0	
*Ward: 3		1 3				
*Pending as of: 8/21/2019		Total Asse	ssment:	\$48.40		
5		This Payme	This Payment:			
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	Payoff Amount:			
Melanie Driscoll	MATTOCK PARK LOT 12 BLK 4	Street Sweeping - Residential Stree	0.42	83.50	\$35.07	09-28-23-41-0055
1635 Watson Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 83.50	\$5.20 \$55.11	
St Paul MN 55116-1431		Citywide Street Lighting	0.00	83.30	·	
*1635 WATSON AVE		*** 0 1T ***			\$95.38	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Associ	samont:	\$95.38		
			Total Assessment: This Payment:			
			ar Principal:		\$0.00 \$0.00	
		Current Ye	=		\$0.00	
		Payoff Am			\$95.38	
		, 011 1211				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	MATTOCK PARK LOT 14 BLK 3	Street Sweeping - Residential Stree	0.42	93.00	\$39.06	09-28-23-41-0172
Amna Khalid		Alley Sweeping	0.13	59.00	\$7.67	0, 20 20 11 01.2
1641 Watson Ave		Citywide Street Lighting	0.66	93.00	\$61.38	
St Paul MN 55116-1433				=	\$108.11	
*1641 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	sment:	_	\$108.11	
-		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$108.11	
	MATTOCK NADV LOT A DIV A					
Matthew J Welsch	MATTOCK PARK LOT 9 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-41-0167
1661 Watson Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55116-1433		Citywide Street Lighting	0.00	40.00		
*1661 WATSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	MATTOCK PARK LOT 6 BLK 6	Street Sweeping - Residential Stree		40.00		09-28-23-41-0178
Brigitte Wilson		Alley Sweeping	0.13	40.00	\$5.20	07 20 20 11 0170
1662 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1432				_	\$48.40	
*1662 WATSON AVE		*** Owner and Taxpayer ***			Ψ10.10	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Asses	sment:	=	\$48.40	
1 chang as or. 0/21/2017		This Payme			\$0.00	
		This Tuyin			Ψ0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Principal:		\$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Warren W Sheaffer	MATTOCK PARK LOT 8 BLK 3	Street Sweeping - Residential Street	ee 0.42	40.00	\$16.80	09-28-23-41-0166
1667 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 12 0200
St Paul MN 55116-1433		Citywide Street Lighting	0.66	40.00	\$26.40	
*1667 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
		-				
Dianne P Brier	KIPP'S COLLEGE PARK, ST. PAUL, MINN. E 1/2 OF LOT 3 AND ALL OF	Street Sweeping - Residential Stre		60.00	\$25.20	09-28-23-41-0181
1672 Watson Ave	LOT 2 BLK 4	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55116-1432		Citywide Street Lighting	0.66	60.00	\$39.60	
*1672 WATSON AVE					\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:	\$72.60		
			This Payment: Current Year Principal: Current Year Interest:			
		-				
		Payoff A	amount:	\$72.60		
Peter R Jandric	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Stre	ec 0.42	45.00	\$18.90	09-28-23-41-0160
1721 Saunders Ave	MINN. LOT 9 BLK 3	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55116-2432		Citywide Street Lighting	0.66	45.00	\$29.70	
*1693 WATSON AVE				_	\$54.45	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			sessment:		\$54.45	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$54.45	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Jennifer A Salvati	KIPP'S COLLEGE PARK, ST. PAUL,	Street Sweeping - Residential Str	ree 0.42	88.50	\$37.17	09-28-23-41-0159
Michael Salvati	MINN. LOT 8 BLK 3	Alley Sweeping	0.13	50.00	\$6.50	.,,
2880 Basswood Dr		Citywide Street Lighting	0.66	88.50	\$58.41	
Minnetrista MN 55364-8599				-	\$102.08	
*1697 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$102.08	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$102.08	
				- -		
Nathan A Benz	MACALESTER VILLAS LOT 17 BLK 12	Street Sweeping - Commercial/A		64.00	\$65.28	09-28-23-11-0191
Isabella R Benz	12	Street Sweeping - Residential Str Alley Sweeping	ree 0.42 0.13	22.50 45.00	\$9.45 \$5.85	
1582 Wellesley Ave		Citywide Street Lighting	0.66	86.50	\$5.85 \$57.09	
St Paul MN 55105-2004		Citywide Street Lighting	0.00	80.50		
*1582 WELLESLEY AVE		*** Owner and Taxpayer ***			\$137.67	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as of. 0/21/2019		Total A	ssessment:		\$137.67	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$137.67	
Michael T Sele	MACALESTER VILLAS LOT 15 BLK 7	Street Sweeping - Residential Str	reε 0.42	40.00	\$16.80	09-28-23-11-0113
C Ann Sele		Alley Sweeping	0.13	40.00	\$5.20	
1587 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2005				-	\$48.40	
*1587 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
C Blaine Rowland	MACALESTER VILLAS LOT 19 BLK	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	09-28-23-11-0193
Nancy E Rowland	12	Alley Sweeping	0.13	40.00	\$5.20	
1590 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2004				_	\$48.40	
*1590 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	MAGALESTER VILLAGLOT 20 DLV	Stungt Syrvaming Decidential St		40.00	<u> </u>	
Gilbert S Maguire	MACALESTER VILLAS LOT 20 BLK 12	Street Sweeping - Residential St Alley Sweeping	0.42 0.13	40.00	\$16.80 \$5.20	09-28-23-11-0194
Robin O Tuttlemaguire		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1594 Wellesley Ave		City wide Street Lighting	0.00	+0.00 =		
St Paul MN 55105-2004		***			\$48.40	
*1594 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A		-	\$48.40	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40 \$0.00	
		This Payment:			\$0.00 \$0.00	
			Current Year Principal:			
			Current Year Interest: Payoff Amount:			
		rayon	Amount.		\$48.40	
Kathlene Pelletier	MACALESTER VILLAS LOT 12 BLK 7	Street Sweeping - Residential St		40.00		09-28-23-11-0110
1599 Wellesley Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2005		Citywide Street Lighting	0.66	40.00	\$26.40	
*1599 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
-		Total A	Assessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ann Rivera	MACALESTER VILLAS W 10 FT OF	Street Sweeping - Residential Stre	0.42	50.00	\$21.00	09-28-23-11-0200
Enrique Rivera	LOT 26 AND ALL OF LOT 27 BLK 12	Alley Sweeping	0.13	88.50	\$11.51	.,
1622 Wellesley Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2004				_	\$65.51	
*1622 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass	sessment:		\$65.51	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$65.51	
Nicholas Love	MACALESTER VILLAS W 10 FT OF	Street Sweeping - Residential Stre		50.00	\$21.00	09-28-23-11-0174
Emilie Love	LOT 27 AND ALL OF LOT 26 BLK 11	Alley Sweeping	0.13	50.00	\$6.50	
1656 Wellesley Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2006					\$60.50	
*1656 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=	4.50.70	
*Pending as of: 8/21/2019		Total Assessment:			\$60.50 \$0.00	
			This Payment: Current Year Principal: Current Year Interest:			
					\$0.00	
		Payoff A	.mount:		\$60.50	
	MACALESTER VILLAS LOT 25 BLK	Street Sweeping - Residential Stre	<u> </u>	40.00		09-28-23-11-0173
Ethan Laubach	11	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-11-0173
2197 Highland Pkwy		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1107				_	\$48.40	
*1662 WELLESLEY AVE		*** Owner and Taxpayer ***			\$10.10	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
<u> </u>		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** MACALESTER VILLAS LOT 21 BLK Street Sweeping - Residential Stree 0.42 40.00 \$16.80 Johanna Audette 09-28-23-11-0169 11 0.13 40.00 Alley Sweeping \$5.20 Christopher Audette Citywide Street Lighting 0.66 40.00 \$26.40 1676 Wellesley Ave St Paul MN 55105-2006 \$48.40 *1676 WELLESLEY AVE *** Owner and Taxpayer *** *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 MACALESTER VILLAS LOT 12 BLK 8 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Trevor A Miller 09-28-23-11-0137 Alley Sweeping 0.13 40.00 \$5.20 Kerri M Miller Citywide Street Lighting 0.66 40.00 \$26.40 1677 Wellesley Ave St Paul MN 55105-2007 \$48.40 *** Owner and Taxpayer *** *1677 WELLESLEY AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$48.40 Peter G Seifert MACALESTER VILLAS E 1/2 OF LOT Street Sweeping - Residential Stree 0.42 60.00 \$25.20 09-28-23-11-0138 14 AND ALL OF LOT 13 BLK 8 0.13 60.00 Alley Sweeping \$7.80 Beverly A Seifert Citywide Street Lighting 0.66 60.00 \$39.60 976 Summit Ave St Paul MN 55105-3031 \$72.60 *** Owner and Taxpayer *** *1685 WELLESLEY AVE *Ward: 3 Total Assessment: \$72.60 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$72.60

Payoff Amount:

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Britta Johnson	MACALESTER VILLAS LOT 18 BLK	Street Sweeping - Residential Street	<u> </u>	40.00	\$16.80	09-28-23-11-0166
1690 Wellesley Ave	11	Alley Sweeping	0.13	40.00	\$5.20	0, 20 20 11 0100
St Paul MN 55105-2006		Citywide Street Lighting	0.66	40.00	\$26.40	
*1690 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Ronald R Stoffel	MACALESTER VILLAS W 1/2 OF LOT 14 AND ALL OF LOT 15 BLK 8	Street Sweeping - Residential Street		60.00	\$25.20	09-28-23-11-0139
1691 Wellesley	14 AND ALL OF LOT 13 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55105-2007		Citywide Street Lighting	0.66	60.00	\$39.60	
*1691 WELLESLEY AVE					\$72.60	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chaing as of. 6/21/2017		Total Assessment:			\$72.60	
		This Payment:			\$0.00	
		Current '	Current Year Principal:			
		Current \	Year Interest:		\$0.00	
		Payoff A	Amount:	\$72.60		
Jason Wirtz	MACALESTER VILLAS E 30 FT OF LOT 29 AND ALL OF LOT 30 BLK 9	Street Sweeping - Residential Stre	0.42 0.13	98.50 70.00	\$41.37 \$9.10	09-28-23-12-0152
1701 Wellesley Ave		Alley Sweeping Citywide Street Lighting	0.66	98.50	\$65.01	
St Paul MN 55105-2009		City wide Succe Lighting	0.00	76.50		
*1705 WELLESLEY AVE		*** Owner and Taxpayer ***			\$115.48	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$115.48	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$115.48	
		1 ayon 1			Q.10.10	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kevin C Donnelly	MACALESTER VILLAS LOT 3 BLK 10	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	09-28-23-12-0155
1708 Wellesley Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2008		Citywide Street Lighting	0.66	40.00	\$26.40	
*1708 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	MACALESTER VILLAS LOT 4 BLK 10	Stand Sanding Parish tid Standing				
Matthew T Brown	MACALESTER VILLAS LOT 4 BLK 10	Street Sweeping - Residential Str Alley Sweeping	reε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	09-28-23-12-0156
Ashley F Brown		Citywide Street Lighting	0.66	40.00	\$26.40	
1712 Wellesley Ave St Paul MN 55105-2008		City wide Street Eighting	0.00	40.00		
		*** Owner and Taxpayer ***			\$48.40	
*1712 WELLESLEY AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	_	\$48.40	
rending as or. (721/201)			This Payment:			
			Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00	
		Payoff A	Payoff Amount:			
	- — — — — — — —					. — — — — — —
Thomas J Crann	MACALESTER VILLAS LOT 6 BLK 10	Street Sweeping - Residential Str		40.00	\$16.80	09-28-23-12-0158
Andrew J Martin		Alley Sweeping	0.13	40.00	\$5.20	
1720 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2008					\$48.40	
*1720 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jonathan Gall	MACALESTER VILLAS LOT 7 BLK 10	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-12-0159
Jane Gall		Alley Sweeping	0.13	40.00	\$5.20	
1726 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2008				_	\$48.40	
*1726 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
Russell Lee Green	MACALESTER VILLAS W 1/2 OF LOT 20 AND ALL OF LOT 19 BLK 9	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	60.00 60.00	\$25.20 \$7.80	09-28-23-12-0145
1745 Wellesley Ave		Citywide Street Lighting	0.13	60.00	\$39.60	
St Paul MN 55105-2009		City wide Street Eighting	0.00	=		
*1745 WELLESLEY AVE		*** Owner and Taxpayer ***			\$72.60	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Fending as 01. 6/21/2019		Total Assessment:			\$72.60	
		This Paym	ent:		\$0.00	
			Current Year Principal:			
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$72.60	
Michael P Tierney	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	93.50	\$39.27	09-28-23-12-0128
Dawna L Tierney	ADDITION E 17 FT OF LOT 27 AND ALL OF LOT 28 BLK 2	Alley Sweeping	0.13	60.00	\$7.80	
1763 Wellesley Ave		Citywide Street Lighting	0.66	93.50	\$61.71	
St Paul MN 55105-2011					\$108.78	
*1763 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$108.78	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$108.78	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Adam R Wortman	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0186
Гiffany M Wortman	ADDITION LOT 5 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
1778 Wellesley Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2010				=	\$52.03	
*1778 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$52.03	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$52.03	
Matthew J Gollinger	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree		- 43 .00		09-28-23-12-0124
Laurel E Gollinger	ADDITION LOT 23 BLK 2	Alley Sweeping	0.13	43.00	\$5.59	09-28-23-12-0124
1783 Wellesley Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2011		,		_	\$52.03	
*1783 WELLESLEY AVE		*** Owner and Taxpayer ***			\$32.03	
*Ward: 3		Switch and Taxpayor				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$52.03	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff An	ount:		\$52.03	
Phillip Kaupa	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree		<u> </u>		
Jouanne Kaupa	ADDITION LOT 11 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	09-28-23-12-0191
804 Wellesley Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2010		, , ,		_	\$52.03	
*1804 WELLESLEY AVE		*** Owner and Taxpayer ***			\$52.03	
		Owner and Taxpayer				
Ward: 3		Total Asse	ecment:	=	\$52.03	
*Pending as of: 8/21/2019		This Paym			\$0.00	
		-	ent. ear Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An			\$52.03	
		rayon An	ivunt.		\$32.03	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick S Petschel	MACALESTER VILLAS SECOND	Street Sweeping - Residential Str	eε 0.42	43.00	\$18.06	09-28-23-12-0192
Cecilia Petschel	ADDITION LOT 12 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
1808 Wellesley Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2010				_	\$52.03	
*1808 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total A	ssessment:		\$52.03	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$52.03	
	MACALESTER VILLAS SECOND	Street Sweeping - Residential Str	<u> </u>	<u> </u>		
Michelle K Gibson	ADDITION LOT 17 BLK 2	Alley Sweeping - Residential Str	0.42	43.00	\$5.59	09-28-23-12-0118
Jeremy A Dowie		Citywide Street Lighting	0.66	43.00	\$28.38	
1811 Wellesley Ave		City wide Street Lighting	0.00	45.00 =		
St Paul MN 55105-2011		*** Owner and Taxpayer ***			\$52.03	
*1811 WELLESLEY AVE		Owner and Taxpayer				
Ward: 3		Total A	ssessment:		\$52.03	
Pending as of: 8/21/2019					\$32.03 \$0.00	
		This Pa	\$0.00			
		Current Year Principal:			\$0.00	
		Current Year Interest: Payoff Amount:			\$0.00 \$52.03	
		rayon	Amount:		\$52.05	
	MACALESTER VILLAS SECOND	Street Sweeping - Residential Str		43.00	\$18.06	09-28-23-12-0193
1812 Wellesley Ave	ADDITION LOT 13 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55116-2010		Citywide Street Lighting	0.66	43.00	\$28.38	
1812 WELLESLEY AVE				_	\$52.03	
Ward: 3 Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chang as of. 6/21/2017		Total Assessment:			\$52.03	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$52.03	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary K Chaffee	MACALESTER VILLAS SECOND	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	09-28-23-12-0117
Peter G Lennington	ADDITION LOT 16 BLK 2	Alley Sweeping	0.13	43.00	\$5.59	
1815 Wellesley Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2011				_	\$52.03	
*1815 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:	_	\$52.03	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$52.03	
Russell R Walde	LANE'S FAIRVIEW VILLAS LOT 1	Street Sweeping - Commercial/Art	1.02	62.50	\$63.75	09-28-23-21-0140
Mary H Walde		Street Sweeping - Residential Stree	0.42	28.00	\$11.76	
1822 Wellesley Ave		Alley Sweeping	0.13	56.00	\$7.28	
St Paul MN 55105-1615		Citywide Street Lighting	0.66	90.50	\$59.73	
*1822 WELLESLEY AVE				=	\$142.52	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse	\$142.52			
		This Paym	\$0.00			
		Current Year Principal:				
		Current Year Interest:			\$0.00	
		Payoff An	nount:		\$142.52	
						. — — — — — -
Brian H Kampa	STANFORD PLACE E 15 FT OF LOT 17 AND ALL OF LOT 18	Street Sweeping - Commercial/Art	1.02	62.50	\$63.75	09-28-23-21-0139
Monya H Kampa	AND ALL OF LOT 18	Street Sweeping - Residential Stree	0.42	30.50	\$12.81	
1823 Wellesley Ave		Alley Sweeping	0.13	61.00	\$7.93	
St Paul MN 55105-1616		Citywide Street Lighting	0.66	93.00	\$61.38	
*1823 WELLESLEY AVE					\$145.87	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chaing as of. 0/21/2017		Total Asse	essment:	-	\$145.87	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$145.87	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul D Wyatt	STANFORD PLACE E 30 FT OF LOT 16	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	09-28-23-21-0138
Nancy E Wyatt	AND EX E 15 FT LOT 17	Alley Sweeping	0.13	60.00	\$7.80	0, 10 10 11 010
1827 Wellesley Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-1616				=	\$72.60	
*1827 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asso	essment:		\$72.60	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.60	
			<u> </u>			
Thomas R Colaizy	LANE'S FAIRVIEW VILLAS LOT 2	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	09-28-23-21-0141
Kathleen M Colaizy		Alley Sweeping Citywide Street Lighting	0.13 0.66	50.00 50.00	\$6.50 \$33.00	
1828 Wellesley Ave		Citywide Street Lighting	0.00	30.00	<u> </u>	
St Paul MN 55105-1615		*** O 1T ***			\$60.50	
*1828 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Aga		-	\$60.50	
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$0.00	
			Current Year Principal: Current Year Interest: Payoff Amount:			
Jonathan D Jay Sr	STANFORD PLACE EX E 30 FT LOT 16	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	09-28-23-21-0137
1833 Wellesley Avenue	AND ALL OF LOT 15	Alley Sweeping	0.13	60.00	\$7.80	07 20 20 20 000
St Paul MN 55105-1616		Citywide Street Lighting	0.66	60.00	\$39.60	
*1833 WELLESLEY AVE				_	\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asso	essment:		\$72.60	
		This Payn	ient:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Melissa K Wangberg Tr	STANFORD PLACE E 40 FT OF LOT 12	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-21-0134
Carl C Wangberg Tr		Alley Sweeping	0.13	40.00	\$5.20	**
1847 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1616				_	\$48.40	
*1847 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Karen E Oliphant	WELLESLEY PLACE LOT 10 BLK 1	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	09-28-23-21-0131
James Oliphant		Alley Sweeping	0.13	44.00	\$5.72	
1861 Wellesley Ave		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-1616					\$53.24	
*1861 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3					\$52.24	
*Pending as of: 8/21/2019		Total Asse			\$53.24 \$0.00	
			This Payment: Current Year Principal:			
			ear Principal: ear Interest:		\$0.00 \$0.00	
					\$53.24	
		Payoff An	nount:		\$53.24	
	WELLESLEY PLACE LOT 3 BLK 2	Street Sweeping - Residential Stree				09-28-23-21-0150
1868 Wellesley Ave		Alley Sweeping	0.13	44.00	\$5.72	07-20-23-21-0130
St Paul MN 55105-1615		Citywide Street Lighting	0.66	44.00	\$29.04	
*1868 WELLESLEY AVE				<u> </u>	\$53.24	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
C		Total Asse	essment:		\$53.24	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$53.24	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 44.00 \$18.48 Church Of Nativity Of Our Lord WELLESLEY PLACE S 1/2 OF VAC 09-28-23-21-0129 ALLEY ADJ AND LOT 8 BLK 1 Citywide Street Lighting 0.66 44.00 \$29.04 1900 Wellesley Ave St Paul MN 55105-1617 \$47.52 *** Owner and Taxpayer *** *1869 WELLESLEY AVE *Ward: 3 \$47.52 *Pending as of: 8/21/2019 Total Assessment: This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 \$47.52 **Payoff Amount:** Street Sweeping - Residential Stree 0.42 44.00 \$18.48 WELLESLEY PLACE S 1/2 OF VAC Church Of Nativity Of Our Lord 09-28-23-21-0128 ALLEY ADJ AND LOT 7 BLK 1 Citywide Street Lighting 0.66 44.00 \$29.04 1900 Wellesley Ave \$47.52 St Paul MN 55105-1617 *** Owner and Taxpayer *** *1873 WELLESLEY AVE *Ward: 3 Total Assessment: \$47.52 *Pending as of: 8/21/2019 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$47.52 WELLESLEY PLACE LOT 5 BLK 2 Andrew Pieper Street Sweeping - Residential Stree 0.42 44.00 \$18.48 09-28-23-21-0152 0.13 44.00 \$5.72 Michaela Kronlage Alley Sweeping Citywide Street Lighting 0.66 44.00 \$29.04 1876 Wellesley Ave \$53.24 St Paul MN 55105-1615 *** Owner and Taxpayer *** *1876 WELLESLEY AVE *Ward: 3 \$53.24 *Pending as of: 8/21/2019 Total Assessment: This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$53.24

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Church Of Nativity Of Our Lord	WELLESLEY PLACE S 1/2 OF VAC	Street Sweeping - Residential St	ree 0.42	44.00	\$18.48	09-28-23-21-0127
1900 Wellesley Ave	ALLEY ADJ AND LOT 6 BLK 1	Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-1617				_	\$47.52	
*1877 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			Assessment:		\$47.52	
		This Pa	-		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$47.52	
Robert S Clough	WESSINGER'S GARDEN LOTS RAMSEY CO., MINN. EX W 170 FT THE	Street Sweeping - Residential St		50.00	\$21.00	09-28-23-21-0153
1882 Wellesley Ave	W 1/2 OF PART N OF ALLEY AND S	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-1615	OF WELLESLEY AVE OF LOT 5	Citywide Street Lighting	0.66	50.00	\$33.00	
*1882 WELLESLEY AVE		*** 0 1.00			\$60.50	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chung as 01. 6/21/2019		Total A	ssessment:	_	\$60.50	
		This Pa	yment:		\$0.00	
		Current	Current Year Principal: Current Year Interest:		\$0.00	
		Current			\$0.00	
		Payoff	Payoff Amount:			
Brian A Tennessen	WESSINGER'S GARDEN LOTS	Street Sweeping - Residential St		50.00	\$21.00	09-28-23-21-0154
Denise M Tennessen	RAMSEY CO., MINN. E 50 FT OF W 170 FT OF PART N OF ALLEY AND S	Alley Sweeping	0.13	50.00	\$6.50	
1888 Wellesley Ave	OF WELLESLEY AVE OF LOT 5	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-1615				_	\$60.50	
*1888 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$60.50	
		This Pa	-		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$60.50	

1900 Wellesley Ave St Paul MN 55105-1617 *1900 WELLESLEY AVE *Ward: 3 *Pending as of: 8/21/2019 James F Laughlin EDWARD D. LANGAN'S Stree	Current Yea Payoff Ame The state of the sta	ent: ar Principal: ar Interest: ount:	160.00 160.00 160.00 =	\$67.20 \$20.80 \$105.60 \$193.60 \$193.60 \$0.00 \$0.00 \$0.00 \$193.60	09-28-23-21-0157
James F Laughlin LOT 19 EDWARD D. LANGAN'S Street Street PEARRANGEMENT LOT 21	Owner and Taxpayer *** Total Asses This Payme Current Yes Current Yes Payoff Ame	sment: ent: ar Principal: ar Interest: ount:	160.00	\$105.60 \$193.60 \$193.60 \$0.00 \$0.00 \$0.00 \$193.60	
St Paul MN 55105-1617 *1900 WELLESLEY AVE *Ward: 3 *Pending as of: 8/21/2019 James F Laughlin EDWARD D. LANGAN'S Stree	Owner and Taxpayer *** Total Asses This Payme Current Yea Current Yea Payoff Ame et Sweeping - Residential Stree y Sweeping	sment: ent: ar Principal: ar Interest: ount:		\$193.60 \$193.60 \$0.00 \$0.00 \$0.00 \$193.60	
*Ward: 3 *Pending as of: 8/21/2019 James F Laughlin EDWARD D. LANGAN'S Stree	Total Asses This Payme Current Yes Current Yes Payoff Ame et Sweeping - Residential Stree y Sweeping	ent: ar Principal: ar Interest: ount:	40.00	\$193.60 \$0.00 \$0.00 \$0.00 \$193.60	
*Pending as of: 8/21/2019 James F Laughlin EDWARD D. LANGAN'S Stree	Total Asses This Payme Current Yes Current Yes Payoff Ame et Sweeping - Residential Stree y Sweeping	ent: ar Principal: ar Interest: ount:	4 0.00	\$0.00 \$0.00 \$0.00 \$193.60	
James F Laughlin EDWARD D. LANGAN'S Stree	This Payme Current Yes Current Yes Payoff Ame et Sweeping - Residential Stree y Sweeping	ent: ar Principal: ar Interest: ount:	40.00	\$0.00 \$0.00 \$0.00 \$193.60	
DEADD ANCEMENT LOT 21	This Payme Current Yes Current Yes Payoff Ame et Sweeping - Residential Stree y Sweeping	ent: ar Principal: ar Interest: ount:	- — 4 0.00	\$0.00 \$0.00 \$0.00 \$193.60	
DEADD ANCEMENT LOT 21	Current Yea Current Yea Payoff Ame Et Sweeping - Residential Stree y Sweeping	ar Principal: ar Interest: ount: 0.42	4 0.00	\$0.00 \$0.00 \$193.60	
DEADD ANCEMENT LOT 21	Current Yea Payoff Ame The state of the sta	ar Interest:	4 0.00	\$0.00 \$193.60	
DEADD ANCEMENT LOT 21	Payoff Amo	ount:	- 4 0.00	\$193.60	
DEADD ANCEMENT LOT 21	et Sweeping - Residential Stree				
DEADD ANCEMENT LOT 21	y Sweeping		40.00		
e	y Sweeping			D10.00	09-28-23-21-0159
		0.13	40.00	\$5.20	09-20-23-21-0135
	wide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1617			=	\$48.40	
	Owner and Taxpayer ***			φτο.τυ	
*Ward: 3			_		
*Pending as of: 8/21/2019	Total Assessment:				
	This Payment:			\$0.00	
		ar Principal:		\$0.00	
	Current Yea	ar Interest:		\$0.00	
	Payoff Amo	ount:		\$48.40	
Mark Kristjanson EDWARD D. LANGAN'S Stree	et Sweeping - Residential Stree		40.00		- — — — — — — — — — — — — — — — — — — —
	y Sweeping	0.13	40.00	\$5.20	0, 20 20 21 0100
1922 Wellesley Ave City	wide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1617			=	\$48.40	
1922 (VEEEESEET II VE	Owner and Taxpayer ***				
*Ward: 3	Total Asses		_	¢40.40	
*Pending as of: 8/21/2019	Total Asses This Payme			\$48.40 \$0.00	
	· · · · · · · · · · · · · · · · · · ·	ent: ar Principal:		\$0.00	
	Current Yea	=		\$0.00	
	Payoff Am			\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christina Maria Devos	EDWARD D. LANGAN'S	Street Sweeping - Residential Stre	<u>eε</u> 0.42	40.00	\$16.80	09-28-23-21-0161
1926 Wellesley Ave	REARRANGEMENT LOT 23	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1617		Citywide Street Lighting	0.66	40.00	\$26.40	
*1926 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stre	ee 0.42			
Joseph Crosby	RAMSEY COUNTY, MINN. LOT 3 BLK	Alley Sweeping	0.42	40.00	\$5.20	09-28-23-22-0088
Elizabeth Crosby	6	Citywide Street Lighting	0.66	40.00	\$26.40	
1950 Wellesley Ave St Paul MN 55105-1618		City wide Succe Eighting	0.00	=		
		*** Owner and Taxpayer ***			\$48.40	
*1950 WELLESLEY AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	ssessment:	\$48.40		
•		This Pay	ment:	\$0.00		
		Current	Year Principal:	\$0.00		
		Current	Year Interest:	\$0.00		
		Payoff A	Amount:		\$48.40	
Ava Yang-Lewis	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 10 BLK	Street Sweeping - Residential Stre		40.00	\$16.80	09-28-23-22-0095
Mark Lewis	6	Alley Sweeping	0.13	40.00 40.00	\$5.20	
1976 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1618					\$48.40	
*1976 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:	-	\$48.40	
1 chang as 01. 0/21/2017		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Current			40.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Debra A Lyngdal	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	09-28-23-22-0096
1980 Wellesley Ave	RAMSEY COUNTY, MINN. LOT 11 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1618	ō	Citywide Street Lighting	0.66	40.00	\$26.40	
*1980 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total	Assessment:		\$48.40	
		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		Payo	ff Amount:		\$48.40	
Catherine M Keane	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-22-0099
1992 Wellesley Ave	RAMSEY COUNTY, MINN. LOT 14 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1618		Citywide Street Lighting	0.66	40.00	\$26.40	
*1992 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:	\$48.40		
			Payment:	\$0.00		
			nt Year Principal:	\$0.00		
			nt Year Interest:	\$0.00		
		Payo	ff Amount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S				
Hans Peterson	RAMSEY COUNTY, MINN. LOT 17 BLK	Alley Sweeping	0.13	40.00	\$5.20	09-28-23-22-0073
Kelly Jordan	3	Citywide Street Lighting	0.66	40.00	\$26.40	
1993 Wellesley Ave St Paul MN 55105-1619		,		_		
*1993 WELLESLEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
2		This I	Payment:		\$0.00	
			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payor	ff Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Neal T Buethe	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	09-28-23-22-0200
Marie T Buethe	RAMSEY COUNTY, MINN. LOT 4 BLK	Alley Sweeping	0.13	40.00	\$5.20	
2012 Wellesley Ave	5	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1620				_	\$48.40	
*2012 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payor	ff Amount:		\$48.40	
David M Hansen	ACADEMY HEIGHTS, ST. PAUL, RAMSEY COUNTY, MINN. LOT 5 BLK	Street Sweeping - Residential S		40.00	\$16.80	09-28-23-22-0201
Lindsey M Hansen	5	Alley Sweeping	0.13 0.66	40.00	\$5.20	
2016 Wellesley Ave		Citywide Street Lighting	0.00	40.00	\$26.40	
St Paul MN 55105-1620					\$48.40	
*2016 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		T-4-1	Assessment:	=	\$48.40	
*Pending as of: 8/21/2019			Payment:	\$0.00		
			nt Year Principal:		\$0.00	
			nt Year Interest:	\$0.00		
			ff Amount:		\$48.40	
		1 ayu	Transum.		\$10.10	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S		40.00	\$16.80	
Bonita E Ashton	RAMSEY COUNTY, MINN. LOT 26 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
2019 Wellesley Ave	4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1621				<u>=</u>	\$48.40	
*2019 WELLESLEY AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:	-	\$48.40	
5		This I	Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Pavo	ff Amount:		\$48.40	

Ratification Date:	Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nancy L Agneberg	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential	Stree 0.42	40.00	\$16.80	09-28-23-22-0190
Bruce E Agneberg	RAMSEY COUNTY, MINN. LOT 24 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
2025 Wellesley Ave	4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1621				==	\$48.40	
*2025 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			Assessment:		\$48.40	
			Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$48.40	
	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential S				
Amanda Prestegaard	RAMSEY COUNTY, MINN. LOT 8 BLK	Alley Sweeping	0.13	40.00	\$5.20	07-20-23-22-0204
2028 Wellesley Ave	5	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-1620				_	\$48.40	
*2028 WELLESLEY AVE		*** Owner and Taxpayer ***			ψ10.10	
*Ward: 3						
*Pending as of: 8/21/2019		Total	Assessment:	_	\$48.40	
		This I	Payment:	\$0.00		
		Curre	nt Year Principal:	\$0.00		
		Curre	\$0.00			
		Payo	ff Amount:		\$48.40	
 Eric A Sjostrom	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential		40.00		
2032 Wellesley Ave	RAMSEY COUNTY, MINN. LOT 9 BLK	Alley Sweeping	0.13	40.00	\$5.20	07-20-25-22-0203
St Paul MN 55105-1620	5	Citywide Street Lighting	0.66	40.00	\$26.40	
*2032 WELLESLEY AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***	ψ10.10			
*Pending as of: 8/21/2019			Assessment:	=	\$48.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jayme Beltz	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	09-28-23-22-0206
2036 Wellesley Ave	RAMSEY COUNTY, MINN. LOT 10 BLK 5	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-1654		Citywide Street Lighting	0.66	40.00	\$26.40	
*2036 WELLESLEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Paul A Bees	ACADEMY HEIGHTS, ST. PAUL,	Street Sweeping - Commercial/Art	1.02	63.00	\$64.26	09-28-23-22-0183
2059 Wellesley Ave	RAMSEY COUNTY, MINN. LOTS 16 AND LOT 17 BLK 4	Street Sweeping - Residential Stree	0.42	39.00	\$16.38	
St Paul MN 55105-1621	AND EOT IT BERT	Alley Sweeping	0.13	78.00	\$10.14	
*2057 WELLESLEY AVE		Citywide Street Lighting	0.66	102.00	\$67.32	
*Ward: 3					\$158.10	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	\$158.10		
		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
			ear Interest:	\$0.00		
		Payoff An	nount:		\$158.10	
						- — — — — — —
Erik Funk	STATE PARK ADDITION PLAT 4 N 4	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	09-28-23-33-0084
Gretchen H Funk	FT OF LOT 6 AND ALL OF LOT 5 BLK 2	Alley Sweeping	0.13	44.00	\$5.72	
310 Salem Church Rd		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55118-4719					\$53.24	
*663 WILDER ST S		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	essment:	-	\$53.24	
		This Paym			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$53.24	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 82.00 \$34.44 STATE PARK ADDITION PLAT 4 SUBJ James M Heider 09-28-23-33-0080 TO ESMT; N 1/2 OF LOT 1 BLK 4 0.13 27.00 Alley Sweeping \$3.51 Joanne M Heider Citywide Street Lighting 82.00 0.66 \$54.12 2091 Juno Ave \$92.07 St Paul MN 55116-1130 *** Owner and Taxpayer *** *690 WILDER ST S *Ward: 3 Total Assessment: \$92.07 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$92.07 27.00 \$11.34 STATE PARK ADDITION PLAT 4 SUBJ Street Sweeping - Residential Stree 0.42 James M Heider 09-28-23-33-0079 TO ESMT; S 1/2 OF LOT 1 BLK 4 Alley Sweeping 0.13 27.00 \$3.51 Joanne M Heider Citywide Street Lighting 0.66 27.00 \$17.82 2091 Juno Ave St Paul MN 55116-1130 \$32.67 *** Owner and Taxpayer *** *692 WILDER ST S *Ward: 3 Total Assessment: \$32.67 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$32.67 STATE PARK ADDITION PLAT 4 LOT Street Sweeping - Residential Stree 0.42 40.00 \$16.80 Marina N Ericksen 09-28-23-33-0098 3 BLK 3 0.13 40.00 \$5.20 Alley Sweeping 10601 Verdi Rd Citywide Street Lighting 0.66 40.00 \$26.40 Bloomington MN 55431-4148 *707 WILDER ST S \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Tom Wayne Lewis	STATE PARK ADDITION PLAT 4 S 1/2	Street Sweeping - Residential Str	<u>reε</u> 0.42	60.00	\$25.20	09-28-23-33-0076
Susan Ruth Larson	OF LOT 4 AND ALL OF LOT 5 BLK 4	Alley Sweeping	0.13	60.00	\$7.80	
712 Wilder St S		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-1333				_	\$72.60	
*712 WILDER ST S		*** Owner and Taxpayer ***				
*Ward: 3		T 1 A		-	072.60	
*Pending as of: 8/21/2019			ssessment:		\$72.60	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$72.60	
Ih2 Property Illinois Lp	THE WEST ST. PAUL REAL ESTATE AND IMPROVEMENT SYNDICATE	Street Sweeping - Residential Str		80.00	\$33.60	09-28-22-33-0041
C/O Invitation Homes Tax Dept	ADDITION NO. 2 LOTS 15 AND LOT	Citywide Street Lighting	0.66	80.00	\$52.80	
1717 Main St Ste 2000	16 BLK 34				\$86.40	
Dallas TX 75201-4657		*** Owner and Taxpayer ***				
*495 WINONA ST E				=	406.40	
*Ward: 2			ssessment:	\$86.40		
*Pending as of: 8/21/2019		This Pa			\$0.00	
		Current	\$0.00			
		Current		\$0.00		
		Payoff	Amount:		\$86.40	
	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Str	<u> </u>			
513 Winona St E	AND IMPROVEMENT SYNDICATE	Citywide Street Lighting	0.66	80.00	\$52.80	09-28-22-33-0042
	ADDITION NO. 2 LOTS 17 AND LOT	City wide Sureet Eighting	0.00	=		***EXEMPT***
St Paul MN 55107-2471	18 BLK 34	*** 0 1T ***			\$86.40	
*503 WINONA ST E *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$86.40	
-		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Fred Garcia	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art	1.02	60.00	\$61.20	09-28-22-33-0050
Bliss V Garcia	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 W 1/2 OF LOT 5 AND	Citywide Street Lighting	0.66	60.00	\$39.60	
510 Winona St E	ALL OF LOT 6 BLK 33				\$100.80	
St Paul MN 55107-2470		*** Owner and Taxpayer ***				
*510 WINONA ST E						
*Ward: 2		Total Asse			\$100.80	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	ount:		\$100.80	
	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stree				
David G Mckay	AND IMPROVEMENT SYNDICATE	Citywide Street Lighting	0.42	80.00	\$53.80 \$52.80	09-28-22-33-0099
513 Winona St E St Paul MN 55107-2471	ADDITION NO. 2 LOTS 19 & LOT 20	City wide Street Lighting	0.00	=		
	BLK 34	*** Owner and Taxpayer ***			\$86.40	
*513 WINONA ST E *Ward: 2		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:	\$86.40		
		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	ount:		\$86.40	
	THE WEST ST. PAUL REAL ESTATE	Start Same Decided in Start				
Mario Calles	AND IMPROVEMENT SYNDICATE	Street Sweeping - Residential Street Citywide Street Lighting	0.42	120.00	\$30.40 \$79.20	09-28-22-33-0045
517 Winona St E	ADDITION NO. 2 LOTS 21, 22 & LOT	City wide Street Lighting	0.00	120.00		
St Paul MN 55107-2471	23 BLK 34	*** O ***			\$129.60	
*517 WINONA ST E		*** Owner and Taxpayer ***				
*Ward: 2		Total Asse	ssment:	_	\$129.60	
*Pending as of: 8/21/2019		This Paym			\$0.00	
-		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$129.60	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James Osborne Jr	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Commercial/Art	1.02	60.50	\$61.71	09-28-22-33-0069
Jamie Osborne	AND IMPROVEMENT SYNDICATE	Street Sweeping - Residential Stree	0.42	20.50	\$8.61	
534 Winona St E	ADDITION NO. 2 LOT 18 BLK 38	Citywide Street Lighting	0.66	81.00	\$53.46	
St Paul MN 55107-2425				_	\$123.78	
*534 WINONA ST E		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 8/21/2019		Total Asso	essment:	-	\$123.78	
2		This Payn	ent:		\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$123.78	
	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stree		59.00		09-28-22-33-0060
491 Wyoming St E	AND IMPROVEMENT SYNDICATE	Citywide Street Lighting	0.66	59.00	\$38.94	
St Paul MN 55107-2472	ADDITION NO. 2 W 20 FT OF LOT 16 AND ALL OF LOT 15 BLK 33			_	\$63.72	
*491 WYOMING ST E		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 8/21/2019		Total Assessment:			\$63.72	
		This Payn	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	ear Interest:	\$0.00		
		Payoff Ar	nount:		\$63.72	
Peter White	THE WEST ST. PAUL REAL ESTATE	Street Sweeping - Residential Stree	0.42	78.00	\$32.76	09-28-22-33-0057
Angela White	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 19 & LOT 20	Citywide Street Lighting	0.66	78.00	\$51.48	
511 Wyoming St E	BLK 33			_	\$84.24	
St Paul MN 55107-2472		*** Owner and Taxpayer ***				
*511 WYOMING ST E						
*Ward: 2		Total Asse			\$84.24	
*Pending as of: 8/21/2019		This Payn	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$84.24	

Resolution #:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	<u>te</u> <u>Quantity</u>	Charge Amts	Property ID
John P Salas	THE WEST ST. PAUL REAL ESTATE	Citywide Street Lighting	0.6	66 80.00	\$52.80	09-28-22-33-0068
Denise Salas	AND IMPROVEMENT SYNDICATE ADDITION NO. 2 LOTS 14 & LOT 15			=	\$52.80	
541 Wyoming St E	BLK 38	*** Owner and Taxpayer	. ***			
St Paul MN 55107-2433		,				
541 WYOMING ST E			Total Assessment:		\$52.80	
Ward: 2			This Payment:		\$0.00	
Pending as of: 8/21/2019			Current Year Principal:	:	\$0.00	
			Current Year Interest:	\$0.00		
			Payoff Amount:		\$52.80	
506 Lexington Pkwy N St Paul MN 55104-4644 *566 WYOMING ST E *Ward: 2	ADDITION NO. 2 VAC ALLEYS ACCRUING & LOTS 1,2,3,34,20 & LOT 21 BLK 39	Citywide Street Lighting *** Owner and Taxpayer		66 80.00 =	\$52.80 \$86.40	
Pending as of: 8/21/2019		,	Total Assessment:		\$86.40	
			This Payment:		\$0.00	
			Current Year Principal:	:	\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$86.40	

₽P.	n	n	r	f '	M	'n	tal	c	
L	v	v	23	·	_	v	ıaı	ю.	•

967 Parcel(s) 9 Cert. Exempt Parcel(s) **Total Assessment:** \$82,560.93 This Payment: \$0.00 \$0.00 **Current Year Principal: Current Year Interest:** \$0.00 **Payoff Amount:** \$82,560.93